DK-TOOL PRESETTER DK-TOOL PRESETTER

DK Tool Presetter Operations And Notice
DK 71 Ri&EMN TEEMEEAIRA

% / Functions

BEUSEREE, . AF—ENNAREEE.
FEATRMME, SienT RO e
ANSSENNAZ SR RENE.

M This tool pre-setter is optical, mechanical and electrical,
used for measuring and pre-setting cutting tools for boring
machine and machining centers.

B STy "ERE" i, BESS. #E;
liﬁ‘mn‘nﬂﬁzﬂlmﬂl { BT50,BT40,BT30 !

ACHEERU TS ZIRIIEE, MR TRBIER, RRERENSMERE

Before operating, please read following points carefully:

BEEAMEESRETTH, HETA SRR R,
WiFfEHEhE EE R, Fa MR EReE;
WiETREFERED, YHEFTEERD., AR,

B Check if the package is intact and presetter is in good condition;

B Unfasten the set screws, and fasten it with adjusting screws included in package;
M Clean with antirust oil. Mo gasoline, nor any solvent with acetone.

BARIERTIAMNIA T 59U,

m
oo
H
e
A
]

TOOL HOLDERS

m
&d
&
o
A
L]

TOOL HOLDERS

Checking the following points before operating :

BEFXHETEL, (HSREUBLABME)

TR R R R EMRR WEAZHMEEREREL. (WSFFUFLEBME ) ;
WX, YR AR EE R R BETEHRRERELER;
. B EHERATFESREE. =§gﬁggﬂiﬁi

q:
B4 sEmTFEIRMEN G AEMERS, CAEEEENERRSEY. e, $EE.
BUnfasten the set screw on X axis (See yellow pasters on this equipment);
B Unfasten the set screw on Z axis (See yellow pasters on this equipment);
M Check the lubrication system;

\\\\\\- M The spindle of this tool pre-setter is with Locking Design,
T8 userfriendly and convenient;
;J‘; B The spindle could be used to measure different types
{BT30, BT40, BTS0) of tools with different adapters;

M Lock the tool with set screw on Z-axis;

B Move the spindle and make the cutting edge touch the probe of X-axis. Indicator points to the first Zero position;
W Set the required sizes of tools and the value of radius on X-axis;

B Unfasten the locking nut anti-clock-wisely and dismantle the tool.

U W X-axial and Y-axial measure size optically; B Clean the spindle; ,//,”;
“=. WThis tool pre-setter is with two sets of spare parts for manual device. M Clean the test bar; 2
i | M Before every operation, Procedures 4 and 5 aforementioned shall be done. .
Tz |
ul CARMEPEBH: -
N\ SR range esiing bar LiWxHmm) o8 WA ST R S FR B R, 4
a R EZHESAFa A AN, HHEFERNET, EEERENAN, FEARATEE; wa
-4 T HE (Xim) s WENERFL DT EMIL, #eRFN LERE, 4

S DK-300 e o o ol BT50 860x560x990 102 MMove the Z-axis with one hand; -
. /6 B (Zim) #0.005mm B No pulling nor pushing Z-axis brutally; Please push the Z-axis gently approaching the tool and then micro o

] 30-400mm mﬁt with ane hand; -
HE X M Please don't touch probe with the cutting edge to avoid any damage to probe and meter.
ACLIOV/ 220V 400mm X&0.005mm '
DK-400 50HZ/60Hz I (Zf)  Z80.005mm BT50 930x600x950 108 Instrq ctions
30-400mm {55 A ik BR
AC110V/ 220V iﬁn&m ' X40.005 AYEhIRE “0"
.005mm )
DK-600 50HZ/60HZ B (2R 7440.005mm BT50 1070x680x1050 125 il ey
30-600mm
WS E SRS R DL,
WiEZ(FH ) a4 RE, EIERE A EEZ0ME, LIEXHEET “0" rHESIhLE,
BB EILAZTEMIEE, ERFRHDIRERH S ERE— TR E;
: BEXEETHIBEESEMABEERTER 2 8F, RHAE0,
Testing Bar Adapter M Clean the spindle and test bar;
o bz 35 """Z BMMove Z-axis to an angle of 90 in clockwise direction, to avoid the bump between test bar and X-axis;
ffﬂﬁfﬁﬂ!&ﬁﬁ]dhﬁ% %EQE M Adjust the probe of X-axis to the test bar and make indicator touch the “0" in clockwise direction;
W Set the display data of X-axial same as the radius of testing bar, which means it is ready for testing.
e - igh BEMAE:
BT/SK 50-260 i BT/SK50- 30
T BT TREIE | 20 WAE2E 0" HESLER. WIE;
30-200 () 32 200 190 Sl () W TAENEH, FRAARREEEE;
o8 260 25— | I\ BT/SK50- :gﬁg ( For choce ) WigtER, BIAZ REBMIMAL, BB EE— 0N E
| | | BTFETHLEETARSZRAT, XWBiFEA\EEE, HHREIAREE
63-250 (forcnocs ) 40 230 220 i HSK100 W TR, LUk mE TR,
50-200 32 200 170 i W Make sure X-axis to Zero;
\-vi-/
I

»<4 DEREK b4 DEREK




s L2

MFXN

Type-MFXN Square Face Milling cutter
MFXNZY 90° Mgt 7]

Kr=90°

FrfE R B #250-160mm
ﬂﬁﬂgﬁ]ﬁ$ﬁﬁ KIS
Kr=90°

Standard diameter: 50-160mm
More options for inserts (2 @

|

mITZE=m:

MLEE: 3rin

#wmT : 4554

#mIT B : HRC30
TR . MFXNOO-100-32-8TR
gt - XNMX080608-GM SP5330
N EVe: 180m/min {580r/min)
s Efz: 0.2mm/AVF=930mm,/min)
iFap: 2mm

1%ae: 80mm

SHAER: k&

Machining Case:

Vertical machine

Processed Material:45% steel
Material Hardness: HRC30
Speciafication of Mill:
MFXMN20-100-32-8TR

Insert: XNMX0S0608GM SP5330
Cutting rate: 180m/min { 580r/min }
Feed: 0.2mm,/t¥f=230mm/min)
Cutting depth: 2mm

Cutting width: 80mm

Coolant: Water

MFXN

HIPE—MFXN Square Face Milling cutter
XNE BTl &

BArififa 5SS meit T EES . EiFS, FER
HEMI&EE&& ’

BEAESTHERAE I TS, 8XPE7.5mm,

BEAENRFAENSHEMT, SFF@E. &6
s, EEMI,

WALtk EREMTI A ERHESFEE.

EThe structure has a large anterior horn and dynamic slant design,
easily for cutting and low vibration. Effectively improved surface roughn
855 of the workpiece.

W Thick insert is remarkable for anti-broken. which can be ensured for
the maximum cutting depth as 7.5mm.

W The nondirectional insert can deal with many kinds of processing, inclu
-ding plane, step, grooving, verticality machining.

MDouble faces and 6 teeth, more economical and practical than the tradi

tional tools.



MFWN

Type-MFWN Square Face Milling cutter
MFWNZ! 90° mE$t]

HN45

Type- HN45 45°Face Mill
HN45%! 45° m§ET]

Kr=90°
FRE IS E 1263-250mm
NEHRERFERR

Kr=80°
Standard diameter: 63-250mm
More options for inserts (2

i =

HEE: 3rhn

WINTHE: 455
#WhnTHEIEEE: HB180

TEEK: MPWNO0O-160-40-10TR
87 WNGU0OS0608MN-GM EP5125
1HAElEEVe: 140m/min {280r/min)
HEES I Efz: 0.15mmA(Vf=420mm,/min)
li®ap: 2.5mm

t1%ae: 130mm

EHIAR: sS4

Machining Case:

Vertical machine

Processed Material 454 steel
Material Hardness: HB180
Speciafication of Mill:
MFWN90-160-40-10T-R

Insert: WNGLOB0E0EN-GM EPS125
Cutting rate:140m/min (280r/min})
Feed: 0.1 5mm/A{Vf=4 20mm,min)
Cutting depth: 2.5mm

Cutting width: 1 30mm

Coolant: Air

f

"J3q pe

MFWN

T IRE—MFWN Square Face Milling cutter
NE T BEEt I &

B <riEfASshEamiEitLMKES. EiFES, AR
BEmIREEER,

BERESHESRE TS, T1E8EES 5mm,
B W ESmmEE, BXE8mm,

BEAENRTEMSMENT, SFFm. &6,
i, EEMI,

WG I b E 7] WiR{ti2iFHE,

W The structure has a large anterior horn and dynamic slant design, ea
sily for cutting and low vibration. Effectively improved surface roughness
of the workpiece.

M Thick insert is remarkable for anti-broken. Thickness of insert edge
is 8.5mm, and thinnest part is 5mm, which can be ensured for the maxi
-mum cutting depth as 8mm.

M The non-directional insert can deal with many kinds of processing, inclu
-ding plane, step, grooving, verticality machining.

MDouble faces and & teeth, more economical and practical than the tradi
tional tools.

Kr=45°
1271 k=271 SUIRMBEERMS
AR E250-315mm
NR#RERFRE

Kr=45°

12-edge insert,superb combination of
economy and cutting depth Standard
diameter: 50-315mm

Maore options for inserts(2/[d

b

YFE: i

#mITHE. HT300

I HEEE: HB200

TIEEKE . HNAS125-40-8TR
gt E . HNGXO907ANSN-R EP5125
I EVc: 240m/min ( 600r/min )
ptee Atz 0.15mm/AVE=720mm,/min)
Hap: 1.5mm

®Eae: 80mm

BHER: K&

Machining Case:

Vertical machine

Proces sed Material; HT300

Materal Hardness: HB200
Speciafication of Mill:

HN45-1 25-40-8T-R

Insert: HNGX0S07ANSMR EP5125
Cutting rate: 240my/min (600 min}
Feed: 0.15mm/tVF=720mm,/min)
Cutting depth: 1.5mm

Cutting width: 80mm

Coolant; Water

a .’ 4
- 3 v
f

hﬁhan =] ‘."/

HN45

Type- HN45 45°Face Mill
HNASEIA5°E $% 7]

WS Mg TIERE A, RIES, FHEEHENT
HEHE, HEBRIFNEMARE.
WERRSITER T W s, 70855 48 7mm,
WA EsSmmE R, & KEESmm,
B E 1271 LB R F LT,

WThe dynamic slant design is easy for cutting with low vibration and high
speed. Effectively improved surface roughness of the workpiece.

WThick insert is remarkable for antibroken. Thickness of insert edge
is 7 mm, and thinnest part is 5mm, which can be ensured for the maxi
4mum cutting depth as 5mm.

WDouble faces and 12 teeth are more economical and practical.



SN45

Type- SN45 45°Face Mill
SN45%Y 45° Mt 7]

Kr=45°
FREMIE E 250-200mm
gy e APMK S

Kr=45°
Standard diameter: 50-200mm
More options for inserts[2 @2

5.

HEE: 3rim

WinIHEl: 455
#hnTHHEEE . HB18O

TIEHE. SN45125-40-10T-R
gk SNMX1205ATN EP5225
EE Ve : 200m/min ( 500r/min )
s R Efz: 0.2mm AN =1000mm,/min)
NiFEap: 2mm

N#ae: 50mm

WA, ki

Machining Case:

Vertical machine

Processed Material: 454 steel
Material Hardness: HE180
Speciafication of Mill:
SNd5-125-40-10T-R

Insert: SHNX1205ATN EPS225
Cutting rate: 200m/min 500rmin}
Feed: 0.2mm /A= 1000mm,min)
Cutting depth; 2mm

Cutting width:  50mm

Coolant; Water

SN45

Type- SN45 45°Face Mill
NASEIAS E $k T]

EaEAmETZIER A, KiES, AEiESAEmIH
EE, HEERIFMNRmMMAEEE.

lﬁﬂﬂi&ﬁﬁﬁﬁtﬂlﬂlﬂi!ﬁﬁi TR EEE6mm, &
WALt R4 5mmEE, BAEFESmm,

| B eSS 2 =Rl

WThe dynamic slant design is easy for cutting with low vibration and high
speed. Effectively improved surface roughness of the workpiece.

MThick insert is remarkable for antHbroken. Thickness of insert edge
i= & mm, and thinnest part is 4.5 mm, which can be ensured for the ma
-Kimum cutting depth as Smm.

WDouble faces and 8 teeth are more economical and practical.

MFXN

MFXN Indexable End Mill
MFXNZY 90° imEtT]

]kl 7] - Jid

T HWI EERI SHENI WK ESEnT

38 ik T igsT MR F i
Specification Teeth D g Insert screw Wrench Weight
MFXN90- C20-21-150-2T 2 21 20 29 150 4 MO25L080 Q08B 0.30
C25-26-170-4T 4 26 25 29 170 4 MO25L080 QODEB 0.60
C32-33-200-5T7 5 33 32 31 195 4 MO25L080 QODEB 1.20
C20-21-150-3T i 21 20 29 150 4 MO25L080 QBB 0.30
C25-26-170-5T 5 26 25 29 170 4 MO25L080 QODEB 0.60
C32-33-200-6T 6 33 32 31 195 4 MO25L080 QDEB 1.20

i& A Suitable: &% 71 /i DEREK Insert

s NhAMER EF

Specification A 3 dl r Composition Stock

© © H mwowxem 67 3285 315 08 0 "
"% TET
A BEEE AP R OiTREM™
& Excellent iInstock) AGood (Instock) 1 On Request

b4 DEREK

i T

MILUNG CUTTERS

=
0

235 |

] \ ®

Y
Fac

3

S

\\\x

RS
S E

2\
- \:mumc.u

i % HEEH \ MR
Mokl \ Shel M1 \ Incheoshia Facs



o T

MILURG CUTTERS

/ FL
Caahiaariad Nl

p oo Al

e[ e
Indzmiia

=/

e
harriering Culer

b

Irchiorhie P

E /Hﬂ/ﬂﬁ%ﬂ%ﬁ%#

MFXN

Type-MFXN Square Face Milling cutter
MFXNZY 90° E#ET]

o]l 71 - Jlad

T eI $HEAT ARENT WK 2 EANT

o

L

me 7184 TERST  REEF 2 EE
Specification Teeth Insert screw Wrench Weight
MFXN90- 50-22-4T-R 4 50 22 40 1.5 MO40C130 Q158 0.30
50-22-5T-R o 50 22 40 1.0 M040C130 Q15E 0.30
63-22-4T-R 4 63 22 40 7.5 M040C130 Q158 0.40
63-27-6T-R (5] B3 27 40 7.5 M040C130 Q15B 0.40
63-27-7T-R 7 63 27 40 1.5 MO40C130 Q158 0.40
80-27-5T-R 5 80 27 50 1.5 MO040C130 QLl5B 1.00
80-27-7T-R 7 80 27 50 1.5 M040C130 Q158 1.00
80-27-9T-R 9 80 27 50 D M040C130 Q158 1.00
100-32-6T-R 6 100 32 50 7.5 M040C130 Q158 1.50
100-32-8T-R 8 100 32 50 1.5 M040C130 Q158 1.50
100-32-11T-R 11 100 32 50 7.5 MO40C130 Q158 1.50
125-40-7T-R 7 125 40 63 1.5 MO040C130 Q15B 2.80
125-40-11T-R 11 125 40 63 1.5 M040C130 Q158 2.80
125-40-14T-R 14 125 40 63 7.5 M040C130 Q158 2.80
160-40-12T-R 12 160 40 63 7.5 M040C130 Q158 4.80
160-40-16T-R 16 160 40 63 1.5 M0O40C130 QLl5B 4.80

i F Suitable:f&% 71 5 DEREK Insert

[ =]

| s NE#HR EfF
g Specification A ] dl r

Composition Stock

EQ» { la XNmXosoeos-6M 12.7 6.45 4.55 0.8 gggigg =

el

-'.F- M1

: A BEER FAY: ORiT%E™
Motice: & Excellent (Instock) M Good (Instock) 1 0n Request

b4 DEREK

MFWN

Type-MFWN Square Face Milling cutter
MFWNZ! 90° HE#ET]

- -
o e
&
9’ \3—'1 Y.
.4 .
}Hﬂha
L FI9

s

Specification

MFWN90- 63-22-4T-R 4 63 50
80-27-5T-R 5 80 60
100-32-7T-R 7 100 70
125-40-8T-R ] 125 87
160-40-10T-R 10 160 100
200-60-12T-R 12 200 142
250-60-14T-R 14 250 142

o]l 71 - Jlad

T T FENI AMENT IW]H' EEANT

- -

m

L AR F 58

i FA Suitable:f&% 71 5 DEREK Insert

Spemﬁ cation A

a‘mam 127 6.65 6.2 0.8

A% il
AGood (Instock)

AFERE
Nutn::e & Excellent {Instock)

S Insert screw Wrench Weight
40 8 MO50J120 0208 ;
50 8 MO50J120 Q208 0.88
50 8 MO50J120 Q208 1.18
63 8 M0O50J120 Q208 2.54
63 a8 MO50J120 Q20B 3.74
63 8 M0O50J120 Q208 6.50
63 8 MO50J120 Q208 9.00
NR#R EF
Composition Stock
EP5125
EP5225
ORITEEM™
O 0n Request

>4 DEREK

N e

MILURG CUTTERS

#HEH%

=R
Abrvirrn P

\‘Jﬁ:ﬁaﬁ\

SE
st g Gl

,__\

=
Irndioibde Faos VI

n

4=
o

HE

h \ B \ﬂﬂ\




e e

MILURG CUTTERS

b

= WYE
[

/4

bl )
herriering Culer

i
[T

/.

Irchiorhie P

F ) Y o

HN45

Type- HN45 45°Face Milll
HN458Y 45° THEHET]

SN45

Type- SN45 45°Face Mill
SN45%Y 45° E§LT]

oS
Specification
HN45- 50-22-4T-R
63-22-6T-R
80-27-6T-R
80-27-8T-R
100-32-6T-R
100-32-8T-R
125-40-6T-R
125-40-8T-R
160-40-8T-R
160-40-10T-R
200-60-12T-R
250-60-14T-R
115-60-16T-R

o f o 00 00 T OB O 00O O

50

63

80

80
100
100
125
125
160
160
200
250
315

22 40
27 50
27 50
32 50
32 50
40 63
40 63
40 63
40 63
60 63
&0 63
60 80

e

T

iy 3]

Insert screw

- M045J120
74.7 M045J120
91.7 M045J120
91.7 M045J120

111.7 M045J120
111.7 M045J120
136.7 M045J120
136.7 M045J120
171.7 MO45J120
171.7 M045J120
211.7 M045J120
261.7 M045J120
326.7 M045J120

MR F
Wrench

E.IIJI EERI @mmnT

EE
Weight

0.40
1.06
1.06
1.74
1.74
3.24
3.24
5.70
5.70
9.00
12.8
32.2

e

MaT ENT FENI SR

iy 13 HEREF BE
Insert screw Wrench Weight
SN45- 50-22-4T-R 4 50 M040C150 :

63-22-5T-R 5 63 22 40 M0O40C150 Q158 0.50
80-27-6T-R 6 80 27 50 M040C150 Q158 1.20
100-32-8T-R 8 100 32 50 M0O40C150 Q158 1.80
125-40-10T-R 10 125 40 63 M040C150 Q158 3.00
160-40-12T-R 12 160 40 63 M040C150 Q158 4.60
200-60-18T-R 18 200 60 A3 M040C150 Q158 6.50

i A Suitable: &% 71 K DEREK Insert

[ =]

%ﬁ -
g Specification

A

NE#HE EF
Composition Stock

@ a’n EP5125 A
o ~ ¥ . HNEXDAOTANSMR  16.5 6£.35 4.9 EP5295 P
B ABEERE AEFEI IR OEITEE™
Motice: & Excellent (Instock) AGood (Instock) OnRequest

b4 DEREK

i& A Suitable:{E5 715 DEREK Insert

NE#R EfF

dl Composition Stock

n @ E.‘“ SNMX126ATN 127 15 64 6 Sl

ey = EP5225 A

A
ﬁ:’tice: : xg ﬁaﬁ (Instock) ﬁ&:ﬁ} Tlﬁ!sﬁl: ck) 8&1% gqﬁgc

b4 DEREK

N e

MILURG CUTTERS

=
]

S s

Ak Face MI

=R )

2I\FgE\ *

4=
o

FEET
Irabiibe Pt




ASR/EMR

ASR Screw-on Cutter for High-feed Milling
ASR ¢ ZF 3 K it 4 im gt 70 3

4 EHEEE

BMT FWNI &MWNT HENT  &EK  SENT

T T

i
& L 1

T B
17 AN i

-

[=]

R8s T RET WA F HE &

Insert Insert screw Wrench Weight %,

ASR- 16-M8-2T 2 16 Ma 25 Ma EPMNWOE03ITN-S MO25W0e0D Qo8 0.05 ﬁg

17-M8-2T 2 17 M2 25 M8 EPMNWOS0ITN-S MO25W0ED Q08 0.05 % £

20-M10-2T 2 20 M10 30 M10 EPNWOB03ITN-S MO25W0e0D Qo8 0.09 Rs
21-M10-2T 2 21 M10O 30 MLO EPMNWOE03ITN-S MO25W0ED Qo8 0.09
25-M12-3T 3 25 M12 35 M12 EPMNWOE03TN-S MO25W0e0D Qo8 0.14
26-M12-3T 3 26 M2 35 M12 EPMNWOS03ITN-S MO25W0ED Q08 0.14

i& A Suitable:& =715+ Bir 71k DEREK Or HITACHI Insert

EMR Screw-on Milling Cutter
EMR i oF =X i g% 77 3k

\rﬁ Hwﬁ\ ﬂe;m%\

-
agth—

I

w45 =0

i
B
A4
ENI FENI AKRENI DK ST ¥
i - /

i a5

Do *ﬁ

n§

;

N

FEGRED
bbb Fii

n
as T NREEE NRHEE [FEE EESY EEEF =8 /
Specification Teeth D M Insert Insert screw  Clamp Screw Wrench Weight £
EMR- 4R16-M8-2T 2 16 85 25 M8 ARPMWOB0Z2 MO3OYOTO1l YS34 MO30YOT70-1 Qo8 0.05 %‘
AR17-M8-2T 2 17 85 25 M8 FRPMWOB0Z2 MO30OYO7O-1 YS34 MO30YOT70-1 Qo8 0.05 .
AR20-M10-2T 2 20 105 30 MI1O RPMWOB0Z2 MO3OYOTO1 YS34 MO30YOT70-1 Qo8 0.09 /
AR21-M10-2T 2 21 10,5 30 MIO RPMWOB0Z2 MO30OYO7O-1 Y534 MO30YOT70-1 Qo8 0.09 s
S5R25-M12-2T 2 25 125 35 M12 RPMWI1003 MO40S080-1 YS43 MO405100-1 Q15 0.14 ﬁ?‘
SR26-M12-2T 2 26 125 35 M12 RPMWI1002 MO40S020-1 YS43 MO405100-1 015 014
SR30-M12-2T 2 30 125 35 M12 RPMW1003 MO405100-1 YS43 MO4A0S120 Q15 0.14 /
SR35-M16-3T 3 35 17 43 M1&6 RPMW1003 MO405100-1 ¥sS43 MO40S120 015 0.25
i& A Suitable:= 715 . =% 71k DEREK Or MITSUBISHI Insert
< DEREK ﬂ



TRS/RGF

TRS Screw-on Milling Cutter
TRS i 7F . i $& 71 3

&

#E

18| TRs-4mieMs2T 2 16 85 25 M8 ROMTOSO2

e R17-M8-2T 2 17 85 25 MS ROMTOB02

RE 4R20-M10-2T 2 20 105 30 M10 RDMT0802
R21-M0-2T 2 21 105 30 MIO ROMTOB02
5R25-M12-2T 2 25 125 35 M12 RDMTIOT3
5R26-M12-2T 2 26 125 35 M12 RDMTLOT3
5R30-M12-2T 2 30 125 35 M12 RDMTI0T3
5R35-M16-3T 3 35 17 43 M16 RDMTLOT3

NR8sT
Insert screw
MO30Y070-1
MO30Y070-1
MO30Y070-1
MO30Y070-1
MO40R0B0-2
MO40R0E0-2
MO 40R0B0-2

MO40R0S0

oo [l [l &

B

HSpT  FENL GFENI N REnT

[Ef  [EEEET
Clamp Screw

¥5-34  MO20YD70-1 Q08
¥5-34  MO20YOT7C-1 Q08
¥5-34  MO20YD70-1 Q08
¥5-34  MO20YOTC1 Q08
Y543 MO405100-1 Q15
¥5-43  MO405100-1 Q15
Y543 MO405100-1 Q15
¥5-43 MO405100-1 Q15

MEEF HE

Wrench  Weight

0.05
0.05
0.09
0.05
0.14
0.14
0.14
0.25

RCF Screw-on Ball-nose Cutter For Roughing
RCF & o X Bk 2 Fp $E 70 2k

i& A Suitable: %= 71 /. =% 71/ DEREK Or MITSUBISHI Insert

k"‘#"‘\ i

at

*

e
Churniaring Cutr

g

HEE%
Irchincibls Facs W

BE na
Teeth D

Specification

RCF- 20-10R-M10-2T 2 20 105 40 MI10

25-12.5R-M12-2T 2 25 125 40 M1z2

NE&8s
Insert

ZCEW100CE
ZCEW100SE

ZCEW125CE
ZCEW125SE

T REgET HERETF
Insert screw Wrench
MO30D075
MO30D005 i

MO40D0&aD-3
MO40D110-3 alLsh

HE
Weight

0.09

0.14

BF/300R/400R

BF Screw-on Ball-nose Cutter For Finishing
BF i o =X Bk 2 #E BE 70 3k

- i
Specification Insert
BF- GR-MG-1T 1 12 6.5 22 Mé& P3200-D12
8R-MB-1T 1 16 8.5 28 M3 P3z202-D1&
10R-M10-1T 1 20 105 30 MI10  P3201-D20
125R-M12-1T 1 25 125 40 M1z P3z02D25

=7

WaT RN

TR eEsT
Insert screw

MO50WO0S0-6R
MOS0W130-8R
MO50WL70-10R
MOBOW210-12.5R

IR F HE
Wrench Weight
Q20 0.03
Q20 0.05
Q20 .09
T30OM 0.14

if A Suitable:ZE= 71K . E/R4¥ 775 DEREK Or WALTER Insert

300R/400R Screw-on Milling Cutter
300R/400R g zr s\ & fa uw Bt 71 3K

b4 DEREK

i& A Suitable:#%= 71/ - Hir 71 DEREK Or HITACH! Insert

BYLIEEN

BRENT HAE NEDT

NRES
Insert

Specification

MnI  EhT

¥EmT ¥FEhI

=

TR 4RET

Insert screw

HERRF
Wrench

HiE
Weight

300R- 16-M3-2T 2 16 8.5 25 Ma APMT1135 MO25WOo&0 Qo8 0.05
17-M38-2T a 17 8.5 25 MEe APMT1135 MO25WOoeD Qo8 0.05
20-M10-2T 2 20 10,5 30 MI1D  APMTL13S MO25WOo&0 Qo8 0.08
21-m10-21 z 21 10,5 30 MIO  APMTL135 MO25WOoe0 Qo8 0.08
25-M12-31 3 25 125 35 M1z APMT1135 MO25WOo&0 Qo8 0.14
26-M12-3T 3 26 125 35  MI2 APMT1135 MO25WOoe0 Qo8 0.14

400R- 25-M12-2T 2 25 125 35 MIl2 APMT1&04  MO405080-1 Q15 0.14
26-M12-2T a 26 125 35 MI2 APMT1604  MO405080-1 Q15 0.14
30-M12-2T 2 30 125 3B Ml2 APMT1&04  MO405100-1 Q15 0.16
35-M16-3T 3 35 17 43  Mle  APMTI&D4  MO405100-1 Q15 0.24

iE A Suitable: = 1/ =% 71/ DEREK Or MITSUBISHI Insert
b4 DEREK

N e

MILURG CUTTERS

N

Lo arigad Wil

EHE

o

N

e ]

e
ok

Efar

\uﬂ?

SEE
G

[

n

4=
o

,__\

o EE
Irndioibde Faos VI




AJU/R390

AJU Screw-on Cutter For Drilling Milling
AJU 81 7F 0t A gh 82 7T 3k

DS

DS Solid Carbide Holder
DS #n#r & 71 L

ol 7] - | ZI%)

BNT  A#MENI #VIE  WWMI EENT

Bs

= E 2 i ; c
%E oy Foeth o T, NRET Sﬂ”ﬁ = - - i %E
D5- G12- . .
% E AJU- 16-M8-2T 2 16 85 28 M8 pnoUZOL Mo2swoe0 Q08B 0.05 C12-M6-150 12 150 M6 65 0.21 % E
3 £12-M6-200 12 200 M6 6.5 0.29 3
s 20-M10-2T 2 204 G105 ol ma ECETERCl e e C15-M8-100 15 100 s 85 0.23 e
Pr—— C15-M8-150 15 150 M8 8.5 0.35 /
- 25-M12-2T g 25 125 38 M2 ourio030e7  MO4OR0BO-2 Q158  0.14 C15-M8-200 15 200 M8 8.5 0.46 e
72 e C15.6-M8-150 15.6 150 M8 8.5 0.38 23
EE 32-Mi6-2T 2 32 17 42 M1l& CPMT1604087 MO50Y110-4 Q208 0.23 C15.6-M8-200 15.6 200 Ma a5 051 ;;_-E
, £15.6-M8-250 1556 250 M8 85 0.60

\ iE A Suitable: @ 71/ . B3z 71 DEREK Or HITACHI Insert e s e 18 35 0.26 /
" C16-M8-150 16 150 M8 85 0.39 5
%8| R390 Screw-on Milling Cutter T & i e = = Ly
81| R300&Fstisek L 16-M8.250 16 250 v 85 065 &
\*\\ C16-M8-300 16 300 M8 85 0.79 Z
= C19-M10-150 19 150 M10 105 0.54 et
12 E B B g C19-M10-200 19 200 M10 10.5 0.72 jid]
& MEI  EWI  FEMI FENI ANENI MWK MENT G19-M10-250 19 250 M10 10.5 0.91 g
%‘K - £20-M10-100 20 100 M10 10.5 0.42 # 7
o\ f v i £20-M10-150 20 150 M10 105 0.60 f;’ i
B ] £20-M10-200 20 200 M10 105 0.82 H
i o ] - = G20-M10-250 20 250 M10 10.5 1.00 “f
\ O ! i ¢20-M10-300 20 300 M10 10.5 1.22 A
™ v ' £24-M12-150 24 150 M12 125 0.81 ,/,
3 C24-M12-200 24 200 Mm12 12.5 1.08 o

m - L - £24-M12-250 24 250 M12 125 1.35 gi
N £24-M12-300 24 300 M12 125 1.62 7
N L NRBE AW MKET B8 625-M12-150 25 150 M12 125 0.94 /
zs Specification  Teeth Insert Insert screw Wrench LEF £25-M12-200 25 200 M12 125 1.75 H
" R390- 16-M8-2T 2 16 85 28 M8  R39011T308  M025WO050 Qo8 0.05 £25-M12-250 25 250 M12 12.5 1.55 &

“ 17-M8-2T 2 17 85 28 M8  R39011T308  M025WO050 Qo8 0.05 £25-M12-300 25 300 M12 125 1.83 }
\ 20-M10-2T 2 20 105 30 M10  R390-11T308  M025WO050 Q08 0.09 £32-M16-150 32 150 M16 17 1.43 /
F 21-M10-2T 2 21 105 30 MI0  R39011T308  M025WO050 Q08 0.09 £32-M16-200 32 200 M16 17 1.90 E
% 25-M12-3T 3 25 125 35 M12  R39011T308  M025WO050 Q08 0.14 £32-M16-250 32 250 M16 17 2.38 s
26-M12-3T 3 26 125 35 M12  R390-11T308  M025WO050 Q08 0.14 £32-M16-300 32 300 M16 17 281 /

\ i Suitable: @@= 71/ WL4§45E 71 5 DEREK Or SANDVIK Insert C32-M16-350 32 350 M16 17 3.28 /

£32-M16-400 32 400 M16 17 3.75
HTH
See next ;:re»gteF
h »< DEREK b4 DEREK




DS

Screwed-on Milling Cutter VS Standard Milling Cutter

AJX

AJX High Feed Indexable Milling Tool

£ HHE TIAT AN I RO RE L B AJX Kift 4531 8t 7]
10 T & ¥ /Cutting Condition Fsi m q "!" j xi 4 kj
WEFETR: #% 7HR390-C20-20-160 B Cutter: R390-C20-20-160 +-----------nnomeoooovt A MMI  FEHMI ANEMI GENI  mEE  REMT
#8308 47 D520-19-150-M10+R390-DS20-20-2T DS20-19-150M10+R390-DS20-20-2T -~~~ B :
WiEMTIHE: 554 WWork piece: 55# i i
W 201HB M Hardness: 201HB st / a =
w4 T T
G — <Hp ) Co I
iNHEE  Ve=80m/min Ve=150m/min ?%u-jﬁ ﬂ_- a “’f'a ? " oa |
=1 =1 H
E@EE  N=1.270min’_ N=2,390min WEYE: TR - i .
iy g F=2,000mm/min F=4,800mm/min B L=190mm
£ HE#E  f=1.6mmirev f=2.0mmyrev s £
1 BE 7% neme e Eess ey e <
gg . Specification Teeth D d a L1 Insertscrew Clamp Clamp Screw Wrench Weight i!?l._,
R; ﬂg,ﬁﬁm AJX- C20-201302T 2 20 20 1.5 50 130 JOMT080320 M030Y070-2 QIOR 0.29 ﬁ
mfﬂ, €20-20-180-21 2 20 20 1.5 100 180 JOMT080320 MO30Y070-2 QIOR  0.40
\‘\ i < i — WBI 74 : R390-C20.20-160( O A x) £20-20-250-2T 2 20 20 1.5 130 250 JOMT080320 MO30Y070-2 QIOR  0.60 /
- ' €20-22130-21 2 22 20 1.5 30 130 JOMT080320 MO30Y070-2 QIOR  0.30 -
;g =~ . il Tl L e Uk B e A R A C20-22-180-2T 2 22 20 1.5 30 180 JOMT080320 MO30Y0702 QIOR  0.40 ;g
& 08[& o~ |ATelx = O® EifE  Aa @@L x gk €20-22-250-21 2 22 20 1.5 30 250 JOMTO80320 MO30Y0702 - : QIOR  0.60 P
\ 06[A  |A AA  |A alx % % Hag\eration. Ueinadon T cLaedMoicn £25-25-140-21 2 25 25 2 60 140 JDOMWO9T320 MO035T085 YD-13 MO40S100-1 Q158 0.47 y
\! e s NI FERS3ME! 0252520027 2 25 25 2 120 200 JDWWOSTS20 MOSSTOB5 YD-L3 MO4OSI001 Q158 069
53 025-25-250-2T 2 25 25 2 130 250 JDMWO9T320 MO35T085 YD-13 M040S1001 Q158 0.91 83
=+ s
§§ €25-28-140-21 2 28 25 2 40 140 JDMWO9T320 MO35T085 YD-13 M040S100-1 Q158  0.49 &t
Fh BIES 025-28-2002T 2 28 25 2 40 200 JOMWO9T320 MO35T085 YD-13 M040S1001 Q158 0.72 4
\ Bt A il B AL P e T B €25-28-250-2T 2 28 25 2 40 250 JOMWO9T320 MO35T085 YD-13 MO40S1001 Q15B  0.95 /
:
iz ““[&l\ o PRERIME AR C32-30-1602T 2 30 32 2 70 160 JOMWI20420 MO40R100-2 YD-13 M040S120 Q158 0.90 Eg
d H i 1,1
- ’{;Eﬁ;‘m {ﬁ;ﬁ‘-ﬁm« Ay €32-30-20021 2 30 32 2 120 200 JOMWI20420 MO40R100-2 YD-13 M040S120 Q158 1.13 5
A @l "““’L”M J,r‘ M £32-30-250-2T 2 30 32 2 130 300 JOMWI20420 MO40R100-2 YD-13 M040S120 Q15B 1.45 #
N : - : £32-32160-2T 2 32 32 2 70 160 JOMWI20420 MO40R100-2 YD-13 M040S120 Q158 0.90 /
ot ] i S £32-32-2002T 2 32 32 2 120 200 JOMWI20420 MO40R100-2 YD-13 M040S120 Q158 1.13 FJ;
R £32-32-250-2T 2 32 32 2 130 250 JOMWI20420 MO40R100-2 YD-13 M040S120 Q158 1.45 3
N e C22-35-1602T 2 35 32 2 70 160 JOMWI20420 MO4ORI00-2 YD-13 MO040S120 Q158  0.92 y
K ks A% €32-35-2002T 2 35 32 2 70 200 JOMWL20420 MO40RI00-2 YD-13 M040S120 Q158 1.17 .,
; C32-35-25021 2 35 32 2 70 250 JDMWI20420 MO4OR100-2 YD-13 M040S120 Q158 1.48 4
i HONE e C32-40-20037 3 40 32 2 70 200 JOMWI20420 MO40R100-2 YD-13 M040S120 Q158 1.20 K
X JuliE : C32-40-2503T 3 40 32 2 70 250 JOMWI20420 MO4OR100-2 YD-13 M040S120 Q158 1.50 o
N n- 2154 C32-40-300-37 3 40 32 2 70 300 JOMWI20420 MO40R100-2 YD-13 MO40S120 Q158 1.80 =~
e T | 26 mm E] : 5
X i& A Suitable:@®= 71/ . =% 71/ DEREK Or MITSUBISHI Insert *]
7 7
Ry A
\ EE -1=1.} /
‘jﬂ_‘ I (m ) e
\\\ //
| RIER NRBHRIEEE S T S T £ T B

Result: Compared to stardard milling cutter, screwed-on milling cutter with solid carbide holder enjoys a much longer
tool life and lighter vibration.

}< DEREK

b4 DEREK




EXP SKS

EXP High Feed Indexable Milling Tool SKS High Feed Indexable Milling Tool
EXP Ki#t5rgt 7] SKS KiH£43r8E7]

HMH9EEEGE HMEUEETO

T FEMI SRTMI HENT #OK EENT . T FENI AKMENI HENT 0 SEOK  EENT

i
[}
- / i "’ i
= e - = fict, ! 1 ! -

¥ % y (858

B TE NEES NREET  [E EHREET MEET ER s TE NRES  NRET EE ERIRET M T S8

&
: :
] ]
g g
H R

i
Specification Teeth D d a L1 L Insert Insertscrew Clamp ClampScrew Wrench Weight Specification Teeth D d a Insert Insert screw Clamp Screw Wrench Weight 5
EXP- G20-20-130-2T 2 20 20 1.5 50 130 WPMWOS5H315 MO35R020-1 - - Q158 0.29 SKS- G20-20-130-27T 2 20 201.25 50 130 WOMWOS0316 MO30Y070-2 - - QI0R 0.28 ;

C20-20-180-2T 2 20 20 1.5 100 180 WPMWOSH315 MO35R0DE0-1 - - Q158 0.40 C20-20-180-2T 2 20 201.25100180 WDMWOS0316 MO30YOT70-2 - - QIO0R 0.39

G25-25-140-2T 2 25 25 1.5 60 140 WPMWOEX415 MO405100-1 YD-13  MO40S120 Q15B 0.48 C20-21-130-2T 2 21 201.25 50 130 WDMWOS0316 MO30Y070-2 . - Ql10R 0.29

C25-25-200-2T 2 25 25 1.5 120 200 WPMWOEX415 MO405100-1 YD-13  MO405120 QI15B 0.70 G20-21-180-2T 2 21 201.25 50 180 WDMWO50316 MO30Y070-2 - - Q10R 0.41

C25-25-250-2T 2 25 25 1.5 130 250 WPMWOEX415 MO405100-1 YD-13  MO40S120 Q15B 0.82 C25-25-140-2T 2 25 25 1.5 60 140 WOMWOGT320 MO40ROE0-2 YD-13 MO405100-1 Q158 0.46

: C25-26-140-2T 2 26 25 1.5 60 140 WPMWOEX415 MO405100-1 YD-13  MO405120 QI15B 0.48 G25-25-200-2T 2 25 25 1.5 70 200 WDMWOGT320 MO40ROSC-2 YD-13 MO405100-1 QI5B 0.69
i\\\\\ C25-26-200-2T 2 26 25 1.5 60 200 WPMWOEX415 MO40S51001 YD-13 MO405120 Q158 0.70 C25-26-140-2T 2 26 25 1.5 60 140 WOMWOGET320 MO40ROS0-2 YD-13 MO40S100-1 Q158 0.47 //,;f-
\\:\\\ C25-26-250-2T 2 26 25 1.5 60 250 WPMWOEX415 MO405100-1 YD-13  MO405120 Q15B 0.82 C25-26-200-2T 2 26 25 1.5 60 200 WDMWOGET320 MO40RO&SC-2 YD-13 MO405100-1 QI5B 0.71 ;f/:__
*ﬁ C32-32-160-2T 2 32 32 1.5 70 160 WPMWOEX415 WMO405100-1 YD-13  MO40S120 Q15B 0.87 G32-30-160-2T 2 30 32 1.5 70 160 WDMWOeT320 MO40RO80-2 YD-13 MO405100-1 QILI5B 0.80 f/]._lf
;: C32-32-160-3T 3 32 32 1.5 70 160 WPMWOEX415 MO405100-1 YD-13  MO405120 QI15B 0.87 G32-30-200-2T 2 30 32 1.5 70 200 WDMWOGT320 MO40ROSC-2 YD-13 MO405100-1 QI5B 1.05 ;_%:
\\_J G32-32-200-2T 2 32 32 1.5 120 200 WPMWOEX415 MO405100-1 YD-13  MO40S120 Q15B 1.17 C32-32-160-3T 3 32 32 1.5 70 160 WDMWOeT320 MO40RO80-2 YD-13 MO405100-1 QL5B 0.89 5% y
\\\\\\ C32-32-200-3T 3 32 32 1.5 120 200 WPMWOEX415 MO405100-1 YD-13  MO405120 QI15B 1.17 C32-32-200-3T 3 32 32 1.5 70 200 WDMWOGT320 MO40ROSC-2 YD-13 MO405100-1 QI5B 1.16 //ff///
Erg\ C32-32-250-2T 2 32 32 1.5 130 250 WPMWOEX415 MO405100-1 YD-13  MO40S120 Q15B 1.47 G32-33-160-3T 3 33 32 1.5 70 160 WDMWOeT320 MO40RO80-2 YD-13 MO405100-1 QLI5B 0.89 /g
E G32-32-250-3T 3 32 32 1.5 130 250 WPMWOEX415 MO405100-1 YD-13  MO40S5120 QI15B 1.47 C32-33-200-3T 3 33 32 1.5 70 200 WDMWOGT320 MO40ROSC-2 YD-13 MO405100-1 QI5B 1.16 =y
>\\£ G32-33-160-2T 2 33 32 1.5 70 160 WPMWOEX415 MO40S5100-1 YD-13 MO405120 Q158 0.94 G32-32-160-2T 2 32 32 2 70 160 WDMWOA0520 MO45Y110 YD-16 MO45Y110 Q208 0.89 % 4
\\\\\\\ (32-33-160-3T 3 33 32 1.5 70 160 WPMWOEX415 MO405100-1 ¥YD-13  MO405120 Q158 0.94 C32-32-200-2T7 2 32 32 2 120200 WDMWOA0520 MO45Y110 YD-16 MO45Y110 Q20B 1.15 ,/,/z__”/
13%3\ C32-33-200-2T 2 33 32 1.5 70 200 WPMWOEX415 MO4051001 YD-13 MO405120 Q158 1.19 G32-33-160-2T 2 33 32 2 50 160 WDMWOA0520 MO45Y110 YD-16 MO45Y110 Q208 0.84 q-,"i
_Jf C32-33-200-3T 3 33 32 1.5 70 200 WPMWOEX415 MO405100-1 YD-13  MO40S5120 QI15B 1.19 G32-33-200-2T 2 33 32 2 50 200 WDMWOA0520 MO45Y110 YD-16 MO45Y110 Q20B 1.15 T
'\\\\\\ G32-33-250-2T 2 33 32 1.5 70 250 WPMWO&X415 MO40S51001 YD-13 MO405120 Q158 1.49 C32-40-200-3T 3 40 32 2 50 200 WDMWOA0520 MO45Y110 YD-16 MO45Y110 Q208 1.24 /;//;.
N €32-33-250-3T 3 33 32 1.5 70 250 WPMWO6X415 MO40S100-1 YD-13 M0405120 Q158 1.49 C32-40-250-3T 3 40 32 2 50 250 WDMWO80520 MO45Y110 YD-16 MO45Y110 Q20B 155 7
:‘ig G32-40-200-3T 3 40 32 1.5 50 200 WPMWO&X415 MO40S5100-1 YD-13 MO405100-1 Q158 1.24 G42-40-200-3T 3 40 42 2 120200 WDMWOA0520 MO45Y110 YD-16 MO45Y110 Q208 1.80 Tl
éfl?:i C32-40-250-3T 3 40 32 1.5 50 250 WPMWOEX415 MO405100-1 YD-13 MO40S100-1 Q15B  1.55 G42-40-250-3T 3 40 42 2 130250 WDMWOA0520 MO45Y110 YD-16  MO45Y110 Q20B 2.25 f;:'
R C32-40-300-3T 3 40 32 1.5 50 300 WPMWO6X415 MO40S100-1 YD-13 MO040S100-1 Q15B 1.86 i& A Suitable:#8%= 1. 82 71F DEREK Or DIJET Insert A
\:\\\ C32-40-200-2T 2 40 32 1.5 50 200 WPMWOA0615 MOS0Y120-1 YD-16 MOS0Y110-2 Q20B 1.23 //”;E
11;: G32-40-250-2T 2 40 32 1.5 50 250 WPMWOA0615 MOS0Y120-1 YD-16 MO50Y110-2 Q20B 1.56 h
%51 G32-40-300-2T 2 40 32 1.5 50 300 WPMWOA0615 MOS0Y120-1 YD-16 MOS0Y110-2 Q20B 1.86 b )
'\\\\\\\\ i® A Suitable: @R 1R . X271k DEREK Or TUNGALOQY Insert ///,ff”
- EE

n 7

\\\\ /////

b4 DEREK }< DEREK




ASR

ASR High-feed Milling Cutter

AHU

AHU Shoulder Milling Cutter

ASR Kiit45 37 57) AHU & R & 857
4EEE0 ] 2] - [ 2
T FWNT SMENT HRENT Eds FENT WNTr  ERI EEaNI IFI:I H#HENT WeK WENT

& &
%y - - £
e The nelshoe e oo Speciication  Teeth Fig D aertscrow rench Wegrt [ 5
ﬂg ASR- C1616-1202T 2 16 16 40 120 EPNWOGO3TN-8  M025W060 Q08B  0.17 AHU- C10-10-100-1T 1 A 10 10 25 100 JOMT100308 MO25W050 Q08B  0.10 Ei
C16-16-160-2T 2 16 16 50 160 EPNWOG03THN-8  MO25WO06E0 0REB 0.23 C12-12-130-1T 1 A 12 12 25 130 JDMT100308  MO25WO050  QO8B 0.11
C16-17-120-2T p, 17 16 27 120 EFNWOE03TN-8 MO25W0ED gﬂSB 0.17 G12-13-1301T 1 A 13 12 25 - 130 JDMT100308  MO25W050 Qo8B 0.11
C1647-602T 2 17 16 27 160 EPNWOSO3TNS MO25W060  QOSB 0.23 £16-16-12021 2 B 16 16 40 100 120 JDMTL00308 MO25W050 Q08B  0.17 e
202012021 2 20 20 50 120 EPNWOSO3TN-8 MO25W060  QOSB  0.27 £16-16-160-2T g B 16 16 50 115 160 JDMTL00308 MO25W050 Q08B  0.21 73
£16-16-180-2T B 16 16 60 90 180 JDMTL00308 MO25W050 Q08B  0.26 e
% g:ﬁzz i if ig gg igg Eiﬁf}:gglz: ﬂgigﬁg:g gggg gg? C16-16-20021 2 B 16 16 60 100 200 JDMTL00308 MO25WO050 Q08B  0.29 “*
: 020-20120-2T 2 A 20 20 50 120 JDMTL00308 MO25W060 Q08B  0.26
e e 202046021 2 A 20 20 60 - 160 JDMTIOD308 MO25W060 Q08B  0.36 i
Ly €25-25-2003T 3 25 25 70 200  EPNWOGO3TN-8 ~ M0O25W060 Q088  0.72 202020027 2 B 20 20 70 100 200 JDMTI00308 MO25W060 QOSB  0.46 %
# B 252516021 2 A 25 25 70 - 160 JDMT150508 MO040S080-1 Q158  0.54 g
X, C32-32-160-4T 4 32 32 70 160  EPNWOBO3TN-8  MO25W060 Q08B  0.88 0262520021 2 B 25 25 70 100 200 JOMT150508 MO040S080-1 Q15B  0.68 %
AN €32-32-200-4T 4 32 32 115 200  EPNWOGO3TN-8  MO25W060  Qoge  1.17 25-252502T 2 B 25 25 80 115 250 JDMT150508 MO040S080-1 Q158  0.88 y
“g\* 32-33-160-4T 4 33 32 60 160 EPNWO603TN-8 MO25W060 Q08B 0.94 025-25-300-2T 2 B 25 25 80 165 300 JDMT150508 MO040S080-1 QI5B  1.02 -
E (32-33-200-4T1 4 33 32 70 200 EPNWOG0O3TN-8  MO25W060  QOEB 1.19 032-32160-21 2 A 32 32 48 - 160 JDMT150508 MO040S080-1 Q158  0.96 &
T C32-35-200-4T 4 35 32 50 200 EPNWO603TN-8  MO25W060 Q08B 1.21 0323220021 2 B 32 32 48 100 200 JDMT150508 MO040S080-1 Q158 1.17 #
AN C32-40-160-4T 4 40 32 50 160  EPNWOG0O3TN-8  MO25W060  QOEB 0.93 032-32-250-2T 2 B 32 32 48 115 250 JDMTL50508 MO040S080-1 Q158  1.48 7
'"f;f: ] £32-40-200-4T 4 40 32 50 200 EFNWOB03ITN-2  MO25W0ED Q08B 1.25 C32-32-250-3T 3 B 32 32 48 115 250 JDMTILS50508 MO405080-1 QIL5B 1.48 1%2
E i& F Suitable:f&= 71 & . Hir 718 DEREK Or HITACHI Insert C32-35-160-2T 2 A 35 32 80 160 JDMT150508 MO0405080-1 Q158  0.82 A3
LS £32-35-20021 2 A 35 32 60 200 JOMT150508 MO040S080-1 Q158 1.18 5
& / Fasture 032-35-250-2T1 2 A 35 32 60 250 JDMT150508 MO040S080-1 Q158 1.48 H
43 ) £32-35-300-21 2 A 35 32 60 300 JDMT150508 MO040S080-1 Q158  1.78 3
i WS H# A EIR T, 032-35-350-2T1 2 A 35 32 60 350 JDMT150508 MO040S080-1 Q158  2.08 i
3} :g:?:ﬂﬁ!ﬂh?lﬁfdﬂﬂ;ﬁﬁ- R 7 e RFOGTEMRARFa bk, Wl HHTEeEsT. £32-35-400-2T 2 A 35 32 60 400 JDMT150508 MO040S080-1 Q158  2.38 5
\\\\\\\a Ilncrzaesglg{:lrer'ﬁtfl ftaf[z:a:l::rtg{l‘eF will improve the tool life of insert without regarding to the defect influence of its tool life. i) 2 L 450 JDMTL50508 M0405080-1 Q158 8 ,”///_
. e e fod i a6 ok £32-35-500-2T1 2 A 35 32 60 500 JDMT150508 MO40S080-1 QI5B  2.98 %3
&1 €32-35-160-3T 3 A 35 32 60 160 JOMT150508 MO040S080-1 Q158  0.93 xs
% £32-35-200-3T 3 A 35 32 60 200 JOMT150508 MO040S080-1 Q158 1.18 7
N 032-35-250-3T 3 A 35 32 60 250 JDMT150508 MO040S080-1 Q158  1.50 .
'iﬁ £32-35-300-3T 3 A 35 32 60 300 JOMT150508 M040S080-1 Q158  1.81 ot
% 032-35-350-3T 3 A 35 32 60 350 JDMT150508 MO040S080-1 Q158  2.11 3
e £32-35-400-3T 3 A 35 32 60 400 JDMT150508 MO40S080-1 Q158  2.43 P
& Suitable: F 37 71 & HITACHI Insert
TR
Si.atene:r.tpagﬂE

b4 DEREK b4 DEREK




AHU

AHU Shoulder Milling Cutter

JRG

JRC Indexable End Mill

AHU 7% 8 & $47) JRC &3t ik 7]
==ZPEap == A B
Wl HEnI FEOL JFI“.UJI BEENLT  AE ML HMI  AINTI  FENT aMENI AN EENT

BB E Special size

T
MILLING CUTTERS
T
MILLING CUTTERS

s nY B NEBS  TEMS  MEET BE
Specification Teeth Fig D d a Insert Insertscrew  Wrench Weight Speﬁiﬁﬂmn Te Ir::]sej?t h?ajj ggw ﬁﬁ? mt
A e e MUSEHOAE ORE 0 15 JRC- C20-5R20-1602T 2 A 20 10 20 40 - 160 RC#TIOT3  MO35T085  QI5B  0.35 4
N C15164602T 2 A 16 15 O 40 - 160 JDOMTI00308 MO25W050  QUSB  0.20 aoswsiwar 2 A 25 15 20 40 - 160 RCATIOTS  womsToss Qs 040 P,
wE ’ & W
% C15164802T 2 A 16 15 O 40 - 180 JDMTI00308 MO25W050  QOSB  0.23 im0 A
L C15162002T 2 A 16 15 O 40 - 200 JDOMTI00308 MO25W050  QOSB  0.26 C25-8R25-1602T 2 A 25 15 25 60 - 160 RC+TIOT3  MO35T085 Q158  0.55 7t
BlEIEEEEE Ll A e MOGSWDSDEGOSE 0L C256R252002T 2 B 25 15 25 70 100 200 RC#T10T3  M035T085 Q158  0.75
\ CIBITI002T g : E ig 3 :g EE L MO DB O O R 2 C255R25250-2T 2 B 25 15 25 60 115 250 RC#TIOT3  M035T085  QI5B  0.95 /
i E::Eg 2 A 17 16 9 50 - 200 jg:ﬁgg:gg FEHTED Qg:g gg; it o A O U O N I v T L{
at oote02r 2 A 20 19 9 50 - 160  JDMTI00308 :gi:ggg gnaﬂ 0.31 C25-6R32-20021 2 A 32 20 25 50 - 200 RC#T1204  MO3STO8S Q158  0.80 i
(& ¢192020021 2 A 20 10 9 50 - 200 JOMTIOO308 MO25WO60 Q0SB  0.42 co-oRaz25021 2 A 32 20 25 50 S0 S T/
) : i& A Suitable: % 1R . WW4% = 71 K DEREK Or SANDH’IK Insert
% c-211602T 2 A 21 20 9 50 - 160 JDMTI00308 MO25WO060  QOSB  0.37 p
; c20-212002T 2 A 21 20 9 50 - 200 JOMTI00308 MO25W060  QOSB  0.47 %g
C24-251602T 2 A 25 24 14 50 - 160 JDMTI50508 M040S080-1 Q158  0.48 ﬁ
& C24-252002T 2 A 25 24 14 50 - 200 JDOMTI50508 MO040S080-1 Q158  0.66 /
. 242525021 2 A 25 24 14 50 - 250 JDMTI50508 MO40S080-1 Q158  0.88 457 2 Special size 4
s i 2
¥ C25-26-1602T 2 A 26 25 14 50 - 160 JDMTI50508 MO040S080-1 Q158  0.56 nt
; (252620021 2 A 26 25 14 50 - 200 JDOMTI50508 M040S080-1 Q158  0.71 Spectfoution  Todth 'F (OERST  REE wEiglht i
N
N 25962071 2 A 26 25 14 50 - 250 IDMTISOS08 MO040S080-1 Q158 0.90 G- C4SRS1002T 2 A 25 15 24 60 160  RCTION  MOSSTOsS  QIsB 055 .
3 i Suitable: B2 71 v HITACHI Insert Co45R252002T 2 A 25 15 24 70 200  RCATIOT3  MO035T085  QISB  0.70 i
i C245R5-2502T 2 A 25 15 24 80 250  RC«TIOT3 M035T085 Q158  0.90 i
\ C255R26-1602T 2 A 26 16 25 60 160  RC«TIOT3 MO35T085  QI5B  0.55 /
AN C255R62002T 2 A 26 16 25 70 200  RCTIOT3  MO35TO85 Q158 075 7
%3 (25-5R26-250-2T 2 A 26 16 25 80 250  RC#TI10T3 M035T085 Q158  1.00 ¥
3 i& F Suitable: {5 71/, %43 71 i DEREK Or SANDVIK Insert &
\ % & / Feature /
; WEELSERERET S, HAEE, RNTHREE, &
b MR ERRE, BHEE, BE"RROeBENEFETR, NMRE THRNLSTEEEMNHNE. T
S M Suitable for Sandvik insert, high efficiency on finish machining. e
) W Tool body is machined after heat treatment, which promises a precise tolerance and hogh rigidity. e
y< DEREK »4 DEREK




EMR Indexable End Mill EMR Indexable End Mill
EMR &€& ingt 7] EMR € Fimet 7]

e HMEEOD

NI  FWMNT AMWNI A EENT

ks - - L - L J
@ al ‘mi = P i
. W " - . o8] E ,\ g = _ B
@ §TF T .
T : : g o 5._': : FL‘E |
2 Speaication feath “E.E D DS d Py el Clatnp Gl St ?Enﬁ&h*\nﬁlgm WED WED WD = - - - 2
ﬁg EMR- C12-4R12-1301T 1 A 12 4 12 30 - 130 RPMWOS02 MO30Y060 - - Q08B 0.11 . o g
%5 C16-4R16-160-2T 2 A 16 & 16 40 - 160 RPMWOS02 MO30YO70-1 YS-34 MO30Y070-1 QO8E 0.23 %P B2 Special specification %
C16-4R16-2002T 2 B 16 8 16 40100 200 RPMWOS02 MO30Y070-1 YS-34 MO30Y070-1 Q0SB 0.23
At C20-4R20-160-2T 2 A 20 1220 60 - 160 RPMWOS02 MO30YD70-1 YS-34 MO30Y070-1 Q0SB 0.36 speﬂ%?aﬁun %[% F.g DDSd LI L o .ni’eﬁﬁf;fw c%n% %ﬁgg%ﬁﬁ? -
B e 1 FERE e s EMR-GI5-4R16-160-2T 2 A 16 8 15 40 160 RPMWO02 MO30YO70-1 YS-34 MO30Y0701 Q08B  0.20
C20.5R202002T 2 B 20 10 20 70100 200 RPMWI003 MO40SOS0-1 YS-38 MO35T085 Q158 0.45 C15-4R16-2002T 2 A 16 8 15 40 200 RPMWOS02 MO030YD70-1 YS-34 MO30YO70-1 Q08B  0.25
C20-5R25-1602T 2 A 25 1520 40 - 160 RPMWI003 MO40S080-1 YS-43 MO40S100-1 Q15B 0.36 C16-4R17-160-21 2 A 17 9 16 40 160 RPMWOB02 MO30Y070-1 YS-34 MO30Y070-1 Q08B  0.23
| C20-5R25-200-2T 2 A 25152040 - 200 RPMWLI003 MO40S08C1 YS-43 M0D4DS1001 Q158 0.56 C16-4R17-200-2T 2 A 17 9 16 40 200 RPMWOS02 MO30YOT70-1 YS5-34 MO30YOTD-1 QOBE  0.29
AN C25-5R25-160-2T 2 A 25 1525 60 - 160 RPMWI003 MO40S080-1 YS-43 M040S100-1 Q15B 0.54 C19-4R20-160-2T 2 A 20 1219 60 160 RPMWOS02 MO030Y0D70-1 YS-34 MO30Y070-1 Q08B  0.32 s
gz C25-5R25-180-2T 2 B 25 1525 60 90 180 RPMW1003 MO40S080-1 YS-43 MO40S1001 Q158 0.62 C19-4R20-200-2T 2 A 20 1219 70 200 RPMWO202 MO030Y070-1 YS-34 MO30YD70-1 QOBB  0.41 Y s
L €25-5R25-200-2T 2 B 25 1525 70100 200 RPMW1003 MO40S080-1 YS-43 M040S100-1 Q15B 0.70 C20-4R21160-2T 2 A 21 1320 60 160 RPMWOS02 MO40S080-1 YS-39 MO35T085 Q158  0.36 L.
& C25-5R25-250-2T 2 B 25 1525 80115 250 RPMWI003 MO040S080-1 YS-43 M040S1001 Q15B 0.86 C20-4R21-2002T 2 A 21 1320 70 200 RPMW0S02 MO040S080-1 YS-39 MO35T085 Q15B  0.45 L
C3'/4-5R30-110-2T 2 A 30 203/4 30 110 RPMWL003 MO040S100-1 ¥S-43 MO40S120 Q158 0.28 c0sR11602T 2 A 21 1120 60 160 RPMWL003 MO40S080-1 YS-43 M040SI00L Q158  0.38 Y
N dona Lo L s gg e R C20-5R21-2002T 2 A 21 1120 70 200 RPMWIO03 M040S080-1 YS-43 MO40SI001 Q158 0.47 .
. -160- - A Q158 0.57 e
% C25-5R30-2002T 2 A 30 2025 35 - 200 RPMW1003 MO40S100-1 YS-43 M040S120 Q158 0.75 C24-5R25-160-2T1 2 A 25 1524 60 160 RPMWL003 MO40S080-1 YS-43 M040S1001 Q158  0.51
= C95-5R30-250-2T 2 A 302025 35 - 250 RPMWI003 MO40S100-1 YS-43 M040S120 Q158 0.92 G24-5R25-200-2T 2 A 25 1524 70 200 RPMWI1003 MO40S0B0-1 YS-43 MO40S100-1 Q15B 0.65 %
%{f C25-5R30-300-2T 2 A 302025 35 - 300 RPMWI003 M040S100-1 YS-43 M040S120 Q158 1.11 C24-5R25-250-2T 2 A 25 1524 80 250 RPMWI1003 MO40S080-1 YS-43 MO4051001 Ql5B  0.83 ﬁ///
s C32-5R35-160-2T 2 A 35 2532 48 - 160 RPMW1003 MO40S100-1 YS-43 M040S120 Q15B 0.95 C25.5R26-1602T 2 A 26 1625 60 160 RPMWLO03 MO040S080-1 YS-43 MO40S100-1 QI5B  0.55 i
m C32-5R35-200-2T 2 A 35 2532 48 - 200 RPMWI003 MO40S100-1 YS-43 M040S120 Q15B 1.20 C25-5R26-2002T 2 A 26 1625 70 200 RPMWLOO3 MO040S080-1 YS-43 MO40S100-1 Q158  0.70 me
. & C32-5R35-250-2T 2 A 352532 48 - 250 RPMWIOO3 MO405100-1 Y¥5-43 MO405120 QI15B 1.50 C25-5R26-250-2T 2 A 26 1625 &0 250 RPMWI1003 MO40S080-1 ¥S5-43 MO40S100-1 QL5B  (0.89
\\\\\\\ C32-5R35-300-2T 2 A 352532 48 - 300 RPMWIOD3 MOD40S100-1 YS5-43 MO405120 Q15B 1.80 i& A Suitable:#E= 71K . == 71 DEREK Or MITSUBISHI Insert ////f,”f
T C32-5R35-350-2T 2 A 35 2532 48 - 350 RPMW1003 MO40S100-1 YS-43 MO40S120 Q158 2.13 s
jg C32-5R35-160-3T 3 A 35 2532 48 - 160 RPMW1003 MO40S100-1 YS-43 MO040S120 Q158 0.91 ol
g C32-5R35-200-3T 3 A 35 2532 48 - 200 RPMW1003 MO40S100-1 YS-43 MO40S120 Q158 1.17
R C32-5R35-250-3T 3 A 35 2532 48 - 250 RPMWI1003 MO40S100-1 YS-43 M040S120 Q15B 1.49 7/
AN C32-5R35-300-3T 3 A 35 2532 48 - 300 RPMW1003 MO40S100-1 YS-43 M040S120 Q15B 1.79 L
1t C32-5R35-350-3T 3 A 35 2532 48 - 350 RPMW1003 MO40S100-1 YS-43 MO040S120 Q158 2.11 ( 7
&" C32-6R32-160-2T 2 A 32 20 32 48 - 160 RPMT1204 MO40S100-1 YS-43 MO040S120 Q15B 0.89 &
N C32-6R32-2002T 2 A 32 2032 48 - 200 RPMT1204 MO40S100-1 YS-43 MO040S120 Q15B 1.16 o
N C32-6R32-250-2T 2 A 32 2032 48 - 250 RPMT1204 MO40S100-1 YS-43 MO40S120 Q15B 1.46 7
: C32-6R40-160-3T 3 A 40 28 32 48 - 160 RPMT1204 MO40S100-1 YS-43 MO040S120 Q158 0.93 (s
3 C32-6R40-200-3T 3 A 40 2832 48 - 200 RPMT1204 MO40S100-1 YS-43 M040S120 Q15B 1.20 >
. C32-6R40-250-3T 3 A 40 28 32 48 - 250 RPMT1204 MO40S100-1 YS-43 MO040S120 Q158 1.51 :
C32-6R40-300-3T 3 A 40 2832 48 - 300 RPMT1204 MO40S100-1 YS-43 M040S120 Q15B 1.81
C32-6R50-160-4T 4 A 50 3832 48 - 160 RPMT1204 MO40S100-1 YS-43 MO040S120 Q15B 1.03 g
C32-6R50-200-4T 4 A 50 3832 48 - 200 RPMT1204 MO40S100-1 YS-43 MO40S120 Q158 1.29
C32-6R50-250-4T 4 A 50 38 32 48 250 RPMT1204 MO040S100-1 YS-43 MO40S120 Q158 1.59

i& M Suitable:f@8% 71/ . =% 7k DEREK Or M!TSI.IEISHi Insert

>4 DEREK b4 DEREK




EMRT

EMRT Indexable End Mill
EMRT & F X imgk 7]

TRS

TRS Indexable Milling Cutter
TRS &FA mEk 7]

ST RENI SEENT SN  RENT
HnI FENI SREMI AUE S80I i e ;
/ e " / o8] E== =
/ i - iu* - - "‘"ﬂ T L
. ;‘# '...‘i: "’_ﬁ ol o et 1
g =
" -
- B8 Y BT B HigsT  EIR RS MUIET BB B8 N8 B i EARIRST MR T -
] I
ﬁE Specification Teeth FigT DDS d Ir:gert Injs::art scEw Clamp ClampScEf rench Wei Weight Specification Teeth Fg DDSd Lt L2 L Iﬁert In?s']ert screw Clamp ClampScEf Wrench ﬁg
e EMRT- C12-4R12-130-1T 1 A 12 4 12 30 - 130 RPMTOBT2 MO30Y060 - - QU8B 0.10 TRS- C12-4R121304T 1 A 12 4 1235 - 130 RDMT0802 MO30Y060 - - Qogg 0.23 e
ng C16-4R16-160-2T 2 A 16 8 16 40 - 160 RPMTO8T2 MO30Y070-1 YS-34 MO30YO7C-1 QO8B 0.23 C16-4R16-160-2T 2 A 16 8 1650 - 160 RDMT0O802 MO30YO70-1 YS-34 MO30YO70-1 QOSB nz
C16-0R16-2002T 2 B 16 8 16 40100 200 RPMTOSTZ MO30Y070-1 YS34 MO30YO70-1 QOSB 0.29 C16-4R16-2002T 2 B 16 8 16 50 100 200 RDMTO802 MO30Y070-1 YS-34 MO30Y070-1 Qoss 0.35
C20-4R20-160-2T 2 A 201220 60 - 160 RPMTOSTZ MO30YO70-1 YS34 MO30YO70-1 QOBB 0.32 C20-4R20-160-2T1 2 A 2012 2060 - 160 RDMTOS02 MO30Y070-1 YS-34 MO30YO70-1 QOSB
C20-4R20-2002T 2 B 2012 20 70100 200 RPMTOSTZ MO30Y070-1 YS34 MO30YO70-1 QOBB 0.45 20-4R20-200-2T 2 B 2012 20 70 100 200 RDMTO802 MO30Y070-1 YS-34 M0O30Y070-1 Qosg 0-35 “ne
20-5R20-160-2T 2 A 201020 60 - 160 RPMTIOT3 MO40SO80-1 YS39 MO35T085 Q5B 0.34 C205R20-160-2T 2 A 2010 2060 - 160 RDMTIOT3 MO4OR080-2 Y530 MO35T085 Q158 2
C20-5R20-200-2T 2 B 201020 70100 200 RPMT10T3 MO40SO80-1 YS39 MO35T085 Q158 0.44 C20-5R20-2002T 2 B 2010 20 70 100 200 RDMTLOT3 MO40R080-2 YS-39 M035T085 Q158 0.26 rh
i C20-5R25-160-2T 2 A 251520 40 160 RPMT10T3 MO40S08C-1 Y543 MOA0S100-1 Ql5B 0.36 C20-5R25-160-2T 2 A 2515 2040 160 RDMT1OT3 MO40ROE0-2 Y5-43 MO40S100-1 Q158 s
N\ C20-6R25-2002T 2 A 251520 40 - 200 RPMTI0T3 MO40SO8G-1 YS43 MO40SI00-1 Q5B 0.47 C205R25-200-2T 2 A 25152040 - 200 RDMTLOT3 MO4OR0802 YS43 M040s1001 Q158 094 [ 7
¥ (25-5R25-160-2T 2 A 251525 60 - 160 RPMTIOT3 MO40S08C-1 YS43 MO40S100-1 Q158 0.54 C25-5R25-160-21 2 A 25152560 - 160 RDMTIOT3 MO40R080-Z YS-43 M0405100-1 Q15B %i
j'E- C95-5R25-200-2T 2 B 251525 70100 200 RPMT10T3 MO040S0S0-1 YS43 M0O40S100-1 Q158 0.70 C25-5R25-200-2T 2 B 2515 2570100 200 RDMTLOT3 MO40R080-2 YS-43 MO405100-1 Q15B 0.87 E-.:E
o C25-5R25-250-2T 2 B 251525 80115 250 RPMTL0T3 MO040S080-1 YS43 M040S100-1 Q15B 0.88 C25-5R25-250-2T 2 B 2515 2580150250 RDMTIOTS MOA4OROS0-Z Y543 MO40S100-1 Q158 '
\\\\\\\ C20-5R30-110-2T 2 A 302070 30 110 RPMT10T3 MO40S1001 YS43 M040S100-1 Q158 0.32 G25-5R30-160-2T 2 A 3020 25 40 160 RDMTLOT3 MO40ROB0-2 YS-43 MO40s1001 Q158 0.72 //,///-
VER C25-5R30-160-2T 2 A 302025 35 160 RPMT10T3 MO40S100-1 YS43 M0O40S100-1 Q158 0.57 C25-5R30-200-21 2 A 3020 2540 200 RDMTIOT3 MOA0RO80-2 Y5-43 MO405100-1 Q158 /””25
Eg C25-5R302002T 2 A 302025 35 - 200 RPMTI0T3 MO40SI001 YS43 M040S100-1 Q158 0.73 C255R30-250-2T 2 A 30202540 - 250 RDMTIOT3 MO40R080-2 YS43 M040s1001 Q158 0.91 %E
5 C25-5R30-250-2T 2 A 302025 35 - 250 RPMTIOTS M040S100-1 YS43 M040S100-1 Q158 0.91 C32-5R35-160-3T 3 A 35253248 - 160 RDMTIOTS MO40ROSO Y543 MO405120 Q5B 5
N C32-5R35-160-2T 2 A 352532 48 - 160 RPMTI0T3 MO40S1001 YS43 MO040S120 QI5B 0.94 C32-5R35-200-3T 3 A 35253248 - 200 ROMTIOT3 MO4OROS0 YS43 M040S120 Q158 1.48 V7
N C32-5R35-2002T 2 A 352532 48 - 200 RPMTIOT3 MO40S100-1 YS43 MO40S120 Q158 1.18 C32-5R35-250-3T 3 A 35253248 - 250 ROMTIOT3 MOADROSO YS-43 MO40S120 QI5B 7y
nE C2-5R35-250-2T 2 A 352532 48 - 250 RPMTIOT3 MO40SI001 YS43 M040S120 QI5B 1.50 CI2RI-M0IT 3 A 35253248 - 300 ROMTLOTS WO4OROS0 Y343 M040S120 Q158 2.0
C32-5R35-3002T 2 A 352532 48 - 300 RPMTI0T3 MO40S100-1 YS43 MO040S120 Q158 1.81 st Gl ol L L LU et e il i L i
N C32-5R35-350-2T 2 A 352532 48 - 350 RPMTIOT3 MO40SI001 YS43 MO40S120 Q158 2.11 C256R32-160-2T 2 A 32202548 - 160 ROMT1204 MO4ORI00-2 Y543 M040S120 Q158 - A
C32-5R35-160-37 3 A 352532 48 - 160 RPMTIOT3 MO40SIOC1 YS43 M040S120 Q158 0.92 USRI M2, S e 220, FB B SE I DRCRON DL 200 SMUIDRLOD S NSRS MO ST ZDIRAS el Vs
ti & C32-5R35200-3T 3 A 352532 48 - 200 RPMT1O0T3 MO040S100-1 YS43 M040S120 Q158 1.17 C256R32-250-2T 2 A 32202548 - 250 RDMT1204 MOAOR1002 YS43 MO040S120 QI5B ™ &
=4 C30-5R352503T 3 A 352532 48 - 250 RPMTIOT3 MO40SIO01 YS43 MO40S120 Q158 1.48 R N W 4.
X C32-5R35300-3T 3 A 352532 48 - 300 RPMTIOT3 MO40S1001 YS43 M040S120 Q158 1.79 C2-6R322002T 2 A 32203248 - 200 RDMT1204 MO4ORL002 YS43 M040S120 Q158 1.5 IA
N C32-5R35.3503T 3 A 352532 48 - 350 RPMTIOT3 MO40S100-1 YS43 M040S120 QI5B 2.12 B e PN o i o o N e B PR 7
3 EMRT- C15-4R16-160-2T 2 A 16 8 15 40 - 160 RPMTOST2 MO30Y070- YS-34 MO30Y070-1 QU8B 0.20 C326R32-300-2T 2 A 32203248 - 300 RDMT1204 MO4ORL002 YS43 M040S120 Q158 088 %3
3 C15-4R16-2002T 2 A 16 8 15 40100 200 RPMTOST2 MO30YO70-1 YS-34 MO30Y070-1 QU8B 0.26 sl DR L i e R R L b L e E L e i "
C32-6R40-2003T 3 A 4028 3248 - 200 RDMT1204 MO4OR100-2 YS43 M040S120 Q158 1.49 " A
N C16-4R17-160-2T 2 A 17 O 16 40 - 160 RPMTO8T2 MO30YO70-1 YS-34 MO30Y070-1 Q0SB 0.21 y
N C32-6R40-250-3T 3 A 4028 3248 - 250 RDMT1204 MO4ORL00-2 YS-43 MOA0S120 Q158 y
N C16-4R17-200-2T 2 A 17 9 16 40100 200 RPMTOST2 MO30YO70-1 YS-34 MO30YO70-1 Q0SB 0.29 =B Suitable:BEE. B E DEREK Or HITACH Insert "
. H C19-4R20-160-2T 2 A 201219 60 - 160 RPMTOST2 MO30YO701 YS-34 MO30YO70-1 Q0SB 0.30 -5
7) C19-4R20-2002T 2 A 2012 19 70100 200 RPMTOST2 MO30Y070-1 YS-34 MO30Y070-1 Q08B 0.41 2y
C20-4R21-160-2T 2 A 211320 60 - 160 RPMTOST2 MO30YD70-1 YS-34 MO30Y070-1 QO8BB 0.33 o=
N C20-4R21-200-2T 2 A 211320 70100 200 RPMTO&TZ MO30Y070-1 YS-34 MO30YO70-1 Q0SB 0.46 TRl ‘
C24-5R25-160-2T 2 A 251524 60 - 160 RPMTI0T3 M040S080-1 YS-43 M040S100-1 Q158 0.51 See next page
C24-5R25-200-2T 2 A 251524 70100 200 RPMTIOT3 MO40S080-1 YS-43 M040S100-1 Q158 0.65
C24-5R25-260-2T 2 A 251524 80115 250 RPMTIOT3 MO40SO80-1 YS-43 M040S100-1 Q158 0.82

SPEEOO

HA4EEE

i& F Suitable: @@= 71/ =% 71/ DEREK Or MITSUBISHI Insert

»<4 DEREK I'4{ DEREK




TRS RGF

TRS Indexable Milling Cutter RCF Ball-nose Indexable Cutter For Roughing
TRS&xFR w7 RCF sk 48 7]

0 | | o i
T e — @

L MWHT HENT N

=
L1

k

- L

[
L

& : . . &
zg B E S Special specification e T NHIBET  MRETF 2 EE iﬁ
HE m m Specification Teeth Insert screw Wrench Weight ]
e ey 7% E 7 TEEST E EEST BT EE . ne
EE Specification Teeth Fig D DS d Li Insert  Insert screw Clamp ClampScrew Wrench Weight RCF- G20-10R-160-2T 2 10 20 20 18 60 160 Q08B 0.30 Rg
= TRS- C15-4R16-160-2T 2 A 16 8 15 50 160 RDMTO802 MO30YO70-1 YS-34 MO30YD70-1 QOSB 0.20 E:::E:f;:: ; ig gg gg i: ;g fgg Qgig g';: =
A C15-4R16-2002T 2 A 16 8 15 50 200 RDMTO802 MO30YO70 YS34 MO30Y0701 Q0SB  0.26 itoucdel > 1o 20 25 1s 70 2o ZICEWIOOCE ~ MO30D075 guaa - 4
ﬂ!\ C16-4R17-160-2T 2 A 17 9 16 50 160 RDMT0B0Z2 MO30Y070-1 Y534 MO30Y070-1 Q08B 0.23 5 210 20: 28" 18 B0 250 ZCEWI100OSE  MO30D095 v ﬂ'?ﬁ “we
;‘;g C16-4R17-2002T 2 A 17 9 16 50 200 ROMT0802 MO30YO70- YS34 MO30YO701 QOSB  0.30 okl Q : ;;g
7 C19-4R20-160-2T 2 A 20 12 19 60 160 RDMT0802 MO30YO70 YS34 MO30Y0701 QU8B  0.30 SE— g ig gg gg ii 1g1ﬂn ;gg Qgig i';g L
\ C19-4R20-2002T 2 A 20 12 19 70 200 RDMTO802 MO30YO70- YS34 MO30Y0701 Q0SB 0.41 o 12.5:m15u-2r 35 et 53363 160 3153 130 /
\ C20-4R21-160-2T 2 A 21132060 160 RDMT0802 MO30YO70-1 YS-34 MO30Y070-1 Q08B 0.35 m'ﬂﬁn'm_n o TOEDE oo 1% U 200 Q158 T /
ffff C20-4R21-200-2T 2 A 2113 20 70 200 RODMTOBOZ2 MO30YDT0-1 Y534 MO30Y0O70-1 QOSE  0.45 ’ ZCEW125CE  MOA0QDOE0D-3 ’ ﬁ“
= £32-12.5R-200-2T 2 12525 32 23 80 200 Ql58  0.90 14
Bi C24-5R25-160-2T 2 A 2515 24 60 160 RDMT10T3 MO40R080-2 YS43 MO4051001 Q158 0.50 . ZCEW125SE  M040D110 . 5 i
(3 C245R25-2002T 2 A 25 15 24 70 200 RDMTIOT3 MO4OR0S02 YS43 MO40S1001 Q158 0.64 it} g E‘g E: gg g: 191“[} gzﬁ Qigg i'ig f;
\\ | C245R5-250-2T 2 A 25 15 24 80 250 ROMT10T3 MO4OR080-2 YS43 M040S1001 Q158 0.82 SAE12 S P00CE] : Qz = : >
urg 0255R26-160-2T 2 A 26 16 25 60 160 ROMTIOT3 MO4OROS0-2 YS43 MO40SI001 Q158  0.54 e g ig gg gg g: gg ;Eg s ?'?g | g
E C255R26-2002T 2 A 26 16 25 70 200 RDMTIOT3 MO4ORO80-2 YS43 M040SI001 Q158 0.70 il ZCEWISOCE |\ oo QEEE L0 k
] C25-5R26-250-2T 2 A 26 16 25 80 250 RDMTLOT3 MO4OR0802 YS43 MO40SL001 QI5B 0.89 bl 2 25 30 32 28 B0 280 ooy gner Q ' #
\& %A Suitable: @ %71 K. A7 K DEREK Or HITACHI Insert Ges] B AT LB RS S 0D 0 LetlRR D /
£32-15R-350-2T 2 15 30 32 28 110 350 Q208 2.00 :

5

[= S
-3

=E
ey Cuie

i& A Suitable: B 3r 715 HITACHI Insert

b |

N

3 1k
%3 %3
171'3 fir 5
i S
g2 4
7] -
N \/
£t =3
g3 * 2
& &
7 )

St Ml

b
= ol
LD

/
/
p.!
AN

£

b4 DEREK b4 DEREK




RCGFL BF

RCFL Ball-nose Indexable Cutter For Roughing BF Ball-nose Milling Cutter For Finishing
RCFL 2k s #8271 BF BksL¥m Trge7)

— . ugr

! i !
g [ ) 1 5@}@“ L] :

BE T igET E EE
Specification D Insert Insert screw rench  Weight
+ BF- C12-4R-100-1T 8 12 25 100 P3200-D08  MO30WO70-4R Q08B 0.10 &
* e R 71 84T RS =B C12-4R-130-1T 8 12 25 130 P3200-D08  MO30WO70-4R Q0SB 0.10 %,
ﬁ Specification Insert Insert screw Wrench Weight C12-4R-160-1T 8 12 30 160 F3200-D08& MO30WO70-4R Q08sBe 0.12 % E
B Ty C10-5R-100-1T 10 10 30 100 P3200-D10  MO40WO090-5R Q15B 0.05 il 5
7 RCFL- C20-10R-160-4T 4 10 20 20 24 60 160 QO3B . C12-5R-130-1T 10 12 30 130  P3200D10 MO4OWO905R  QI58  0.10 ng
R C20-10R-200-4T 4 10 20 20 24 70 200 Qo8B 0.45 C12-5R-160-1T 10 12 35 160 P3200-D10  MO40WO090-5R Q15B 0.12 R
C25-10R-160-4T 4 10 20 25 24 60 160 7CEWI00CE MO30D09S Q08B 0.50 C12-6R-130-1T 12 12 30 130 P3200-D12  MO50WO090-6R Q20B 0.10
] Zoew O ooy NN Cloonuer 12 16 30 160  P3200D12  MOSOWOSDGR G208 0.13
CPMT080204 MO025W060 C16-6R-160-1T E )
C25-10R-250-4T 4 10 20 25 24 80 250 QUEB 0.75 C16-8R-120-1T 16 16 30 120  P3200D16  MO50W130-8R 0208 0.23
C32-10R-250-4T 4 10 20 32 24 115 250 Qo8B 1.15 C16-BR-160-1T 16 16 30 160 P3200-D16  MO50W130-8R Q208 0.20
C32-10R-300-4T 4 10 20 32 24 115300 Q08B 1.40 C16-BR-180-1T 16 16 35 180 P3200-D16  MOS0W130-8R Q20B 0.26
\ £25-12 5R-160-4T 4 12525 25 38 60 160 Q158 0.50 G16-BR-200-1T 16 16 45 200 P3200-D16 MO50W130-8R Q20B 0.29
Y C20-10R-160-1T 20 20 30 160 P3200-D20 MO50W170-10R Q20B 0.35
) e S R LT Q158 0.70 C20-10R-200-1T 20 20 35 200  P3200020 MO50W170-10R  Q20B  0.45
= C32-12.5R-160-4T 4 12525 32 38 70 160 irwissep M040D110 Q15B 0.60 C25-10R-160-1T 20 25 30 160 P3200-D20 MO50W170-10R Q20B 0.44
Bt (32-12.5R-200-4T 4 12525 32 38 80 200 CPMT090308 MO40D080-3 Q158 0.90 C25-10R-200-1T 20 25 60 200 P3200-020 MO50W170-10R  Q20B 0.62
2k £32-12 5R-250-4T 4 125275 32 38 00 250 Q158 1.20 G25-10R-250-1T 20 25 50 250 P3200-D20 MOSOW170-10R Q208 0.80
\\ T TETTETT T e €25-12.5R-160-1T 25 25 35 160 P3202-D25 MOG60W210-12.5R  T30M 0.54
e C32-12.5R-300-4T 4 12525 Q : 25-12.5R-200-1T 25 25 40 200 P3202-D25 MOGOW210-12.5R  T30M 0.70
Eﬂ €32-15R-160-4T 4 15 30 32 43 60 160 Q15B/Q20B  0.85 25-12.5R-250-1T 25 25 60 250 P3202-D25 MOG60W210-12.5R  T30M 0.88
€32-15R-200-4T 4 15 30 32 43 70 200  ZCEWISOCE \osoy1p0.3 Q198/Q20B 110 €32-12.5R-200-1T 25 32 50 200 P3202-D25 MOGOW210-12.5R  T30M 0.91
R C32-15R-250-4T 4 15 30 32 43 80 250 ZCEWI1S0SE HﬂiﬂDﬂBﬂLB Q15B/Q20B 1.40 G32-12 5R-250-1T 25 32 85 250 P3202-D25 MOGOW210-12.5R T30M 1.01
N CPMT090308 T C32-16R-200-1T 32 32 55 200 P3201-D32 MOBOW250-16R T30M 1.13
TN €32-15R-300-4T 4 15 30 32 43 100300 Q158/Q 1.70 C32-16R-250-1T 32 32 70 250  P3201-D32 MOSOW250-16R  T30M 1.4
Gl C32-15R-350-4T 4 15 30 32 43 100 350 Q15B/Q20B  2.00 C32-16R-300-1T 32 32 80 300 P3201-D32  MOBOW250-16R T3oM i
5 i& fA Suitable: B3z 71K HITACHI Insert iE M Suitable:fEs= 71 E . E/R% 71 E DEREK Or WALTER Insert
\'\
of ¥ 5 / Feature
2
'{fv_:é WiDHEEh B S, HNIREF, EEONTEE, A—RNEERERNEAER. THMEE7RE S oNSE@EEHRCE0
R FAUBEFENRESES. 2. BAENEE, TATEERANM RSN T RAE TR ASEM B nsiE,
S M Good cutting capability and precision, good capability for removing the metal chips and cutting . Steadily when high speed machining.
Txg M One insert can be used in vast area.The sharp blade is easy to cutting steel, stainless steel, cast iron, aluminum etc.
i
"
\J".
\
1
h £3 DEREK £ DEREK




300R/400R 300R/400R

300R/400R High Speed Indexable End Mill 300R/400R High Speed Indexable End Mill
300R/A00R FR S EWmELT] 300R/400R & & iR ik Bt 7]
il :?_ﬁ_\ = A
E“-— u_ | | = ’ °| =
- I " | o e - - L X
’- ?T'- :a_ L1 i ‘-...i'_"'\’,a- e Ei gi ’ ua "
ErdCEAP < § —e * : *

WEI NI SEMI FENT SNENT WHE EENI

| o
TR TN T ) Sozrcae © 8

. NI NI SENI PENT ANERI e AERT -
& 300R- C10-10-1001T 1 A 10 10 9 25 - 100 APMT1135 MO025W050 QO8B  0.05 &
ﬁn c10-10-1304T 1 A 10 10 9 25 - 130 APMT1135 MO25W050 Q08B  0.06 #5782 Special size ﬁn
25 c12124304T 1 A 12 12 9 30 - 130 APMT1135 MO25W050 Q08B  0.10 25
s C16-16-1202T 2 A 16 16 O 40 - 120 APMTL135 MO25W060 Q08B  0.17 U N BF kR TNRBE] WMEET B8 7E
Az 161616021 2 A 16 16 O 50 - 160 APMTLI35 MO25W060 QOB  0.23 Specification eth Fig D a Insert Insert screw Wrench Weight Az
C16-16-180-2T 2 B 16 16 O 60 90 180 APMT1135 MO025W060 Q0SB  0.26 300R- €12-13-130-1T 1 A 13 12 9 25 130 APMT1I35 MO25W060 QO8B O0.11 y
C1616-200-2T 2 B 16 16 9 60 100 200 APMT1135 MO025W060 Q08B  0.29 C15-16-120-2T 2 Ao 16 15 9 40 120 APMTI135 MO25W060 QO8B  0.15 -
£2020-1202T 2 A 20 20 9 50 - 120 APMTL135 MO25W060 Q08B  0.26 C15-16-160-2T 2 A 16 15 9 40 160 APMTI135 MO25W060 Q08B 0.21 i
C2020-1602T 2 A 20 20 9 60 - 160 APMTL135 MO25W060 Q08B 0.36 C15-16-180-2T 2 A 16 15 9 40 180 APMTI135 MO25W060 Q08B  0.24 i
C20-20-200-2T 2 B 20 20 9 70 100 200 APMT1135 MO025WO060 Q08B  0.46 C15-16-200-2T 2 A 16 15 9 40 200 APMT1135 MO0O25W060 QO8B 0.26 *
N 400R- C25-25-160-2T 2 A 25 25 14 70 - 160 APMTL604 MO040S080-1 QI5B 0.55 C15.6-16-160-2T 2 A 16 156 9 50 160 APMT1135 MO025W060 Q08B 0.22 y4
2525-2002T 2 B 25 25 14 70 100 200 APMT1604 M040S080-1 Q158 0.70 1561620021 2 A 16 156 O 50 200 APMT1135 MO25W060 Q08B 0.28 7 s
iy C2525250-2T 2 B 25 25 14 80 115 250 APMT1604 MO040S080-1 Q158 0.89 £16-17-120-2T 2 A 17 16 9 50 120 APMT1135 MO025W060 Q08B 0.17 4l
i 25-25-300-2T 2 B 25 25 14 80 165 300 APMT1604 MO040S080-1 Q158 1.07 C16-17-160-2T 2 A 17 16 9 50 160 APMT1135 MO25W060 Q08B 0.24 1]
& C2530160-2T 2 A 30 25 14 42 - 160 APMTI604 M040S100-1 Q158  0.81 C16-17-180-2T 2 A 17 169 50 180 APMTLI35 MO25W060 Q08B  0.27 %
2 €25-30-2002T 2 B 30 25 14 42 100 200 APMT1604 MO40S100-1 Q158 1.11 C16-17-200-2T 2 A 17 16 9 50 200 APMTI1135 MO25W060 Q08B  0.30 i
FH €2530-260-2T 2 B 30 25 14 42 115 250 APMTL604 M040S100-1 Q158  1.42 619-20-160-2T N L S M0 25060 DDA D2l %g
EE C32-32-160-21 2 A 32 32 14 48 - 160 APMT1604 MO040S100-1 QI5B  0.86 £19-20-200-27 2 A 20 19 9 50 200 APMTI1135 MO25W060 Q08B 0.42 &
\\% C32-32-2002T 2 B 32 32 14 48 100 200 APMT1604 MO40S100-1 Q158 1.16 €20-21-160-2T 2 A 21 200 9 50 160 APMTL135 MO25W060 Q08B  0.39 3/4-
N £32-32-250-2T 2 B 32 32 14 48 115 250 APMT1604 MO040S100-1 Q158  1.47 G20-21-200-2T 2 A 21 20 9 50 200 APMT1135 MO25W060 Q08B  0.47 L
"ri:JLg\' C32-32-300-2T 2 B 32 32 14 48 165 300 APMT1604 M040S100-1 Q158 1.77 400R- C24-25-160-2T = A 25 24 14 50 160 APMT1e0D4 MO405080-1 QL5B  0.51 flllf:g
ng 323516021 2 A 35 32 14 48 - 160 APMTL604 MO040S100-1 Q158  0.95 £24-25-200-2T 2 A 25 24 14 50 200 APMT1604 M040S080-1 Q158  0.65 2
\\f C32-35200-2T 2 A 35 32 14 48 - 200 APMT1604 MO040S100-1 Q158 1.20 C24-25-250-21 2 A 25 24 14 50 250 APMTIe04 MO405080-1 Q158  0.83 5
A\, C3235260-2T 2 A 35 32 14 60 - 250 APMT1604 MO40S100-1 Q158  1.51 C25-26-160-2T 2 A 26 25 14 50 160 APMT1604 MO40S080-1 Q158  0.56 A
7 ) c32-35-300-2T 2 A 35 32 14 60 - 300 APMT1604 MO40S100-1 Q158  1.83 £:25-26-200-2T 2 A 26 25 14 50 200 APMT1604 MO40S080-1 Q158 0.71 '
3 £32-35-160-3T 3 A 35 32 14 60 - 160 APMT1604 MO040S100-1 Q158 0.94 C25-26-250-2T 2 A 26 25 14 50 250 APMT1604 MO40S080-1 Q158 0.90 i
*ﬁ C32352003T 3 A 35 32 14 60 - 200 APMT1604 MO040S100-1 Q158  1.20 iE A Suitable: #8371y =% 71 DEREK Or MITSUBISHI Insert B A
N C3235260-3T 3 A 35 32 14 60 - 250 APMT1604 MO40S100-1 Q158  1.51 y
£8 ) C3235300-3T 3 A 35 32 14 60 - 300 APMT1604 MO40S100-1 Q158 1.82 T
&1 323535037 3 A 35 32 14 60 - 350 APMT1604 MO40S100-1 Q158  2.13 i
o C32-35400-3T 3 A 35 32 14 60 - 400 APMT1604 MO40S100-1 Q158  2.46 n
AN £32-35-450-3T 3 A 35 32 14 60 - 450 APMT1604 MO040S100-1 Q158 2.78 yd
oy C3235500-3T 3 A 35 32 14 60 - 500 APMT1604 MO40S100-1 Q158  3.07 g
2 C32-40-160-3T 3 A 40 32 14 60 - 160 APMT1604 MO40S100-1 Q158 1.10 2
“ 324020037 3 A 40 32 14 60 - 200 APMT1e04 MO40S100-1 QIS8  1.24 s
e C32-40-2503T 3 A 40 32 14 60 - 250 APMTle04 MO40S100-1 QI5B  1.55 b
C32-40-3003T 3 A 40 32 14 60 - 300 APMT1604 MO40S1001 Q158  1.88

i& A Suitable: % 71/ =% 71/ DEREK Or MITSUBISHI Insert

b4 DEREK »4 DEREK




TGP

TCP Power Milling Cutter
TCP & 131 %t 7]

AJU

AJU Cutter For Centering And Drilling
AU i Frigh 7]

NI FEHEI FENL GMENI WK  #ERT

SEoPd - SEPE o] 1

HpT H#AEMT

#iEE MENI EENT

£ BE 7% il NEEY MRET EE £
x5 Specification Teeth a Insert Insert screw  Wrench Weight * B
ﬂ 5 TCP- C16-16-160-2T 2 16 16 6 50 160 CCMTO60204  MO25W060  QO8B  0.23 E 5
ni BE NERS NS WRETF =S C16-16-2002T1 2 16 16 6 60 200 CCMTO60204 MO25W060  QOBB  0.26 7 g
Rz Specification Insert Insert screw  Wrench  Weight C20-20-160-2T 2 20 20 8 60 160 CPMTOB0204 MO25W060 Q08B  0.35 R
AJU- C10-10-100-1T 1 A 10 10 30 100 CCMT060204  MO25W050 Q08B 0.05 €20-20-200-2T1 2 20 20 8 70 200 CPMTOS0204  MO25W060  QOBB  0.45
\ £10-10-130-1T 1 A 10 10 30 130 CCMTO60204  MO25W050 QosB 0.07 C25-25-160-2T 2 25 25 g 80 160 CPMT090308 MO40R080-2 (Q15B  0.55
3 £12-12-130-1T 1 A 12 12 30 130 CPMT080204Z MO025W060 Q08B 0.10 ©25-25-200-2T 2 25 25 g 70 200 CPMT090308  MO40R080-2 Q158  0.70
3%3' C16-16-160-2T 2 A 16 16 35 - 160  CCMT060204 .o \6cn QOEB 0.23 €25-30-160-2T 2 30 25 12 48 160 CPMTI20408 MO50Y110-4 Q20B  0.53
;’ﬁ C16-16-20021 2 B 16 16 40 100 200 CPMT0802047 Q08B  0.29 25-30-200-2T 2 30 25 12 48 200 CPMTI20408 MO50Y110-4 Q208  0.72
C20-20-160-2T 2 A 20 20 50 - 160 CCMT060204  MO25WO060 Qo8B 0.26 C25-30-250-2T 2 30 25 12 48 250 CPMT120408 MO50Y110-4 Q20B  0.92
\ Comamsr 2 O 20 20 50 100 280 CPMTO302047 MO35R0801 123 045 C32-35-160-2T 2 35 32 12 48 160 CPMTI20408 MO50Y110-4 Q20B  0.86 /
@3 5 & 32 5 50 100 200 CPMTOS0308 oo olse o C32-35-2002T 2 35 32 12 48 200 CPMTI20408 MO50Y110-4 Q20B  1.18 s
gt CPMT120308Z ) ] 32-35-250-2T 2 35 32 12 48 250 CPMTL20408 MO50Y110-4 Q20B  1.49 *i
= & 25-25-250-2T 2 B__ 25 25 80 115 250 Q158 0.88 5
%E £32-32-200-2T 2 B 32 32 60 100 200 CPMT1 20408 Q208 1.12 C32-35-160-3T 3 35 3z 12 48 160 CPMTL20408 MO50Y110-4 QZ20B 0.94 %i[, £
e P 5 B 32 32 70 115 250 cpd Tzluggfnaz MO50Y110-4 0208 141 C32-35-200-3T 3 35 3z 12 48 200 CPMT120408 MO50Y110-4  Q20B 1.20 s
\ £32-32-300-2T P B 32 32 80 165 300 1604307 Q208 1.71 C32-35-250-3T 3 35 3z 12 48 250 CPMTL20408 MO50Y110-4 QZ20B 1.51
wg i& A Suitable:#%= 71K . B3 71/ DEREK Or HITACHI Insert i A Suitable:#% 71/ . Hir 71 DEREK Or HITACHI Insert E
§ £
& # P A B Special size }
1 BE T NRES TIHBET  MERRTF 1]
7§ Specification Teeth Insert Insert screw Wrench i
g :
2 AJU- C15-16-160-2T 2 A 16 15 35 160 CCMT060204  MO25W060  QO8B 0.21 /*
\\ £15-16-200-2T 2 A 16 15 40 200 CPMT0802047 Qo8B 0.26 P
bk €19-20-160-2T 2 A 20 19 35 160 CCMT060204  MO25W0e0  QOBB 0.33 fﬁ
i ; 19-20-200-2T 2 A 20 19 40 200 CPMT090204Z MO35R080-1 Q158 0.42 s
=3 c2425-16021 2 A 25 24 35 160 o000 QI8 0.51 -1
R £24-25-200-2T 2 A 25 24 35 200 CPMT1203087 MO40R080-2  Ql5B 0.65 A
Y 24-25-250-2T 2 A 25 24 40 250 Q158 0.83 v
- i& M Suitable:f#s= 71 ). B 3L 71 DEREK Or HITACHI Insert x
\ //
g? L H
3 1
7 n




R390

R390 Indexable End Mill
R390 &FA LT

e B el

MILUNG CUTTERS

BYdIEaE

MnT Lk

FENI FENI &#FEMI

s NEDT

b< DEREK

@

BE DIk Ik NIRRT MEETF B8
Specification Teeth Insert  Insert screw Wrench Weight
R380- C15-16-160-2T 2 A 16 15 10 25 160 R390-11T308 MO25W0S0  QOSE  0.20
\ C15-16-200-2T 2 A 16 15 10 25 200 R390-11T308 MO25WOS0  QOSE  0.23
e C15.6-16-160-2T 2 A 16 156 10 25 160 R3I9011T308 MO25W050  QOBE  0.22
_§ C15.6-16-200-2T 2 A 16 156 10 25 200 R3I9011T308 MOZ5W050  QOBE 025
piH C16-16-160-2T 2 A 16 16 10 25 - 160 R39011T308 MOZ5W050  QOBB  0.23
* C16-16-180-2T 2 B 16 16 10 25 90 180 R390-11T308 MOZSWO5S0  QOBB  0.26
\ C19-20-160-2T 2 A 20 19 10 25 - 160 R39C-11T308 MO25W060  QOSB  0.33
- C19-20-180-2T 2 A 20 19 10 25 180 R390-11T308 MOZ5W0R0  QOBE  0.37
3 C20-20-160-2T 2 A 20 20 10 25 - 160 R390-11T308 MOZ5WORD  QOBB  0.35
- C20-20-200-2T 2 2] 20 20 10 25 100 200 R390-11T308 MOZSWORD  QOSB  0.45
- C24-25-160-2T 2 A 25 24 17 50 - 160 R390-170408 MOD35TORS QI5E  0.51
\ 024-25-160-3T 3 A 25 24 17 50 160 R3IGO1IT308 MO25WORD QOBE  0.51
}\ C24-25-200-2T 2 A 25 24 17 50 200 R390-170408 MO35T08S QI5E  0.64
Eﬁ 024-25-200-3T 3 A 25 24 17 50 200 R39C11T308 MO25WORD QDBE  0.64
024-25-250-2T 2 A 25 24 17 50 250 R390-170408 MO35T0ES QI5E  0.82
025-25-160-2T 2 A 25 25 17 60 160 R390-170408 MO35T0ES Ql5E  0.55
\ C25-25-160-3T 3 A 25 25 17 60 - 160 R39011T308 MO25WOGD QDBE  0.55
i8) g 025-25-200-2T 2 2] 25 25 17 60 100 200 R390-170408 MO35TOES Ql5E  0.70
" g C25-25-200-3T 3 B 25 25 17 60 100 200 R39011T308 MO25WOGD QDEE  0.70
5 025-25-250-2T 2 2] 25 25 17 60 100 250 R390-170408 MO35TOES Ql5E  0.89
\ S Suitable: @3 71K . W54 5 71 5 DEREK Or SANDVIK Insert
i

ATS/ASL

ATS T-Slot Milling Cutter
ATS-T BVl &t 7]

ATS- C25-25-11-110-2T 2 25 25 125 11 21 110

C32-32-14-120-2T7 2 32 32 16 14 30 120

C32-40-18-130-4T 4 40 32 20 18 32 130
il

C32-50-22-140-4T 50 32 26 22 39 140

]

Nk

Insert

uLL 3

WEHETF B
Insert screw  Wrench Weight

CCMTO60204  MO25W060 QOBE  0.35
CPMT080204  mo25Ww0e0 Q08B 0.55
CCMTO9T308 MO40S5100-1 QI15B  0.70
CCMT120408 MO050Y110-1 Q20B  0.95

i& A Suitable:fE=k . Bir71 5 DEREK Or HITACHI Insert

ASL Cutter for Drilling And Milling
ASL sht BB 7I(E I &Y)

| ZliEhe] - | Z(Y

BE
Specification

nY BT
Teeth Fig D

WL #RWHNT #MENT HENT

L

BNk
sert Verticalinsert Insert screw

NFBET MEETF

Wrench

i MENT EENT

ASL- C20-20-160-2T A 20 20 35 - 160 aDMT100208L AcmTlooznsr MO25WO060 QO8B . 3s
C20-20-200-2T 2 E 20 20 35 100 200 ADMTIO0208L ACMTI00208R MO25WO060 QO8B .45
C25-25-150-2T 2 A 25 25 40 - 150 apmri2T308L APMTLZ2T208R MO30Y070-2 QlOR (55
C25-25-200-2T 2 BE 25 25 40 100 200 ADMTI2T308L APMTI2T208R MO30Y070-2 QLOR (.75
C25-25-250-2T 2 B 25 25 40 115 250 ADMTI2T308L APMTL2T308R MO30Y070-2 Ql1O0R p.os
G32-32-160-2T7 i A 32 32 50 - 160 APMT160408L APMTIS0408R MO40S080-1 Q158 p.ag
C32-32-200-2T 2 B 32 32 50 100 200 APMT160408L APMTI50408R MO40S080-1 Q158 1 95

i& A Suitable: H3z 715 HITACHI Insert

»< DEREK

&
S
®
#
Hl
)
A

MILUNG CUTTERS

=\

S e
A Faca M1

e

b )
et g e

Mokl \ Shel M1 Irchioabls Facs M [=



ASJ/SKM

ASJ Cutter For Drilling And Milling
ASJ shgt i RIS TD

#m EBm EF

a8
Specification

#i7 R

BNk

iloy i)

HERTF =R

P

TP Shoulder Milling Cutter
TP &EFERHRT

;./;

SKM High-speed Milling Cutter
SKM & iEm et 7]

& Cross  Mertical  Fig D Cross insert Verticalinsert  Insert screw  Wrench  Weight
in ASJ- G20-20-160-4T 1 3 A 20 20 35 160 ADMTIOD30BL ACMTIOO308BR MO25W0E0 QOBE  0.35
ﬁ]E G20-20-200-4T 1 3 B 20 20 35 100 200 ADMTLIOD30BL ACMTIOO30BR MO25W0RD  QOBE  0.45
l!i C25-25-160-4T 1 3 A 25 25 40 - 160 ADMTI2T308L APMTL2T308R MO30Y070-2 QLOR 55
Ei G25-25-200-4T 1 3 B 25 25 40 100 200 ADMT12T308L APMT12T308R MO30Y070-2 QLOR (.75
G25-25-250-4T 1 3 B 25 25 40 115 250 ADMT12T308L APMTL2T308R MO30Y070-2 QLOR  p.os
G25-25-300-4T 1 3 B 25 25 40 165 300 ADMTL2T308L APMTIZT308R MO30Y070-2 QlIOR 1.15
\ G32-32-160-4T 1 3 A 32 32 B0 - 160 APMT1G0Q408L APMTLISO408R MO40S0B0-1 Q15B  0.90
we G32-32-200-4T 1 3 B 32 32 50 100 200 APMT1G0408L APMTISO40BR MO40S080-1 QL15B  1.25
;3 G32-32-250-4T 1 3 B 32 32 50 115 250 APMT160408L APMTISQA0BR MO40S5080-1 QIL5B  1.55
T% G32-32-300-4T 1 3 B 32 32 50 165 300 APMT1aQ408L APMTISO40BR MO40S5080-1 Q15B  1.85
g €3232-350-4T 1 3 B 32 32 50 165350 APMTI60408L APMTISO408R M040S080-1 Q158 2.20
\\ (32-35-160-4T 1 3 A 35 32 50 - 160 APMTL70408L APMTISC40ER MO40S080-1 QLB 1.00
\\x G32-35-200-4T 1 3 A 35 32 &0 200 APMT17040BL APMTIGD408R MO4DS080-1 Q5B 1.25
%E (32-35-250-4T 1 3 A 35 32 &0 250 APMT170408L APMTISC408R MO40S080-1 QL5B  1.60
=+ (32-35-300-4T 1 3 A 35 32 &0 300 APMTI70408L APMT1S0408R mMO405080-1 QIL5B  1.90
#i i& F Suitable: H 3z 71/ HITACHI Insert
p

s frsm

o B
s i Ca e

i& F Suitable: %58 STELLRAM Insert

\
\ £
3 .
.*?-i- -
ok
o1
w\
21 ) A 7]
X3 Specification Teeth
7 SKM- C20-25-120-2T 2 25 20
\ £25-25-120-2T 2 25 25
\\ £25-32-120-3T 3 32 25
F €32-32-120-3T 3 32 32
F £32-40-120-4T 4 40 32
\\

b4 DEREK

=E2Earg

WUT H#FEAL SRENT SEDI #OE REDT SERT

120
120
120
120
120

ODMTO40408
ODMTO40408
ODMTO40408
ODMTO40408
ODMTO40408

L1

&

71 984T

Insert screw

MO40R100-2
MO40R100-2
MO40R100-2
MO40R100-2
MO40R100-2

WMEHETF =R
Wrench  Weight
Q158 0.30
Q158 0.40
Q156 0.50
Q15E 0.65
Q1586 0.85

-
Specification

DIk

Teeth p

| 7

T FEWNT FEMT SHENT

G ER
Umbrella clamp

E3

=8
rench Weight

TP- C20-20-90-1T 1 20 20 9 30 90 TPMN110304 MO50HO80-TP LO3G  0.20
£20-25-100-2T 2 25 20 9 30 100 TPMN110304 MOS50HO80-TP  LO3G _ 0.24
C20-32-130-2T 2 32 20 14 40 130 TPMN160308 MO&0OH120-TP  LO4AD  0.30
C20-35-130-2T 2 35 20 14 40 130 TPMN160308 MOE0H120-TP  LO4D  0.37
C20-35-160-2T 2 35 20 14 40 160 TPMN160308 MO60H120-TP LO4D  0.45
C20-35-200-2T 2 35 20 14 40 200 TPMN1e0308 MO&OH120-TP  LO4D  0.55
C25-35-160-2T 2 35 25 14 40 160 TPMN160308 MO&0OH120-TP  LO4AD  0.60
C25-35-200-2T 2 35 25 14 40 200 TPMN1e0308 MO&OH120-TP  LO4D  0.80
C32-35-110-2T 2 35 32 14 40 110 TPMN160308 MOGOH120-TP LO4AD  0.65
C32-35-160-2T 2 35 32 14 40 160 TPMN160308 MOE0OH120-TP  LO4D  0.95
C32-35-200-2T 2 35 32 14 40 200 TPMN1e0308 MO&0OH120-TP LO4AD  1.18
C20-40-160-3T 3 40 20 14 40 160 TPMN1&0308 MOBOH120-TP  LO4D  0.46
C25-40-130-3T 3 40 25 14 40 130 TPMN160308 MO&0OH120-TP  LO4AD  0.60
C25-40-160-3T 3 40 25 14 40 160 TPMN160308 MOBOH120-TP  LO4D  0.80
C25-40-200-3T 3 40 25 14 40 200 TPMN1e0308 MO&0OH120-TP  LO4AD  1.00
C32-40-115-3T 3 40 32 14 40 115 TPMN1e0308 MOBOH1Z20-TP  LO4D  0.72
C32-40-160-3T 3 40 32 14 40 160 TPMN160308 MO&0OH120-TP LO4AD  0.96
C32-40-200-3T 3 40 32 14 40 200 TPMN1e0308 MOBOH120-TP  LO4D  1.21
C20-50-160-3T 3 50 20 14 40 160 TPMN160308 MO&0H120-TP  LO4AD  0.60
C25-50-160-3T 3 50 25 14 40 160 TPMN160308 MO&OH120-TP  LO4D  0.79
C25-50-200-3T 3 50 25 14 40 200 TPMN160308 MO&0OH120-TP  LO4AD  0.98
C32-50-160-3T 3 50 32 14 40 160 TPMN160308 MO&OH120-TP  LO4D  1.09
C32-50-200-3T 3 50 32 14 40 200 TPMN160308 MOB0OH120-TP  LO4D 1.31
C20-63-160-3T 3 63 20 20 40 160 TPMN220412 MOBOH1eO-TP  LOSD  0.70
C25-63-160-3T 3 63 25 20 40 160 TPMN220412 MOBOH1eO-TP  LOSD  0.85
C32-63-160-3T 3 63 32 20 40 160 TPMN220412 MOBOH1eO-TP  LOSD  1.22
C32-63-200-3T 3 63 32 20 45 200 TPMN220412 MOBOH1eO-TP  LOSD  1.65

i& A Suitable:#@% 71+ =% 71/ DEREK Or MITSUBISHI Insert
»<4 DEREK

-
MILLING CUTTERS

N

B o
Dok Baigad

e Hsi \

Abarirur Facs M1

MH%N

A

Chuarris g Cusles

5

#\
FAN

h \ e \‘ufﬁﬁj \d




APE/SPE CH/TP60°/45°/30°

APE Shell Mill For Roughing CH Indexable Cutter For Pocketing
APE $B1E %8t 7] CH #8223k 7L 5t 7]

L L0 -. ol
#HHT  FENI ARENT K / MNT  EWHT
L ' ;

Nk 7RIS  MEET s N EAEE Nk L ) F

+ ! e Insert Insertscrew  Wrench Specification Teeth For Insert Insert screw  Wrench Weight &
ﬁa APE- G20-20-107-2T 2 5 20 20 28 107 APKX1003 MO25F0&0 Q08B CH- C25-14-M8-1T 1 M8 14 2.9 25 21 108 CCMT060204 MO25W060 Q08B 0.32 ﬁg
A IR s o M2 % 73 % i oo eswes Qw0 om  Bf
nE i A E ) . E
n: €32-32-135-37 3 15 32 32 46 135 APKX1003  MOZ5F060 QU8B £25-23-M14-2T 2 M14 23 10.8 25 34.5 126 CCMT060204 MO25W060 Q08B  0.40 ¥
i& F SUITABLE: %5 71 DEREK Insert C32-26-M16-2T 2 M16 26 85 32 30 132 CPMT090308 MO40R0OB0-2 QI5B 0.50
£32-29-M18-2T 2 M18 29 11.5 32 43.5 138 CPMTO90308 MO40R0O80-2 Ql5B  0.65
4% & /Feature £32-32-M20-2T 2 M20 32 145 32 59 144 CPMT090308 MO40R080-2 Q15B (.87

i& A Suitable:f%= 71 K. B3z 71 DEREK Or HITACHI Insert
4% & /Feature

RIEEENSRILERANISS T &, —hIRE, XERERL L7l mIHE,
WFor drilling and counter-sink machining as a whole. The best choice for machining the head of socket screws.

EEAEET, E5kEi. MHigh rigidity design, for high-feed cutting.

N

Hp 2t
Ak i M

e S

SPE Shell Mill For Roughing TP60°,45°,30° Chamfering Cutter
SPE #BY1HE % EET) TP60°,45°,30° EimE @ 7]

WL ED

. i, EMI FENI S#MENI oK
. e G i i

L

&

=L

BN AT FENI #MaWT

%d%ﬁ/—d%&ﬁ/ s
Ikt | Ahrvirar Facs M1 )
.1\\.
" |

i
hur g e

s

NHA TE2 TNRIBET  WEEF & D e G EH e

TE
Specification Teeth Insertl T2 Insert? Insertscrew  Wrench Insert Umbrellaclamp Wrench Weight

£32-32-145-2T 2 32 32 45 145 1 APMXI5T3 5 SPMX09T3 MO40M100 Q158 TP60- C25-40-120-2T 2 377 158 25 120 60 TPMN1603 MO60HO80-TP  LOAD 0.55
C40-40-160-4T 4 40 40 52 160 2 APMXI5T3 10 SPMX09T3 MO40M100  Q15B TP45- C20-20-120-1T 1 204 4 20 120 45 TPMN1603 MO60OHOBO-TP  LO4D  0.27
¢20-32-120-2T 2 302 12 20 120 45 TPMN1603 MO60HO80-TP  LO4D 0.32
- 4 50 50 56 180 2 APMX1ST3 12 SPMX09T3 MO40M100 158
= sflﬁfflicgquﬁ SEEET - Q £25-50-160-3T 3 49 24 25 160 45 TPMN2204 MOROH120-TP  LOSD 0.65
: 7 nser TP3D- C25-40-120-2T 2 39 26 25 120 30 TPMN1603 MO60HOB0-TF  LOAD 0.53
£32-55-160-3T 3 545 36 32 160 30 TPMN2204 MO80H120-TP  LOSD 0.98
i& M Suitable:i &%= 1. =% 715 DEREK Or MITSUEISHI Insert
%% & / Feature
WA TR 300 ASE, GOMFE0EI, FFRTfifEd.  MFor chamfering different angles 30°,45%and &0°.
BEs—M5E, S5THdOH. WFor general milling machine and machine center.
»< DEREK »4 DEREK

h \ ST \u;ﬁ%H\;ﬁéﬁﬁi H!‘I\uﬂ?
Hot bl el W I Fa W (=TT ]



EM45°/SSK45°

EM45° Internal And External Chamfering Cutter
EM45° pmohE /T

SSP45°/SB45°

SSP45° Cutter For Ce
SSPAS® Efi 7]

ntering And Chamfering

(w2 -

HHT  MMT  EEMT sAMNT
I i

&o - - - -—f =

L

s Nk NEEET MEEF =S
Specification : Insert Insert screw  Wrench  Weight

C3/4-25-110-21 2 25 38 19.05 35 110 SPMW090304 MO040S100-1  Q15B 0.26
EM45- 620-25-110-2T 2 25 38 20 35 110 SPMWO090304 Mo40Sl00-1  QL5B 0.40
£25-25-150-2T 2 25 38 25 35 150 SPMWO090304 MO040S100-1 QI5B 0.55
£25-30-150-2T 2 30 43 25 35 150 SPMWO090304 MO040S100-1  QI5B 0.59

e B el

MILUNG CUTTERS

(=
0

HnT mis  EmEnT

i
) o .
1 T

i& A Suitable: % 71y . =% 71 /7 DEREK Or MITSUBISHI Insert

2 4

78 %% & / Feature
WEAlEgLt, EaKEl. MFor highfeed cutting with a high rigidity.
WA T, EanT, FEstil. WFor slot cutting,chamfering and face milling.

B EEEAERR, EAMFTETMEE, &5, WForinserts with four cutting edges.

Y.

e RSk
Ak Faco M

SSK45° Chamfering Cutter
SSK45° €F K ElmN

8s T 8 fa3Em by TR WEET =8
Specification Teeth D Di d a L1 L Chamferingrange Insert Insert screw Wrench Weight &
£
55P- G20-20-130-1T 1 20 0 20 11.3 20 130 0-20 TCMX16T308 MO40R090C QL15B 0.28 %E
i& Al Suitable:#E%= 71 5 DEREK Insert %%

4% & /Feature

T #aE EaNT
\ / A [ L "

+F=
A

F
Fas.

s

) f3a Nk TIRIRET  HIRETF

TIE
Specification Teeth D L Chamfering range Insert Insert screw  Wrench

S8K- C20-22-130-1T 1 22 20 130 3-20 ADNT160308 MO40S080-1  QlsB 0.30

WSt TIATAS NS, FRRTH B, VIS, RO

WiES— AR, CNCHERE, CNCER, shiFEf.

WMilling with an angle of 45° chamfering,V-slot cutting and centering.

WFor milling machine, CNC milling machine, CNC turning machine and drilling machine.

SB45° Chamfering Cu
SBA5° i /7]

tter

W
Ak Faco MI

i& A Suitable: B3z 71/ HITACHI Insert

%% & / Feature

WA IATASE Y, Frardi@Ef.  MMiling with an angle of 45°,and chamfering.
BE&—MesE, S&UHI9.08. WFor general milling machine and machine center.

b< DEREK

’ / o / 5 %:ﬁ;—
Skt Ml Shad WE Irachaccabila |

ﬂfd%&c‘m\
I 2k Rl

\¢

O

/ HwT o WOs Ak .

4

i i J]E

" - -, ﬂ? a : —] "U" /
b 4

L i

| PS5 ~ = ‘IE §

#:

&8s 7 i faiEE Nk NHBET WMEEF S8 /

Specification Teeth D D1 d L Chamferingrange Insert Insert screw  Wrench Weight -

5B- C16-16-100-1T 1 16 1.5 16 100 6.516 SPMW090304  MO40S080-1 Q158 0.15 %E
i& F Suitable:f&% 71 /- =2 715 DEREK Or MITSUBISHI Insert /

4% & /Feature %E
EETTHEEEM717, S5, WFour cutting edges on each insert,with high cost effectiveness. /

WA, NEE. W Chamfering.

£ DEREK A




AJX

AJX High-feed Face Mill
AX Kt m$t 7]k

o [ i

T FENI AMENL NI EWE EENT

o vir .

3

7] Nk 71 485T [EIRET MIEET S8

o8
Specification Te

eth D a Insert Insert screw ClampScrew  Wrench Weight
AJX 12-50-22-4T 4 &0 22 2 JOMW120420 MO40OR10O0-2 - Mo40s5100-1  QIL5B :

12-63-22-41 4 /3 22 2 50 JDMW120420 MOAQOR100-2 ¥D-13 MO405100-1 Q15B 0.75
14-63-22-41T 4 63 22 2 50 JDMW140520 MO50Y120-2 ¥YD-16 WMO50Y110-2 Q20B 0.75
14-80-27-4T 4 80 27 2 50 JODMW140520 MO50Y120-2 YD-16 MOS0Y110-2 Q20B 1.00
14-80-27-5T 5 &0 27 2 50 JDMW140520 MO50Y120-2 YD-16 MO50Y110-2 Q20B 1.00
14-100-32-5T 5 100 32 2 63 JDMW140520 MO50Y120-2 ¥D-16 MO50Y110-2 Q20B 1.25
12-50-25.4-4T 4 50 254 2 50 JDMW120420 MO4AOR100-2 ¥D-13 WMO405100-1 QL5B 0.40
12-63-25.4-4T 4 63 254 2 50 JOMW120420 MO40R100-2 YD-13 MO40S5100-1 QIL5B 0.75
14-63-25.4-4T 4 63 254 2 50 JDMW140520 MO50Y120-2 YD-16 MO50Y110-2 Q20B 0.75
14-80-25.4-4T 4 80 254 2 50 JODMW140520 MO50Y120-2 YD-16 MOS0Y110-2 Q20B 1.00
14-80-26.4-5T 5 80 254 2 50 JDMW140520 MO50Y120-2 ¥YD-16 WMO50Y110-2 Q20B 1.00
14-100-31.75-5T 5 10031.75 2 63 JDMW140520 MOS0Y120-2 YD-16 MOS50Y110-2 Q20B 1.20

iE A Suitable: % 71y . =% 71/ DEREK Or MITSUBISHI Insert

»4 DEREK

i T

MILUNG CUTTERS

Y
P

\—H*&H
"} Abviram

2R
e

i
=

\E‘Hsﬁ.e
Irex;

e
Chuarrtis g Ci




e e

MILURG CUTTERS

y

Cowbleaiged

o

/

Al Face M1

=R

= HFErS
Ikt

2 /-

b
sl

3/

FEErRI

: MY
St Ml Shed ME Irwirid P

TXP

TXP High-feed Face Mill
TXP Kteamet 71k

Bs T
Specification Teeth

[1+]

000 [ [ o5 [

SKS

SKS High-feed Face Mill
SKS XKt met 71k

BMT  FEWMT amEoT TRENT g EENT

il $3)
Insert screw

MO405100-1

a5
Insert
50 WPMWOEX415ZPR

[Eth [EiRRs] T =R

Clamp
YD-13

Clamp Screw  Wrench Weight

MO405100-1

Q158

TXP- 50-22-4T7 4 50 22 1.5
63-22-4T 4 63 22 1.5
80-27-4T 4 80 27 1.5
80-27-5T 5 80 27 1.5
100-32-6T 6 100 32 1.5
63-25.4-4T 4 63 25.4 1.5
80-25.4-4T7 4 80 25.4 1.5
80-25.4-5T 5 80 25.4 1.5
100-31.75-6T 6 100 31.751.5

50 WPMTOE0815ZPR
50 WPMTOB0615ZPR
50 WPMTOE0815ZPR
50 WPMTOB0615ZPR
50 WPMTOE0815ZPR
50 WPMTOB0&15ZPR
50 WPMTOE0815ZPR
50 WPMTOB0615ZPR

MO50Y120-1
MO50Y120-1
MO50Y120-1
MO50Y120-1
MO50Y120-1
MO50Y120-1
MO50Y120-1
MO50Y120-1

YD-16
YD-16
YD-16
YD-16
YD-16
YD-16
YD-16
YD-16

MO50Y110-2
MO50Y110-2
MO50Y110-2
MO50Y110-2
MO50Y110-2
MO50Y110-2
MO50Y110-2
MO50Y110-2

Q208
Q20B
Q208
Q20B
Q208
Q208
Q208
Q208

i& A Suitable: &=k . 2 71k DEREK Or TUNGALOY Insert

b4 DEREK

N C9EEEE

MWHT FWMNT &MENL RN 0N EENT

o T& ng NREET EE  EEEST HEEF
Specification Teeth a Insert Insert screw Clamp Clamp Screw  Wrench Weight
SKS 08-50-22-4T 4 50 22 2 50 MO45Y110 YD-16 M045Y110 Q20B 0.40
08-63-22-4T 4 63 22 2 50 ﬁgﬂﬂrgggﬁﬁggg M045Y110 YD-16 M045Y110 Q20B
08-80-27-5T 5 80 27 2 50 ollicdtors MO4SYII0 YD-16 MO45Y110 Q208  1.00
08-100-32-6T 6 100 32 2 55 MO45Y110 YD-16 MO45Y110 Q20B
10-63-22-4T 4 63 22 2.5 50 MO45Y110 YD-16 MO045Y110 Q208 0.65
10-80-27-4T 4 80 27 2.5 50 WOMWIOX620ZTR winasy110 YD-16 M045Y110 Q20B
10-100-32-5T 5 100 32 2.5 55 WOMTIOX620ZER winasy110 yD-16 M045Y110 Q20B 1.25
08-63-25.4-4T 4 63 25.4 2 50 WDMNO80520ZTR MO45Y110 YD-16 M045Y110 Q20B
08-80-25.4-5T 5 80 25.4 2 50 WDMTO80520ZER M045Y110 YD-16 M045Y110 Q20B 1.00
08-100-31.75-6T 6 100 31.75 2 55 WDHWO80520ZTR MO45Y110 YD-16 MO45Y110 Q20B
10-63-25.4-4T 4 63 25.4 2.5 50 | v eonom MOASYIIO YD-16 MO45Y110 Q208 0.65
10-80-25.4-4T 4 80 25.4 2.5 50 oM RSN MO45YI10 YD-16 MO45Y110 Q208
10-100-31.755T 5 100 31.75 2.5 55 MO45Y110 YD-16 M045Y110 Q20B 1.20
i& A Suitable:fE% 715 . ¥Z 71 DEREK Or DIUET Insert
< DEREK

e e

MILURG CUTTERS

=

A

Coubleaigerd

%S

AN

Ak Face MI

..“ZN I i
[ ]

SR
it

i B
Cubreed g CL e

S\

h \ S \.»mr}t aq\s#mﬂ
LT B



JRG

JRC Face Milling Cutter
JRC E 7171 Em st 713k

EMRW

EMRW Face Milling Cutter
EMRW [E] 7] 71 F gt 77 3%

=985

HWMI AT RFEMT &MENI SN EENT

95 E0

RMNT  FWMAT AMENLI SN EENT

e B el

MILUNG CUTTERS

oFF

L=}

L

D5

\ d -y . d /
e e
7% e 7% K TEEEST AR EREST MEET =8  ms TFEEET  FEIR EARAEST WRAT ER hg
;;s Specification Teeth Insert Insert screw Clamp Clamp Screw  Wrench  Weight Specification : Insert screw Clamp Clamp Screw Wrench Weight 72
X JRC- 5R50-22-4T 4 50 40 22 50 RCT10T3 MO35T085 Q158  0.35 EMRW- 5R50-22-4T 4 50 40 22 50 RPMW1003 M040S100-1 YS43 M0405120 QI5B 0.35 /
: 9 5R50-25.4-4T 4 50 40 25.4 50 RC*T10T3 MO035T085 QI58  0.35 5R50-25.4-4T 4 50 40 25.4 50 RPMW1003 MO40S100-1 YS43 M0405120 Q158 0.35 V
_— 5R63-22-4T 4 63 53 22 50 RC=T10T3 MO35T085 Q158  0.55 5R63-22-4T 4 63 53 22 50 RPMW1003 M040S100-1 YS43 M040S120 Q158 0.55 7
24 5R63-25.4-4T 4 63 53 254 50 RC#T10T3 MO035T085 Q5B 0.55 5R63-22-5T 5 63 53 22 50 RPMW1003 MO40S100-1 YS43 M040S120 QI5B  0.55 i
i 6R50-22-4T 4 50 38 22 50 RC#T1204 MO35T085 - - Q158  0.35 5R63-25.4-4T 4 63 53 254 50 RPMW1003 M040S100-1 YS43 M0405120 Q15B 0.55 B
- 6R50-22-P-4T 4 50 38 22 50 RC#T1204 M035T085 YD-14 MO035T085 Q158  0.35 5R63-25.4-5T 5 63 53 254 50 RPMWI003 M040S100-1 YS43 M0405120 Q158  0.55 2
A 6R50-25.4-4T 4 50 38 25.4 50 RC#T1204 MO35T085 - - Q158  0.35 5R80-27-5T 5 80 70 27 50 RPMW1003 M040S100-1 YS43 M040S120 Q15B 0.35 /
N 6R63-22-4T 4 63 51 22 50 RC#T1204 MO35T085 - - QI5B  0.55 5R100-32-5T 5 100 90 32 50 RPMW1003 MO40S100-1 YS43 M040S120 Q158  0.30 e
1 6R63-22-P-4T 4 63 51 22 50 RC#T1204 MO35T085 YD-14 MO035T085 Q15B  0.55 5R100-32-6T 6 100 90 32 50 RPMW1003 M040S100-1 YS43 M040S120 Q15B 0.30 #
& 6R63-25.4-4T 4 63 51 254 50 RC#T1204 MO35T085 - - QI58  0.55 BR50-22-4T 4 50 38 22 50 RPMW1204 M040S100-1 YS43 M040S120 Q158  0.50 g
i iE A Suitable: xR 71 . (L4%¥4#E % 715 DEREK Or SANDVIK Insert BR50-25.4-4T 4 50 38 254 50 RPMW1204 MO040S1001 YS43 MO0405120 Q158 0.50 # y
K 6R63-22-4T 4 63 51 22 50 RPMW1204 MO40S100-1 YS43 M040S120 QI5B  0.75 /
e BRE3-22-5T 5 63 51 22 50 RPMW1204 M040S100-1 YS43 M040S120 Q15B 0.75 LT
e BR63-25.4-4T 4 63 51 254 50 RPMW1204 M040S100-1 YS43 M040S120 QI5B 0.75 e
} BRE3-25.4-5T 5 63 51 254 50 RPMW1204 M040S100-1 YS43 M040S120 Q15B 0.75 j
N\ 6RB0-25.4-6T 6 80 68 254 50 RPMW1204 MO40S100-1 YS43 M040S120 Q15B  0.95 /
\X 6RBO0-27-6T 6 80 68 27 50 RPMW1204 M040S100-1 YS43 M040S120 Q15B 1.05 /(
QE 6R100-31.75-6T 6 100 88 31.75 50 RPMW1204 MO40S100-1 YS43 M040S120 QI5B 1.20 i
EE 6R100-32-5T 5 100 88 32 50 RPMW1204 M040S100-1 YS43 M040S120 QI5B 1.25 ﬁ!
& 6R100-32-6T 6 100 88 32 50 RPMW1204 M040S100-1 YS43 M040S120 Q158 1.25 gt
K & Suitable:f@% 71/ . =% 71 DEREK Or MITSUBISHI Insert %
Ez E
A1 x2
¥l 7
S P
x y’/
8 &
I 7
h £3 DEREK £3 DEREK d

i T

MILUNG CUTTERS




e e

MILURG CUTTERS

W/
i/

/a

Al Face MI

i

/8
ﬂﬂ"?‘“ﬁi//‘:i‘lﬂﬁ

//
= 5 -
/i

b
[= S

7
7

FEErRD
Pt

TRS

TRS Face Milling Cutter
TRS B 71 Fmet 7]k

PE75°/400R

PE75° Face Milling Cutter
PE75° EmEETIS

[

[£17]

o [l oA

NI FWHT &#MENT

i EENT

D5

=041 EaP

L= HxI FENI FENI aREpI UK ME0T

o]

- -

&
3
N Nk TR 4T MRAEF 5 1 % §
Specification Insert Insert screw Wrench Weight E E
PE- 63-22-4T 4 63 22 APMT1604 MO405100-1 . 7] §
63-25.4-4T 4 63 25.4 50 APMT1604 MO405100-1 J15B 0.70 RE
80-27-5T 5 80 27 50 APMT1604 MO405100-1 Q15B 1.00
80-25.4-5T 5 a0 25.4 50 APMT1604 MO405100-1 Q1:B 1.25
100-32-5T 5 100 32 50 APMT1604 M0O405100-1 Q1:B 1.25

i& A Suitable:#85 71 . =% 71/ DEREK Or MITSUBISHI Insert

BE DIk nk J]ﬁﬂﬂ [Ef EEERST MEETF EE
Specification Teeth H Insert Insertscrew Clamp ClampScrew  Wrench Weight
TRS- 5R50-22-4T 4 B0 40 22 50 RDMTIOTZ MO40ROS0O  YS43  MO40S120 Q158 0.35
SR50-25.4-4T 4 50 40 25.4 50 RDMTIOTZ  MO40ROS0  YS43  MO40S120 Q158 0.35
5R63-22-5T 5 63 53 22 50 RDMTIOTZ MO40ROS0O  YS43  MO40S120 Q158 0.55
5R63-25.4-4T 4 63 53 25.4 50 RDMTIOTZ  MO40ROS0  YS43  MO40S120 Q158 0.55
5R63-25.4-5T 5 63 53 25.4 50 RDMT1OTZ MO40R0SO Y543 MO405120 Q158 0.55
GR50-22-4T 4 B0 38 22 50 RDMT1204 MO40R100-2 Y543 MO405120 Q158 0.35
6R50-25.4-4T 4 50 38 25.4 50 RDMT1204 MO4OR1CO-2 YS43 MO40S120 Q158 0.35
6RG63-22-4T 4 63 51 22 50 RDMTI204 MOAORLIOOD-2 Y543 MO40S5120 Q156 0.50
6RE63-22-5T 5 63 51 22 50 RDMT1204 MO4ORICO-2 ¥S43 MO40S120 Q158 0.50
6RG63-25.4-4T 4 63 51 25.4 50 RDMT1204 MO4AORL1O0-2 YS43  MO40S120 Q158 0.51
6R63-25.4-5T 5 63 51 254 50 RDMT1204 MO4OR10CO-2 YS43 MO40S120 Q158 0.51
GR80-27-6T 6 80 &8 27 50 RDMTI1204 MO40R100-2 Y543  MO405120 Q158 0.90
6R100-32-6T & 100 88 32 50 RDMT1204 MO4OR10O-2 ¥S43 MO40S120 Q158 1.20
8RG63-22-4T 4 63 47 22 50 RDMX1604 MOSOY110-1 ¥S52 MOSOY110-2 Q20B 0.50
8R63-25.4-4T 4 63 47 254 50 RDMX1e04 MOS0Y110-1 ¥S52 MOSOY110-2 Q20B 0.50
SR80-25.4-4T 4 80 &4 254 50 RDMX1604 MOSOY110-1 ¥S52 MOSOY110-2 Q20B 1.1%
8R80-27-5T 5 80 &4 27 50 RDMX1e04 MOS0Y110-1 Y552 MO50Y110-2 Q20B 0.85
8R100-31.75-5T 5 100 84 31.75 50 RDMX1e04 MOSO0Y110-1 ¥S552 MOS0Y110-2 Q20B 1.20
SR100-32-4T 4 100 84 32 50 RDMX1e04 MOS0Y110-1 Y552 MOS0Y110-2 Q20B 1.25
8R100-32-5T 5 100 84 32 50 RDMX1e04 MOSO0Y110-1 Y552 MOS0Y110-2 Q20B 1.25

N
| A
AN

b4 DEREK

i&F Suitable: =K. Bir 715 DEREK Or HITACHI Insert

400R Square Face Mill
J0ORERFEmELTI L 2
.r- HI  EmT Tmnx atn: amENT :‘ml& EwL | 5_%
D "i :

Y
i FIE

[ET-

SE

Chang

kR 7RIS MEEF =R

£
| Hi
&
Specification : Insert Insert screw Wrench  Weight %
50-22-4T 4 50 22 16 50  APMT1e04  MO405100-1 Q158 0.40 /{ )
50-25.4-4T 4 50 25.4 16 50  APMT1&04  MO405100-1 Q15B 0.40 A’,,
63-22-4T 4 &3 22 16 50  APMT1e04  MO405100-1 Q158 0.65 faj:‘*
63-22-5T 5 63 22 16 50  APMT1&04  MO405100-1 Q15B 0.65 .
63-25.4-4T 4 63 25.4 16 50  APMT1e04  MO405100-1 Q158 0.65 /
63-25.4-5T 5 63 25.4 16 50  APMT1&04  MO405100-1 Q15B 0.65 p
80-25.4-6T 6 ag 25.4 16 50 APMT1604  MO40S100-1 Q158 1.00 EE
80-27-67 6 a0 27 16 50  APMT1&04  MO405100-1 Q15B 1.00 7
100-31.75-6T 6 100 31.75 16 50 APMT1604  MO40S100-1 Q158 1.25 //
100-32-6T 6 100 32 16 50  APMT1&04  MO405100-1 Q15B 1.25 L~
125-38.1-8T a8 125 38.1 16 63 APMT1604  MO405100-1 Q158 3.10
125-40-87 a8 125 40 16 B3 APMTI&04  MO405100-1 Q15B 3.10
160-40-8T a8 160 40 16 63 APMT1604  MO405100-1 Q158 5.10
160-50.80-8T a8 160 50.8 16 63 APMTIG&04  MO40S5100-1 Q158 4.80
iE A Suitable:i8%= 71k . =271/ DEREK Or MITSUBISHI Insert
<4 DEREK




&
¥
=
)
Hl
b
A

MILUNG CUTTERS

V4

S
Al FH*MI/

/ H;‘-ﬁ:—.‘r@.V/ﬁz
bhm

| B
Chaarrrine) Cuiee

4

HERRa

TP90°

TP90° Square Face Mill
TPO0° Efsm st 7]k
=4 [ﬁ z
e » 2 Ilf WhT “I_' FWNT  FWHT ﬁn:lnr_
5; y
3 o

s b))
Specification Insert
TP90- 50-22-37T 3 50 22 50 TPMNI1&03

63-22-3T 3 63 22 50 TPMN2204
80-27-4T 4 80 27 50 TPMN2204
100-32-4T 4 100 32 50 TPMN2204
125-40-6T & 125 40 63 TPMN2204
i& M Suitable:{E5 71 DEREK Insert

- - .
*ﬁ :p '3 4 ,é\
_ L Fal

T8 i

BE .
Specification Teeth D di H Weight

TP90- 160-50.8-3T & 160 50.8 63 7.30
200-47.625-10T 10 200 47525 101.6 63 11.45
200-47625-12T 12 250 47.625 101.6 63 13.65
J00-47.625-14T 14 300 47625 101.6 63 22.10

e 4 ®E BEET LT B8

Clamp Washer Screw Wrench Weight
MO&OH120-TP - - LO4D 0.40
MOBOHI&0-TP MT2204 MO40QS080-1 LOGD 0.75
MOBOH1&0-TP MT2204 MO40S080-1 LOGD 1.00
MOBOHI&0-TP MT2204 MO40S080-1 LOGD 1.25
MOBOH1E0-TP MT2204 MO40S080-1  LOGD 2.70

il - EE
Testh D d diI  H Weight

TP90- 160-40-8T & 180 40 : 63 7.50
200-60-10T 10 200 80 1l0l6 &3 11.70

250-60-12T 12 250 60 1016 63 1390
300-60-14T 14 300 60 1016 63 2240

i T Accessories

N §W@

.

A TN M Insert

A .

Y- R ”‘f‘
E0S0ULED FC3050TP220490  SV1281704545 4D TPKN2204
TSR] E— TP TEER A, EREENR

MOTICE:Maximizes the tool life by only changing the insert holder.

b< DEREK

Suitable: DEREK Insert

FPA5°/FP75°

FP45° Face Mill Head

FPA5° S EEE Tk
Pt 7] ~ - '
}:\f;‘} f;‘-g;z 1 f:m:c :F“I P _ it
et

BE T HiE BSs T

Specification Teeth D di  H Weight Specification  Teeth

FP45- 80-25.4-5T B0 254 - RO 1.90 FP45- 80-27-5T 5 80 27 - B0 205
100-31.75-5T 100 31.7% -  BO 2.40 100-32-5T 5 100 32 - B0 2565
125-38.1-6T 6 125 38.1 - 63 550 125-40-6T 6 125 40 - B3 570
160-50.8-8T g8 1e0 &0.B - B3 7.30 160-40-8T g 160 40 63 7.50

200-47625-10T 10 200 47.625101.6 63 11.45
250-47.625-12T 12 250 47.625101.6 63 18.15
J00-47.625-14T 14 300 47.625101.6 63 22.10

200-60-10T 10 200 60 101.6 63 11.70
260-60-12T 12 250 60 101.6 63 18.35
300-60-14T 14 300 60 101.6 63 22.40

{# A 715 MK Insert specification

Toal® i a:fi:j

SEKN1504

710 T 5 Acces surms

-2 i 1!

SEKN1203

FC2550-5E1 20345
EOB0ULE0 FoossosElsoa4s SV-128170-15-45 T04AG

I REEST R E—-FPEE 1L AT FSEKNL 203, SEKNL 04— 1.  ERE=TR
Motice: For both inserts SEKN1 203 and SEKN1504 by only changing suitable insert holder. Suitable: DEREK Insert

FP75° Face Mill Head

FP75° T &%t 71k
D -
e (7] 7 ‘
gy

‘ :.:
‘I

HSMT FEWMI H#MAENT \ Y

YgT -+ @

s T8 HE Bs e =E
Specification Teeth D di  H Weight Specification  Teeth di H Weight
FPTo- 80-25.4-4T 4 80 254 - B0 1.90 PTo- 80-27-5T 5 &0 27 - Ep 2.05
100-31.75-6T & 100 31.7% - &0 240 100-32-6T (3] 100 32 - D  2.56
125-38.1-8T g 125 381 - B3 550 125-40-8T 2] 125 40 - 63 570
160-50.8-10T 10 160 50.8 - B3 7.30 160-40-10T 10 160 40 63 7.50

200-60-12T1 12 200 &0 ll]l 6 63 11.70
250-60-14T 14 250 60101.6 63 1835
J00-60-16T 16 300 60101.6 63 22.40

{E A 715 #M#& Insert specification
1erFsﬁ':ﬁ’ el

SPEN1203

200-47.625-12T 12 20047.625101.663 11.45
250-47.625-14T 14 25047.625101.663 1815
J00-47.625-16T 16 30047.625101.663 22.10

FHEEMH AC cesanrips

..
q & § &

EﬂEUUlEU FC2550-5P1504.75 SV-128170-15-75

i IR 7] B, 5] —~FPALS 71 L W] 4 R SPKN1 203, SPKNL S04 =# 71 K . ERERENR
Maotice: For both inserts SPEN1203 and SPKN1504 by only changing suitable insert holder. Suitable: DEREK Insert

SPKNIEﬂ-Il

b4 DEREK

&
S
®
#
Hl
)
A

MILUNG CUTTERS

B

e S 4
A Faca MI

R

22N\

e
Chuarriis g Cusler

B Ao\ o \vemEa\



e T

MILLUNG CUTTERS

y

Lo arigad Wil

EHE

WS

/.

S
Abvinre Facs M

= SRR
%=

=F: )
e i

4

E R

E Ve vy

SE45°

SE45° High-speed Face Mill
SEAS° BEFmetT) %

BE
Specification
SE45- 50-22-4T
63-22-5T
63-25.4-5T
80-27-5T
80-25.4-5T
100-31.75-6T
100-32-6T
125-38.1-6T
125-40-6T
160-40-6T
160-50.8-6T

=

T O O LA R B

50
63
63
80
80
100
100
125
125
160
160

22
227
25.4
27
25.4
31.75

38.1
40
40

50.8

50
50
50
50
50
50
50
63
63
63
63

] - [ 28

H#EIHT #RMENT HREMT VIS  WENI EEhT

kR

Insert
SEKT1204
SEKT1204
SEKT1204
SEKT1204
SEKT1204
SEKT1204
SEKT1204
SEKT1204
SEKT1204
SEKT1204
SEKT1204

NR8sT

Insert screw
M0O50Y110-2
MO50Y110-2
M0O50Y110-2
MO50Y110-2
M0O50Y110-2
MO50Y110-2
M0O50Y110-2
MO50Y110-2
M0O50Y110-2
MO50Y110-2
M0O50Y110-2

T HE
Wrench Weight
Q20B 0.50
Q208 0.75
Q20B 0.75
Q20B 1.15
Q20B 1.15
Q20B 1.75
Q20B 1.75
Q20B 3.75
Q20B 3.15
Q208 5.10
Q20B 5.10

i& A Suitable: &% 71/ DEREK Insert

1]

DEREK

AMCG/PMGC

AMC Shell Mill For Roughing

AMC =1 ETAI RSt T

ol 7l 2

MWHT H#HENT

I MWL

as DI g TI R84 W F
Specification Teeth Insert screw Wrench
AMG- 50-22-4T 12 50 22 42 &9 ADKX1505 MOAON100 Q158
63-27-41 12 63 27 42 69 ADEX1505 MOAON1OC Q158

i& A Suitable:& % 71/ DEREK Insert

PMC Shell Cutter For Roughing
PMC ZzCHEVIHIIR 7]

=]

%
Specification

Pk
Teeth

EOF

HipT #REANT

L
L1

i ML

TI R84
Insert screw

TR F
Wrench

PMC- 63-27-4T 4 2  APMX1504 10 SPMX1204  MOSOMLLO Q208
80-32-6T & &0 3 APMX1504 18 SPMX1204  MOSOMILO Q20B
100-40-6T 3] 100 40 76 3  APMX1504 21 SPMX1204  MOSOMLLO Q20B

if A Suitable: &% 71 5 DEREK Insert
»4 DEREK

i T

MILUNG CUTTERS

i )
Chuarriis g Cusler

B N o\ o \vemmza\



TDG TDCW

TDC Slot Milling Cutter TDCW Slot Milling Cutter
TDC #4571 TDCW #§% 7]

7148471 HREARGHF HE

=] 7 * i il
2 Pihsl T Fa8sT iR F o Speciﬁaﬁun Insert Insert screw Wrench Weight

Speciﬁgtiun Insert Insert screw Wrench Weight

*
=
]
Hl
)
H

-
]
&
()
H
3
H

e e

MILURG CUTTERS

TDC- C20-19-125-1T 19 20 35 125  TD16  M040S100-1 Q158 0.20 TDCW- 50-22-6T 50 TD16 M0405100-1

1
\ £20-24-125-1T 1 24 20 40 125 TDI6  MO40S100-1 Q158 0.30 63-22-8T 8 63 22 50 1016 M0405100-1 Q158 0.50 /
w2 C25-32-150-3T 3 32 25 50 150  TD16  M040S100-1 Q158 0.80 80-27-10T 10 80 27 50 TD16 M040S100-1 Q20B 1.10 s
gg £32-40-150-3T 3 40 32 50 150 D16 M040S100-1 Q158 0.90 i /A Suitable: {85 71 DEREK Insert ;’tg
% i& A Suitable: &% 71 /5 DEREK Insert ]

HETOC / TDCWIHIT R SR FS ¥ LT IR RI5HIE,

\ Motice: TDC / TDCW cutting depthand width as per below insert data. /
2 S H
24 = . ‘ 1
& B TRHER  EE & R 0 T4 3
54 Fig Specification S B R Composition Stock PMEK il

\ TD16-100 230 0. CP5220 A /
: mi6110  1.10 2.30 0.1 CP5220 A e
Eg mi6-130 1.30 2.10 0.1 CP5220 A %5

mi6-150 1.50 250 0.1 CP5220 A &

3 ' mi6-160 1.60 250 0.1 CP5220 A 33
\ m16-185 1.85 250 0.1 CP5220 A /
@ : mi6-200 2.00 250 0.1 CP5220 A 8y
me 5,/ mi6-215 2.15 270 0.2 CP5220 & %

i B -\ T16-250 2.50 250 0.2 CP5220 i i

\ “ T16-265 2.65 270 0.2 CP5220 &

\]\ T16-300 3.00 2.80 0.2 CP5220 A e
#3 m6-315 315 3.00 0.2 CP5220 A 3
' 16320 3.20 3.00 0.2 CP5220 A E—,g
Be s AEERE A$EFEitpm ORiTRE™ "t

\ Motice: & Excellent (Instock) MGood (Instock) O 0n Request /
H =
& &
' E
A 7l

h §I DEREK £I DEREK d



GDC SDC

GDC Indexable Side Cutter For Slotting SDC Indexable Side Cutter For Slotting
GDC &#:\Migtn SDC €57 Mgt

d
d1

¢ S
; B N 7 B ;
= e b .. @ ﬁz T =
H - Y . T ' - . NLIN 8
7 7
) T TIRIEST  MREF =R ) ) NHEST  MEET =R "
b Insert Insert screw Wrench  Weight Specification Teeth D b b Insert Insert screw Wrench  Weight
GDC- 80-04B-22 10 80 22 45 4 40  SNFH1125  MO30DO035-90 Q08B 0.50 SDC- 63-04B-22 8 63 22 38 4 8 SNFH1125  MO30D035-90 QOBB 0.27
n 80-05B-22 10 a0 22 4% 5 40  SNFH1135  MO30D043-90 Q08B 0.50 63-05B-22 8 63 22 38 5 8 SNFH1135  MO30D043-90 Qo8B 0.28
ey 80-06B-22 8 a0 22 45 b 40  SNFH1235  MO40D0O50-90 Q158 0.55 63-06B-22 6 63 22 38 6 8 SNFH1235  MO40D050-90 Q158 0.28
1} 80-07B-22 9 a0 22 4% 7 40  SNFH1235  MO40D0O50-90 Q15B 0.57 63-08B-22 6 63 22 38 8 8 SNFH1235  MO40D050-80 Q158 0.30
S 80-088-22 9 80 22 45 8 40  SNFH1235  MO40D0O50-90 Q158 0.70 80-04B-22 10 80 22 38 4 8 SNFH1125  MO30D035-90 Q08B 0.31 :
\\\\\\\ 80-09B-22 8 20 22 45 9 40  SNFH1255  MO40D0OBZ2-90 Q15B 0.60 80-05B-22 10 80 22 38 5 8 SNFH1135  MO30D043-90 Q08B 0.44 ///ff//
Ot 80-10B-22 8 80 22 45 10 40 SNFH1255  MO40D0OB2-90 Q15B 0.62 80-06B-22 8 80 22 38 6 8 SNFH1235  MO40D050-90 Q158 0.35 T
I_* 80-12B-22 8 a0 22 45 12 40  SNFH1275  MO40D110-90 Q15B 0.66 80-08B-22 9 80 22 38 8 8 SNFH1235  MO40D050-80 Q158 0.36 :i
;,%E 80-14B-22 g a0 22 45 14 40 SNFH1275 MO40D110-90 Q15B 0.70 100-04B-27 12 100 27 41 4 12 SNFH1125  MO30D035-80 QOBB 0.38 L%:
i _’ 100-04B-27 12 100 27 6O 4 40  5SNFH1125  MO30DO035-90 Q08B 0.67 100-05B-27 12 100 27 41 5 12 SWFH1135  MO30D043-80 Q08B 0.44 Fy e
\\\\\\\ 100-058-27 12 100 27 50 5 40  SNFH1135  MO30D043-90 Q08B 0.70 100-06B-27 10 100 27 41 6 12 SNFH1235  MO40D050-80 Q158 0.46 ,///”f
,li\\ 100-06B-27 10 o0 27 6O b 40  SNFH1135  MO40D0O50-90 Q15B 0.73 100-08B-27 9 100 27 41 8 12 SWFH1235  MO40D050-80 Q158 0.54 -;fﬁllg
jﬁ% 100-07B-27 g 100 27 50 7 40 SNFH1135  MO40D0O50-90 Q158 0.76 100-10B-27 10 100 27 41 10 12  SNFH1255  MO40D082-90 Q158 0.65 7_3
# 100-08B-27 9 100 27 &0 8 40  SNFH1135  MO40D0O50-90 Q15B 0.80 100-12B-27 10 100 27 41 12 12  SNFH1I275  MO40D110-90 Q158 0.75 #
>\\,§’; 100-098-27 10 100 27 &0 g 40  SNFH1255  MO40D0OB2-90 Q15B 0.84 125-06B-32 12 125 32 47 6 12 SNFH1235  MO40D050-80 Q158 0.69 :_fi/,/
\\\\\\ 100-10B-27 10 100 27 6O 10 40 SNFH1255  MO40D0OB2-90 Q15B 0.88 125-08B-32 12 126 32 47 8 12 SWFH1235  MO40D0O50-80 Q158 0.81 -
Th 100-12B-27 10 100 27 50 12 40  SNFH1275  MO40D110-90 Q158 0.92 125-10B-32 12 125 32 47 10 12  SNFH1255  MO40D082-90 Q158 0.94 ’/-'-::lé
ﬂ: 100-14B-27 g 100 27 6O 14 40 SNFH1275  MO40D110-90 Q15B 0.98 125-12B-32 12 125 32 47 12 12  SNFH1275  MO40D110-90 Q15B 1.05 ?“
| & 125-04B-32 14 126 32 70 4 45  S5NFH1125  MO30DO035-90 Q08B 1.30 125-14B-32 12 125 32 47 14 12  SNFH1275  MO40D110-90 Q158 1.20
\\\\\ 125-05B-32 14 126 32 70 & 45 SNFH1235  MO20D043-90 Q08B 1.40 160-06B-40 16 160 40 54 6 12 SWFH1235  MO40D0O50-80 Q158 1.04 //;//,
,l\}\\ 125-06B-32 12 126 32 70 & 45  SNFH1235  MO40D0O50-90 Q15B 1.45 160-08B-40 15 160 40 54 8 12 SNFH1235  MO40D050-80 Q158 1.28 _,/fffu
?_L 125-07B-32 12 126 32 70 7 45 SNFH1235  MO40D0O50-90 Q15B 1.50 160-10B-40 16 160 40 &4 10 12  SNFH1255  MO40DO82-90 Q158 1.50 43
il 125-08B-32 12 126 32 70 8 45  SNFH1235  M0O40D0O50-90 Q15B 1.55 160-12B-40 16 160 40 54 12 12  SNFH1275  MO40D110-90 Q158 1.70 '_;’.;
\\j_ﬁ,i 125-09B-32 12 126 32 70 g 45 SNFH1255  MO40D0OB2-90 Q15B 1.60 160-14B-40 15 160 40 &4 14 16  SNFH1275  MO40D110-90 Q158 1.90 ji/,
N 125-108-32 12 125 32 70 10 45 SNFH1255 MO40D082-90 Q15B 1.65 i% A Suitable: % 71 & DEREK Insert e
T_\\ 125-12B-32 12 126 32 70 12 45 SNFH1275  MO40D110-90 Q15B 1.75 = -
%1 125-14B-32 12 125 32 70 14 45 SNFH1275  MO40D110-90 Q15B 1.85
*Ej 160-06B-40 l6 led 40 42 b 50 SNFH1235  MO40D0O50-80 Q15B 2.60 *;
~\\\\'\ 160-07B-40 15 160 40 42 7 50  SNFH1235 MO40D0O50-90 Q158 2.80 ',///
\\\\\\ 160-08B-40 15 led 40 42 8 50  SNFH1235  MO40D0O50-80 Q15B 3.00 ///

. 160-09B-40 16 160 40 42 9 50  SNFH1255 MO40D0B2-90 Q158 3.20 [ s
ﬁa 160-10B-40 16 160 40 42 10 50 SNFHI255  MO40D0B2-90 Q15B 3.40 s
\J] 160-12B-40 16 160 40 42 12 50  SNFH1275  MO40D110-90 Q158 3.60 & ¥
- 160-14B-40 15 160 40 42 14 65O  SNFH1275  MO40D110-90 Q15B 3.80 //
i i& A Suitable:#&% 71 5 DEREK Insert I

}< DEREK F<4 DEREK




CDC WDC

CDC Indexable Side Cutter For Slotting WDC Indexable Side Cutter For Slotting
CDC &x&A Mgt WDC &FAMgt7]

& &
E E ]
. .
] ]
Hl Hl
7] 7]
R R

MILUNG CUTTERS

BE DAk baly RGBT MWEETF HE Nk T84T HMEEF =HE
Specification Teeth D b L Insert Insert screw  Wrench  Weight Specification b Insert Insert screw Wrench Weight
CDG- D80-06B-22 8 80 22 44 32 & 40 SPMTOE0204  MO20D0A40 QO&R 0.68 WDG- 80-06B-22 8 &0 22 44 & 12 SPMTOE0204  MO20D040 QOeR 0.29
080-07B-22 8 80 22 44 32 7 40 SPMTOEO204  MO20D040 QO6R 0.70 80-07B-22 8 a0 22 44 7 12 SPMTOS0204 MO200040 Q0&ER 0.30
080-08B-22 8 80 22 44 32 8 40 SPMTOe0204  MO22D0OS0 QO6R 0.73 80-08B-22 8 &0 22 44 8 12 SPMTO&0204  MO22D050 QOeR Q.32
080-09B-22 8 80 22 44 32 9 40 SPMTOeEO204  MO22D0OS0 QO6R 0.75 80-09B-22 8 a0 22 44 9 12 SPMTO&D204 MO220050 Q0&eR 0.35
N 0a0-10B-22 8 80 22 44 32 10 40 SPMTOe0204  MO22D0OS0 QO&eR 0.80 a0-10B-22 8 &0 22 44 10 12 SPMTO&D204  MO22D050 QOeR 0.38 3
\\\\\\\ 080-11B-22 8 80 22 44 32 11 40 SPMTOYT308  MO25D0&0 QO&eR 0.85 &0-11B-22 a8 a0 22 44 11 12 SPMTOYTAOS MO2500&0 QO&E 0.39 ///f/
PR 080-12B-22 8 80 22 44 32 12 40 SPMTOYT308  MO25D0&0 QO&R 0.90 80-12B-22 8 &0 22 44 12 12 SPMTOYTA0E MO250060 QO&B 0.42 “ H
:— 100-06B-27 10 100 27 &0 32 & 40  SPMTOS0204  MO20D040 QO6R 0.90 100-06B-27 10 100 27 50 & 12 SPMTOS0204 MO200040 Q0&eR 0.50 L
%,%E 100-07B-27 10 100 27 &0 32 7 40 SPMTOS0204  MO20D040D QO06R 0.93 100-07B-27 10 100 27 &0 7 12 SPMTOE0204  MO20D040 QOeR Q.52 f_%
A _’ 100-08B-27 10 100 27 &0 32 8 40 SPMTO60204  MO22DOS0D QO&ER .06 100-08B-27 10 100 27 50 8 12 SPMTO&0204 MO220050 Q0eR 0.54 ” /
\\\\\\ 100-09B-27 10 100 27 &0 32 9 40 SPMTOe0204  MO22D0OS0D QO&eR 1.00 100-09B-27 10 100 27 &0 9 12 SPMTO&0204  MO22D050 QOeR 0.60 ,//ff
,@*\\ 100-10B-27 10 100 27 &0 32 10 40 SPMTOe0204  MO22DOS0D QO6R 1.03 100-10B-27 10 oo 27 &0 10 12 SPMTOYTAOS MO2500&0 QO&E 0.65 '"////*.'5
jﬁ% 100-11B-27 10 100 27 &0 32 11 40 SPMTO7T308  MO25D06&0D QOBR 1.05 100-11B-27 10 100 27 &0 11 12 SPMTO7T308 MO250060 QO&B 0.70 T_E
" 100-12B-27 10 100 27 &0 32 12 40 SPMTO7T308  MO25D0&0D QOsRE 1.10 100-12B-27 10 oo 27 &0 12 12 SPMTOYTAOSE MO2500&0 QO&E 0.75 #
.\\\,'?; 100-14B-27 10 100 27 &0 32 14 40 SPMTO90408  MO35D0O90D Q158 1.30 100-14B-27 10 100 27 &0 14 1& SPMTO90408 MO3500090 Ql:B 0.85 :_fi/,/
\\\\\ 100-16B-27 10 100 27 &0 32 16 40  SPMTO904082  MO35D090 Q1ER 1.50 100-16B-27 10 oo 27 &0 16 16 SPMTOS0408 MO250090 Q1EE 0.88 //,f/
TR 125-06B-32 12 126 32 70 46 & 45 SPMTOS0204  MO20D040D QO&R 1.50 125-06B-32 12 126 32 6% & 12 SPMTOE0204  MO20D040 QOeR 0.70 '/-'-:=|§
ﬂ: 125-07B-32 12 126 32 70 46 7 45  SPMTOS0204  MO20D040 QO6R 1.55 125-07B-32 12 125 32 6% 7 12 SPMTOS0204 MO200040 Q0&eR 0.75 ?“
| ] 125-08B-32 12 126 32 70 46 8 45 SPMTO60204  MO22D0OS0D QO&R 1.60 125-08B-32 12 126 32 6% 8 12 SPMTO&0204  MO22D050 QOeR 0.80
\\\\\\ 125-10B-32 12 125 32 70 46 10 45 SPMTO60204  MO22DOS0D Q0&eR 1.70 125-10B-32 12 125 32 65 10 12 SPMTOE0204 MO220050 Q0eR 0.88 ,/f'ff
,ﬁ_\\\ 125-11B-32 12 126 32 70 46 11 45 SPMTO7T308  MO25D06&0D Qo8B 1.70 125-11B-32 12 126 32 65 11 12 SPMTO7T308 MO250060 QO&B 0.93 _,/fzfjg
?_L 125-12B-32 12 125 32 70 46 12 45 SPMTO7T308  MO25D0&0D QOsR 1.70 125-12B-32 12 126 32 65 12 12 SPMTOYTAOS MO2500&0 QO&E 0.98 3
E 125-14B-32 12 126 32 70 46 14 45 SPMTO90408  MO35D090D Q158 1.75 125-14B-32 12 126 32 65 14 16 SPMTO90408 MO350090 Ql:B 1.00 '_;’.;
\\jﬁji 125-16B-32 12 1265 32 70 46 16 45 SPMTO90408  MO35D0OS0 Q15R 1.80 125-16B-32 12 125 32 65 16 16 SPMTOS0408 MO250090 Q1:E 1.18 *Jj/,
\\\\\ 125-18B-32 10 126 32 70 46 18 45 SPMT110408  MO40DO90 Q158 1.85 125-18B-32 10 126 32 65 18 20 SPMTI10408 MO400090 Ql:B 1.30 //'”/
T:\\ 125-20B-32 10 125 32 70 46 20 45 SPMT110408  MO40QDOS0O QJ15R 2.00 125-20B-32 10 125 32 65 20 20 SPMT110408 MO4000%0 Q1EE 1.45 'f/ﬁ
:ki 125-25B-32 10 126 32 70 46 25 45 SPMT140512  MOGBODI11O0 Q20B 2 50 125-25B-32 10 126 32 65 25 25 ZSPMTI140%&12 MOES0D110 Q20B 1.70
*EJ 160-11B-40 16 160 40 80 52 11 &0 SPMTO7T308  MO25D0&0D QOsRE 2.60 160-11B-40 16 160 40 75 11 12 SPMTOYTAOS MO2500&0 QO&E 1.65 *Jj
\\\\'\ 160-12B-40 16 160 40 80 &2 12 &0 SPMTO7T308  MO25D0&0D Qo8B 2.70 160-12B-40 16 160 40 75 12 12 SPMTOYTAOSE MO250060 QO&B 1.70 ',///
\\\\ 160-14B-40 16 160 40 80 52 14 &0 SPMTO90408  MO35D0S0 Q15R 2.80 160-14B-40 16 160 40 75 14 16 SPMTOS0408 MO250090 Q1EE 1.85 ,,////”

. 160-16B-40 16 160 40 80 52 16 &0 SPMTO90408  MO35D090D Q158 2.90 160-16B-40 16 160 40 75 16 16 SPMTO90408 MO350090 Ql5B 2.10 [ s
gi 160-18B-40 12 160 40 80 52 18 &0  SPMT110408  MO40QDOS0O Q15R 2.90 160-18B-40 12 160 40 75 18 20 SPMT110408 MO4Q00%0 Q1EE 2.50 e
\J] 160-20B-40 12 160 40 80 &2 20 &0 SPMT110408  MO40DO90D Q1GB 2.20 160-20B-40 12 160 40 75 20 20 SPMTI110408 MO400090 Ql:B 2.80 a ¥
- 160-25B-40 12 160 40 80 52 25 &0  SPMT140512  MOGODILO Q208 3.50 160-25B-40 12 160 40 75 25 25 SPMT140512 MOEQD110 Q20B 3.00 //’
] 200-14B-40 18 200 40 90 52 14 &0 SPMTO90408  MO35D0O90D Q158 4.20 200-14B-40 18 200 40 &80 14 1e SPMTOS04038 MO350090 Ql:B 3.00 L

200-16B-40 18 200 40 90 52 16 GO SPMTO904082  MO35DOS0 Q15R 4,50 200-16B-40 18 200 40 80 16 16 SPMTOS0408 MO350090 Q1GE 3.20

200-18B-40 14 200 40 90 52 18 &0 SPMT110408  MO40DO90D Q158 4.90 200-18B-40 14 200 40 &80 18 20 SPMTI10408 MO400090 Ql:B 3.60

200-20B-40 14 200 40 90 52 20 RO SPMT110408  MO40QDOS0 Q15R £.20 200-20B-40 14 200 40 80 20 20 SPMTI10408 MO4000%0 Q1GE 4.10

200-25B-40 14 200 40 G0 &2 25 GO SPMT140512  MOGBODIL1O Q20B 5.E0 200-25B-40 14 200 40 &80 25 25 ZSPMTI140%512 MOE0D110 Q20B 4,60
i& A Suitable:#&% 71/ DEREK Insert i&i A Suitable: &% 715 DEREK Insert

b4 DEREK b4 DEREK




Type M

MCLNR/L

BE K N o 88 e EH [ A HF
Specification F Insert Shim Center screw  Clamp  Clamp screw  Wrench
MCLNR/L 1616H12 16 16 100 20 CN..1204.. MC1204 MX0&e17 MYO&19 MLOG25 LO25,L03
2020K12 20 20 125 25 CN..1204.. MCl204 MX0617 MYO&19 MLO&25  L025,L03
255m12 25 25 150 32 CN..1204.. MC1204 MX0&e17 MY0&19 MLOG25 LO25,L03
3232P12 32 32 170 40 CN..1204.. MCl204 MX0&617 MYO&19 MLO&25  L0O25,L03

i& A Suitable: &% 71 /5 DEREK Insert

TURNING TOOLS

SH¥-H

MCBNR/L

75°

k1

¥
&-ﬂiﬂ?!ﬂ\ﬂ-ﬁﬂl\ :m:lz\ o
aring hoal Threading ool Irtamd g kool E atamnl humineg boal

BE JIiE chov a8 ok EW [E g HF
Specification Insert Shim Centerscrew  Clamp  Clamp screw  Wrench
MCGBNR/L 2020K12 125 o . MC1204 MX0&17 MY0&19 MLO&25  L025,L03
2525M12 25 25 150 22 CN..1204.. MCl1204 MX0D&L17 MYO&19 MLO&25  L025,L03
232m2 32 32 170 27 CN..1204.. MC1204 MX0&l7 MY0&19 MLOG625 L025,L03
3232P16 32 32 170 27 CHM..1606.. MCle04 MXDB22 MY0823 MLOg28  LO3,L04
3232P19 32 32 170 27 CN..1906.. MC1904 MX1022 MY0823 MLDBZ28 LO4

i& A Suitable: &% 71 /5 DEREK Insert

b4 DEREK




Type M

MCKNR/L

8e T ch 8 o [Ef [E 48 & F
Specification F Insert Shim Centerscrew  Clamp  Clamp screw rench
MCKNR/L 2020K12 20 20 125 25 CN..1204.. MCl1204 MXO0617 MYDE19 MLOGZ2S L025,L03
2525012 25 25 150 32 CN..1204.. MC1204  MXO&17 MYD&19 MLOGZ2S  L0O25,L03
J23zr12 32 32 170 40 CN..1204.. MC1204 MXO0617 MYDE19 MLOGZ2S L0O25,L03
3232P16 32 32 170 40 CN..1606.. MCleld4  MX0822 MYD823 MLOB28  LO3,L04

3232M9 32 32 170 40 CN.1906.. MC1S04 MX1022  MY0823  MLOB28 LO4

TURNIRG TOOLS

HHHw

i FA Suitable:f&% 71 5 DEREK Insert

MCGNR/L

/ tms:i/
y, Edaml {muimgioal
#

= EHERE
Inkarnal Tmning bal

’a
///
’a
A
//
S
A

A HE R
Tinxig il

F
I
i

= R
Gom

-

rd

"

bR EiR EREL =2

Bs 7 A1
Specification H Shim Certer screw  Clamp  Clamp screw rench

MCGNR/L 2020K12 20 20 12% 25 CN..1204.. MCl204 MX0617 MYOE19 MLO&25 L025,L03
2525042 25 25 150 32 CN..1204.. MC1204  MX0&17 MYDE19Q MLOGZ2S  L0O25,L03
3232P12 32 32 170 40 CN..1204.. MC1204 MX0&17 MYOE19 MLOGZ2S  L0O25,L03

i FA Suitable:f&% 71 5 DEREK Insert

b4 DEREK

Type M

MCSNR/L

o ek i iR 4 ER [EH 48 & F
Specification H Shim Center screw  Clamp  Clamp screw rench

MCSNR/AL 2525M12 25 25 150 32 CN..1204.. MCl204 MX0&17 MYOE19 MLO625 L025,L03
i F Suitable:fE % 71 5 DEREK Insert

oM

TURNING TOOLS

-\

MCMNN

= i

Edprml imigioo

My
*y
RN
My
*y

%, Iend Ieng ool

y

o #AH

5
\\\
L
KN
N

Pt ]
Threadglool

o,

N

-
™,
N

\
W

,_
)
] ol

Cowiglool

H
Y
L)
“,

-

-

*
*y

R

s kK 71 b EE O FEEEE 6T

Specification Shim Centerscrew  Clamp  Clamp screw  Wrench

MCMNN 2020K12 20 20 125 10 CN..1204.. MCl204 MX0el7 MYD&1S  MLOB25 LO25,L03
2525M12 25 25 150 12,5 CN..1204.. MCl204 MX06l7 MYOeld  MLO625 L0O25,L03
3232P12 32 32 170 16 CN..1204.. MCl204 MX0617 MYO619 MLO625 LO25,L03
26526M16 25 25 150 12.5 CN..1e06.. MCle04 MX0822 MYO823  MLOB28  LO3,L04
3232P19 32 32 170 1e CN..1906.. MC1S804 MX1022 MYDB23  MLOB23 LO4

i Fl Suitable:f&% 71 )5 DEREK Insert

b4 DEREK




Type M

MCMNN-40

BE K T duhigE [FR FREe 5
Specification F Shim Centerscrew  Clamp  Clamp screw rench e K chf i EiR EiRiE e =
MCMNN 2020K12-40 20 20 125 10 CN..1204.. MC1204 MX0617 MY0619 MLO625 LO25,L03 Specification Shim  Centerscrew ~ Clamp  Clamp screw  Wrench
2525M12-40 25 25 150 12.5 CN..1204.. MC1204 MX0617 MY0619 MLOG25 L025,L03 MDPNN 161611 16 16 100 &8 DN..1104.. MDL1103 MXD513 MY0619 MLO625  L02,L03
i& Al Suitable: &3 71 & DEREK Insert 2020611 20 20 125 10 DN.1104.. MD1103 MX0513  MY0619  MLO625  L02,L03
2525M11 25 25 150 12.5 DN..1104.. MD1103 MX0513 MY0619 MLO625  L02,L03
2020k15 20 20 125 10 [N 1504, MDIS06  MX0619  MY0621  MLO625 LO25,L03
2525M15 25 25 150 12.5 MX0619  MYD621  ML0625 L025,L03
3232M5 32 32 170 16 DN.1506.. MD1504  mxoe19  MYOS21  MLOG25  L0O25,L03

i&i A Suitable:fE3 715 DEREK Insert

TURNING TOOLS

e

TURNING TOOLS

= H

R 4
\ 4

221 MDJNR/L MDQNR/L 43

5t &E

"t "t

N L

HE %

it e
R i A

\\\\\\\ i i m ,”//”//

r§ -

i m E

31 , L :
Ny ! [ . /////
\\\\ L /////

3 = - ¢ g

E g E

2 i °Ff P&
g -5“'*1 i T = g |
'\\TJ T T T n

G L L //

oy -

ne 7 N e i EREL %
e nk Tk chl 88 & EiR RS e E 3 Specification Shim Centerscrew  Clamp  Clamp screw rench
Specification F Insert Shim  Centerscrew  Clamp  Clamp screw  Wrench MDONRAL 1616H11 16 16 100 20 DN..1104.. MDI1103  MX0513  MY0619  MLO625  LO2,L03
MDJNR/L 1616H11 100 . .. MDL103  MX0513 MLO625  L02,L03 2020611 20 20 125 25 ODN.1104. MD1103  MXO513  MY0OAL9  MLOG25  LO2,L03
2020k11 20 20 125 25 ODN..1104.. MDL103  MX0513  MYD&lS  MLOG25  LO2,L03 2525M11 25 25 150 32 ODN..1104. MD1103  MX0513  MY0O619  MLO625  LO2,L03
2525Mi1 25 25 150 32 DN..1104.. MDL103  MX0513  MYD619  MLOG25  LO2,L03 2020615 20 20 125 25 [N 1504,  MDLS0E  MXO61S  MYO621  MLO625  LO25,L03
2020k15 20 20 125 25 pN.1504. MD1506  MXO0619  MY0e2l  MLO625  L025,L03 26525M15 25 25 150 32 MX0619  MY0O621  MLO625 LO25,L03
2525M15 25 25 150 32 MX0619  MY0D621  MLO625 L025,L03 323215 32 32 170 40 DN.1506..  MDIS04  wyxoglo  MYDE21  MLO625  L0O25,L03
3232p15 32 32 170 4p ON..1506.. MD1504  wivpg1o  MYDe21  MLOB25  L025,L03 i& M Suitable:#83 71 B DEREK Insert

i Fl Suitable:{&% 71 )5 DEREK Insert

b4 DEREK b4 DEREK




Type M

MSBNR/L

A
Specification

Nk
Insert

71
Shim

ch i i [ER [EHg &

Center screw

Clamp

Clamp screw

F
rench

Type M

MSKNR/L

=
Specification H F
MSKNR/L 2020K12

Insert

SN..1204..

Ttk

Shim
MS1204

e -

Center screw

MX0&17

[Eth  ERERE  EF

Clamp
MYDE19

MLOG25

Clamp screw  Wrench

LO25,L03

MSBNR/L 2020K12 22 22 125 17 SN..1204.. MS1204 MX0&17 MY0E19 MLOE2S  LO25,L03 2525M12 25 25 150 32 SN..1204.. MS1204 MXO0e1l7 MY0E19 MLOB25  L0O25,L03
2525M12 25 25 150 22 SN..1204.. MS1204 MxX0&17 MY0E19 MLOB25  LD25,L03 3232P2 32 32 170 40 SN..1204.. MS1204  MXO0617 MYOE19 MLOE2S  L025,L03
3232P12 32 32 170 27 SN..1204.. MS1204 MX0&17 MYOE19 MLOB25 LD25,L03 2525M15 25 25 150 32 SNM..1506.. MS1504  MXD&22 MYQ&823 MLOB22  LO3,LD4

*E IRI5M15 25 25 150 22 SN..1506.. MS1504 MX0&822 MYQE23 MLOB2&  LO3,L04 3232P19 32 32 170 40 SN..1906.. MS1904 MX1022 MYQ&823 MLOE2& LO4
;; 3232P15 32 32 170 27 SN..1506.. MS1504 MX0&822 MYQ823 MLOB28  LO3,L04 i& f Suitable:f&== 71 i DEREK Insert
- H 3232P19 32 32 170 27 SN..1906.. MS1904 Mx1022 MYQE23 MLOB28 LO4
AMOR19 40 40 200 35 SN..1906.. MS1904 MX1022 MYQ823 MLOBZ2& LO4
\ i F Suitable:fE % 71 5 DEREK Insert
",

- v
w2 | MSDNN MSSNR/L z
i i

H £

\\ = '“///
x\_\k ff”,;//
J{E Sy p’ -}I'E

73 7

\\\\\\\ i i i //,//f”
‘:E\\\\. o w - o 7//33
3] : v L | &8

\\“l_ L - .;\4'50 L i -
\\\\\ = //////
g5 ) i q:
: el o[
'-’1' = = - :
J ' v |5

r
e
e

\\

-
Specification

sy
Insert

Shim

pibigé  [EiR EHRE

Center screw

Clamp

Clamp screw

E 3
rench

a8
Specification F

7
Insert

7 RbEe

Center screw

Shim

Eih  [EiRge

Clamp screw

Clamp

E3

rench

MSDNN 1616012 16 16 100 &8 SN..1204.. MS1204  Mx0617  MY0D619  MLO625 025,103 MSSNR/L 161612 16 16 100 20 SN..1204.. MS1204 MX0617 MY0619 MLO625 L025,L03
2020k12 20 20 125 10 SN.1204.. MS1204 MX0617 MY0619 MLO625 L025,L03 2020K12 20 20 125 25 SN.1204. MS1204 MX0617 MY0619 MLO625 L025,L03
2525M12 25 25 150 12.5 SN..1204.. MS1204 MX0&17 MYDE19 MLOE2S  LO25,L03 2R2EMA2 25 25 150 37 SN.1204.. MS1204 MX0617 MYOE19  MLO625 L025,L03
a232P12 32 32 170 16 SN.1204.. MS1204 MX0617 MY0619  MLO625 L025,L03 3232P12 32 32 170 40 SN.1204. MS1204 MX0617 MY0619 MLO625 L025,L03
2525015 25 25 150 12.5 SN..1506.. MS1504 MX0822 MY0823 MLO828 L03,L04 2525M15 25 25 150 32 SN.1506.. MS1504 MX0822 MY0823 MLO828  L03,L04
3232P15 32 32 170 16 SN..1506.. MS1504 MX0O822  MYOB23  MLOB28  L0O3,L04 323909 32 32 170 40 SN..1906.. MS1904 MX1022 MY0D823  MLOE?R LO4
323219 32 32 170 16 SN..1906.. MS1904 MX1022 MYD823  MLOB28 LO4 i& FA Suitable:f& % 71 & DEREK Insert

i F Suitable:fE % 71 5 DEREK Insert

< DEREK < DEREK




TURNIRG TOOLS

HHHw

S

e

o EER
Irtsarmid buming m{////
F

7
o
/
o
A
o

N Gl £ ER [E 48 & fF

Specification H F Insert Shim Centerscrew  Clamp  Clamp screw  Wrench
MTENN 2020K16 20 20 125 10 TN..1e04.. MT1e03 MX0513 MY0&19 MLOE25 Lo2,L03
2525M16 25 25 150 12.5 TN..1604.. MT1&03 MX0513 MY0&19 MLOGE25 Lo2,L03
3232P16 32 32 170 16 TN..1e04.. MT1e03 MX0513 MY0&19 MLOG25 L02,L03
2525M22 25 25 150 12.5 TN..2204.. MT2204 MX0D&17 MY0&19 MLOS28  LO25,L04
i2zr2 32 32 170 16 TN..2204.. MT2204 MX0&1l7 MY0819 MLO828 LO25,L04

i& A Suitable:{E5 715 DEREK Insert

MTJNR/L

Bs 7 Ak Gl £ ER JE 48 & F
Specification H F Insert Shim Centerscrew  Clamp  Clamp screw rench
MTJNR/L 1616H16 16 16 100 20 TN..1604.. MT1603 MX0513 MY0&19 MLOE25 Lo2,L03
2020K16 20 20 125 25 TN..1604.. MT1&03 MX0513 MY0&1Q MLO&E25 Lo2,L03
2525M16 25 25 150 32 TN..1604.. MT1e03 MX0513 MY0&19 MLOE25 Lo2,L03
3232P16 32 32 170 40 TN..1604.. MT1603 MX0513 MY0&12 MLOGE25 Lo2,L03
2525M22 25 25 150 32 TN..2204.. WMT2204  MX0617 MY0819 MLO828 LO25,L04
3232P22 32 32 170 40 TN..2204.. MT2204 MX0D&L17 MY0&19 MLOS28  LO25,L04

i& A Suitable:{E5 715 DEREK Insert

b4 DEREK

Type M

MTFENR/L

s 7l ﬁ R - 27 [Ef [E 48 & ¥
Specification H F Shim Centerscrew  Clamp  Clamp screw  Wrench
MTFNR/L 1616H16 16 16 100 20 TN..1e04.. MT1&03 MX0513 MYDE19 MLOEZ2S Lo2,L03
2020K16 20 20 125 25 TN..1604.. MT1&03 MX0513 MYD&19 MLOEZ2S Lo2,L03
2525M16 25 25 150 32 TN..1604.. MT1&03 MX0513 MY(0&19 MLOEZ2S LO2,L03
i FA Suitable:f&% 71 5 DEREK Insert
MTGNR/L
i i
L [ =8
v L
-r’glo
Il -
Y
o 1
-Eit

o T b 8 o
Specification H F Shim Center screw

MTGNR/L 1616H16 16 16 100 20 TN..1e04.. MT1e03  MX0513
2020K16 20 20 125 25 TN..1e04.. MT1e03  MXO0513
26526M16 25 25 150 32 TN..1e04.. MT1e03 MX0513

i F Suitable:fE % 71 )5 DEREK Insert

[EHf
Clamp
MYDE19
MYD&19
MYDE19

[E 48 & F
Clamp screw rench

MLO&25  LO2,L03

MLOB25  LO2Z2,L03

MLOB25  LO2,L03
»<4 DEREK

oM

TURNING TOOLS

A\

= El‘i‘-\
Edarml gl

PN

"
',
e,

=
Timxig il

W
%,
oy
Q.

= S

y
Y
*

“n, Isarsaiming ol

My

L=l T

Hy
X
,

*y

b

N

o

i

N,

N
o\

\-\.




Type M Type M

MTQNR/L MVQNR/L

Bs 7 i i i 4 ER [EH a8 & F
Specification H F Insert Shim Center screw  Clamp  Clamp screw rench

MTONR/L 2020K16 20 .1604.. MT1603 MX0513 MY0619 MLO625 L0O2,L03 8BS b 7 ubEEE EiR FiREL F
2595M16 25 150 1604.. MT1603 MX0513 MY0619 ML0O625 L02.L03 Specification H F Shim  Centerscrew  Clamp  Clamp screw  Wrench

3232P16 32 32 170 40 TM..1604.. MT1603 MX0513 MY0619 MLOG625  L02,L03 MVONR/L 2020K16 20 20 125 25 VWN..1604.. MV1e(O3 MX0513 MYDE21 MLO&25  LD2,L03
2525M22 25 25 150 32 TN..2204.. MT2204 MX0617 MY0819 MLO828 L025,L04 2525M16 25 25 150 32 VN.1e04.. MV1603  MX0513  MY0621 ~ MLO625  L02,L03
= 3232P22 32 32 170 40 TN..2204.. MT2204 MX0617 MY0819 MLO828 L025,L04 i& A Suitable:fE3 71 5 DEREK Insert .
s i& A Suitable:#&% 71 i DEREK Insert -1
gi 3!
MVINR/L
Y MVUNR/L v
a2 g
e
! :
\\ //z
#HE #E
7l i [ A=
ﬁ% w ® o Lt
- T ! ¥ i/f-
\\\\;\\\\ : 930 L | @ T //// /i//
i u - H
%E r s a ol g ala oy ] f o X L i %E
Az = )
e @ % & I r L -
gEN - -y - ' ' . S
L LF
£ x @k
g 1 g
- Vg pak:-d [T £ [E EtReRe  EF
eSig) Specification H F Insert Shim Centerscrew  Clamp  Clamp screw  Wrench -~
MVINR/L 1616416 16 16 100 20 VN..1604.. MV1603 MX0513 MY0826 MLO828 L02,L04 18 TR T qubgs  [EE EHEREZ  EF
2020K16 20 20 125 25 VN..1604.. MVI603 MX0513 MY0826 MLOS28  L02,L04 sl Insert Shim ~ Center screw  Clamp Clamp screw Wrench
252006 25 25 150 32 VWN..1e04.. MV1&03 MX0513 MY0D&26 MLOB2E Lo2,L04 MVUNR/L 2020K16 20 20 125 100 31 VN..1604.. MY1603 MX0513 MYD621 MLO&25 LOZ2,L03
3232P16 32 32 170 40 VN..1604.. MV1603 MX0513 MY0826 MLO828 L0204 2525M16 25 25 150 120 36 VN..1604.. MV1603 MX0513 MY0621 MLO625 LO2,L03
i& M Suitable: &5 71K DEREK Insert i& A Suitable:{E5 71 5 DEREK Insert

b4 DEREK >4 DEREK




Type M Type W

MVWNN WTJINR/L

Bs 7 i Gl - £44 ER FEHf 48 F
Specification Insert Shim Centerscrew  Clamp  Clamp screw rench

MVVNN 2020K16 20 20 125 10 VN..1eD4.. MV1e03  MXO0513 MYD826  MLOB28

Bs Nk i Re EiR [EREL CEIH *
Lo2,L04 Specification Insert Shlm Center screw  Clamp Clamp screw C Ring  Wrench

ﬁ:‘: §3 ;g igg 112;55 3:--%233-- :Eggg miggig m:gggg mtgggg tggtgi WTJNR/L 1616H16 16 16 100 20 TN..1604.. MT1603 WX0515 WYT16 WL0625 C6 L025,L04
il .1604.. : 202016 20 20 125 25 TN.1604.. MTI603 WX0515 WYTI6 WL0625 C6 L025,.04
iE A Suitable:#&5 71 v DEREK Insert 2525M16 25 25 150 32 TN..1604.. MT1603 WX0515 WYT16 WL0625 C6 L025,L04

23zpie 32 322 170 40 TN..1e04.. MT1e03 WXO0515 WYT1e WLOG25 Ce  LD25,L04
i& A Suitable:{&5 71 5 DEREK Insert

TURNING TOOLS

HHHH

TURNING TOOLS

=M

. 4
A

MWLNR/L

[T 'F
gﬁ WTQONR/L ¥
E T
- b} B )
\\\. // 2
i i
P, © i///_
\\\\\\ l l. //////
o w o “
i . 5E e
i 5
e 1059 2z )
\\\\\\ _:__.- L i //////
R ////_
2%\\' .* o o - . - o ' < Eg
£ e i N
¢ oeflefc[~F] l
%
by WD WP WY Y G D ' A/
\\ //
k B s EiE EiRge F g
Specification H F Insert Shim  Centerscrew Clamp  Clamp screw  Wrench . ﬂrﬁ?ﬁ IJJ b gﬁﬂ g:n?bﬂﬁ ciﬁﬁ dﬁﬁﬂﬁ %Eﬁlﬂi wﬁ$h
MWLNRA 1616H06 16 16 100 20 WN..0604.. MWO0603 MX0513 MY0619 MLO625 L02,L03 [ RN FInser im er screw  Clamp  Clamp screw  CRing  Wrenc
2020606 20 20 125 25 WN..0604.. MW0603 MX0513 MY0619 MLO625  L02,L03 WTONR/L 2020616 20 20 125 25 TN..1e04.. MT1603  WX0515 WYTle WLO&25 Ce LO25,L04
2525M06 25 25 150 32 WN..0604.. MWO603 MX0513  MYOR19  MLO625  LO2,L03 2525M16 25 25 150 32 TN..1604.. MT1603  WXO0515 WYT16 WLOG25 C6 LoO25,L04
1616H08 16 16 100 20 WN..0804.. MWOS04  MX0617 MY0B19  MLOB25  L025,L03 i A Suitable:#&% 7715 DEREK Insert

2020K08 20 20 125 25 WN..0804.. MWOB04  MX0617 MYO&E19 MLOB25 L025,L03

2525M08 25 25 150 32 WN..0B04.. MWO0OS04  MX0&17 MYO&19 MLOGZ2S  L0O25,L03

J23z2P00 32 32 170 40 WN..0804.. MWOB04  MX0617 MYO&19 MLO&25 L0O25,L03

4040R08 40 40 200 50 WN..0804.. MWOBS04  MX0&17 MYO&19 MLOGZ2S  L0O25,L03
i& A Suitable: &5 71 DEREK Insert

b4 DEREK b4 DEREK




Nk N ul e [Eif  [EHEEL CEEH T
F Insert Shim Center screw Clamp Clamp screw  CRing  Wrench

WTENN 202016 20 20 125 10 TN..1604.. MT1e03  WXO0515 WYTle WLO625 Ce LO25,L04
2625M16 25 25 150 12.5 TN..1e604.. MT1603  WXO515 WYTle WLOB25 Cé LO25,.L04

i F Suitable:f&% 71 5 DEREK Insert

WWLNR/L

ke
A

oA
el buming kol

=
sy
A

i
A
Py
//

HiE
Threaing tool

)
A
i
A
i
pal

Croowing ool

e
I
el Tk

o

71 g Ei FEiREE CEIH T

Bs Nk i /
Specification H F Insert Shim Center screw Clamp Clamp screw  CRing  Wrench

WWLNR/L 2020608 20 20 125 25 WN..0804.. MWOBD4 WXO0E1E8 WYWO02 WL0OE25 C&8 L03,L04
2525008 25 25 150 32 WN..O204.. MWOBD4 WX0E1E8 WYWO02 WL0OE825 c& LOo3,L04
I2zeP0 32 32 170 40 WN..O204.. MWOBD4 WXO0E1E8 WYW0O2 WL0OE25 c& LO03,L04
i F Suitable:{&% 71 5 DEREK Insert

»4 DEREK

TypeS

SCACR/L

a8
Specification
SCAGR/L 1010E06 10 10 70 10 CC..0602.. Mm2.5*7 Qo8
121206 12 12 &0 12 CC..0602.. Mma2.5*7 Qo8
1H2F09 12 12 &80 12 CC..09T3.. M3.5*9 Q15

i FA Suitable:{&% 71 5 DEREK Insert

bl
el buming boal

SCBCR/L

N
>, Ex

*y
s

o S
+, Irtamd huming kol

\
M

W
W
\Q

y

=t
Thrasding loal

RN
,
L
o

"
S,

T W

g hoal

*y
Y
Y
*y
M

y

a8

Specification

SCBCR/L 1212H09 12 12 100 10 CC..00T3.. M3.5*9 Q15
1616H09 16 1e 100 13 CC..09T3.. M3.5*2 Q15
2020K09 20 20 125 17 CC..00T3.. M3.5*9 Q15
2525M09 25 256 150 22 CC..00T3.. M3.5*Q Q15
2020K12 20 20 12% 17 CC..1204.. M5*12 Q20
2525M12 25 26 150 22 CC..1204.. M5*12 Q20

i F Suitable:f&% 71 5 DEREK Insert

b4 DEREK




TypeS

SCFCR/L

s
Specification

SCFCR/L 1212F09 12 12 80 16 CC..09T3.. M3.5"8 Q15
1616H09 l& 16 100 20 CC..08T3.. M3.5"9 Q15
2020K09 20 20 125 25 CC..09T3.. M3.5"8 Q15
2525M09 25 25 150 32 CC..09T3.. M3.5"8 Q15
2525M12 25 25 150 32 CC..1204.. M5*12 020

i& A Suitable:fE3 71 DEREK Insert

y

Type S

SCLCRA

38
Specification

SCLCR/L 1212F09 12 12 20
1616H09 16 16 100
2020K09 20 20 125
2525109 25 25 150
1616H12 16 16 100
2020K12 20 20 125
2525M12 25 25 150
3232P12 32 32 170

i Fl Suitable:fE % 71 )5 DEREK Insert

SCMCN

M3.5"9
M3.5"9
M3.5"9
M3.5"9
M5*12
M5*12
M5*12
M5*12

Q15
N
Q15
Q15
020
Q20
020
020

E
8 | SCKCR/L
e
gE E]R
| n
AE -
Rae
\\\\\\ i
_ ﬁg y #79 =
‘=it-iit d P15
e T T V
1 - D D : [
1
\\\
Bs Nk - $-3 F
Specification H B L F Insert Screw rench
SCKCR/L 2020K09 20 20 125 25 CC..09T3.. M3.5*9 Q15
2525M09 25 25 150 32 CC..00T73.. M3.5*9 015
2020K12 20 20 125 25 CC..1204.. M5*12 Q20
2525M12 25 25 150 32 CC..1204.. M5*12 Q20

i F Suitable:{&% 71 5 DEREK Insert

>4 DEREK

TURNING TOOLS

HHHH

\ :mz#\
W E starnl i boal
)

o #HEHE
I fumirg lool

y

RN \\
R\
W

=t
Thrasding loal

-

Specification F

SCMCN 101 0E06 10 10 70 5 CC..0602.. M2.5*7 Qo8&
1212F06 12 12 80 6 CC..0602.. Mma2.5*7 Qo0&
121209 12 12 80 6 CC..09T3.. M3.5*9 Q15
1616H09 16 16 100 a8 CC..09T73.. M3.5*9 Qls
2020K09 20 20 125 10 CC..09T3.. M3.5*9 Q15
25 25 150 12.5 CC..00T73.. M3.5*9 Q15

i F Suitable:fE % 71 )5 DEREK Insert

p< DEREK




TypeS Type S

SCMCN-40 SDFCR/L

i i
w = oo
‘g1° T
o
JW A
= =
L T
BE we
S Nk - $23 #HF
Specification F Specification H B L F Insert Screw Wrench
SCMCN }g}gg'_:g }g }g ;g g gg"gggg" :gg,; ggg SDFCRIL 1212F07 12 12 80 16 DC..0702.. M2.5*7 008
112062 B popole e oL 1616H11 16 16 100 20 BERTIT M3.5°0 015
1616H00-40 16 16 100 8 CC..00T3.. M3.5%0 015 ir Ly L e SeLLE B s
2020k09-40 20 20 125 10 CC..00T3.. M3.5%0 015 i& Suitable: &3z 71 i DEREK Insert
2525M09-40 25 25 150 12.5  CC..00T3.. M3.5%0 015

i& A Suitable: &% 71 /5 DEREK Insert

SDJCR/L

ool

Edbamal huming b

SDACR/L

My

BE
i i g E
e = EE
7
L B
¥ =4
S
L -l .
i i "4z
L o 10° %g
v ' L od ] 7
N, T T <
\\\\\\ - L . ' ///

-
o
oy

2 .
o

=l

e
SRR R
Canowing ool -~
H
- -—
-
a i
.\.
H
- -
T L
g ol
L

-
Specification

N2
*,

h s 7] SDJCRIL 1212F07 12 12 80 16 DC..0702.. M2.5%7 008 /
Specification 1616H07 16 16 100 20 IR M2.5*7 Q08
SDACR/L 1010E07 10 10 70 10 DC..0702.. M2.5*7 Q08 1212F11 12 12 80 16 DC..11T3.. M3.5*9 Q15
1212F07 12 12 80 12 DC..0702.. M2.5*7 Q08 1616H11 16 16 100 20 DC..11T3.. M3.5%0 Q15
1212F11 12 12 80 12 DC..11T3.. M3.5*0 Q15 2020K11 20 20 125 25 DC..11T3.. M3.5*9 Q15
1616H11 16 16 100 16 [ e T = M3.5*0 Q15 2525M11 25 25 150 32 DC..11T3.. M3.5%0 Q15
2020K11 20 20 125 20 DC..11T3.. M3.5*0 Q15 3232P11 32 32 170 40 DC..11T3.. M3.5*9 Q15
2525011 25 25 150 25 DC..11T3.. M3.5*0 015 i& A Suitable:#&% 71 5 DEREK Insert

i&i A Suitable: &% 71/ DEREK Insert

53 DEREK F3I DEREK




TypeS Type S

SDNCN SRACR/L

T ~%27.5° 5
A <® m?
. ~.127.5° L |
o
il i ..
- \l:ﬁ:(\ - Specification
' ' SRACR/L 1212F06 12 12 80 12 12.4 RC..0602.. M2.5*7 Q08
1616H06 U 2R L I A RC..0602.. M2.5*7 Qo8
2020K06 20 20 125 12 20.4 RC..0602.. M2.5*7 Qo8
Spesthoation . b b wiE 25 25 150 12 25.4  RC..0602.. M2.5°7 Qo8
1616H08 16 16 100 16 16.5 RC..0803.. M3*7 Q08
SDNCN 0308DO7 8 8 60 4 DC..0702.. Mm2.5*7 Qo8& I020K0S 20 20 125 16 20.5 RC..O803.. M3*7 QU8
1010E07 10 10 70 5 DC..0702.. M2.5*7 Q08 25 25 150 16 255  RC..0803.. M3*7 Q08
1212F07 12 12 80 6 DC..0702.. M2.5*7 Q08 2020K10 20 20 125 20.3 20.4 RC..1003.. M3.5*G Q15
::}:?111 {E ig 1%“{] g ggﬂg mggg gig 2525010 25 25 150 20.3 25.4 RC..1003.. M3.5*9 Q15
=1 2020K11 20 20 125 10 DC..11T3.. M3.5°9 Q15 N A ) e A SO I R 58
Eg 2525M11 25 25 150 12.5 DC..1173.. M3.5%9 Q15 ]
“E i& A Suitable: #8832 71y DEREK Insert ;.!
[ #
A A
3 ,FE'
7B SDQCR/L SRDCN xg/
~ 7
BE i ME
.'E .' .li_
N L . A
#:\\* i i ”//;E
8 " —_— . || &
N 10;.5 o ' = .ﬁE
1 L 175 ] .. T A
— BE a5
%g . ':u: : . Specification gg
. 1 o SRDCN 2020K06 20 20 125 12 10 RC..0602.. M2.5*7 Qo8 ”
J ] . | : 2525M06 25 25 150 12 12.5 RC..0602.. M2.5*7 Qo8
: ' 1616H08 16 16 100 16 B8 RC..0803.. M3*7 Qo8
‘ 2020K08 20 20 125 16 10 RC..0803.. M3*7 Qo8
2525MD8 25 25 150 16 12.5 RC..0803.. M3*7 Q08
spec%i?aﬁun 7] sfregw 1616H10 16 16 100 20.3 8 RC..1003.. M3.5%G 015
2020K10 20 20 125 20.3 10 RC..1003.. M3.5*0 Q15
SDOCR/L 1212F07 12 12 80 16 DC..0702.. M2.5*7 Q08 2525M10 25 25 150 20.3 12.5 RC..1003.. M3.5*Q Q15
1212F11 12 12 80 16 DC..11T3.. M3.5"0 Q15 i& [ Suitable: &= 71 & DEREK Insert
1616H11 16 16 100 20 DC..11T3.. M3.5*9 Q15
2020K11 20 20 125 25 DC..11T3.. M3.5* 0 Q15
2525M11 25 25 150 32 DC..11T3.. M3.5* 9 Q15

i& A Suitable: &5 71 5 DEREK Insert

b4 DEREK b4 DEREK




TypeS Type S

STECR/L STGCR/L

e
Specification e
STECR/L 2020K11 20 20 125 145 TC..1102.. M2.5*7 Qo8 Specification
2525M11 25 25 150 19.5 TC..1102.. M2.5*7 Qo8 STGCR/L 1010F09 10 10 80 12 TC..0002.. M2.2*7 Q06
2020K16 20 20 125 12 TC..16T3.. M3.5*9 Q15 1616H11 16 16 100 20 EETaE M2.5%7
2525M16 26 25 150 17 TC..16T3.. M3.5*9 QL5 2020K16 20 20 125 25 TC..16T3.. M3.5*9 Q15
i& A Suitable: & 71 5 DEREK Insert 2525016 25 25 150 32 T M3.5*9

TURNING TOOLS

=M

i F Suitable:{&% 71 5 DEREK Insert

oM

TURNING TOOLS

a\g STFCR/L ST a/

i

My
S
y
y
S
iy

: T
ﬁE %5
3 g
o, E = i//z'
\\\\\\ i i L [l //////
) & ///
C bl e = el e
iy 9 ;.- L] | &0° T =
%E L L B0 LY
r =

=, = -

A

///
i
1
o

3

™ r - " =
i 0 - it o e
ZE i 1 i R == W }0“ “gE
£ & ~ P (8
i ¥F 2'r : &F P T 1 (4
W
E - .0 1 ' — 5 v
\\ ///
h B we /
Specification Specification
AICGL S ISERE T L e i STWCR/L 1212F11 12 12 80 153  TC.1102. M2.5*7 Qo8
1616H11 16 16 100 20 TC..1102.. M2.5*7 Qo8 5 - o e
1616H16 16 16 100 20 TC..16T3 M3.5*9 Q15 2020K11 ig fg iglﬁ} 223i3 -{Eiégg :gg ; g?g
e & e 1616H16 i o .5*
2020K16 20 20 125 25 TC..16T3.. M3.5%9 Q15 JO20K16 20 20 125 26 TC..16T3.. M3.5*9 Q15
2525M16 25 25 150 32 TC..16T3.. M3.5*9 Q15

2525M16 25 25 150 31 TC..16T3.. M3.5"9 Q15

DA N e O N R & Suitable: @3 71 /¢ DEREK Insert

b4 DEREK >4 DEREK




TypeS Type S

SSBCR/L SSKCR/L

Speaﬁzﬁnn

e
Specification

SSBCR/L 1212F09 12 12 80 95  SC.00T3.. M3.5°9 015
T L AT oy oLs 1616H09 16 16 100 20 SC..00T3.. M3.5°9 015
el 202008 20 20 125 25 SC..09T3.. M3.5°9 Q15
i& A Suitable: #8352 71 /i DEREK Insert 2525M12 25 25 150 32 SC..1204.. M5*12 020 %3
i Al Suitable: &3 71 ¥ DEREK Insert g;
1
SSSCR/L /
SSDCN F
e
i

y

\\
"o E
My

HE
e
&E
F-]
i )
P
i i /,//f/
e m El
1 v %g
R = : e A
a}“*’mr y (8
m.E B = ‘ k= Eg
? ' v
S T rl -~
\\ //
\\\x ///
s
SSDCN 1212F09 12 12 80 6 SC..00T3.. M3.5°0 015 Specification
1616H09 16 16 100 &8 SC..00T3.. M3.5*0 Q15 SSSCR/L 1616H09 16 16 100 20 $C..00T3.. M3.5*9 015
2020K09 20 20 125 10 SC..00T3.. M3.5*9 Q15 2020K09 20 20 125 25 $C..00T3.. M3.5*0 015
2525M09 25 25 150 125 $C..00T3.. M3.5*0 Q15 2525M09 25 25 150 32 SC..00T3.. M3.5*9 Q15
1616H12 16 16 100 & 5C..1204.. M5*12 Q20 2525M12 25 25 150 32 5C..1204.. M5*12 020
2020K12 20 20 125 10 SC..1204.. M5*12 Q20 i& A Suitable:#& %= 71 & DEREK Insert
2525M12 25 25 150 125 5C..1204.. M5*12 020

i F Suitable:fE % 71 5 DEREK Insert

b4 DEREK b4 DEREK




Type S TypeS

SVJ*R/L SVU*R/L

L
| RN Gl

a8

Specification

SVJBR/L 1212F11 a0 - ui =
1616H11 16 16 100 20 VB..1103.. M2.5*7 Q08 Specification
2020K11 N kT L L2 Q08 SVUBR/L 1616H11 16 16 100 20 VB..1103.. M2.5*7 Q08
2525M11 25 25 150 32 VB..1103.. M2.5*7 Q08 Tl R T B 015
1616H16 16 16 100 20 VB..1604.. M3.5%9 015 ennia: 25 5% 15D 3 TN EN 015
2020K16 20 20 125 25 VB..1604.. M3.5*9 Q15 e R R Wit N
crdl e e Kl di SVUCR/L 2020k16 20 20 125 30 VC..1604.. M3.5°9 3t
1212F11 12 12 80 16 VC..1103.. M2.5%7 Q08 &7 Suitable:@% 7 & DEREK Insert L '
SVJCR/L 1616H11 16 16 100 20 VC..1103.. M2.5*7 Q08 :
=8 2020K11 20 20 125 25 VC..1103.. M2.5*7 Q08
Nt 2525M11 25 25 150 32 VC..1103.. M2.5*7 Q08
;; 1616H16 16 16 100 20 VC..1604.. M3.5%9 Q15
< 2020K16 20 20 125 25 VC..1604.. M3.5*9 015 SVV*N
2525M16 25 25 150 32 VC..1604.. M3.5*9 Q15
PN 3232P16 32 32 170 40 VC..1604.. M3.5*9 015 y
\\ H 0 -
43 i& A Suitable: &%= 71 ¥ DEREK Insert . (4
5 - | %
= &
O v 8.
| SVQ*RAL ///
HE\\\' - f;:g
&£ i i i
g =
z w i g
\\\\\: L] T //////.
Y 17.5° 7
. ) - L - 1
55 . Vi
\\.I i L | & ﬂi’ J.:///"
S =5 ? - } ! r - Specification v
2 ) - ' ' SVVBN 1212F11 12 12 80 6 VB..1103.. M2.5%7 Q08 793
fé 1616H11 16 16 100 8 VB..1103.. M2.5*7 Q08 &§
' e B e = 2020K11 20 20 125 10 VB..1103.. M2.5*7 Q08 .
7 Specification H B L F Insert Screw rench 2525M11 25 25 150 12.5 VB..1103.. M2.5*7 Q08 “//'
™ * -
N SVOBRL 1616H11 16 16 100 20  VB..1103.. M2.57 Qo8 Ll T L MR e e ’
1616H16 16 16 100 20 VB..1604.. M3.5%9 Q15 il ;g gg igg 112(';5 32"{231" mg-g,g Q}g
2020K16 20 20 125 25 VB..1604.. M3.5*9 Q15 Bl i Q
RETER o 2020K11 20 20 125 10 VC..1103.. M2.5*7 Q08
SVOCR/L 1616H11 16 16 100 20 VC..1103.. M2.5*7 Q08
st e e S 008 2525M11 25 25 150 12.5  VC..1103.. M2.5*7 Q08
" 2020K16 20 20 125 10 VC..1604.. M3.59 015
2020K16 20 20 125 25 VC..1604.. M3.5*9 Q15 2
. 2525N16 25 25 150 12.5  VC..1604.. M3.59 015
2525M16 25 25 150 32 VC..1604.. M3.5*9 Q15 e L M FeE =
3232P16 32 32 170 40 VC..1604.. M3.5*9 Q15 T SR Ll : Q
& M Suitable:{@ 3% 71 ¥ DEREK Insert JE M Suitable: @5 7 F nser

b4 DEREK >4 DEREK




Type M Type M

MCKNR/L MCLNR/L

H

- -

N AN Y )
. o J

5
L1

71 g ER OEEEEL T dHkA

Nk 71 hpiRg  EiR EREEZE T HkA

Specification Hind?a d a Insert Shim  Centerscrew  Clamp Clampscrew  Wrench Water hole Specification :inﬁiia d Shim Centerscrew Clamp  Clamp screw  Wrench Water hola
S200-MCKNRA12 26 20 14 180 34 18 15° CM..1204.. - MXO613 MYDS5154 MLOS20 LO25 g 5200-MCLNR/L12 25 20 13 180 34 18 15° CN..1204.. - MXDG613 MYD515-A MLOS20 LOZ25 -
S25R-MCKNRAL12 32 25 16.5 200 43 23 12° CN..1204.. - Mxo613  MYD&19 MLoe20 LO25,L03 - S25R-MCLNR/L12 32 25 165 200 43 23 12° CN.1204.. - M¥X0613 MYOE19 MLOG2O LO25,L03 -
S325-MCKNR/L12 40 32 225 250 54 30 17° CM..1204.. MCl204 MX0617 MYOG19 MYOe25 LO25,L03 - 5325-MCLNR/L12 40 32 225250 54 30 17° CN..1204.. MCl204 MXOGLl7 MYOG19 MLOG25 LO25,L03 -
S40T-MCKNR/L12 50 40 26 300 &8 37 15" CM..1204.. MC1204 MXOE17 MYODE19 MY0E25 L025,L03 - S40T-MCLNR/L12 B0 40 26 300 68 37 15° CN..1204.. MC1204 MX0617 MYOGl9 MLOG2E LO25,L03 -
S50U-MCKNR/L12Z 60 50 33 350 B5 47 12° CN..1204.. MC1204 MX0617 MY0D619 Myoe2s LO25,L03 - S50U-MCLNR/L12 60 50 31 350 85 47 12° CN..1204.. MC1204 MX0617 MYO619 MLO625 LOZ25,L03 -
SGOV-MCKNR/L12 70 60 36 400 102 56 10° CN..1204.. MCl204 MX0617 MYD619 Myog2s LO25,L03 - S60V-MCLNR/L12 70 A0 36 400 102 56 10° CN..1204.. MC1204 MXOG6L7  MYODG19 MLOGR2E LO25,L03 -
H200-MCKNR/L12 26 20 14 180 34 18 15° CN..1204.. . MX0613 MYDS15A MLOS20 LO25 - S50U-MCLNR/L19 60 50 31 350 85 47 12° CN..1906.. MC1904 MX1022 MY0B23 MLOBZE LO4 -
b H25R-MCKNR/L1Z 32 25 16.5 200 43 23 12° CN..1204.. - MX0613 MY0OBL9 MLOB2D LO25,L03 - H200-MCLNR/L12 25 20 13 180 34 18 15° CM..1204.. - MX0613 MYOS515-A MLOSZ20 LOZ25 -
EE A200-MCKNR/L12 26 20 14 180 34 18 15° CN..1204.. - MX0613 MYDS15A MLOS20 LO25 i H25R-MCLNR/L12 32 25 16.5 200 43 23 12° CN..1204.. - M¥X0613 MYOE19 MLOG20 LO25,L03 -
;._JE A25R-MCKNR/L1Z 32 25 16.5 200 43 23 12° CN..1204.. - MX0613 MY0Oslo MLOg20 LO25,L03 o H325-MCLNR/L12 40 32 225250 54 30 17° CN..1204.. MCl204 MX0617 MYD619 MLOG25 LO25,L03 -
| E A32S-MCKNRML12 40 32 22,5 250 54 30 17° CN..1204.. MCl204 WMX0617 MYOels Myoezs LO25,L03 A200-MCLNR/L12 25 20 13 180 34 18 15 CN..1204.. - MX0613 MYOS515-A MLOSZ20 LO25 i
‘\\\\\\"' AAOT-MCKNR/L12 50 40 26 300 68 37 15° CN..1204.. MC1204 MX0617 MYOR19 MYOR25 LO25,L03 A25R-MCLNR/L12 32 25 165 200 43 23 12° CM..1204.. - M¥X0613 MYODE19 MLOE20 LO25,L03
Y ASOU-MCKNR/AL1S 60 50 32.5 350 85 47 12° CM..1906.. MCIS04 MX1022  MYOR23 MLOS?8 Lo4 i A325-MCLNR/AL12 40 32 225250 54 30 17° CN..1204.. MC1204 MX0617 MYO619 MLOG25 LO25,L03
ﬁ% i H Suitable:ﬁﬁ}ﬂlﬁ' DEREK Insert A40T-MCLNR/L12 50 40 26 300 &8 37 15%° CN..1204.. MC1204 MXO617 MYO619 MLOG25 LO25,L03
pt ASOU-MCGLNR/L12 60 50 31 350 85 47 12° CN..1204.. MC1l204 MX0&617 MYOG19 MLOG25 LO25,L03
:\\E ASOU-MCLNR/L19 a0 50 31 350 85 47 12° CN..1906.. MCl904 MX1022 MYO0B23 MLOBZE LO4 i
N i& A Suitable:fE% 715 DEREK Insert
SE WE
s 5
: TE TE _
e 2
4 BE
: "
\\II T /z-

b4 DEREK b4 DEREK




Type M Type M

MDQNR/L MDWNR/L

A s N duige EiE O EHESEEZ EF HkE
Specification Mindia d Shim  cCenterscrew Clamp Clamp screw  Wrench Water hole
S25R-MDONR/L1S 32 25 17 200 43 23 12° DN..1504.. - MX0613  MY0S21 MLDe25 L025,L03 -
$325-MDONR/LI5S 42 32 22.5 250 54 30 17° DN.1504. MD1504 WMX0617 Myos2l Moe25 L025,L03 - a 4] mIE Nk N g FiR OERBZ O WF HkA
S40T-MDONR/L15 50 40 26 300 68 37 15° DN..1504.. MD1504 MX0617 MY0621 MLO625 L025,L03 - il Mnga d F Insert Shim  Centerscrew Clamp Clampscrew  Wrench — Water hole
S50U-MDONR/LIS 63 50 33 350 85 47 12° DN.1504. MD1504 M¥0617  MYos2l MLOE25 L025,L03 - S25R-MDWNR/LIS 28 25 24.5 200 23 12° DN..1504.. - MX0613 MY0621 MLO620 LO25,L03 -
H25R-MDONR/LIS 32 25 17 200 43 23 12° DN..1504.. : MX0613  MY0E21 MLDe25 L025,L03 - $325-MDWNR/L15 45 32 28.0 250 30 15° DN..1506.. MD1504 MX0619 MY0D621 MLO625 L0O25,L03 -
H32S-MDONR/L1S 42 32 22,5250 54 30 17° DN..1504. MD1504 M¥0617  MY0&2l MLOE25 L0O25,L03 - SAOT-MDWNRAL1S 53 40 32.0 300 37 13° DN..1506.. MD1504 MX0619 MYD621 MLO625 L0O25,L03 -
A25R-MDONR/LI5 32 25 17 200 43 23 12° DN..1504.. - MX0613  MY0D621 MLO625 L025,L03 A25R-MDWNR/LIS 38 25 24.5 200 23 12° DN.1504.. - MX0613 MYOS21 MLO620 LO25,L03
A32S-MDONR/L1S 42 32 22,5250 54 30 17° DN.1504. MD1504 M¥0617  MY0&2l MLOE25 L0O25,L03 A325-MDWNR/LIS 45 32 28.0 250 30 15° DN..1506.. MD1504 MX0619 MYD621 MLO625 L0O25,L03
AOT-MDONRALY5S 50 40 26 300 68 37 15° DN..1504. MD1504 MX0617 MY0621 MLO625 LO25,L03 i% /A Suitable: % 71 - DEREK Insert

i& A Suitable: &% 71 /i DEREK Insert

- MDUNR/L MSKNR/L /E/]E
Hg ms
EE EE
-"E Tg
. o E//{,
\\\\\ ; ////
i + (B
‘FE JT-E
T L] e
£ ]
\ %
\X\\_ ,},///
4 %2
i, ////"
\\\\\\ //////
g2 g
. = ﬁhg NE T s EiR O EREL BT kA Specification Mindia d Insert Shim  Centerscrew Clamp Clamp screw  Wrench Water hole »
J Specification  Mindia d Insert Shim  centerscrew Clamp  Clamp screw  Wrench Water hole S200-MSKNRAL12 25 20 13 180 34 18 15° SN..1204.. - MX0611 MY0515-A MLO516  LO25 - A/
" S25R-MDUNR/L15 32 25 16 200 43 23 12° DN..1504.. - MX0613 MY0621 MLO620 L025,L03 - S25R-MSKNR/L1Z 32 25 17 200 43 23 12° SN.1204. - MX0613 MY0D619 MLO620 L0O25,L03 - et
$32S-MDUNR/L15 40 32 21 250 54 30 17° DN..1504.. MD1504 MX0617 MY0621 MLO625 LO25,L03 - S325-MSKNR/L12 40 32 22 250 54 30 17° SN..1204.. MS1204 MX0617 MY0619 MLO625 LO25,L03 -
S40T-MDUNRAL1S 50 40 26 300 68 37 15° DN..1504.. MD1504 MX0617 MYD621 MLO625 L025,L03 - S40T-MSKNR/L12 50 40 27 300 68 37 15° SN.1204. MS1204 MX0617 MY0D619 MLO625 LO25,L03 -
S50U-MDUNR/L1S 60 50 32 350 85 47 12° DN..1504.. MD1504 MX0617 MY0621 MLO625 L025,L03 - H200-MSKNR/L12 25 20 13 180 34 18 15° SN.1204. - MX0611 MY0515-A MLO516  L025 .
H25R-MDUNR/L15 32 25 16 200 43 23 12° DN..1504.. - MX0613 MY0621 MLO620 L025,L03 - H25R-MSKNR/L12 32 25 17 200 43 23 12° SN.1204. - MX0613 MY0DG19 MLO620 LO25,L03 -
H32S-MDUNR/L15 40 32 21 250 54 30 17° DN..1504.. MD1504 MXO0617 MYO621 MLO625 L025,L03 - A200-MSKNR/L12 25 20 13 180 34 18 15° SN.1204. - MX0611 MY0515-A MLOS16  L0O25 v
AZ5R-MDUNR/L15 32 25 16 200 43 23 12° DN..1504.. - MX0613 MY0O621 MLO620 LO25,L03 AZ5R-MSKNR/L12Z 32 25 17 200 43 23 12° SN.1204. . MX0613 MYD619 MLO620 LOZ25,L03
A32S-MDUNR/L15S 40 32 21 250 54 30 17° DN..1504.. MD1504 MX0617 MY0621 MLO625 L0O25,L03 A32S-MSKNR/L12 40 32 22 250 54 30 17° SN..1204.. MS1204 MX0617 MY0619 MLO625 LO25,L03
i& F Suitable: &= 71 K DEREK Insert i& A Suitable:f&== 71 i DEREK Insert

b4 DEREK b4 DEREK




Type M

MTENR/L

Type M

MTUNR/L

-llHll-
T F I ] 4
ot 1l RN | 4
= "o- L -l
Specification Mindia d a Insert Shim  Centerscrew Clamp Clampscrew  Wrench Water hola
S200-MTFNRAL16 25 20 13 180 34 18 15° TN..1604.. - MX0510 MYO515-A MLO520 LOZ2,L025 - |
SIZSR-MTFNRAL16 22 25 16.5 200 43 23 12° TN..1604. - MOS10  MYDEl9 MLOG20 LO2,L03 -
SI2S-MTFNR/L16 41 32 22,5250 54 30 17° TN.1604. MTI603 MKO513  MY0619 MLO625 LO2,L03 - = b ) T chaiBs  EE OEREZ  EF kI
SAOT-MTENR/L16 50 40 26.5 300 68 37 15° TN.1604.. MTIE03 MMO513  MY0619 MLOE25 LO2,L03 - Specification Insert Shim  centerscrew Clamp  Clamp serew  Wrench Water hole
M‘HTFHH.‘L‘IE ﬁﬂ 50 31 353 35 4? 12° TN..].EEM.. MTlﬁﬂ3 Mx0513 MYUEIQ MLUEEE LI}E.L{B - m_m"muﬁ 25 EU 12‘5 lsu 34 la ].5° TN..].EEM.. _ MKUE].H MYCIEIEA MLUEEU Lﬂerﬂgﬁ -
S40T-MTFNRSLZ2 50 40 26 300 68 37 15° TN..2204.. MT2204 MEOG1Y MY0219 MLO228 LO25,L04 - S35R-MTUNR/L1G 32 25 16 200 43 23 12° TN..1604.. . M¥OS10  MYD&1l9 MLOg20 LOZ2,L03 -
H200-MTFNR/L16 25 20 13 180 34 18 15° TN..1604.. i MX0510 MY0515-A4 MLO520 LO2,L025 - S32S-MTUNRLL16 41 32 22.5 250 54 30 17° TN.1604.. MT1603 MX0513 MY0619 MLO625 LO2,L03 -
H25R-MTFNR/L1GE 32 25 16.5 200 43 23 12° TN.1604. . MXO510  MYDGL1S MLO620 LOZ,LO3 - SA0T-MTUNR/LI6E 50 40 26.5 300 68 37 15° TN..1604.. MTI603 MX0512 MY0el® MLO625 LO2,L03 -
H32S-MTFNRAL16 41 32 225250 54 30 17° TN.1604.. MT1603 MKD513 MY0619 MLO625 LO2,L03 - SS0U-MTUNR/LI6 60 50 31 350 85 47 12° TN.1604. MT1603 MX0513 MY0618 ML0625 LO2,L03 -
A20Q-MTFNR/L16 25 20 13 180 34 18 15° TN.1604.. - MX0510 MY0515-A MLOS16 LO2,L025 SIOT-MTUNR/L22 50 40 26.5 300 68 37 15° TN.2204.. MT2204 MX0617 MY0819 MLOS28 LO25,L04 -
ﬂﬁH-MTFNHFHE 32 25 15.5 EUU 43 23 ].EO TN..lﬁﬂ#.. - W{UEIU MYUElQ MLUEEU Lﬂ'E.Lﬂ3 d m_“mmm 6[: 50 31 35[’ 85 4? 129 TN..EEH#.. MTEEUA- MKUE].? M\rrualg MLUSEB LUEE,Lﬂ‘i _
A3ZS-MTFNRA16 41 32 225 250 54 30 17° TW..1604.. MT1603 MM0513 MY061S MLOG25 LO2,103 H200-MTUNR/L16 25 20 125 180 34 18 15° TN.1604. N MX0510 MYOS15A MLOS20 LOZ2,L025 -
iE A Suitable:i&%= 71 5 DEREK Insert H25R-MTUNR/L16 32 25 16 200 43 23 12° TN.1604.. - MX0510 MY0619 MLO620 LO2,L03 -
H32S-MTUNR/L16 41 32 225 250 54 30 17° TM.1604.. MTL1603 MX0O513  MyYDsl9 MLOE25 LOZ2,L03 -

2 A200-MTUNR/L16 25 20 12.5180 34 18 15° TN..1604. - MX0510 MYO5154 MLO520 LO2,L025
a2y MTONR/L A25R-MTUNR/LI6E 232 25 16 200 43 23 12° TN..1604.. - MX0510 Myoele mMLo620 LOZ2,LO3 w5
g A32S-MTUNR/L16 41 32 22,5250 54 30 17° TMN.1604. MTL603 MX0512 MY0619 MLO625 LO2,L03 uE
g ifi F Suitable:{&% 71 5 DEREK Insert g

R i

| .
52 H MTWNR/L 3
i i 5
B © i
\\\\\ '\x 40
N l ! Z
HE i H
o L1 =
3 - L -4
e - ha

\\\\\\ ) | | ///X z// P

:.‘.3\\\‘ ! | g
g ! s
?i._'g 33
H nE A NE N e ER EEBZ EF ki :
J Specification Mindia d Insert Shim Centerscrew Clamp Clamp screw  Wrench Water hola o

. S200-MTONRAL16 25 20 12,5180 34 18 15° TN..1604.. - MX0D510 MY0S515-A MLO520 LO2,L025 - 4

S25R-MTONR/L16 32 25 16 200 432 23 12° TN..1604. - MX0510 MY06l9 MLO620 LO2,L03 -

S32S-MTONR/L16 41 32 22,5250 54 30 17° TN..1604.. MT1603 MX0513 MY0619 MLO625 LO2,L03 - Nk N dpigsE EiE EESZ2 EF kA
S40T-MTONR/L16 50 40 26.5 300 68 37 15° TN..1604. MTL1603 MX0513 MY0618 WMLOs25 LO2,L03 - a Insert  Shim Centerscrew Clamp Clamp scraw Wrench Water hole
S50U-MTONR/L16 60 50 31 350 85 47 12° TN..1604.. MTL603 MX0513 MYDs19 MLOs25 LO2,L03 - 5200-MTWNR/L16 MX0510 MY0619 MLOG20 LOZ,L03
H200-MTONR/L16 25 20 12.5 180 34 18 15° TM..1604.. - MX0510 MYOS15-A MLOS20 LO2,L025 - S25R-MTWNR/L16 32 25 16.5 200 43 23 12° TN..1604.. 3 MX0510 MY0O619 MLOG20 LOZ,L03 -
H25R-MTONR/L16 32 25 16 200 43 23 12° TN..1604.. i MX0510 MYD619 MLO620 LOZ2,L03 - 532S-MTWNRA16 39 32 20 250 54 30 17° TN..1604.. MT1603 MX0513 MY0619 MLO625 LO2,L03 -
H32S-MTONR/AL16 41 32 225250 54 30 17° TMN..1604.. MT1603 MX0513 MY0619 MLO&25 LO2,L03 - SA0T-MTWNR/L16 50 40 24 300 68 37 15° TN..1604.. MT1603 MX0513 MY0O619 MLO625 LOZ2,LO3 -
A200-MTONR/LI6 25 20 12.5180 34 18 15° TN..1604.. B MX0510 MYOS15-A MLO520 LD2,L025 H200-MTWNRAL16 27 20 14 180 34 18 15° TN..1604.. i MX0510 MY0619 MLO520 LO2,L025 -
A25R-MTONRAM6 32 25 16 200 432 23 12° TN..1604. - MX0D510 MYOel9 MLO620 L0O2,L03 H25R-MTWNRA16 32 25 165 200 43 23 12° TN..1604.. - MX0510 MY0OGl9 MLOG20 LO2,L03 -
A3IS-MTONR/L16 41 32 22,5250 54 30 17° TN..1604.. MTL603 MX0513 MYD619 MLOs25s LO2,L03 A200-MTWNRAL16 27 20 14 180 34 18 15° TN..1604.. B MX0510 MYD619 MLO620 LO2,L03
AJOT-MTONRAIG 50 40 26.5300 68 37 15° TN..1604. MT1603 MX0513 MYO619 MLO625 LOZ2,L03 A25R-MTWNR/AL16 32 25 165 200 43 23 12° TN..1604.. E MXO510 MYOS19 MLO620 LO2,L03 o

i Fl Suitable: &% 71 5 DEREK Insert

b4 DEREK

i& A Suitable:iE5 71 5 DEREK Insert

»4 DEREK




H#E
sp hminglool
A

R
E

A
a
4
A
a

=]
eimel buming kol

F/
k
i
A
i

HiE
Threaing tool

,.
v
o
/
o
V;
/4
i

Croowing ool

/.
s

Type M

MVQNR/L

BE
Specification aﬁ% d

S25R-MVONR/L1G
5325-MVONR/L1G

32
42

25
3z

17
23

200
250

43
54

23
30

P2
Shim

Mv1603

ch g i

Cantar screw

MXD513
MX0513

[E1h

MYD&21
MYDE21

EfigeE HF HKFA

Clamp  Clamp screw

MLD&25
MLOG25

Wrench Water hola

LOZ,L03
LOZ,L03

BnE
Specification ;Fd:iia d

S25R-MVWNR/L16
S325-MVWNR/L16
H25R-MVWNR/L16

F

40 25 26 200 43
48 32 20 250 54
40 25 26 200 43

23
30
23

12°
17
12°

VN..1604..
VN..1604..
VN..1604..

7]

Shim  Center screw

MY1603 MX0513
MV1603 MX0513
My1603 MX0513

MY0621
MYD621

fubigé  ER EREE WF KA

Clamp  Clamp screw Wrench Water hole
MY0621

MLOE25 LO2,L03
MLO625 LOZ,L0D3
MLOE25 LO2,L03

i& A Suitable: &% 71/ DEREK Insert

MVXNR/L

BE
Specification
S25R-MVUNR/L1G
5325-MVUNR/L16G
S40T-MVUNR/L16
H25R-MVUNR/L16
H325-MVUNR/L16
AZ5R-MVUNR/L1G
A325-MVUNR/L16

& <&

-

S

&

L F7) GI2R GI3g  GI2R  GI3R  GIDJ

MR

Mindia d

32
42
50
a2
42
a2
42

25
3z
40
25
3z
25
3z

F

17
23
27
17
23
17
23

L

200
250
300
200
250
200
250

43
54
68
43
54
43
54

23
30
37
23
30
23
30

12°
17°
15°
12°
17°
12°
17°

VM..
VM.
VM..
VM.
VM..
VM.
VM..

1604..
la04.,
1604..
la04.,
1604..
la04..
1604..

S40T-MVONR/L16 B0 40 27 300 &8 37 15° MV1603 MX0513 MYDe21 MLOs2: LO2,L03 -
H25R-MVONR/L16 32 26 17 200 43 23 12° WN..1g04.. - MXO510  MYOS21 MLOs25 LOZ2,L03 -
A200-MVONR/L1G 25 20 13 180 34 18 15° WN..1604.. - MXO510 MYDS515A MLOS1e LO2,L025
AZ5R-MVONR/L1G 32 26 17 200 43 23 12° WN..1g04.. - MX0510 MYDOS21 MLOG25 LO2,L03 i
i F Suitable:fE % 71 5 DEREK Insert
MVUNR/L
-Ha-
[ | I

i -

w03 ¥

'

L1

N hpEZ  [EiE EEEL  EF AT

Shim

MV1603
MY1603

MY1603

MY1603

Cantar screw

MX0510
MX0513
MX0513
MX0510
MX0513
MX0510
MX0513

Clamp  Clamp screw

MYD&21
MY¥DE521
MYD&21
MY¥DE521
MYD&21
MY¥D&E21
MYD&21

MLOG25
MLOG25
MLOG25
MLOG25
MLOG25
MLOG25
MLOG25

Wrench Water hola

Loz,Lo3 -
Loz,Lo03 -
Loz,Lo03 -
Loz,Lo03 -
Loz,Lo3 -
Loz,Lo3
Loz,Loz

i F Suitable:fE % 71 5 DEREK Insert

b4 DEREK

BE
Specification
5200-MVXNR/L16-G6
S25R-MVXNR/L16-G6
5325-MVXNR/L16-G6
H200-MVXNR/L16-G6
H25R-MVXNR/L16-G6
AZ200-MVXNR/L16-G6
AZ5R-MVXNR/L16-G6

e
Mindia d

27
3z
42
27
3z
27
3z

20
25
32
20
25
20
25

14
17
23
14
17
14
17

180
200
250
180
200
180
200

34
43
54
a4
43
a4
43

18
23
a0
18
23
18
23

15°
12°
17°
15°
12°
15°
12°

Nk

Insert

VM..
VM..
VM..
VM..
VM..
VM..
VM..

1604..
1604..
1604..
1604..
1604..
1604..
1604..

NE mpiRE EE FEESE T HKE

Clamp screw Wrench Water hole

Shirm

MY1603

Center screw Clamp

MX0510
MX0510
MX0513
MX0510
MX0510
MX0510
MX0510

MY0&21
MY0E21
MY0&E21
MYOE21
MY0&E21
MYOE21
MY0&21

MLOG20
MLOG25
MLOG25
MLOG25
MLOG25
MLOG20
MLOG25

L0Z,L03
LO2,L03
LOZ,L03
LO2,L03
LDZ,L03
LO2,L03
L02,L03

g
ol

W
.

\ =
% E dharmnl huming b

R WY
S | s
Threading ool \.\ Irtamd g kool
oy b\

i& A Suitable: &% 71/ DEREK Insert

}< DEREK




Type M TypeS

MWLNR/L SCK*R/L

Nk N g FEiR O EEEE EF HKA

JJJ'-'.r't e #F kL

e
Specification m:a i) a Insert Shim  Centerscrew Clamp  Clamp screw Wrench Water hola Specification Screw Wrench Water hole
S200-MWLNRAOE 25 20 13 180 34 18 15° WN..0G04.. - MX0510 MY0515-A MLDO520 L0O25,L02 - S08K-SCKCR/LDG . o - Qo8
S25R-MWLNR/LO6 32 25 16.5200 43 23 12° WN..0604.. - MX0510 MYD515-A MLO520 L025102 - S10K-SCKCR/L0G 13 10 & 125 17 9 12° CC..0602.. M2.5"6 Qo8
S200-MWLNRAO8 25 20 13 180 34 18 15° WN..0804.. - MX0613 MY0515-A MLO618  L0O25 - 512M-SCKCR/LOG 16 12 7 150 20 11 10° CC..0602.. M2.5%6 Qo8
S25R-MWLNR/LO8 32 25 16.5200 43 23 12° WN..OB04.. - MX0613 MYDB19 MLOG20 L0O25,L03 - 512M-SCKCR/LD9 16 12 8 150 20 11 12° CC..09T3.. M3.5*8 Q15
S325-MWLNRLO8 41 32 22 250 54 30 17° WN..0B04.. MWO804 MX0617 MY0619 MLO625 L0O25,L03 - S16N-SCKCR/L09 20 16 95 160 27 15 10° CC..09T3.. M3.5"8 Q15
S40T-MWLNR/LOB 50 40 26 300 68 37 15° WN.0OB04.. MWOB04 MX0617 MY0D619 MLO625 LO25,L03 - 5200-SCKCR/L09 24 20 115 180 34 18 8° (C..09T3.. M3.5*8 Q15 y
\ S50U-MWLNR/LO8 60 50 31 350 85 47 12° WN.0804.. MWOB04 MX0617 MY0D619 MLO625 L0O25,L03 - S25R-SCKCR/L09 31 25 14 200 43 23 8" CC..09T3.. M3.5"9 Q15
§$E H200-MWLNR/LO6 25 20 13 180 34 18 15° WN..0604.. - MX0D510 MY0S515-A MLO520 LO2,L025 - HOSK-SCKCR/LDG 10 8 55 125 16 7 13° CC.0602. M2.5%5 Qos * WE
BE H25R-MWLNRALOG 32 25 16.5200 43 23 12° WN..0604.. . MX0510 MY0S515-A MLO520 LO2,L025 - H10K-SCKGR/LOG 13 10 & 125 20 9 12° CC..0602.. M2.5"5 Qos -
| TE H200-MWLNR/LOB 25 20 13 180 234 18 15° WN..OB04.. - MX0613 MYOS515-4 MLO520  LO25 : H12M-SCKCR/LDG 16 12 7 150 24 11 10° CC..0602.. M2.5%6 Qo8 7z
R H25R-MWLNRALO8 32 25 16.5200 43 23 12° WN..0B04.. - MX0D613 MY0D619 MLO620 L025,L03 - H12M-SCKGR/L09 16 12 8 150 24 11 12° CC..09T3.. M3.5"8 Q15 p
N H32S-MWLNR/LO8 41 32 22 250 54 30 17° WN..OB04.. MWOB04 MX0617 MY0619 MLO625 LO25,03 - H16N-SCKCR/L09 20 16 95 160 32 15 10° CC..09T3.. M3.5"8 Q15 |
S5 A200-MWLNR/LOE 25 20 13 180 34 18 15° WN..0604.. - MX0510 MY0S515-A MLO520 LO25,L02 COBK-SCKGR/LOG 10 8 55 125 14 7 13° CC.0602.. M2.5"5 Qos a2
7 A25R-MWLNR/LOB 32 25 16.5200 43 23 12° WN.0604. - MX0510 MY0515-A MLO520 LO25.L02 C10M-SCKCR/LOG 13 10 6 150 17 9 12° CC.0602. M2.5'5 Qo8 ¥E
2 A200-MWLNR/LOB 25 20 13 180 34 18 15° WN.OBO4. - MX0613 MY0515-A MLO520 LO25 C120-SCKCR/LO6 16 12 7 180 20 11 10° CC..0602.. M2.5"6 Qo8 )
N[ A25R-MWLNR/LO8 32 25 16.5200 43 23 12° WN..0B04.. - MX0613 MY0D619 MLO620 LO25,L03 120-SCKCR/LO9 16 12 &8 180 20 11 12° CC..09T3.. M3.5°8 Q15 o
L: 0 A32S-MWINR/LOS 41 32 22 250 54 30 17° WN.0S04.. MWOB04 MX0617 MY0619 MLO625 L025,L03 C16R-SCKCR/LO9 20 16 95 200 27 15 10° CC..09T3.. M3.5*8 Q15 i
- i A Suitable:f& % 715 DEREK Insert C20S-SCKCR/L09 24 20 115 250 34 18 B8° (CC..09T3.. M3.5*8 Q15 g
" SO8K-SCKPR/LOG 10 8 55 125 14 7 10° CP.0602.. M2.5*5 Qo8 e
S10K-SCKPR/L0G 13 10 6 125 17 9 8° CP.0602. M2.5*5 Qo8
2 $12M-SCKPR/LOG 16 12 7 150 20 11 §° CP.0602.. M2.5"6 Q08
e S10K-SCKPR/LO8 13 10 7 125 17 9 10° CP.0802.. M3%6 Q08 "8
H $12M-SCKPR/LO8 16 12 75 150 20 11 8° CP..0802.. M3*6 Qo8 8
= S16N-SCKPR/L08 20 16 95 160 27 15 &° (CP..0802. M3*6 Q08 ’:
I $12M-SCKPR/L09 16 12 8 150 20 11 8° CP.0903.. M3.5*7 Q15
S16N-SCKPR/L09 20 16 95 160 27 15 6° CP.0903.. M3.5*8 Q15
$200-SCKPR/L09 24 20 115 180 34 18 4° CP.0903.. M3.5*8 Q15
$25R-SCKPR/L09 31 25 14 200 43 23 4° CP.0903.. M3.5*8 Q15
#TH
See nexlpageﬁ

}< DEREK }< DEREK




TypeS Type S

SCK*R/L SCL*R/L

e WF  HkIL

a Screw Wrench  Water hole

Bs e #F kL

Specification in di Screw Wrench Water hole

. - SOTK-SCLCRAO6-A6 9 16 45 125 15 15 15° CC.0602.. M25°5 08
HOBK-SCKPRAO 10 8 55 125 16 7 10° CP.0602. M2.5°5 Qo8 S eoioatde R I T i e g[}s
HIOK-SCKPRAOG 13 10 6 125 20 9 8 CP.0G02. M2.5°5 Qo8 SOBKSCLORILO R I U A N T T
niMSOAN o2 iz ] 9 2t AL & CROZ. M2 o SOK-SCLCRAOG-AT6 12 16 5 125 21 15 13° CC..0602. M2.5°5 Q08
T T T T S I TN W T o SIOK-SCLCRAO6-A6 13 16 6 125 26 15 12° CC.0602. M25°6  QO8
Sl R T I R U M = S10K-SCLCRAL0G 13 10 6 125 17 O 12° CC.0602. M25%6 Q08
: TR L Q $12M-SCLCR/LOG 16 12 7 150 20 11 10° CC.0602. M25°6 Q08 : ’
\ M2M-SCKPRALOS 16 12 8 150 24 11 g CP.0903. M3.5°7 Q15 Srar o 20 16 o 160 27 15 8 CC.0602. M257 QOB _
5 SIRCSCRERIDE i e a E EEDERE . N Q08 S12M-SCLCR/LOS-A6 16 16 O 150 31 15 12° CC.09T3. M3.5°8 Q15 5
; C1OM-SCKPR/LO6 13 10 6 150 17 @ 8 CP.060Z.  M2.5% Qo8 - - :
|3 3 i S16N-SCLCR/L09 20 16 95 160 27 15 10° CC..09T3. M35*8 Q15 g
A\ C120-SCKPRALOG 16 12 7 180 20 11  6° CP.0602.  M2.5% Qo8 : . y
\ e R o $200-SCLCR/L09 25 20 115 180 34 18 8 CC.09T3. M35°S  QI5 y
HE e 2 S25R-SCLCR/L09 31 25 14 200 34 23 6° CC.09T3. M35°9 Q15 .
g CIGR-SCKPR/LD 20 16 95 200 27 15 6% CP.0903.  M3.5'7 Q15 . i #E
i B _ $325-SCLCR/LO9 39 32 175 250 54 30 4° CC.09T3. M35°9 Q15 i
J'.IE G205-SCKPR/L09 24 20 11.5 25':' 34 la 4 CP..GQGB.. MB.E*? 015 5 SA0T-SCLCR/LO9 5[} 4{] 21 3[}[} ﬁa 3? [}ct cc"[}g]—au M3.5*9 Q15 .TIE
N B e R = : $200-SCLCR/L12 25 20 12 180 34 18 10° CC..1204. M5°10 Q20 A
MOK-SCKCRAOG 13 10 6 125 17 9 12° CC.0602. M2.5°5 Qo8 : e B R 2 2 e e o T 4
i M2M-SCKCR/LO6 16 12 7 150 20 11 10° CC..0602..  M2.5%5 Qo8 : il 3 32 18 280 54 30 e° oCl204. M52 020 7w
i M2M-SCKCR/LOS 16 12 & 150 20 11 12° CC.09T3.  M3.5°7 Q15 i SIOTSCLCRILTD g0 a0 22 300 er i eolzon Mol o as
e A16N-SCKCR/LO9 20 16 95 160 27 15 1p° CC..09T3.. M3.5*7 Q15 ! BK-ECLCRILOB 10 & 5 125 16 7 13° CC.0602. M25°5 008 e
B N T s e N i . H10K-SCLCR/L0B 13 10 6 125 20 9 12° CC.0602. M25°6 Q08
ng\\. A25R-SCKCR/ALDY 31 25 14 2[“] 43 23 8 CC..UQTB.. M3.5* ? QIS i H12M-SCLCR/LOG 16 12 ? 15[} 2# 11 1Dn:h CC..DE{]E.. M2.5*E QDS /”/'.'.‘13
5 AMOK-SCKPR/LOS 13 10 7 125 17 @ 10° CP.0B02.  M3%6 Qo8 : 3 i gz
s ) : H12M-SCLCR/L0S 16 12 O 150 24 11 12° CC..09T3. M35°8  QI5 BE
" e e e Q08 " H16N-SCLOR/LOY 20 16 95 160 32 15 10° CC.09T3. M35°8  QI5 "
% MON-SCKPR/LOS 20 16 95 160 27 15  6° CP.0B0Z.  M3°6 Qo8 : o SuLR/L T e s |
M2M-SCKPRAD® 16 12 8 150 20 11 8 CP.0903. M3.5°7 Q15 : ol N
e S . EAH T T, Q15 ‘ C120-SGLCR/L09 16 12 9 180 20 11 12° CC.09T3. M35'8 Q15
urtable: {852 7) (RS C16R-SCLCR/LO9 20 16 95 200 27 15 10° CC..09T3.. M3.5*8 Q15
620S-SCLCR/LO9 25 20 11.5 250 34 18 8° CC..09T3.. M3.5'9  QI5
G20S-SCLORAL12 25 20 12 250 34 18 10° CC.1204.. M5°10 Q20
®THm
E‘:«\a-«\a-m=:1|:t;:rag,reF

»<4 DEREK $4 DEREK




Type S TypeS

SCL*R/L SCLCR/L*H

52 #HF  HKkA

e
Specification in di Screw Wrench  Water hola
S08K-SCLCR/LOGHDS

7 ..0602..

Sw?ﬁf;ﬁm 5 sﬁﬁ WEnEﬁh Eﬂ‘hﬂ; $10K-SCLCR/LOGH11 11 10 525 125 17 9 12° CC.0602. M2.5%6 Qo8

$12M-SCLCR/LOBH13 13 12 625 150 20 11 10° CC..0602.. M2.5%6 Q08

SOBK-SCLPR/LOG 3 ) - Qo8 - S16N-SCLCR/LO9H17 17 16 85 160 27 15 10° CC..09T3.. M3.5°8 Q15 -

S10K-SCLPR/LOG 13 106 125 17 9 8 CP.0OGOZ. M2.5°5 Qo8 - AD8K-SCLCR/LOGH09 9 8 425 125 14 7 13° CC..0602.. M2.5°5 Q08 i

§12M-SCLPR/LOG l6 12 7 150 20 11 6" CP.0602.. M2.5"6 Qo8 - A10K-SCLCR/LOGH11 11 10 525 125 17 9 12° CC..0602. M2.5% Qo8 i

S10K-SCLPR/LOS 13 10 6 125 17 9 8 CP.0802. M3°6 Qo8 : M2M-SCLCR/LOGHI3 13 12 6.25 150 20 11 10° CC..0602.. MZ2.5%6 Q08 y

§12M-SCLPR/LOS le 12 7 150 20 11 6" CP.0802. M3%6 Qo8 - A16N-SCLCR/L09H17 17 16 85 160 27 15 10° CC..09T3.. M3.5°8 Q15 i

S16N-SCLPR/LOS 20 16 o 160 27 15 4 CP..0802.. M3*7 Qo0& - i& A Suitable:#& %= 71 & DEREK Insert

$200-SCLPR/LO8 25 20 11 180 34 18 2° CP..0802. M3'7 Q08 - 4
. $12M-SCLPR/LO9 16 12 9 150 20 11 10° CP..0903.. M3.5%7 Q15 v
'F S16N-SCLPR/L09 20 16 95 160 27 15 8° CP..0903.. M3.5'7 Q15 H
g $200-SCLPR/LO9 25 20 11.5 180 34 18 6° CP.0903.. M3.5%9 Q15 2
X $25R-SCLPR/LO9 31 25 14 200 43 23 4> CP.0903. M3.5*9 Q15 3
A $325-SCLPR/LO9 39 32 175 250 54 30 4° CP.0903. M3.5*9 Q15 . -
AE AO7K-SCLCR/LOG 9 8 45 125 12 7 15° CC..0602. M25°5 Q08 r 7 uE
i AD8K-SCLCR/LOG I &8 5 125 14 7 13° CC.0602.. M2.5"5 Qoa i it
L= A10K-SCLCR/LOG 13 10 6 125 17 9 12° CC.0602.. M2.5%6 Qo8 . 7B
N A12M-SCLCR/LOG 16 12 7 150 20 11 10° CC..0602.. M2.5%6 Qo8 i =
A A16N-SCLCR/L0G 20 16 9 160 27 15 8° CC..0602.. M2.5°6 Q08 y 4
uz A12M-SCLCR/L09 16 12 9 150 20 11 12° CC..09T3.. M3.5°7 Q15 3 [ 8z
53 A16N-SCLCR/L09 20 16 95 160 27 15 10° CC..09T3.. M35'7 Q15 y 5§
A200-SCLCR/LOY 25 20 11.5 180 34 18 8° CC..00T3.. M3.5*9 Q15 y ~
A25R-SCLCR/LO9 31 25 14 200 43 23 §° C(C..09T3.. M3.5*9 Q15 :
gz A200-SCLCR/L12 25 20 12 180 34 18 10° CC..1204.. M5°10 Q20 3 gz
£ A25R-SCLCR/L12 32 25 145 200 43 23 8 CC..1204. M5*10 Q20 : £
a AOBK-SCLPR/LOG 10 8 5 125 14 7 10° CP..0602. M2.5°5 Q08 r "
\J A10K-SCLPR/LOG 13 10 6 125 17 9 g8 CP.0602.. M2.5%5 Qo8 y 5,
A12M-SCLPR/LOS 16 12 7 150 20 11 6> CP..0602.. M2.5°5 Qo8 y

A10K-SCLPR/LOS 13 10 6 125 17 9 8 CP.0802. M3%6 Q08 r ;

A12M-SCLPR/LOS 16 12 7 150 20 11 6° CP.0802. M3%6 Q08 ’

A16N-SCLPR/LO8 20 16 9 160 27 15 4° CP..0802.. M3'7 Qo8 y

A200-SCLPR/LO8 25 20 11 180 34 18 2° CP.0802. M3'7 Q08 d

A12M-SCLPR/L09 16 12 9 150 20 11 10° CP..0903.. M3.5°7 Q15 r

A16N-SCLPR/LO9 20 16 95 160 27 15 8 CP.0903.. M35°'7 Q15 y

A200-SCLPR/LOY 25 20 11.5 180 34 18 6° CP..0903.. M3.5'9 Q15 !

if A Suitable:fE% 71 5 DEREK Insert

b4 DEREK }< DEREK




TypeS TypeS

SCZCR/L SDLCR/L

BE % 7]
Specification :}dﬁ:

B P WFE HkA e e g WE AR
ert Screw Wrench Water hole Specification Screw Wrench Water hole

S0BK-SCZICR/LOG . N - S10K-SDLCR/LOT

p—s

S10K-SCZCR/LOG 14 10 7.5 125 17 9 12 CC..0602.. M2.5%6 Qo0& - S$12M-SDLCR/LOT 17 12 9 150 20 11 8% DC..0702.. M2.5%6 Qo0&
S12M-SCIGR/LOG 16 12 8.5 150 20 11 10® CC..0e02.. M2.5"6 Qo8& - S16N-SDLCR/LOT 22 16 11 1e0 27 15 6% DC..0702 M2.5*7 Qo8&
S16N-SCZCR/LOG 20 16 10.5 1ed 27 15 8 CC..0e02.. M2.5*7 Qo0& 3 S200-SDLCR/L11 25 20 13 180 34 18 6 DC..11T73 M3.5*Q Q15
S16N-SCZCR/LD9 21 16 11.5% 1ed 27 15 10° CC..09T3.. M3.5*8 Q15 - S25R-SDLCR/L11 32 25 16 200 43 23 4% DC..11T3 M3.5*9 Q15
S200-SCZCR/LO9 25 20 135 180 34 18 8° CC..09T3.. M3.5*9 Qls - 5325-SDLCR/L11 39 3z 20 250 54 30 4 DC..1173 M3.5*0 Q15
S25R-SCZCR/AL09 32 25 16 200 43 23 6" CC..09T3.. M3.5*0 015 - H10K-SDLCR/LOT 15 10 a8 125 20 g 10 DC..0702 M2.5"6 Qo8
HO8K-SCZCR/LOG 12 8 6.5 125 16 7 13° CC..0602.. M2.5*5 Qo0& & H12ZM-SDLCR/LOT 17 12 g9 150 24 11 8% DC..0702 M2.5%6 Qo8
H10K-SCZCR/LDG 14 10 7.5 125 20 9 12° CC..0602.. M2.5"6 Qo8& - H16N-SDLCR/LOT 22 16 11 1e0d 32 15 &° DC..0702 M2.5*7 Qo8 .
R H12M-SCZCR/LOG 16 12 8.5 150 24 11 10° CC..0e02.. M2.5%6 Qo0& - C10K-SDLCR/LOT 15 10 a8 125 17 9 10° DC..0702 M2.5*6 Qo0& : 2
;E H16N-SCZCR/LOG 20 16 10.5% 1e0d 32 15 8 CC..0e02.. Ma2.5*7 Qo8& - C12M-SDLCR/LOT 17 12 g 150 20 11 8° DC..0702 M2.5"6 Qo8& s @ :{E
TI_IE H16N-SCZCR/L09 21 16 11.5 1ed 32 15 10° CC..09T3.. M3.5*Q Q15 - C16N-SDLCR/LOT 22 16 11 1&d 27 15 6% DC..0702 M2.5*7 Qo0& - i
“E ADSK-SCZCR/LOG 12 8 6.5 125 14 7 13® CC..0602.. M2.5*5 Qo8& i G200-SDLCR/AL1 25 20 13 180 34 18 &% DC..11T3 M3.5*9 Q15 - J'E .
\\: A10K-SCZCR/LOG 14 10 7.5 125 17 9 12 CC..0602.. M2.5%6 Qo0& i A10K-SDLCR/LOT 15 10 a8 125 17 9 10 DC..0702 M2.5*6 Qo0& v ////
Hsﬁ A12M-SCZGR/LOG 16 12 8.5 150 20 11 107 CC..0e02.. M2.5"6 Qo8& i A12M-SDLCR/LOT 17 12 g9 150 20 11 8° DC..0702 M2.5"6 Qo8& i /v‘:E
%E A16N-SCZCR/LO9 21 16 11.5% 1ed 27 15 10° CC..09T3.. M3.5*Q Qls i A16N-SDLCR/LOT 22 16 11 160 24 15 &% DC..0702 M2.5*7 Qo0& ! %E‘
N A200-SCZCR/L09 25 20 135 180 34 18 8° CC..09T3.. M3.5*0 Q15 " A200-SDLCRA11 25 20 13 180 34 18 & DC..11T3 M3.5*9 Q15 i :ri
o A25R-SCZICR/LO9 32 25 16 200 43 23 6% CC..00T3.. M3.5*0 Q15 | A25R-SDLCRA11 32 25 16 200 43 23 4 DC..1173 M3.5*Q Q15 i i//
A i& A Suitable:{&5 715 DEREK Insert i& A Suitable: &% 71 /i DEREK Insert 4
EE | - gg
3
= -
\\\\\\ /,/////
@E = “E
il -
:riig 33
. -
\.\I .-.///

b4 DEREK +4 DEREK




TypeS TypeS

SDQCR/L SDUCR/L

i Be L $22 HF k7L
Spec?ﬁgtiun :};1 d a Sﬁegw WEjﬁh Et;rk r:ﬂ; Specification ;ﬁia a Screw Wrench  Water hole
o * S10K-SDUCR/LOT 0 g
g}g:’gﬁﬂﬁ {g }g’ ; {gg %3] ﬂ 13[1' gg:g;gg ﬂg:g*g ggg . $12M-SDUCR/LOT 17 12 9 150 20 11 &° DC..0702.. M2.5%6 Q08
S16N-SDOCRAO7 20 16 10.5 160 27 15 6° DC.0702.. M2.5*7 Q08 - S14N-SDUGRALO7 19 16 10 160 24 13 6" DC..0702. M2.5"6 Q08
S200-SDOCR/LIT 25 20 13 180 34 18 6° DC.11T3. M3.5°0 015 i S16N-SDUCR/LO7 22 16 11 160 27 15 6" DC..0702. M2.5"7 Q08
S25R-SDOGRAL1T 32 25 16 200 43 23 4° DC.11T3.. M3.5*0 Q15 : S200-SDUCRALO7 25 20 13 180 34 18 6° DC..0702.. M2.5"7 Q08
HOKSDOCRLT 13 10 7 125 17 9 10° DC 0702 M2.5% Q08 - $200-SDUCR/L11 25 20 13 180 34 18 6° DC.11T3.. M3.5%0 Q15
8 S T R s S s E R R e Q08 . $25R-SDUCR/L11 32 25 16 200 43 23 4° DC.11T3.. M3.5*0 Q15
' HiGN-SDOCR/LO7 20 16 10.5 160 27 15 6° DC.0702.. M2.5°7 Qo8 - Sa2s SOLCHALIL 39 32 20 250 54 30 4° DC.11T3. M3.5°9 Q15 "4
aE ClKsoacRLo? 13 10 7. 150 17 9 10° DG.0702.  M2.5° Q08 . S40T-SDUCR/L11 50 40 24 300 68 37 2° DC.11T3.. M3.5°0 Q15 o+
N C16N-SDOCRALO7 20 16 10.5 200 27 15 6° DC.0702. M2.5'7 008 i H12M-SDUCR/LO7 17129 150 =24 11 8" DC.0702. M2.5°6 Qo8 A
A\ DirEncRiT 2o 20 13 750 a4 18 B DOl TMao's 015 - H16N-SDUCR/LO7 22 16 11 160 32 15 6° DC..0702.. M2.5*7 Q08 P
iz MOK-SDOCRAO7 13 10 7 125 17 9 10° DC.0702. M2.5%6 Q08 3 EINESH R 15 10 8 125 17 9 10° DC..0702. M2.5°6 Q08 F
ne AM2M-SDQCR/LO7 16 12 9 150 20 11 8 DC.0702. M2.5%6 Q08 y C12M-SDUGR/LO7 17 12 9 150 20 11 8" DC..0702. M2.5"6 Q08 73
O A6N-SDOCRALO7 20 16 105 160 27 15 6° DC.0702. M2.5'7 Q08 ‘ ] e DL A T I w
A200-SDOCRAL11 25 20 13 180 34 18 6° DC.11T3.. M3.5°0 015 y £200-SDUCRAL11 25620 13 180 34 19 6° DC.1IT3. M350 Q15 - A
%5 | A25R-SDOCRAM1 32 25 16 200 43 23 4° DC..11T3.. M3.5°9 Q15 : A10K-SDUGR/LO7 15 10 & 12 17 9 10" DC..0702. M2.5"6 Q08 L ~wz
£p & Suitable: @ 7 /¥ DEREK Insert A12M-SDUCR/LO7 17 12 9 150 20 11 8&° DC..0702.. M2.5%6 Qo8 ¥ LE
ne A14N-SDUCR/LO7 19 16 10 160 24 13 6° DC..0702. M2.5%6 Qo8 ’ 1
A16N-SDUCR/LO7 22 16 11 160 27 15 6° DC..0702.. M2.5*7 Q08 :
NN A200-SDUCR/LO7 25 20 13 180 34 18 6° DC..0702.. M2.5°7 Q08 : i
a5 A16N-SDUCR/L11 22 16 11 160 27 15 8&° DC.11T3.. M3.5%9 Q15 ¥ -
g A200-SDUCR/L11 25 20 13 180 34 18 6° DC.11T3. M3.5%9 Q15 ¥ b
i A25R-SDUCR/L11 32 25 16 200 43 23 4° DC..11T3.. M3.5*0 Q15 ¥ :
e i Fil Suitable:{E 355 71 i DEREK Insert s

b4 DEREK »4 DEREK




Ealemnl humirg ool -

/8
//r b=l oy b

4
A
a

i

=¥ s
Theadinglood
o

,.
v
o
/4
i

/.
s
g il

rd
e

ot

Type S

SDWCR/L

Type S

SDZCR/AL

Specgi!ﬁciaﬁm Mnda d |r:'i§§'rt sﬁﬁ Wgniﬁh Etf h};ll;
512M-SDWCR/LOT 19 12 105 150 20 11 10° DC..0702.. Mz2.5*7 Qo8
S16N-SDWCR/LOT 23 16 125 1e0 27 15 2% DC..0702.. M2.5*7 Qo8
5200-SDWCR/LOT 27 20 145 180 34 18 & DC..0702.. Mz2.5*7 Qo8
S200-SDWCR/L11 25 20 145 180 34 18 & DC..11T3.. M3.5%0 Q15
S25R-SDWCR/L11 3z 25 17 200 43 23 4* DC..11T73.. M3.5*9 Q15
5325-SDWCR/L11 40 32 20 250 54 30 2¢ DC..11T3.. M3.5*0 Qls
H12M-SDWCR/LOT 19 12 105 150 20 11 10° DC..0702.. Mz2.5*7 Qo8
H16N-SDWCR/LOT7 23 16 125 1&0 27 15 2% DC..O702.. M2.5*7 Qo8 -
A12M-SDWCR/LOT 19 12 105 150 20 11 10° DC..0702.. Mz2.5*7 Qo8 i
A16N-SDWCR/LOT 23 16 125 1&e0 27 15 2% DC..0702.. M2.5*7 Qo8 i
A200-SDWCR/LOT 27 20 145 180 34 18 & DC..0702.. Mz2.5*7 Qo8 {
A200-SDWCR/A11 25 20 145 180 34 18 & DC..11T3.. M3.5*9 Q15 i
AZ5R-SDWCR/ML11 3z 25 17 200 43 23 4* DC..11T73.. M3.5*9 Q15 i
A3Z5-SDWCR/LA1 40 32 20 250 54 30 2¢ DC..11T3.. M3.5*9 Q15 i

i& A Suitable: &% 71 /5 DEREK Insert

b4 DEREK

Spe?lﬁ?éﬁnn Min dia Ige}jt sﬁﬁ wﬁnsﬁh #Hm* hﬂ;
S10K-SDZCR/ALOT 15 10 8.5 1285 17 4] 12° DC..0702.. M2.5*6 Qo0&
512M-SDZCR/LOT 18 12 a5 150 20 11 10% DC..0702.. M2.5*7 Qo0&
S16N-SDZCR/LOT 24 16 11.5 1&0 27 15 8% DC..0702.. M2.5*7 Qo8&
S200-SDZCRML11 28 20 145 120 34 18 2° DC..11T3.. M3.5*9 Q15
S25R-SDZCRAL11 a4 25 17 200 43 23 &% DC..11T3.. M3.5*9 Q15
5325-SDZCR/L11 38 32 20.5 250 54 30 4° DC..11T3.. M3.5*0 Q15
H100-SDZCR/LOT 15 10 8.5 1285 17 4] 12° DC..0702.. M2.5*6 Qo8&
H12M-SDZCR/LOT7 18 12 9.5 150 20 11 10% DC..0702.. M2.5*7 Qo0&
H16N-SDZCR/LOT 24 16 11.5 1&0 27 15 &% DC..0702.. M2.5*7 Qo8&
A10K-SDZCR/LOT 15 10 8.5 1285 17 a 125 DC..0702.. M2.5*6 Qo0& {
A12M-SDZCR/LOT7 18 12 a5 150 20 11 10° DC..0702.. M2.5*7 Qo8& i
A1GN-SDZCR/LOT 24 le 11.5 1e0 27 15 &° DC..0702.. M2.5*7 Qo0& i
A200-5DZCR/LOT 26 20 135 180 20 18 8% DpC..o702.. M2.5*7 Qo8& i
AZSR-SDICR/LOT 3z 25 le 200 27 23 2% DC..o702.. M2.5*7 Qo0& i
A200-SDZICR/L11 28 20 145 180 34 18 8% DC..1173.. M3.5*9 Q15 i
AZ5R-SDZCR/L11 34 25 17 200 43 23 &° DC..11T3.. M3.5*9 Q15 i
A325-8DZCRMA11 38 32 205 250 54 30 4° DC..11T3.. M3.5*9 015 i

i F Suitable:fE %= 71 5 DEREK Insert

}< DEREK

y
y

o
E starrnd buming boal

43
NS
\
*,
AN

N

o HHE
Intamd buming kool

0
.
&N

H
N
H,

=t
Thrasding loal

o
i,
o
o,

o,
Y, SEHEETRE

N

g hoal

*y
Y
Y

k"

*y




TypeS Type S

SDXCR/AL SSK*R/L

Nk e wF  HKAL

s i L £ HF  HKAL

A I
Specification Min dia Insert Screw Wrench  Water hola

Specification F Insert Screw Wrench  Water hole
S08K-SDXCR/LO7-G5 10 8 5 125 14 7 12° DC..0702.. M2.5*5 Qo8 - S12M-SSKCR/LO9 : i . :
S10K-SDXCR/LO7-G5 13 10 6 125 17 9 10° DC..0702.. M2.5*5 Qo8 - S16N-SSKCR/LO9 20 16 105 1led 27 15 10 SC.09T3.. M3.5*8 Q15
512M-SDXCR/LOT-G5 16 12 7 150 20 11 8° DC..O702.. M2.5"6 Q08 - 5200-SSKCR/LO9 24 20 125 180 34 18 &° S8C..00T3.. M35*9 015
516N-SDXCR/LOT-G5 20 16 9 1s0 27 15 6% DC..0702.. M2.5*7 Qo8& - 525R-SSKCR/LO9 31 25 15 200 43 23 &% 5C..00T3.. M3.5*9 015
516N-SDXCR/L11-G5 20 16 9 1s0 27 15 8% DC.11T3.. M3.5*8 Q15 - H12M-SSKCR/LO9 16 12 8.5 150 20 11 12° SC.09T3.. M3.5"8 015
5200-SDXCR/L11-G5 25 20 11.5 180 34 18 6% DC..11T3.. M35*9 Q15 y H16N-SSKCR/LO9 200 16 105 1e0 27 15 10 SC..09T3.. M3.5°8 Q15
525R-SDXCR/L11-G5 32 25 14 200 43 23 4 DC..11T3.. M3.5*9 Ql5 8 S12M-SSKPR/LO9 16 12 B8.5 150 20 11 & SP.0903.. M3.5%8 Q15
- HO8K-SDXCR/LO7-G5 10 8 5 125 16 7 12° DC..0702.. M2.5*5 Qo8& 5 S16N-SSKPR/LD9 200 16 105 1led 27 15 6% SP.0903.. M3.5*8 Q15 a ///
fﬁi\\ H10K-SDXCR/LDT-G5 13 10 6 125 20 9 10° DC..0702.. M2.5"5 Q08 = H12M-SSKPR/LOG 16 12 85 150 20 11 & SP.0OD3. M3.5*8 Q15 - d
WE H12M-SDXCR/LO7-GS 16 12 7 150 24 11 8> DC..0702.. MZ.5%6 Qo8 - H16N-SSKPR/LO9 20 16 10,5 1led 27 15 6" SP.0903.. M3.5*8 015 g EE
*"g H16N-SDXCR/LOT-G5 20 16 9 1e0 32 15 & DC..0702.. M2.5*7 Qo8 - A12M-S5KCR/L0S 16 12 85 150 20 11 12® SC..09T3.. M3.5*8 015 i -
g ADSK-SDXCR/LOT-G5 10 8 5 125 14 7 12° DC..0702.. M2.5*5 Qo8 v A16N-SSKCR/L0S 20 16 105 160 27 15 10° SC..09T3.. M3.5*8 Q15 v y
N A10K-SDXCR/LDT-GS 13 10 6 125 17 g 10° DC..0702.. M2.5"5 Qo8 i A200-55KCR/LO9 24 20 125 180 34 18 &% S§C.09T3.. M35*9 Q15 i e
g2 ) A12M-SDXCR/LOT-G5 le 12 7 150 20 11 8 DC..0702.. M2.5"6 Qos i AI5R-SSKCR/LO9 31 25 15 200 43 23 8% SC..09T3.. M3.5*o 015 i ?’fg
gg A16N-SDXCR/LOT-G5 20 16 9 180 27 15 6 DC..0702.. M2.5*7 Qo8 v A12M-SSKPR/LO9 16 12 85 150 20 11 & SP..0903.. M3.5%8 Q15 i ﬁ;
i A16N-SDXCR/L11-G5 20 16 9 1e0 27 15 8 DC..11T3.. M3.5*8 Q15 i A16MN-SSKPR/LO9 20 16 105 1led 27 15 6" SP.0903.. M3.5*8 Q15 i z
N A200-SDXCR/L11-G5 25 20 11.5 180 34 18 6° DC..11T3.. M3.5*9 Q15 i i& M Suitable:f& = 71 iy DEREK Insert /
g\\\ A25R-SDXCR/L11-G5 32 25 14 200 43 23 4° DC..11T3.. M3.5'9 QL5 ! 7z
] & A Suitable: %32 71 K DEREK Insert g
\\\\\\ ///////
l\\\\\ f///;ug
e
-r;';lg Ma
? ?
\'T n

e
-
e
e
*y
Y
Y
y
Y

A 53 DEREK $3 DEREK




Type S Type S

SSS*R/L STFCR/L

&0

H
an N LY ) !
N | d@ETXT ] +
'?;x b

L

- -

D
- $23 F HkFL
Screw Wrench Watar hole

¥ ok

o BE
Specification Specification »'?:a rt Wrench Watar holg

512M-SSSCR/LO9 e 12 85 150 20 11 12 SC..09T3. M3.5%8 Q15 - S08K-STFCR/LD9 B .
S16N-5S5CR/L09 22 16 115 160 27 15 10° SC..09T3.. M3.5%9 Q15 : S10K-STFCR/LO9 1310 6 17 125 o9 13° TC..0902.. M2.2*6 Qo6
5200-SSSCR/LO9 26 20 135 180 34 18 8% 5C..09T3. M3.5*9 Q15 . 512M-STFCR/LD9 16 12 7 20 150 11 10 TC..0902.. M2.2*6 Qo6
$25R-5SSCR/LO9 a1 25 16 200 43 23 6B 5C..09T3. M3.5*0 015 - S10K-STFCR/L11 1210 & 17 125 & 12° TC.1l102. M2.5%6 Qos
5325-SS5CR/L0Y 3 32 195 250 58 30 4 SC..00T3. M3.5*9 015 - S12M-STFCR/L11 14 12 7 20 150 11 10° TC..1102 M2.5%6 Qo8
H12M-5SSCR/LD9 16 12 85 150 20 11 12° SC..09Ta.. M3.5*8 015 e S16N-STFCR/L11 20 18 9 27 1e0 15 8% TC.1102 M2.5*7 Qo8
H16N-SSSCR/L09 22 16 11.5 160 27 15 10° S§C..09T3.. M3.5*9 Q15 - 5200-STFCR/L11 25 20 11 34 180 18 &° TC.1102.. M2.5%7 Qo8
X 512M-SSSPR/LD9 16 12 9 150 20 11 & SP..0903. M3.5%7 015 E $200-STFCR/L16 25 20 115 34 180 18 8% TC..1GTA. M3.5%9 QLls : 4
?‘E\ X S16N-SSSPR/LOS 20 16 11 160 27 15 6 SP..0903.. M3.5*7 Q15 - S25R-STFCR/L16 3l 25 14 43 200 23 6% TC..16T3.. M3.5*9 Qls - /.;rg
By $200-SSSPR/L09 o4 20 13 180 34 18 4° SP.0903.. M3.5*G 015 . $325-STFCR/L16 39 32 175 54 250 30 4 TC.L1eT3. M3.5%9 QL5 - -
Nz $95R-SSSPR/LO9 32 25 17 200 43 23 2° SP.0903. M3.5%9 15 - S40T-STFCR/L16 50 40 215 K8 300 37 2° TC..1eT3.. M3.5*9 Q15 s
R E $395-SSSPR/LOY 40 32 22 250 58 30 0° SP.0903. M3.5*Q 315 . HOBK-STFCR/LD9 11 8 55 15 125 7 15° TC..0902.. M2.2*6 Q06 E///,
3 = = - o H10K-STFCR/L11 13 10 & 17 125 9 12° TC..1l02 M2.5%6 Qo0& g
8 H16N-S5SPR/L0S 20 16 11 180 27 15 & SP.0903. M3.5*9 Q15 - - . -
0 = - H12M-STFCR/L11 14 12 7 20 150 11 10 TC..1102 M2.5%6 Qo8 iz
= A12M-SSSCR/LO9 16 12 85 150 20 11 12 SC..09T3. M3.5*8 Q15 v o . ks
B - . H16N-STFCR/L11 20 16 9 27 180 15 8° TC.1102 M2.5*7 Qos 7E
g A16N-SSSCR/LO9 22 16 115 160 27 15 10® SC..09T3. M3.5%9 Q15 { 5 . i)
R o i COBK-STFCR/LO9 11 4 b5 15 126 7 15" TC..0902 M2.2*6 Qo6& =
R A200-SSSCR/LOY 26 20 135 180 34 18 &% SC..09T3.. M3.5*9 Q15 v C10M-STECR/L09 1310 5 17 150 9 13° TC.0902 M2.2%6 Q06 4
N A25R-SSSCR/L09 31 25 16 200 43 23 6 SC..097T3 M3.5%9 Q15 i o ar -
oE = x &= = G120-STFCR/LO9 16 12 7 20 180 11 10° TC..0902 M2.2*6 Qo6 %5
s;:g A12M-555PR/L09 16 12 9 150 20 11 &° SP.0S03. M3.5*7 Q15 i C10M-STFCR/L14 12 10 6 17 150 © 12° TC.1102 M2 56 Q08 s
_TE A16N-55SPR/L09 20 16 11 180 27 15 6" SP.0903. M3.5*7 Q15 v C120-STFCR/L11 14 12 7 20 180 11 10° TC..1102 M2.5%6 Qo8 s |
M A200-S5SPR/LOY9 24 20 13 180 34 18 4° SP.0O03. M3.5*9 Q15 v C16R-STFCR/L11 20 16 ] 27 200 15 8% TC.1102 M2.5*7 008 /,;f“
r;g‘\\\_ A25R-SSSPR/LO9 32 25 17 200 43 23 2° SP.0903. M3.5*9 015 | G20S-STFCR/L11 26 20 11 34 250 19 8° TC.1102 M2.5*7 Q08 ”’%-:E
mg i& A Suitable:fE% 71 ¥ DEREK Insert ADBK-STFCR/LOY 11 8 &5 15 125 7 15" TC..0902.. M2.2*6 Qoe i L5
8 A10K-STFGR/LO9 13 10 6 17 125 9  13° TC..0902.. M2.2*6 Q06 i 35
L AM2M-STFCR/L11 14 12 7 20 150 11 10° TC.1102.. M2.5%6 Qo8 i ¥
e A16N-STFCR/L11 20 16 9 27 1e0 15 8* TC..1102.. M2.5*7 Qo8 i g
A200-STFCRA16 25 20 115 34 180 18 8° TC.16T3.  M3.5'0 Q15 i
A25R-STFCR/L16 31 25 14 43 200 23 6% TC.1eT3. M3.5%9 QL& i

iff A Suitable:fE% 71 5 DEREK Insert

b4 DEREK b4 DEREK




Type S

STFPR/L

e
Specification

bl

-1

0 F

K FL

TypeS

STUCRA

s
Specification

Nk

L $-2

F

7k FL

F H Screw Wrench Water hole F a Screw Wrench  Water hole
S10K-STFPR/LOS 13 10 (3] 17 125 9 g8° TP..0802.. M2*5 006 S08K-STUCR/LD9 5 - i Q06
S08K-STFPR/LOS 11 8 5 15 125 7 10° TP..0902.. M2.5"5 Qo8 S08K-STUCR/09-A16 11 16 5 20 125 15 10° TC..0902.. M2.2"6 Q06
S10K-STFPR/LOS 13 10 & 17 125 9 g° TP..0902.. M2.5"6 Qo8 S10K-STUCR/LO9 13 10 6 17 125 9 g8° TC..0902.. M2.2*6 Q06
S10K-STFPR/L11 13 10 (5] 17 125 9 12° TP.1103.. M3*6 Qo8 S10K-STUCR/L0O9-A16 13 16 6 27 125 15 g8° TC..0902.. M2.2*6 Q06
512M-STRPR/L11 16 12 7 20 150 11 10° TP.1103. M3*6 Qo8 S10K-STUCR/L11 13 10 6 17 125 9 12° TC..1102.. M2.5%6 Q08
S16N-STRPR/L11 20 16 9 27 1le0d 15 g° TPR.1103.. M3*7 Qo8 S10K-STUCR/L11-A16 13 16 6 27 125 15 12° TC..1102.. M2.5%6 Q08
5200-STFPR/L11 24 20 11 34 180 18 g° TP.1103. M3*7 Q08 512M-STUCR/L11 16 12 7 20 150 11 10° TC..1102.. M2.5°6 Q08
by 5200-5TFPR/L16 24 20 115 34 180 18 &% TP.1603. M3.5"9 015 512M-STUCR/L11-A16 16 16 7 34 150 15 10° TC..1102.. M2.5%6 QD8 i
1'1?- 525R-STFPR/L1G 31 25 14 43 200 23 4*  TP..1603.. M3.5"9 015 S16N-STUCR/L11 20 16 9 27 180 15 g® TcC..1102.. M2.5*7 Qo8 /Eg
WE COBK-STFPR/LO9 11 8 5 15 125 7 10° TP..0902.. M2.5"5 Qo8 5200-STUCR/L11 24 20 11 34 180 18 K° TC..1102.. M2.5%7 Qo8 ,‘E
IE C10M-STFPR/LO9 13 10 4] 17 150 9 g° TP..0902.. M2.5"6 Q08 5200-STUCR/L16 25 20 11.5 34 180 18 g" TC..16T3.. M3.5*9 Q15 ”E
B C10M-STFPR/L11 13 10 6 17 150 9 12° TP.1l103. M3*6 Qo0& $25R-STUCR/L16 31 25 14 43 200 23 6° TC..16T3.. M3.5"9 015 -
N C120-STAPR/L11 16 12 7 20 180 11 10° TP.1103.. M3i*6 008 5325-STUCR/L16 30 32 175 54 250 30 4" TC.1eT3.. M3.5"% Q15 L
;’EE C16R-STFPR/L11 20 16 9 27 200 15 B° TP.1103.. M3*7 Q0& S40T-STUCR/L16 50 40 ?21.5 68 300 37 2° TC..16T3.. M3.5'9 Q15 ' ﬁ%
§§ C205-STFPR/L11 24 20 11 34 250 19 g° TP.1103. M3*7 Qo8 HOBK-STUCR/LO9 11 8 5 15 125 7 10° TC..0902.. M2.2*5 Q06 §_
L= HOBK-STRPR/LO9 11 8 5 15 125 7 10°  TP..0902.. M2.5*5 Qo8 H10K-STUCR/LO9 13 10 6 17 150 9 g° TC..0802.. M2.2*5 Q06 E/,
\\\\ H10K-STFPR/LOS 13 10 (3] 17 125 9 g" TP..0902.. M2.5"6 Q08 H10K-STUCR/L11 13 10 6 17 150 9 8" TC..1102.. M2.5"7 Q08 -
33\\\ H10K-STRPR/L11 13 10 (5] 17 125 9§ 12° TP.1103.. M3*6 Q08 H12M-STUCR/L11 16 12 7 20 180 11 6" TC..1102.. M2.5"6 Qo8 _//,;E
Efg H12M-STFPRAL11 16 12 7 20 150 11 10" TP.1103.. M3*6 Qo8 H16R-STUCR/L11 20 16 9 27 200 15 4* TC..1102.. M2.5"7 Q08 ) s;‘E
| BE H16M-STFPR/L11 20 16 9 27 1le0d 15 8° TP..1103.. M3*7 Qoa - ADBK-STUCR/LO9 11 8 5 15 1256 7 10° TC..0802.. M2.2*5 Q06 i nE
\\o\\\ A10K-STFPR/LOS 13 10 (3] 17 125 9 g8° TP..0802.. M2*5 Q06 i A10K-STUCR/L11 13 10 6 17 125 9 12° TC..1102.. M2.5%6 Q08 d -
S AOBK-STFPR/LD9 & 5 15 125 7 10° TR.0902.. M2576 Q08 i A12M-STUCR/L11 16 12 7 20 150 11 10° TC.1102.. M2.5*6 Qo8 i Vs
:_;-;- A10K-STFPR/LO9 13 10 & 17 125 9 g° TP..0902.. M2.5"6 Qoa o A16N-STUCRAL11 20 16 9 27 180 15 g8° TC..1102.. M2.5*7 Qo8 i 5e
o A12M-STFPR/L11 16 12 7 20 150 11 10° TP.1103. M3*6 Qoa i A200-STUCRAL11 24 20 11 34 180 18 8" TC..1102.. M2.5*7 QD8 i Eg
* A16N-STFPRIL11 20 16 9 27 1e0 15 8° TP.1103.. M3*7 Q08 y i& A Suitable:#& %= 71 & DEREK Insert *
\\;\ A200-STFPR/L1G 24 20 115 34 180 18 8" TP.1603.. M3.5"9 015 v -
h AZ5R-STFPR/L1G 31 25 14 43 200 23 4°  TP..1603.. M3.5*9 Q15 v L

i& M Suitable:i &5 71 DEREK Insert

p< DEREK b< DEREK




TypeS TypeS

STUPR/L STWCR/L

e HE K 84 HF HkFL BE o K ¥ #HF HkFL
Specification Min dia F H Insert Screw Wrench Watar hola Specification Mindia d Screw Wrench Water hola
S08K-STUPR/LO9 11 8 5 15 125 7 10° TP.0902.. M2.5*5 Qo8 - S08K-STWCR/LO9 11 & 55 15 125 7 12° TC..0902.. M2.2*5 Q06
S10K-STUPR/LD9 13 10 & 17 125 9  8° TP.0902.. M2.5% Qos - $10K-STWCR/L11 14 10 8 17 125 9 10° TC..1102.. M2.5*7 Qo8
S10K-STUPR/L11 13 10 6 17 125 9 12° TP.1103. M3*6 Qo8 - $12M-STWCR/L11 16 12 9 20 150 11 8° TC.1102.. M2.5*7 Q08
$12M-STUPR/L11 16 12 7 20 150 11 10° TP..1103.. M3*6 Qos - $16N-STWCR/L11 20 16 11 27 160 15 6% TC..1l102.. M2.5*7 Qoa
S16N-STUPR/L11 20 16 9 27 160 15 8° TP.1103.. M3*7 Qos . §200-STWCR/L11 25 20 13 34 180 18 4° TC..1l02.. M25*7 Qo8
5200-STUPR/L11 24 20 11 34 180 18 ®° TP.1103.. M3*7 Qos 5 $25R-STWCR/L11 31 25 15 43 200 23 2° TC.llo2.. M2.5*7 Qo8
5200-STUPR/L16 24 20 11.5 34 180 18 ®° TP.1603.. M3.5"9 Q15 i $325-STWCR/L11 39 32 19 54 250 30 0° TC.1l02.. M2.5*7 Qo8
N $25R-STUPR/L16 31 25 145 43 200 24 4° TP.1603.. M3.5%9 Q15 - $200-STWCR/L16 25 20 145 34 180 18 8% TC..16T3.. M3.5*9 Q15 - /2
43 AOBK-STUPR/LO9 11 8 5 15 125 7 10° TP.0902.. M2.5*5 Q08 d S25R-STWCR/L16 32 25 17 43 200 23 g° TC..16T3.. M3.5"9 Q15 - L_ﬁg
-4 A10K-STUPR/L11 13 10 & 17 125 9 12° TP.1103. M3*6 Qos v $325-STWCR/L16 39 32 20 54 250 30 4° TC..16T3.. M3.5*9 Q15 - H
7 A12M-STUPR/L11 16 12 7 20 150 11 10° TP.1103.. M3*6 Qo8 Y S40T-STWCR/L16 50 40 24 68 300 37 0° TC..16T3.. M3.5"9 Q15 7E
. A16N-STUPR/L11 20 16 9 27 160 15 8% TP.1103.. M3*7 Qo8 i HO8K-STWCR/LO9 11 8 55 15 125 7 12° TC..0902.. M2.2*5 Qo6 /“/,
N A200-STUPR/L16 24 20 11.5 34 180 18 ° TP.1603.. M3.5"9 Q15 F H10K-STWCR/L11 14 10 & 17 125 9 10° TC..1102.. M2.5*7 Q08 .
HE ) A25R-STUPR/L16 31 25 145 43 200 23 4° TP.1603.. M3.5*9 Q15 v H12M-STWCR/L11 16 12 9 20 150 11 8% TC..1102.. M2.5*7 Qo8 g
;E i& A Suitable: {83 71 )5 DEREK Insert H16N-STWCR/L11 20 16 11 27 160 15 6° TC.1102.. M2.57 Qos s
E H200-STWCR/L11 25 20 13 34 180 18 4° TC..1102.. M2.5*7 Q08 H
\\\\\ AOBK-STWCR/LO9 11 8 55 15 125 7 12° TC..0902.. M2.2*5 006 v ///f/
. AOK-STWCR/L11 14 10 & 17 125 9 10° TC..1102.. M2.5*7 Q08 I " s
2 A12ZM-STWCR/L11 16 12 9 20 150 11 8% TC..1llo2.. M2.5*7 Qoa v -
nE A16N-STWCR/L11 20 1 11 27 160 15 &° TC..1102.. M2.5*7 Qo8 ¥ nz |
N A200-STWCR/L11 25 20 13 34 180 18 4° TcC..1l02.. M2.5%7 Q08 y A
N A200-STWCR/L16 25 20 145 34 180 18 8° TC..16T3.. M3.5*9 015 f -
g i& A Suitable:#&% 71 i DEREK Insert L5
:riig 33
£ -
ol A

b4 DEREK +4 DEREK




Type S Type S

SVQ*RA SVU*R/L

- H -
[ VI[N ] |
i - -
w 1175% ' '
; LI 1 L1
- - L
- -

N
aﬂ

‘E’?F v | )

' :

s W E Nk L $53 0¥ kA Be L §2 ¥ kA

Specification Mindia d Insert Screw Wrench Water hole Specification Screw Wrench Water hole

S$12M-SVOBR/L11 17 12 105 27 150 11 10° VB..1103.. M2.5'7 Qo8 . S16N-SVUBR/L11 22 16 125 27 160 15 10° VB.1103.. M2.5*7 Q08

S16N-SVOBR/L11 22 16 115 27 180 15 10° V¥B..1103.. M2.5*7 Qo8 - 5200-SVUBR/L11 27 20 14 34 180 18 B8° V¥B.1103.. M2.5*7 Qoa

$200-SVOBR/L11 27 20 14 34 180 18 8 VB.1103.. M2.5'7 Q08 - H16N-SVUBR/L11 22 16 115 27 160 15 10° VB..1103.. M2.5*7 Q08

S16N-SVOCR/L11 22 16 115 27 160 15 8° VC..1103.. M2.5°7 Q08 - S16N-SVUCR/L11 22 16 115 27 160 15 10° VC..1103.. M2.5*7 Q08

$200-SVOCR/L11 27 20 14 34 180 18 6° VC..1103.. M2.5'7 Q08 - $200-SVUCR/L11 27 20 14 34 180 18 8 VC.1103.. M2.5*7 Q08

5200-SVOBR/L16 27 20 14 34 180 18 10° VB..1604.. M3.5%9 Q15 : H16N-SVUCR/L11 SN S0 L A | S 1 1l 880 1 U e S - Q08

S25R-SVQBR/L16 32 25 165 43 200 23 8" VB..1604. M3.5%9 Q15 - $200-SVUBR/L16 31 20 19 34 180 18 8° VB.1604.. M3.5*9 Q15

" $325-SVOBR/L16 41 32 225 54 250 30 10° VB.1604.. M3.5*9 Q15 ; $25R-SVUBR/L16 3% 25 20 43 200 23 6° VB.1604.. M3.5%9 Q15 - p

#3 S40T-SVOBR/L16 50 40 27 68 300 37 8° VEB.1604.. M3.5*Q Q15 : 5325-SVUBR/L16 42 32 225 54 250 30 8 VB..1a04.. M3.5*9 015 - &
EE $200-SVOCR/L16 27 20 14 34 180 18 8° VC.1604.. M3.5*0 Q15 - S40T-SVUBR/L16 51 40 27 BB 300 37 8° VB..1e04.. M3.5%9 015 = ‘.fg
7E S25R-SVOCR/LIE 32 25 165 43 200 23 6° VC.1604. M3.5°0 015 - S200-SVUCR/L16 31 20 19 34 180 18 8" VC.1604. M3.5"9 Q15 : "
N 5325-SVOCR/L16 41 32 225 54 250 30 8% VC.1604.. M3.5%Q Q15 - S25R-SVUCR/L16 3% 25 20 43 200 23 6" VC.1604. M3.5°9 Q15 .
\%\\ S40T-SVOCR/L16 50 40 27 62 300 37 6° VC..1604.. M3.5%Q 015 - 5325-SVUCR/L16 42 32 225 54 250 30 8° VC..1604.. M3.5*0 Q15 ,_f,»////i
FRE' A12M-SVOBR/L11 G 12 10 27 150 11 10° VE..1103.. M2.5*7 Qo8 4 S40T-SVUCR/L1G 51 40 27 68 300 37 6° VC..1604.. M3.5*9 Q15 - gg
it A18N-SVOBR/L11 52 16 115 27 160 15 10° VB.1103. M2.5°'7 Q08 . A16N-SVUBR/L11 22 16 115 27 160 15 10° VB..1103.. M2.5°7 Q08 i i
E A200-SVOBRAL11 27 20 14 34 180 18 8° VB.1103. M2.5°7 Q08 i A200-SVUBR/L11 27 20 14 34 180 18 8 VB.1103.. M2.5*7 Qo8 ' i
AN A16N-SVOCR/L11 22 16 115 27 160 15 8° VC..1103. M2.5%7 Qo8 i A16N-SVUCR/L11 22 16 115 27 160 15 10° VC..1103..  M2.5%7 Qos !
. A200-SVOCR/L11 27 20 14 34 180 18 &° VC.1103. M2.5°7 Q08 ; B e Q08 L2 7
%z AZ5R-SVOBRAI6 32 25 165 43 200 23 8 VB.1604. M3.5°9 Q15 : R e e Q15 ! 5
% A200-SVOCR/LI6 27 20 14 34 180 18 8° VC.1604. M3.5°0 Q15 . iZ M Suitable:## 3 71/ DEREK Insert =
A25R-SVOCR/L16 32 25 165 43 200 23 6" VC..1604. M3.5*9 Q15 i
e i& F Suitable:#&%= 71 K DEREK Insert -
T L,
BE &3
] o
. "
\\\\ ////

b4 DEREK »4 DEREK




Type S TypeS

SVZ*R/L SVW*R/L

@? F ﬂ'{' I : |[:

- e D

g & ¥

Specification L Center screw Wrench

Nk e T kL

Specification a Insert Screw Wrench Water hola

S16N-SVZBR/L11 29 16 115 27 160 15 10° VB..1103.. M2.5*7 Qo8 _ 5200-SVWBR/L11 29 20 18 180 34 18 52 VB..1103.. Mm2.5*7 Qo8
$200-SVZBRL11 27 a0 14 34 180 18 8° VEB..1103.. M2.5*7 Q08 P S25R-SVWER/L11 34 25 21 200 43 23 5 VB..1103.. ma2.5*7 Qo8
H16N-SVZBR/L11 22 16 115 27 160 15 10° VB..1103.. M2.5'7 Q08 - S25R-SVWBR/L16 3 25 23 200 43 23 5 VB..1604.. M3.5%9 Q15
S16MN-SVICR/L11 22 16 115 27 1e0 15 10 VC..1103.. M2.5*7 Qo8 2 5325-SVWBR/L16 45 32 26 250 54 5 VB..1604.. M3.5*9 Q15
$200-SVIGR/ML11 27 20 14 34 180 18 8° VC..1103.. M2.5*7 Qo8 - S200-SVWCR/L11 19 20 18 180 34 18 5 VC..1103.. m2.5*7 Q08
H16N-SVZCR/L11 Ly 16 115 27 1e0 15 10° VC..1103.. M2.5*7 Q08 = 525R-SVWCR/L11 34 25 21 200 43 23 5 VC..1103.. m2.5*7 Q08
S525R-SVIBR/L16 34 25 195 43 200 23 8° VB..le(4.. M3.5*0 Q15 - S25R-SVWCR/L16 38 25 23 200 43 23 5 VC..1604.. M3.5*g Q15
5325-SVIBR/L1G 42 32 235 54 250 30 6 VB..1e04.. M3.5*Q 015 B 5325-5VWCR/ML16 45 32 26 250 54 30 & VC..1604., M3.5*9 Q15
% S40T-SVZBR/L16 50 40 27 68 300 37 8° VB.le04.. M3.5"9 Q15 - i& A Suitable: &% 771 B DEREK Insert 4
HE S25R-SVICR/L16 34 25 195 43 200 23 8% VC..1e04.. M3.5"9 Q15 = "W
ﬁE 5325-SVICR/L16 42 32 235 54 250 30 6° VC..1e04.. M3.5"9 Q15 EE
) S40T-SVICR/L16 50 40 27 68 300 37 8 VC..1e04.. M350 Q15 - ”E
R, = A16N-SVZBR/L11 22 16 115 27 1ed 15 10° VB..1103.. M2.5*7 Qo8 i /"}//
SN A200-SVZBR/L11 27 20 14 34 180 18 8° VB..1103.. M2.5"7 Q08 v e
ﬁg A1GN-SVZCR/L11 22 16 115 27 1e0 15 10° VC..1103.. M2.5*7 Qo8 ] B
gg A200-SVICR/L11 27 20 14 34 180 18 8% VC..1103.. M25"7 Q08 { ng
E A25R-SVZBR/L16 34 25 195 43 200 23 8° VB..1e0D4.. M3.5"9 Q15 L) E
.| i Suitable:{83% 71 DEREK Insert 4
;3\\ /gz
s ]
e s
? :
.\\II b i
M ////

b4 DEREK }< DEREK




TypeS

SWLCR/L

as L § ¥ kL
Specification in di | Screw Wrench  Water hola

S10K-SVXBR/L11-G6 14 10 75 17 125 9 10° VB..1103. M2.5%6 Qo8 -

SIZW-SVBRA11-66 16 12 85 20 150 11 12° VB.1103. M25%6 QOB : Spembton AN Rk Y Ra

S16N-SVXBR/L11-G6 22 16 11 27 160 15 10° VB..1103. M2.5*7 Qo8 z

S$200-SVXBR/L11-G6 27 20 135 34 180 18 8 VB..1103. M2.5%6 Qo8 - SOBK-SWLCR/LO4 10 &8 5 14 125 7 13° WC..0402.. M2.5%5 Q08

H10K-SVXBR/L11-G6 14 10 75 17 125 9 15° VB..1103.. M2.5%6 Qo8 z S10K-SWLCR/LO4 13 10 65 17 125 9 10° WC..0402.. M2.5%6 Qo8

H12M-SVXBR/L11-G6 16 12 85 20 150 11 12° VB..1103.. M2.5"7 Qo8 - $12M-SWLCR/LD6 16 12 7.5 20 150 11 13° WC..06T3.. M3.5"8 Q15

H16N-SVXBR/L11-G6 22 16 11 27 160 15 10° VB..1103.. M2.5*7 Q08 - S16N-SWLCR/L0G 20 16 9.5 27 160 15 10° WC..06T3.. M3.5%8 Q15

S10K-SVXCR/L11-G6 14 10 75 17 125 9 12° VC..1103.. M2.5%6 Q08 - 5200-SWLCR/LO6 25 20 11.5 34 180 18 8 WC..06T3.. M3.5"9 Q15

$12M-SVXCR/L11-G6 16 12 85 20 150 11 10° V¥C..1103.. M2.5*6 Q08 : S25R-SWLCR/LOG 31 25 14 43 200 23 6° WC..06T3.. M3.5"9 Q15

S16N-SVXCR/L11-G6 22 16 11 27 160 15 8 VC.1103.. M2.5'7 Q08 - HO8K-SWLCR/LO4 10 8 5 16 125 7 13° WC..0402.. M2.5°5 Q08 y
N $200-SVXCR/L11-G6 27 20 135 34 180 18 &° VC..1103.. M2.5*7 Qo8 - H10K-SWLCR/LO4 13 10 6.5 20 125 9 10° WC..0402.. M2.5%6 Q08
$E H10K-SVXCR/L11-G6 14 10 75 17 125 9 12° V¥C..1103.. M2.5%6 Qo8 : H12M-SWLCR/L06 e 12 7.5 24 150 11 13° WC..06T3.. M3.5"8 Q15 ~BE
W H12M-SVXCR/L11-G6 16 12 85 20 150 11 10° VC..1103.. M2.5*6 Qo8 - H16N-SWLCR/L06 20 16 95 32 160 15 10° WC..06T3.. M3.5"8 Q15 5 f=
e H16N-SVXCR/L11-G6 22 16 11 27 160 15 8° VC..1103.. M2.5*7 Q08 - ADSK-SWLCR/LO4 10 8 5 14 125 7 13° WC.0402.. M2.5"5 Q08 ! Tk
B $16N-SVXBR/L16-G6 22 16 115 27 160 15 12° VB..1604.. M3.5*7 Q15 - A10K-SWLCR/LD4 13 10 10 17 125 9 10° WC..0402.. M2.5°6 Q08 i P
X $200-SVXBR/L16-G6 27 20 135 34 180 18 10° VB..1604.. M3.5*9 Q15 . A12M-SWLCR/LO6 e R SRS R Q15 i 5;;3
g SI5R-SVXBR/L16-G6 32 25 16 43 200 23 8°  VEBE..1604.. M3.5*0 Q15 - A16N-SWLCR/LODG 20 16 7.5 27 160 15 10° WC..06T3.. M358 015 i g
i $325-SVXBR/L16-G6 40 32 195 54 250 30 8 VB..1604.. M3.5*9 Q15 z A200-SWLCR/LOG 25 20 95 34 180 18 8 WC..06T3.. M3.5"8 Q15 ! —
& s S40T-SVXBR/L16-G6 50 40 235 68 300 37 8 VB.1604.. M3.5"9 Q15 - i& M Suitable: &5 71 DEREK Insert :
N S$16N-SVXCR/L16-G6 22 16 115 27 160 15 10° VC..1604.. M3.5°0 Q15 - y
o S200-SVXCR/L16-G6 27 20 135 34 180 18 & VC.1604. M3.5*9 Q15 7 aE
& S25R-SVXCR/L16-G6 32 25 16 43 200 23 6° VC..1604.. M3.5*9 Q15 ]
$325-SVXCR/L16-G6 40 32 195 54 250 30 8 VC..1604.. M3.5*9 Q15 7=
S40T-SVXCR/L16-G6 50 40 235 68 300 37 6 VC..1604.. M3.5*9 Q15
N H16N-SVXCR/L16-G6 22 16 115 27 160 15 10° VC..1604.. M3.5*0 Q15 - LA
®: A10K-SVXBR/L11-G6 14 10 75 17 125 9 15° VB.1103.. M2.5% Qo8 i w2
a8 A12M-SVXBR/L11-G6 16 12 85 20 150 11 12° VB..1103.. M2.5%6 Qo8 v a5
¥ A16N-SVXBR/L11-G6 22 16 11 27 160 15 10° VB..1103.. M2.5'7 Qo8 J %
A200-SVXBR/L11-G6 27 20 135 34 180 18 8 VB..1103.. M2.5*7 Qo8 Y

~ A10K-SVXCR/L11-G6 14 10 7.5 17 125 o6 12° VC..1103.. M2.5% Qo8 i L~

A12M-SVXCR/L11-G6 16 12 85 20 150 11 10° VC..1103.. M2.5% Qo8 y

A16N-SVXCR/L11-G6 22 16 11 27 160 15 8 VC..1103.. M2.5*7 Qo8 v

A200-SVXCR/L11-G6 27 20 135 34 180 18 6 VC..1103.. M2.5*7 Q08 J

A16N-SVXBR/L16-G6 22 16 11.5 27 160 15 12 VB..1e(4.. M3.5"9 Q15 1

A200-SVXBR/L16-G6 27 20 135 34 180 18 10° VB..1604.. M3.5*0 Q15 ¥

A25R-SVXBR/L16-G6 32 25 16 43 200 23 8 VB.1604.. M3.5*9 Q15 i

A16N-SVXCR/L16-G6 22 16 115 27 160 15 10° VC..1604.. M3.5*7 Q15 y

A200-SVXCR/L16-G6 27 20 135 34 180 18 & VC..1604.. M3.5%9 Q15 Y

A25R-SVXCR/L16-G6 32 25 16 43 200 23 6° VC..1604.. M3.5*9 Q15 J

i M Suitable:{&% 71 5 DEREK Insert

}< DEREK }< DEREK




"
/4
o EAE / N
|nm|mm// Etemal iming ool ¢
iy

Y/
y

7

i
A HB RS
Threzaing tood

A
s

/.
e B
[Frgy

rd
e

ot

TypeS Type S

SWUBR/L SER/L

Be Sl a3
Specification ﬁin dia d Center screw

S05H-SWUBR/LOG- A0S a8 31 100 WEBGTO060104L-W11 FaU =] ﬂug ﬁ$
S05H-SWUBR/LOG-A12 & 12 31 100 135 11 12° WEBGTO60104L-W11 M2*4 Q06 Specification Side screw  Wrench
SOGH-SWUBR/LOG-A12 7 12 36 100 160 11 15°  WBGTO60104LWIl  M2'4 Q06 SERL 1010H11 10 10 100 10 12 11ER/L. . M25:7 . Q08
SOTH-SWUBR/LOG-A12 8 12 40 100 180 11 15 WEBGTO60104L-W11 Mz2*4 Q06 1717H16 12 12 100 12 16 16ER/L.. ) M3.5%7 ) 015
HOSH-SWUBR/LOB-ACE 6 B 3.1 100 17.5 7 12°  WBGT050104L-Wi1l M2°4 Q06 1616H6 16 16 100 16 20 16ER/L.. YE()16 M3.5'12  SA3007 Q15,010
HOSH-SWUBR/LDG6-A12 & 12 31 1oo 178 11 12° WEGTOA0104L-W11 M2*4 Q06 2020K16 20 20 125 20 25 16ER/L.. YE()16 M3.5%12 SA300T Q15,010
HOGH-SWUBR/LDG6-A12 7 12 36 100 210 11 1&° WBGTOR0104L-W11 M2*4 Qo6 I595M16 25 25 150 25 32 16ER/L.. YE()16 M3.5%12 SA300T Q15,010
HOTH-SWUBR/LOG-A12 & 12 40 100 245 11 15° WBGTO60104L-W11 M2*4 Q06 3232P16 32 32 170 32 40 1BER/L.. YE(16 M3.5%12 SA3007 015,010
i& A Suitable:#E= 71k DEREK Insert 2525M22 25 925 150 25 32 22ER/L.. YE22(R) M4*14 SA3007 Q15,010
323222 32 32 170 32 40 22ER/L.. Y122(L) M4*14 SA3007 015,010
2525M27 25 25 150 25 32 27ER/L.. YE27(R) M5*16 SA3007 Q20,010
3232P27 32 32 170 32 40 27ER/L.. YI127(L) M5* 16 SA3007 020,010
2525M22U 25 25 150 25 25 22UER/L.. YE22U(R) M4*14 SA3007 015,010
J232r220 32 32 170 32 32 22UER/L.. YI22U(L) M4*14 SA3007 015,010
2525M27U 25 25 150 25 25 27VUER/L.. YE27U(R) M5*16 SA3007 Q20,010
3232P2T0 32 32 170 32 32 27UER/L.. YI27U(L) M5*16 SA3007 020,010
2020K16V 20 20 125 20 25 16VER.. - M3.5*9 - Q15
2525M16V 25 25 150 25 32 16VER.. - M3.5*9 - 015
2020K22V 20 20 125 20 25 22VER.. - M4*9 - 015
2525M22V 25 25 150 25 32 22VER.. - M4*a - 015

i FA Suitable:fE% 71 5 DEREK Insert

p< DEREK

y
y

N HEmE

Irtsamed Hurmingg boal \\\ E abarred burnineg boal

R,

\.\\

oS #HHES

W
W
W

=S
Thrasdngtod

RS
Y

i
S, EHE E’E’!ﬂ\l\\

*y

g hoal

*,
\'.

*

Y




=
Edtamal huming boal 7

/
4
o
A

o #HHE
It fumig bl

o 4
o
Y
F
v

= # AR
Thrasding toal

o
,///
Fy
i

arominglod

o M

ks
=

e
e

\\

a8
Specification

fljsges

#F

Side screw  Wrench

7R EE EEe 7RRe HE

Insert

Clamp Clamp screw Insertscrew  Spring

#F

Wrench

SIR 0005K06-A12 3 125 13.5 11 . 006
0006K06-A12 7.5 12 4.8 125 16 11 06R/L.. M2*4 006
0007K08 10 8 5.3 125 12 7 O08R/L. M2.2*6 006
0007K08-A16 10 16 5.3 125 18.5 15 O08R/L.. M2.2*6 006
0008K08 11 8 66 125 14 7 O08R/L. M2.2*6 006
0008K08-A16 15 16 5.8 125 21 15 O8R/L.. M2.2*6 006
0008K11 11 8 66 125 14 7 11R/L. M2.5°7 008
0010K11 12 10 7.4 125 17 9 11R/. M2.5*7 008
0010K1-A16 12 16 7.4 125 26 15 11R/L.. M2.5*7 008
0012K11 15 12 84 125 25 11 11R/L. M2.57 008
0013M16 16 16 10.2 150 32.5 15 16R/L.. M3.5%Q 015
0016M16 19 1611.7 150 27 15 16R/L.. ) M3.5*Q : 015
0020016 24 20137 180 34 18 16R/L.. YE()16 M3.5*0  SA3007 Q15,010
0025R16 20 2516.2 200 43 23 16R/L.. YE(I)16 M3.5*12  SA3007 015,010
0032516 36 32197 250 54 30 16R/L.. YE()16 M3.5*12  SA3007 015,010
0040TI6 44 40 237 322 68 37 16R/L.. YE()16 M3.5*12  SA3007 015,010
0050L16 54 50 28.7 350 85 47 16R/L.. YE()16 M3.5*12  SA3007 015,010
0020022 24 20 15.6 180 34 18 22R/L.. VR2R) Ma*Q . 015
0025R22 20 2518.1 200 43 23 22R/L.. il Ma*14  SA3007 Q15,010
0032522 38 3221.6 250 54 30 22R/L.. e M4*14  SA3007 Q15,010
0040722 46 40 25.6300 68 37 22R/L.. YE221L) Ma*14  SA3007 Q15,010
0050022 56 50 30.6 350 85 47 22R/L.. Mi*14  SA3007 015.010
0032527 40 32 22.6 250 54 30 27R/L.. M5*20  SA3007 Q15,010
0040T27 48 40 26.6 300 68 37 27R/L.. ,:g?;;,‘ﬁ]] M5*20 SA3007 Q15,010
0050027 58 50 31.6 350 85 47 27R/L.. M5*20  SA3007 Q15,010

i F Suitable:f&% 71 5 DEREK Insert

b4 DEREK

GTBR/L 1616H16 25 16 16 100 20 TGFleR/L GYR BOe20 M3.5*7 SP-0612 L045,015
2020K16 25 20 20 125 25 TGFleR/sL GYR BOe20 M3.5*7 SP-0612  L045,015
225mi6 2.5 25 25 150 30 TGFleR/A  GYR BOe20 M5*12 SP-0el2  L0O45,020
020Kk2215 4 20 20 12% 25 TGF22R/SL  GYR BO&20 M5*12  SP-0&l2  LO45,020
2525m22-15 4 25 25 150 30 TGF22R/L  GYR BO&20 ms*12  SP-0el2  LO45,020
202062225 4.5 20 20 125 25 TGF22R/L  GYR BOR20 M5*12 SP-0612 L0O45,020
2525M22-25 4.5 25 25 150 30 TGF22R/L  GYR BO620 M5*12  SP-0612 L045,020
2020K22-35 5.5 20 20 12% 25 TGF22R7  GYR BO&20 M5*12  SP-0&l2  LO45,020
2525M22-35 5.5 25 25 150 30 TGF22R/L  GYR BOR20 M5*12 SP-0612 L045,020

i FA Suitable:{&% 71 5 DEREK Insert
»4 DEREK

y

W

w dm

",

N
W,

SEEE

h,

o S

Rt

P

b

N

S

s, Edamlimigial

2, Inared lmag bal

4

"

Y

Thesdagioal

W
\\.
W

k-

Coragial

s

)

W

N

,




Type G

GT*R/L-L

oy

Insert

EH [EfHge 7 Hge
Clamp Clamp screw hse}-rll-tscrm Sﬁﬁg

EF
Wrench

TypeK

KTGR/L

g B

Specification 1ET
KTGR/L 1616H16 2.3 16 16 100
2020K16 2.3 20 20 125
2525M16 2.5 25 25 150

w
21 2 VE32R200 M3.5"9 Q10
25 2 VE32R200 M3.5"9 Q10
30 2 VE32R200 M3.5"9 Q10

GTBRL 1616H16L 2.5 16 16 100 20 TGF16R/L GYL BO620 M3.5*7 SP-0612 L045,015

2020616L 2.5 20 20 125 25 TGF16R/L GYL B0620 M3.5°7 SPO0612 L045,Q15

*r;\ 2525M16L 2.5 25 25 150 30 TGF16R/L GYL BO0620 M3.5*7 SP0612 L045,Q15

[H 2020622150 4 20 20 125 27 TGF22R/L GYL BO0620 M5*12 SP-0612 L045,020

i 2525M22-15L 4 25 25 150 32 TGF22R/L GYL B0620 M5*12 SP0612 L045,Q020

N3 2020622-25L 4.5 20 20 125 27 TGF22R/L GYL B0620 M5*12 SPO0s612 L045,Q20

N 2525M22-25L 4.5 25 25 150 32 TGF22R/L GYL BO620 M5*12 SP0612 L045,Q020

4 2020k22-35L 5.5 20 20 125 27 TGF22R/L GYL BO620 M5*12 SP-0612 L045,Q020

i 2525M22-35L 5.5 25 25 150 32 TGF22R/L GYL BO0620 M5*12 SP-0612 L045,020

L7k i& A Suitable:#3 71/ DEREK Insert

.\\\_
\\\\\\
\\
WE
a3
nE
'\\\\\\
wE\\\
E:‘
e
8
o
~

>4 DEREK

i& A Suitable: ¥ 71F KYOCERA Insert

KTGFR/L

il

r_
'
.,
-
S
Threaing ool

%
S
~
B

F -
-

n

@ \
B

=1 -
LY

T
Croowing ool

. I 20

\a
hS

=

s BX kR - 53
Specification iET H B L F (] Insert Screw
KTGFR/L 1616H16 2.3 16 16 100 21 2 VER3Z2R/L... M3.5"9 Q10
2020K16 2.3 20 20 125 25 2 VER3ZR/L... M3.5*9 Q10
2525M16 2.5 25 25 150 30 2 VER3ZR/L... M3.5*9 Q10
i A Suitable: =¥ 715 KYOCERA Insert
»< DEREK




Type M

MGEHR/L

Type M

MGEVR/L

+6]

281

F43 Gld G1D

e BX
Specification 1iET H
MGEVRIL 2020-2 36 20 20 125 24  MGMN200G  GS050160 LO4
2020-3 55 20 20 125 26  MGMN30O-M  GS060200 LOS e Rx
2020-4 55 20 20 125 26 MGMN40OM  GS060200 L05 Specification 2l
i& A Suitable:{#3 71 Fr DEREK Insert MGEHR/L 2020-4 18 20 20 125 20.4 GS060200 LO5
2020-4-T10 10 20 20 125 204  MGMN40O-M  GS060200 LOS
2525-4 18 25 25 150 25.4 MGMN40O-CIOM  GS060250 LO5
2525-4-T10 10 25 25 150 254  MRMNAOOM  GSO060250 LO5
MGEHR/L 3232-4 18 32 32 170 32.4 MGMRA00-CCM  GS060250 L05
3232-4-T10 10 32 32 170 32.4 GS060250 LOS
2020-5 23 20 20 150 20.5 GS060200 LO5
2020-5-T15 15 20 20 150 205  MGMNS00-M  GS060200 LO5
2525-5 23 25 25 150 25.5 MGMN500-CCM  GS060250 LOS
2525-5-T15 15 25 25 150 255  MRMN500M  GS060250 LO5
3232-5 23 32 32 170 325 MGMR500-CCM  GS060250 LO5 4
N 3232-5-T15 IR 32170 325 GS060250 LO5
43 2020-6 23 20 20 125 20.6 GS060200 LOS £
o 2020-6-T15 15 20 20 125 20.6  pmomMNeooM 65060200 LOS H
- 2525-6 23 25 25 150 25.6 \geneoo. 1M GS060250 LOS 5
2525-6-T15 15 25 25 150 25.6 GS060250 LO5
3232-6 23 32 32 170 3206  'RMNGODM - ic060250 LO5 7
;1% 3232-6-T15 15 32 32 170 32.6 GS060250 LO5 iz
i 2525-8 28 25 25 150 26.1  MRMNSOO-M GS060250 LO5 e
% x 9525-5-T15 15 25 25 150 26.1  MRMNSOO-M GS060250 LOS i
Specification 3232-8 28 32 32 170 331  MRMNSOO-M GS060250 LOS
e 3232-8-T15 16 32 32 170 331  MRMNS0OO-M GS060250 LO5 7 o
?E' MGEHR/L 1616-1.5 14.5 16 16 100 16.25 MGMN150-G G3050160 LO4 2R25_6A 23 25 25 150 75 6 MRGNEO0-A GS060250 LO5 rfﬁ-
%3 2020-15 145 20 20 125 20.25  MGMN150-G  GS050160 LO4 L e A e L e SR i &3
' 9525-1.5 145 25 25 150 25.25  MGMN150G  GS050160 LO4 Z
\ e LN 63050160 Lo4 3232-6A 23 32 32 170 32.6  MRGN6OO-A GS060250 LO5 //,;/
N : - ——— 3236ATI5 15 32 32 170 32.6  MRGNGOO-A GS060250 LO5 2
as LT 5] 145 16 16 100 16.25 — yaunsoom — GS050160 L 2525-8A 28 25 25 150 26.1  MRGNSOO-A GS060250 L05 3
e 2020-2 145 20 20 125 2025  poyNzoo-mm  GSO50160 Lo4 25258AT15 16 25 25 150 26.1  MRGNSOOA GS060250 LO5 3
' =ae e e el GS050160 LO4 3232-8A 28 32 32 170 331  MRGNB0O-A GS060250 L05 :
N 1616-2.5 le5 16 1e 100 163 psenr  GSO50160 Lo4 32328ATI5 15 32 32 170 33.1  MRGNSOO-A GS060250 LO5 y
<~ 2020-25 16.5 20 20 125 20.3 MGMN250-M G3050160 LO4 E#R Smtableﬁﬁ:ﬂ}# DEREK Insert |~
2525-2.5 165 25 25 150 25.3 GS050160 LO4
1616-3 185 16 16 100 16.35 GS060160 LOS
2020-3 18 20 20 125 204  MGMN30OM  GS060200 LOS
2020-3-T10 10 20 20 125 20.4 MGMN300-0OM GS060200 LOS
2525-3 18 25 25 150 254  MRMN30O-M  GS060250 LO5
2525-3-T10 10 25 25 150 25.4 MGMR300-00M  GS060250 LOS
3232-3 18 32 32 170 32.4 GS060250 LOS
3232-3-T10 10 32 32 170 32.4 GS060250 LO5
®TH
See next pag«\f:W
y< DEREK »4 DEREK




Type M

MGFVR/L

Bs Nk
Specification Insert
MGFVR/L 325-24/35-T10 24-35 10 25 25 150 18 MFMN30O  GS0e0200 LOS
325-29/40-T10 29-40 10 25 25 150 18 MFMN30D  GS0e0200 LOS
325-34/50-T10 34-50 10 25 25 150 18 MFMN30O  GS0e0200 LOS

425-44/60-T10 4460 10 25 25 150 25  MGMN40OO-N  GS060200 LOS

i& A Suitable:i &5 71 5 DEREK Insert

MGFHRR

4
k

425-62M120-T15 62-120 15 25 25 25 150 256
425-112/200-T15  112-200 15 25 25 25 150 256

MGMN4ADOM  GS060200 LOS
MGMN400-M  GS060200 05

)
He
L g - o3
™
iz
WE "
L E o
\\\\\\\ r
B -
%=
i
Ry LR Nk diEe T
e Specification L Center screw Wrench
gg“ MGFHRR 320-24/35-T10 24-35 10 20 20 20 125 208 3 MFMW300  GS060200 L0O5
EE 320-29/40-T10 29-40 10 20 20 20 125 208 3 MFMW300  GS060200 L0O5
. 320-34/50-T10 34-50 10 20 20 20 125 208 3 MFMW300  GS060200 |05
Y 320-44/70-T10 44-70 10 200 20 20 125 206 3 MFMW300  GS060200 L0O5
b 320-64/90-T10 64-50 10 20 20 20 125 208 3 MFMN300  GS060200 105
420-62120-T15 62-120 15 20 20 20 125 206 4 MGMN4OOM GS060200 LO5
420-112/200-T15 112200 15 20 20 20 125 206 4  MGMN4OOM G3060200 LO5
326-24/35-T10 24-35 10 25 256 25 150 256 3 MFMW300  GS060200 |05
325-29/40-T10 29-40 10 25 25 25 150 256 3 MFMN300  GS060200 LO5
325-34/50-T10 34-50 10 2b  2x 25 150 256 3 MFMNZ00  GS060200 LO5
325-44/70-T10 44-70 10 25 25 25 150 256 3 MFMN300  GS060200 LOS
325-64/90-T10 64-90 10 2b  3ax 25 150 256 3 MFMNZ00  GS060200 LO5
4
4

i FA Suitable:f&% 715 DEREK Insert

b4 DEREK

Type M

MGFHRL

&8s

Nk

i igE T

Specification W Center screw Wrench
MGFHRL 320-24/35-T10 24-35 10 20 20 125 20.6 3 MFMN200  GS060200 LOS
320-29/40-T10 29-40 10 20 20 125 20.8 3 MFMM200  GS060200 LOS
320-34/50-T10 34-50 10 20 20 125 20.6 3 MFMN200  GS060200 LOS
320-44/70-T10 44-70 10 20 20 125 20.8 3 MFMMN200  GS060200 Los
320-64/99-T10 64-90 10 20 20 125 20.6 3 MFMN200  GS060200 LOS
420-62120-T15 62-120 15 20 20 125 20.8 4 MGMNADDM  GS060200 LO5
420-112/200-T15 112-200 15 20 20 125 20.6 4 MGMNADOM  GS060200 LO5
325-24/35-T10 24-35 10 25 25 150 25.6 3 MFMMN200  GS060200 LOS
325-29/40-T10 29-40 10 25 25 150 25.6 3 MFMN200  GS060200 LOS
325-34/50-T10 34-50 10 25 25 150 25.6 3 MFMM200  GS060200 Los
325-44/T70-T10 44-70 10 25 25 150 25.6 3 MFMN300  G3060200 LOS
325-64/99-T10 64-90 10 25 25 150 25.6 3 MFMN300  GS060200 LO5
425-62120-T15 62-120 15 25 25 150 25.6 4 MGMNACOM  GS060200 LOS
425-112/200-T15 112-200 15 25 25 150 25.6 4 MGMMACOM  GSO060200 LOS
i A Suitable: &% 71 i DEREK Insert
»<4 DEREK

‘
R
%

-
R

*y

HEmE

', Edbarmed huming baal

b

W
b

4

o #HHE
., Irama lmirg lool

NS

N
o\

SHEEE
Threading ool

W
o,
L

Ny
o
N

RS 1o

L

rooving hoal

b

b




Type M Type M

MGFHLR MGFHLL

e BX i) g T s Nk iR EF

Specification W Center screw  Wrench Specification W Center screw Wrench
MGFHLR 320-24/35-T10 24-35 10 20 20 125 20.6 3 MFMN300  GS060200 L0O5 MGFHLL 320-24/35-T10 24-35 10 20 20 125 20.6 3 MFMN300  GS060200 LO5
320-29/40-T10 28-40 10 20 20 125 20.6 3 MFMMN300  GS060200 LO5 320-29/40-T10 29-40 10 20 20 125 20.6 3 MFMN300  GSD60200 LOs
320-34/50-T10 34-50 10 20 20 125 20.6 3 MFMN300  GS060200 L0O5 320-34/50-T10 34-50 10 20 20 125 20.6 3 MFMN300  GS060200 LO5
320-44/70-T10 44-70 10 20 20 125 20.6 3 MFMN300  GS060200 Los 320-44/70-T10 44-70 10 20 20 125 20.6 3 MFMN300  GSD60200 Los x §
320-64/90-T10 64-90 10 20 20 125 20.6 3 MFMN300  GS060200 L0O5 320-64/99-T10 64-90 10 20 20 125 20.6 3 MFMN300  GS060200 LO5 Ne
420-62120-T15 62-120 15 20 20 125 20.6 4 MGMN400-M  GS060200 LO5 420-62120-T15 62-120 15 20 20 125 20.8 4 MGMMNADD-M  GS060200 L0 g !
420-112/200-T15 112-200 15 20 20 125 20.6 4 MGMN40O-M  GS060200 LO5 420-112/200-T15 112-200 15 20 20 125 20.6 4 MGMMNADO-M  GS060200 LOS
325-24/35-T10 24-35 10 25 25 150 25.6 3 MFMN300  GS060200 LO5 325-24/35-T10 2435 10 25 25 150 25.6 3 MFMN300  GSD60200 LOs p
B, 325-20/40-T10 209-40 10 25 25 150 25.6 3 MFMN300  GS060200 L0O5 325-29/40-T10 29-40 10 25 25 150 25.6 3 MFMN300  GS060200 LO5 -
#E 325-34/50-T10 34-50 10 25 25 150 25.6 3 MFMM300  GS060200 | g5 325-34/50-T10 34-50 10 25 25 150 25.6 3 MFMN300  GSD&0200 Los /Eg
ﬁ 325-44/70-T10 44-70 10 25 25 150 25.6 3 MFMMN300  GS060200 LO5 325-44/70-T10 44-70 10 25 25 150 25.6 3 MFMN300  GS060200 LO5 » E
:E 325-64/90-T10 64-90 10 25 25 150 25.6 3 MFMM300  GS060200 LO5 325-64/99-T10 64-90 10 25 25 150 25.6 3 MFMM300  GS0&60200 L0O5 FE
\\\\\“ 425-62M120-T15 62-120 15 25 25 150 25.6 4 MGMNA00-M  GS060200 LO5 425-62M120-T15 62-120 15 25 25 150 25.6 4 MGMN400-M  GS060200 LOS ,“/f//
\}\q 425-112/200-T15 112-200 15 25 25 150 25.6 4 MGMMNA00-M  GS060200 LO5 425-112/200-T15 112-200 15 25 25 150 25.6 4 MGMN40O-M  GS0&0200 LOS :»,”//”
ﬁi— i& A Suitable: &% 71 /i DEREK Insert i FA Suitable:{&% 71 5 DEREK Insert {3;-
i -'-E .-.E
3 &
\\\\\ //////
w5 " WE
e ﬂi
hE hE
\ -
\\\\\\ ////
g B
BE -
ﬁé ma
: :
\\ //

Fd
R

b< DEREK b4 DEREK




Type M Type(Q

MGIVR/L QE*DR/AL

®E g/ BX » L o
Specification I T d
MGIVR/L 2016-15 20 4 16 125 11.3 MGMN150-G GS030100 L025
2520-1.5 25 4 20 150 13.1 MGMN150-G GS050120 LO4
2025-1.5 29 4 25 200 16.2 MGMN150-G GS050120 L04
2016-2 20 5 16 125 12.4 MGMN200-G GS030100 L025 QEED 1616R/L10 10 16 16 125 163 25 Z'ED****** GS050160 L04
2520-2 25 5 20 150 14 MGMN200-M GS050120 LO4 1616R/L17 17 16 16 125 163 25 Z'ED****-** GS050160 L4
2925-2 29 5 25 200 17.2 MRMN200-M GS050120 LO4 2020R/L10 10 20 20 125 20.3 25 Z'ED****-** GS060200 L05
2016-2.5 20 6 16 125 125 OR— GS030100 L025 2020RIL17 17 20 20 125 20.3 25 Z'ED****-** GS060200 L05
2520-2.5 25 6 20 150 15.1 ool GS050160 LO4 2525R/L10 10 25 25 150 25.3 25 Z'ED****-** GS060250 L05
2975-2.5 29 6 25 200 18.2 GS050160 L04 2525R/L1T 17 25 25 150 25.3 25 Z*'ED****-** GS060250 L05
2520-3 25 6 20 150 156  yaMN3ooM/G 65050120 LO4 QEFD 1616R/L10 10 16 16 125 16.3 3 Z'FD****-** GS050160 L4 4
31253 31 6 25 200 189  MOENS00-M  GS050160 LO4 1616R/L17 17 16 16 125 16.3 3 I*FD****-** GS050160 L04
3732-3 37 6 32 250 215 MRMN300-M 65050160 LO4 2020R/L10 10 20 20 125  20.3 3 Z*FD****-**  GS060200 LO5 HE
2520-4 25 6 20 150 156  MGMNAOOM/G  GS050120 LO4 2020R/L17 17 20 20 125 20.3 3 I*FD****-** GS060200 L05 &
3125-4 31 6 25 200 18.9  MGGNADO-1 M  GS050120 LO4 2525R/L10 10 25 25 150  25.3 3 Z'FD****-**  GS060250 L05 5
3732-4 37 6 32 250 215 MRMNA0OM ~ gsos0120 L04 2525R/L17 i 25 25 150 253 3 Z'FD****-** GS060250 LO5
31255 31 8 25 200 19.4 MGMNSOOW/G  GS060200 LO5 QEGD 2020R/L13 13 20 20 125 205 4  I*GD****-** GS060200 L05 7 s
3732-5 37 8 32 250 215  “EliRER GS060200 LO5 2020RA22 22 20 20 125 205 4 Z°GD****-** GS060200 LO5 iz
3725-6 31 8 25 200 19.4 MEUNSOOM/G  GS060200 LO5 2525R/L13 13 25 25 150  25.5 4 I*GD****-* GS060250 L05 72
3732-6 37 8 32 250 215 MRMNGOO-M GS060200 LO5 2525R/L22 22 25 25 150 25.5 4 I*GD****-* GS060250 L05 Y
3732-8 37 10 32 250 23.4 MRMNS00-M GS060200 LO5 3232RNL13 13 32 32 170 325 4  I*GD****-** GS060250 L05
4540-8 45 10 40 300 27.2 MGMN800-M GS060200 LO5 3232RN.22 22 32 32 170 325 4 I*GD****-* GS060250 L05 7 ws
3125-6A 31 8 25 200 19.4 MRGNG00-A GS060200 LO5 QEHD 2525R/L13 13 25 25 150 25.5 5 Z*HD****-** GS060250 L05 5
3732-6A 37 8 32 250 215 MRGN600-A GS060200 LO5 2525R/.22 22 25 25 150  25.5 5  I*HD****-* GS060250 L05
3732-8A 37 10 32 250 23.4 MRGN80O-A GS060200 LO5 3232RNL13 13 32 32 170 325 5  Z*HD****-** GS060250 L05 y
4540-8A 45 10 40 300 27.2 MRGN80O-A GS060200 LO5 3232RN.22 22 32 32 170 325 5  Z*HD****-** GS060250 L05 -
i Suitable: % 71} DEREK Insert QEKD 2525R/L13 13 25 25 150 25.6 6 Z'KD****-** GS060250 L05 BE
2525R /.22 22 25 25 150  25.6 6  Z'KD****-** GS060250 L05 "
3232RNL13 13 32 32 170 326 6  Z*KD****-** GS060250 L05 n
3232RN.22 22 32 32 170 326 6  Z'KD****-** GS060250 L05 y

i& A Suitable:{ &5 71 DEREK Insert

b4 DEREK b4 DEREK




TypeQ TypeQ

)l [l 1ot QF*DL

L1 El—’:h
: | [ -
o (e @
L - f_,_rw - —

] Sgéiw Wgn? h Sper?ﬁciéﬁnn ] E?rgw WEE h
QFFD 2525LL10-48H 48-66 10 25 25 150 26 3 ITFDO303-MG  GS060250 LOS QFFD 2525R/L10-48L 48-66 10 25 25 150 26 3 ITFDO303MG  GS0e0250 LOS
2525LL17-48H 48-66 17 25 25 150 26 3 ITFDO303-MG  GS060250  LOS 2525R/1L17-48L 48-66 17 25 25 150 26 3 ZTFDO303-MG  GS0e0250  LOS
2525LL10-60H 60-80 10 25 25 150 26 3 ITFDO303-MG  GS060250 LOS 2525R/L10-60L 60-80 10 25 25 150 26 3 ITFDO303MG  GS0e0250 LOS
2525LL17-60H BO-20 17 25 25 150 26 3 ITFDO303-MG  GS060250  LOS 2525R/1L17-60L B0-80 17 25 25 150 26 3 ITFDO303-MG  GS060250  LOS
2525LL10-74H 74-110 10 25 25 150 26 3 ITFDO303-MG  GS060250 LOS 2525R/L10-T4L 74-110 10 25 25 150 26 3 ITFDO303MG  GS0e0250 LOS
2525LL17-7T4H 74-110 17 25 25 150 26 3 ITFDO303-MG  GS060250  LOS 2525R/1L17-T4L 74-110 17 25 25 150 26 3 ZTFDO303-MG  GS060250  LOS
2525LL10-100H 100-150 10 25 25 150 26 3 ITFDO303-MG  GS060250 LOS 2525R/L10-100L 100-150 10 25 25 150 26 3 ITFDO303MG  GS0e0250 LOS
2525LL17-100H 100-150 17 25 25 150 26 3 ITFDO303-MG  GS060250  LOS 2525R/1L17-100L 100-150 17 25 25 150 26 3 ITFDO303-MG  GSO060250  LOS
aQFGD 2525LL13-52H 5272 13 25 25 150 26 4 ITGDD404-MG  GS060250 LOS OFGD 2525R/L13-52L 52-72 13 25 25 150 26 4 ITGDO404A-MG GS0e0250 LOS
R . 2525L122-52H 5272 22 25 25 150 26 4  ZITGDOADA-MG GS0B0250 LOS 2525R/122-52L 52-72 22 25 25 150 26 4  ZTGDOACA-MG GSOe0250 LOS -
#E 2525LL13-64H 64-100 13 25 25 150 26 4 ZTGDOAQ4-MG GS060250 LOS 2525R/L13-64L 64-100 13 25 25 150 26 4  ZTGDOAQA-MG GS0e0250 LOS 2 i.rg
':: _E 2525L122-64H 64-100 22 25 25 150 26 4 ITGDO404-MG  GS0&e0250 LOS 2525R/122 641 64-100 22 25 25 150 26 4 ITGDO404A-MG  GS0e0250  LOS l',";
"_'E 2525L1L13-90H a0-140 13 25 25 150 26 4 ITGDD404-MG  GS060250 LOS 2525R/113-90L 90-140 13 25 25 150 26 4  ITGDO404A-MG GS0e0250 LOS :E
R 25251 122-90H 90-140 22 25 25 150 26 4 ZTGDOA04-MG GS060250 LOS 2525R/122-00L 90140 22 25 25 150 26 4 ZTGDO404-MG GSO060250 LO5 2
25251 113-130H 130230 13 25 25 150 26 4 ZTGDOAOAMG GS060250 LO5S 2526R/13130L 130230 13 25 25 150 26 4 ZTGDO4DAMG GS060250 LO5 y
'J-",:E 2525L122-130H 130-230 22 25 25 150 26 4 ITGDOD404-MG  GS0&e0250 LOS 2525R/122-130L 130-230 22 25 25 150 26 4 ITGDO404A-MG  GS0e0250  LOS ,-J,:f.
1,,—% QD 2525LL13-58H 5896 13 25 25 150 26 5 ZTHDOS504-MG  GS060250 LOS QOFHD 2525R/L13-58L 5896 13 25 25 150 26 5 ZTHDOS04-MG GS060250 LOS lE
L g 2525L122-58H 58-96 22 25 25 150 26 5 ZTHDOS04-MG  GS060250 LOS 2525R/122-58L 58-96 22 25 25 150 26 5 ZITHDOS04-MG GS060250  LOS i i)
[ ‘1\\\ 2525L1L13-86H 86-140 13 25 25 150 26 5 ZTHDOS504-MG  GS060250 LOS 2525R/1L13-86L 86-140 13 25 25 150 26 5 ZITHDOS04-MG GS060250 LOS /J/
’;ﬁ- 2525L122-86H 86-140 22 25 25 150 26 5 ZTHDOS04-MG  GS0&60250 LOS 2525R/1.22-86L 86-140 22 25 25 150 26 5 ZITHDOS04-MG GS060250  LOS 'ff;g
“T_g 2525L1L13-130H 130-200 13 25 25 150 26 5  ZTHDOS504-MG  GS060250 LOS 2525R/113-130L 130-200 13 25 25 150 26 5 ZTHDOS04-MG GS060250 LO5 ]
L TE 2525L122-130H 130-200 22 25 25 150 26 5 ZITHDOS04-MG GS0B0250 LOS 2525R/122-130L 130-200 22 25 25 150 26 5 ZITHDOS504-MG  GS0e0250 LOS 72
= 2525L1L13-185H 185400 13 25 25 150 26 5 ZITHDOS04-MG GS060250 LOS 2525R/113-185L 185-400 13 25 25 150 26 5 ZTHDO504-MG GS0e0250 LOS ,/z,’f
N 25251L122-185H 185400 22 25 25 150 26 5 ZTHDOS04-MG  GS060250 LOS 2525R/122-185L 185-400 22 25 25 150 26 5 ITHDOSD4-MG GSOe0250 LOS :,;'f”_
E% 1 OFKD 2525LL13-60H 60-100 13 25 25 150 26 & ZTKDO&OB-MG GS060250 LOS QKD 2525R/L13-60L 60-100 13 25 25 150 26 & ITEDO60B-MG  GS0e0250 LOS E;
& 2525L122-60H B0-100 22 25 25 150 26 &  ZTKDODEOB-MG GS060250 LOS 2525R/122-60L 60-100 22 25 25 150 26 6 ITEDOG0OB-MG  GS060250  LOS EE
E 2525L1L13-88H 88-180 13 25 25 150 26 6 ZTKDOGOB-MG GS060250 LOS 2525R/113-88L 88-180 13 25 25 150 26 6 ITKDOBOE-MG GS060250 LOS ; _
*'\'\ 25251L122-88H 88-180 22 25 25 150 26 & ITKDOBOD&-MG GS0B0250 LOS 2525R/122-88L 88-180 22 25 25 150 26 (= ITKDOBOB-MG GS060250 LOS :'//
~ 2525L1L13-160H 160-400 13 25 25 150 26 6 ITKDOGOB-MG GS060250 LOS 2525R/113-160L 160-400 13 25 25 150 26 & ITKDOG0B-MG GS060250 LOS i
2525L122-160H 160-400 22 25 25 150 26 &  ZTKDODEOB-MG GS0D6e0250 LOS ~ 2525R/122-160L 160-400 22 25 25 150 26 [ ITEDOG0OB-MG  GS060250  LOS
i F Suitable:f&% 71 5 DEREK Insert i& A Suitable: &% 71 /i DEREK Insert

b4 DEREK >4 DEREK




TypeQ TypeQ

QF*D**RR** QEQ

L1

r "

s BX

Specification w Specification T w
QFFD 2525RR10-48H 4866 10 25 25 150 26 3 ZTFDO303-MG GS060250 L05 0Z0 1616R/L03 16 16 16 100 164 3  ZQMX3N11-1E  GS050160 LO4
2525RR17-48H 4866 17 25 25 150 26 3  ZTFDO303-MG GS060250 LO5 2020R/L03 20 20 20 125 204 3 ZQMX3N1l-lE  GS050160 LO4
2525RR10-60H 6080 10 25 25 150 26 3 ZTFDO303-MG GS060250 LOS 2525R/L03 20 25 25 150 254 3 ZQMX3N11-1E  GS060200 LO5
2525RR17-60H 6080 17 25 25 150 26 3 ZTFDO303MG GS060250 LO5 3232R/L03 25 32 32 170 254 3 ZQMX3N11-1E  GS060200 LO5
2525RR10-74H 74110 10 25 25 150 26 3 ZTFDO303-MG GS060250 LO5 1616R/L04 16 16 16 100 16.4 4  ZQMX4N11-1E  GS050160 LO4
2525RR17-74H 74110 17 25 25 150 26 3  ZTFDO303-MG GS060250 LO5 2020R/L04 20 20 20 125 204 4  ZQMX4N11-1lE  GSO050160 LO4
2525RR10-100H 100-150 10 25 25 150 26 3 ZTFDO303-MG GS060250 LOS 2525R/L04 20 25 25 150 254 4  ZQMX4N11-1E  GS060200 LO5
2525RR17-100H 100-150 17 25 25 150 26 3 ZTFDO303-MG GS060250 LO5 3232R/L04 25 32 32 170 254 4  ZQMX4N11-1E  GS060200 LO5
QFGD 2525RR13-52H 5272 13 25 25 150 26 4 ZTGD0404MG GS060250 LO5 i A Suitable: #3571 v DEREK Insert
2525RR22-52H 5272 22 25 25 150 26 4 ZTGDO404-MG GS060250 LO5 2
2525RR13-64H 64-100 13 25 25 150 26 4 ZTGDO404-MG GS060250 LO5 7 0B
2525RR22-64H 64-100 22 25 25 150 26 4 ZTGDO404MG GS060250 LO5 LH
2525RR13-90H 90-140 13 25 25 150 26 4 ZTGDO404MG GS060250 LO5 s
2525RR22-90H 90-140 22 25 25 150 26 4 ZTGDO40A-MG GSO060250 LO5 LY
% 2525RR13-130H 130230 13 25 25 150 26 4 ZTGDO404MG GS060250 LOS
HE ) 2525RR22-130H 130230 22 25 25 150 26 4 ZTGDO404MG GS060250 LO5 #E
at QFHD 2525RR13-58H 5806 13 25 25 150 26 5 ZTHDO504-MG GS060250 LO05 %
- 2525RR22-58H 58-96 22 25 25 150 26 5 ITHDO504-MG GS060250 LO5 5 ]
2525RR13-86H 86-140 13 25 25 150 26 5 ZTHDO504-MG GS060250 LO5
2525RR22-86H 86-140 22 25 25 150 26 5 ZTHDO504-MG GSO060250 LO5
gg 2525RR13-130H 130200 13 25 25 150 26 5 ZTHDO504-MG GS060250 LOS ne
;. 2525RR22-130H 130-200 22 25 25 150 26 5 ZTHDO504-MG GS060250 LO5 v
R 2525RR13-185H 185400 13 25 25 150 26 5 ZTHDO504-MG GS060250 LO5 A
N 2525RR22-185H 185-400 22 25 25 150 26 5 ZTHDO504-MG GSO060250 LO5 Py
L QFKD 2525RR13-60H 60-100 13 25 25 150 26 6 ZTKDOGOSMG GS060250 LO5 (g8
bE 2525RR22-60H 60-100 22 25 25 150 26 6 ZTKDOGOSMG GSO060250 LO5 G5
1 2525RR13-88H 88180 13 25 25 150 26 6 ZTKDOGOSMG GS060250 LO5 .
< 2525RR22-88H 88180 22 25 25 150 26 6 ZTKDOGOSMG GSO060250 LO5 >
2525RR13-160H 160-400 13 25 25 150 26 6 ZTKDO608MG GS060250 LO5 >
2525RR22-160H 160-400 22 25 25 150 26 6 ZTKDO608-MG GS060250 LOS

i F Suitable:fE % 71 5 DEREK Insert

b4 DEREK b4 DEREK




Type Q TypeS

Q*DR/L SNGR/L

s &N EBX #HF BE b)) L $24 F
Specification mIEE g7 Wrench Specification nI&E w Screw Wrench
G200-QEDR/LOG-27 27 5 20 180 15.2 2.5 TTED*** ** GS050120 LO4 SNGR/L O8HO7 10 a8 5.8 100 16 1.7 2 JGR200 M2.2*5 Q06
C25R-0EDR/LOT-33 33 7 25 200 20.3 2.5 ZRED***** GS050160 LO4 10K07 12 10 6.8 125 20 1.7 2 JGR200 M2.2*6 Q06
G325-0EDR/L09-42 42 g az 250 25.3 2.5 G5050160 LO4 10K08 14 10 1.6 125 20 2.2 3 BGR300 M2.2*7 Q06
C200-0FDR/LDG-27 27 5 20 180 15.2 3 ZTED****+ GS050120 LO4 12M08 16 12 8.6 150 24 2.2 1 B8GR100O Mz2.2*7 Q06
C25R-QFDR/LOT-33 33 7 25 200 20.3 3 ZRED***** G5050160 LO4 16009 20 16 11.5 180 32 3.2 3 QGR300 M2.5*9 Qo8
C325-0FDR/09-42 42 9 3z 250 25.3 3 GS050160 LO4 20R09 24 20 13.6 200 40 3.2 3 QGR300 M2.5*9 Qo8 §
C25R-0GDR/LOB-35 35 a8 25 200 21.5 4 ITGD *** G3050160 LO4 i& Al Suitable:ZTRE= 1 F TUNGALOY Insert ; E
C325-0GDR/ML11-44 44 11 3z 250 27.5 4 ZRGD***** GS050160 LO4 ! !
 CAOT-OGDR/L13-54 54 13 40 300 335 4 GS050160 LO4 5l
C25R-0HDR/LOB-35 35 8 25 200 21.5 5 ZTHD* **** GS050160 LOS
C32S-QHDRAL11-44 44 11 32 250 275 5 gpppes+++  GS060200 LO5 4
N C40T-OQHDR/M13-54 54 13 40 300 335 5 GS06e0200 LOS -
2E C25R-QKDR/L08-35 35 8 25 200 215 6  oo..... GS060160 L05 4
5t £325-0KDR/11-44 44 11 32 250 275 6  Zppee+e+ GS060200  LO5 X
B E CA0T-0KDR/L13-54 54 13 40 300 335 & GS060200 LOS g y
\\ i Fl Suitable:fE % 71 5 DEREK Insert /
“F i
"
N 7
S ////
.z 4 e
-
x] Y
R /
N /;3
L) B
BE 5
3 E
| J‘T/

D80 >4 DEREK b4 DEREK




DP

DP-2-E / Square / Standard / 2 Flutes
DP-2-E 78 7] B4l F 331 k71

Y
*
*y
Y
Y

24
= B e
HLEAPE
a HHTI FENI FENI &NENI AR  WEHT /f ;; 5
y of
e H . -_2/:
" L - y
i [ /. o
s [ T = (]
- = L
- L - g%
Speg'l?ati on d H /;?55?
DP- D1.0S-50-2T-E 2 A 1.0 4 3 50 j g
D1.55-50-2T-E 2 A 15 4 4 50 e
D2.05-50-2T-E 2 A 2.0 4 6 50 58
D2.55-50-2T-E 2 A 25 4 8 50 -//
D3.05-50-2T-E 2 A 30 4 8 50 =
04.05-50-2T-E 2 B 4.0 4 11 50 B
D1.0-50-2T-E 2 A 1.0 6 3 50 al
D1.5-50-2T-E 2 A 15 6 4 50 me
02.0-50-2T-E 2 A 2.0 6 6 50 -
02.5-50-2T-E 2 A 25 6 8 50 /”/
D3.0-50-2T-E 2 A 30 6 8 50 -
D3.5-50-2T-E 2 A 35 6 10 50 g ;
D4.0-50-2T-E 2 A 40 6 11 50 ne
D4.5-50-2T-E 2 A 45 6 11 50 L
D5.0-50-2T-E 2 A 5.0 6 13 50 ns
D5.5-50-2T-E 2 A 55 6 16 50
D6.0-50-2T-E 2 B 6.0 6 16 50
D7.0-60-2T-E 2 A 70 8 20 60
D8.0-60-2T-E . B 8.0 8 20 60
D9.0-75-2T-E 2 A 9.0 10 22 75
D10.0-75-2T-E 2 B 100 10 25 75
D11.0-75-2T-E 2 A 11.0 12 26 75
D12.0-75-2T-E 2 B 120 12 30 75
D14.0-75-2T-E 2 B 14.0 14 32 75
D16.0-100-2T-E 2 B 16.0 16 45 100
D18.0-100-2T-E 2 B 18.0 18 45 100
D20.0-100-2T-E 2 B 20.0 20 45 100

BiENTHEHERSE 2585 @& WWork Piece Table © Excallent - Good
i hn T4+ ¥} Work Piece

ey pr——— AT B, HESK BAE BAE HAR MAAS
Eﬁm .ﬂ.E}r tea| _ Pre-hardened steel. Hardened steel ~ Stainless Cﬁg&;;‘. D;f M;'i;}“m T'a“b";m m':.ggf -

steel ~40HRC ~50HRC ~55HRC ~68HRC cast iron alloy

b4 DEREK




DP

DP-2-EL / Square / Long / 2 Flutes

DP

DP-4-E / Square / Standard / 4 Flutes

DP-2-EL # 71 B4R 71 Tk 31 70 DP-AE /7] ARk T pd
1 ;3
L ks r -~ i EE
N vl Ea@r olI5E] 7] - | ZIp
g;\ a NI FWMI FWNI 4MENT #EE @D a’ NI FENI FEMI SMENI EWE  mEnT {i
mE . 2 3
P S e CHE S Sl
8 10 H we LA 7

i
*’%
-rd-r-
Afi‘ T
-nn-h-

-udn.-

=|=+

|

|

|

|

I:l T

R

A\
S

: 2 (e Tmism P —E: 2 f{Nate Tommvem R q L LW 1
mi = - Hi
1 ns 7ty = it
a i~ BT= Specification Teeth Figure d H 8
\ Specification Figure d DP- D1.0S-50-4T-E 4 A 1.0 4 3 50 /*”'ﬁ
:EE DP- D3.0-75-2T-EL 2 A 3.0 6 12 75 D1.55-50-4T-E 4 A 15 4 4 50 g1
H D4.0-75-2T-EL 2 A 4.0 6 15 75 D2.0S-50-4T-E 4 A 2.0 4 6 50 nk
g D5.0-75-2T-EL 2 A 5.0 6 20 75 D2.55-50-4T-E 4 A 25 4 8 50 £ )
\ D6.0-75-2T-EL 2 B 6.0 6 20 7 D3.0S-50-4T-E 4 A 3.0 4 8 50 /
%z o 2 s a8 ;i & ol D4.05-50-4T-E 4 B 40 4 i 50 «T
_% £ BT D0 AR £ = i il s it D1.0-50-4T-E 4 A 1.0 6 3 50 1
E : b bl e 2 < B - L = o D1.5-50-4T-E 4 A 15 6 4 50 E :
z* B 2L E B L i ! it D2.0-50-4T-E 4 A 2.0 6 6 50 T
2 D16.0-150-2T-EL 2 B 16.0 16 50 150 e ) - ye . . o0 2
\ D20.0-150-2T-EL 2 B 20.0 20 55 150 . ’ /
D3.0-50-4T-E 4 A 30 6 8 50
E” D3.5-50-4T-E 4 A 35 6 10 50 ;ﬂ
EE D4.0-50-4T-E 4 A 4.0 6 11 50 ﬁ
& E D4.5-50-4T-E 4 A 45 6 11 50 & §
7 D5.0-50-4T-E 4 A 5.0 6 13 50 ni
D5.5-50-4T-E 4 A 55 6 16 50
D6.0-50-4T-E 4 B 6.0 6 16 50
D7.0-60-4T-E 4 A 70 8 20 60
D8.0-60-4T-E 4 B 8.0 8 20 60
D9.0-75-4T-E 4 A 9.0 10 22 75
D10.0-75-4T-E 4 B 100 10 25 75
D11.0-75-4T-E 4 A 110 12 26 75
D12.0-75-4T-E 4 B 12.0 12 30 75
D14.0-75-4T-E 4 B 140 14 32 75
D16.0-100-4T-E 4 B 16.0 16 45 100
D18.0-100-4T-E 4 B 180 18 45 100
D20.0-100-4T-E 4 B 20.0 20 45 100

BiEMTHEERSE exEs o me  @Work Piece Table o Excallent - Good

0 THF# Work Piece

. i AW Wik, KE%SR Aes BmeE Hes WRaE
m N%isﬁel pmhamergf sﬂmﬁ-ﬁﬁmd stea]  Stainless Cast iron, Cgﬂ]p;rer Aluminium Titanium  Heat

steel ~40HRC -50HRC -55HRC ~68HRC el Nodular sy il st

BiENMTHEERSE exms  @me  @Work Piece Table © Excallent - Good

N THE Work Piece

FiEE ., HEs AHE B, HESS Had Sf5E Hade WASE
m N%risﬁel Pre-hardenad slaeel‘mHardened steel  Stainless  Cast iron, C;)lphp;r Aluminium Titanium  Heat

Steel ~40HRC -50HRC -55HRC ~gsHRC ool MNodular shy’  alop giant

b< DEREK +<4 DEREK




DP

DP-4-EL / Square / Long / 4 Flutes
DP-4-EL M7 Bkt 7]

i

i’

f-1
Tt ko o /

ik

A

EEHEEN
. o e

b= |

%

o [T I R

R HEE B ENH

[H far ke ied mlahl

BE
Specification

DP- D3.0-75-4T-EL
D4.0-75-4T-EL
D5.0-75-4T-EL
D6.0-75-4T-EL
D8.0-100-4T-EL
D10.0-100-4T-EL
D12.0-100-4T-EL
D14.0-100-4T-EL
D16.0-150-4T-EL
D20.0-150-4T-EL

V4

2

=

e
Pl s

%

DFix Wgh parhrmesn

T e

S SR S S SO S SR S S
D @ W W W mm B =

3.0
4.0
5.0
6.0
8.0
10.0
12.0
14.0
16.0
20.0

sl 7] - | %

BNT FWMNI FWNI SMTNT TN WEnT

- v o) A
W05 _H
i L
T ESSTol o
H
i L &
d
& 12 75
(= 15 75
& 20 75
(= 20 75
& 25 100
10 20 100
12 35 100
14 40 100
16 50 150
20 55 150

CARBIDE END-MILLS

S5 i B AR S S

BiENTHENEASR esss ms  W@Work Piece Table o Excellent - Good

BB, BB
i Aﬁﬁg&l Prehardenni cioel. 1 iagened steel

steel ~40HRC ~50HRC ~55HRC -68HRC

Stainless
steel

#hn T+ Work Piece
T B, REBE s B2eE Hes: mngs

Cast iron, r Aluminium Titanium  Heat
Modular alloy alloy alloy res'::]t?nt
a

cast iron

DP

DP-4-G-E / Square / Standard / 4 Flutes
DP-A-GE M7 B3k 15k 7]

] 7] - | Z

RMHT  FEMI FENI #MEMI N NN

i i
PR PR U Py | fa] B
'u' r H L]

e Ei%ni e 11
2 [Rells D ' a

s

Specification d H L
DP- M.05-50-4T-G-E 4 A 1.0 4 3 50
[1.55-50-4T-G-E 4 A 15 4 4 50
D2.05-50-4T-G-E 4 A 2.0 4 = 50
02.55-50-4T-G-E 4 A 25 4 a8 50
D3.05-50-4T-G-E 4 A 3.0 4 a8 50
D4.05-50-4T-G-E 4 B 4.0 4 11 50
01.0-50-4T-G-E 4 A 1.0 6 3 50
[1.5-50-4T-G-E 4 A 15 51 4 50
02.0-50-4T-G-E 4 A 2.0 6 6 50
02.5-50-4T-G-E 4 A 25 6 a8 50
D3.0-50-4T-G-E 4 A 3.0 & a8 50
03.5-50-4T-G-E 4 A 35 5 10 50
04.0-50-4T-G-E 4 A 4.0 6 11 50
04.5-50-4T-G-E 4 A 45 5 11 50
05.0-50-4T-G-E 4 A 50 6 13 50
05.5-50-4T-G-E 4 A 55 5 16 50
D6.0-50-4T-G-E 4 B 6.0 6 16 50
07.0-60-4T-G-E 4 A 7.0 a8 20 (1]
08.0-60-4T-G-E 4 B 8.0 a8 20 60
09.0-75-4T-G-E 4 A 9.0 10 22 75
M0.0-75-4T-G-E 4 B 10.0 10 25 75
011.0-75-4T-G-E 4 A 11.0 12 26 75
012.0-75-4T-G-E 4 B 12.0 12 30 75
014.0-75-4T-G-E 4 B 14.0 14 32 75
016.0-100-4T-G-E 4 B 16.0 16 45 100
0138.0-100-4T-G-E 4 B 18.0 18 45 100
020.0-100-4T-G-E 4 B 20,0 20 45 100

BiENTHESEAR  esss ms  W@Work Piece Table < Excellent - Good

## hn T4 % Work Piece

R, R TEW o, RE%% HocE Bos a8 WS
éﬂaﬁ .ﬂgﬁ'ﬂel Prehardened sl:eeI‘ﬂEHardened stee| Stainless  Castiron, Co%rer Aluminium Titanium  Heat

allay

steel ~40HRC -50HRC -55HRC ~egHRe  Steel  Nodwar —aloy aloy alloy resstant

p< DEREK

b4 DEREK

ALY

g

™,

-l e
Touthwkcad viem

g

o WEH B
[ER TS

e HEE B ANHO
IH b harchred ikl

o H B 0

=
[ 100 et parposs:

o %, o7
OF k¥ Highparkammca

HEEHE FER T

S A B Y
CARBIDE END MILLS k.




DP DP

DP-4-G-EL / Square / Long / 4 Flutes DP-2-B / Ball / Standard / 2 Flutes
\ DP4-GEL M7 EHKmFEKIHE N DP-2-B A 71 E#HEk kgt 7] A
. e
:$ . .
& wd4EAP w@E i
\ E HMT  EENT FEMI ANWNT SOK  WENT E T wn ey {
%5 —— " o —— o8 F‘: N Ei
Ti - 107 . T
5 ; L . N :
L e s e - IR Pm D gt
L§ —— W@TIAIN H L e "
) e — - ] ] £
i = = Spefication Figire d H &
\{;E ﬁ.,; . A= -~ gure =
2\ Specification e Figure d DP- R0.55-50-2T-B 2 A 1.0 05 4 2 50 <4
me DP- D3.0-75-4T-G-EL 4 A 3.0 6 12 75 R0.755-50-2T-B 2 A 15 075 4 3 50 1
%E D4.0-75-4T-G-EL 4 A 4.0 6 15 75 R1.05-50-2T-B 2 A 2.0 1.0 4 4 50 % g
s D5.0-75-4T-G-EL 4 A 5.0 6 20 75 R1.255-50-2T-B 2 A 25 1.25 4 5 50 e
\ D6.0-75-4T-G-EL 4 B 6.0 6 20 75 R1.55-50-2T-B 2 A 3.0 15 4 6 50
E D8.0-100-4T-G-EL 4 B 8.0 8 25 100 R2.0S-50-2T-B 2 B 4.0 20 4 8 50 gg
& [10.0-100-4T-G-EL 4 B 10.0 10 30 100 R0.5-50-2T-B 2 A 1.0 05 6 2 50 i
EE D12.0-100-4T-G-EL 4 B 12.0 12 35 100 R0.75-50-2T-B 2 A 15 0.75 6 3 50 ;i;
E; D14.0-100-4T-G-EL 4 B 14.0 14 40 100 R1.0-50-2T-B 2 A 2.0 1.0 6 4 50 I
S D16.0-150-4T-G-EL 4 B 16.0 16 50 150 R1.25-50-2T-B 2 A 25 1.25 6 5 50
E D20.0-150-4T-G-EL 4 B 20.0 20 55 150 R1.5-50-2T-B 2 A 3.0 1.5 6 6 50 P
] R1.75-50-2T-B 2 A 35 1.75 6 8 50 -
E; R2.0-50-2T-B 2 A 4.0 20 6 8 50 #:
#l R2.5-50-2T-B 2 A 5.0 25 6 10 50 g -
§§ R2.75-50-2T-B 2 A 55 275 6 12 50 ﬁ%
7 R3.0-50-2T-B 2 B 6.0 3.0 6 12 50 7
R3.5-60-2T-B 2 A 7.0 35 8 14 60
R4.0-60-2T-B 2 B 8.0 4.0 8 16 60
R4.5-75-2T-B 2 A 9.0 4.5 10 18 75
R5.0-75-2T-B 2 B 10.0 5.0 10 20 75
R6.0-75-2T-B 2 B 12.0 6.0 12 24 75
R7.0-75-2T-B 2 B 14.0 7.0 14 28 75
R8.0-100-2T-B 2 B 16.0 8.0 16 32 100
R10.0-100-2T-B 2 B 20.0 10.0 20 40 100
WiEMIFEHERS  +uas @&  WWork Piece Table © Excallent - Good BEMIHE{ERS *=22s =5  EWWork Piece Table © Excallent — Good
##% fm T #5 ¥ Work Piece # im T#4 % Work Piece
(;‘ar!bﬁ Aﬁ %‘E ol prﬁamﬁéﬁﬁaﬁ-ﬁﬁm steal SE?IE;';S M&sﬁ%ﬁﬂa Ejﬁfr Nﬁ'lﬁ'l;im lﬁmﬁnfn ﬂﬁ&éﬁi (;‘ar!bﬁ Aﬁ %‘E ol pmamﬁéﬁﬁéhﬁgﬁm steal Sgﬁgs Eﬁcasﬁ%ﬂﬂﬁ ﬂu?clfr ?m%iﬁn lﬁmﬁnfn ﬂﬁiﬁi
Hoa MOV~ i0HRC ~50HRC -55HRC ~68rRe  Steel  Noduar' - alloy alloy  aloy resistant Hoa MOV~ 0HRC ~50HRC -55HRC ~68HRe  Steel  Noduar' tly  aloy skl

b4 DEREK p< DEREK




DP DP

DP-2-BL / Ball / Long / 2 Flutes DP-2-R / Corner Radius / Standard / 2 Flutes
b DP-2-BL /™ 7] EtRicimEk k31 gk 70 DP-2R ¥ 71 EAR RIS 3L £k 7] > 4
N )
4 (@] W] 7] - | ZBNE
\ m HinT  BEENT SN a T FEMI EENT &N minﬁ Ll Fih /
& i . £ g
5 - — - I o] 2t
E : 10°% e lﬂ"'kL JH. ; a
d - L R m
EETII Dﬂ? 0--40.020 <001 @ IR e al B — B
?\ %J ' 'H'HM[M 12":' o D H: ] 'ﬁ% : % %‘ﬁﬁ E 0-0.020 QB B ;;E
! i
: . - . mE
i E Speﬁi?ati on ]?E:lléﬁ'i FEITE i H Spe%?atinn 1?'3]'3 Fﬂéufﬂ R d H - E ;
\SX DP- R1.0-75-2T-BL 2 A 20 1.0 6 4 75 DP- D1.0R0.2-50-2T-R 2 1.0 02 4 3 50 o
g, R1.25-75-2T-BL 2 A 2.5 1.25 3 5 75 D1.5R0.2-50-2T-R 2 A 15 02 4 4 50 21
! g R1.5-75-2T-BL 2 A 3.0 15 6 6 75 D2.0R0.2-50-2T-R 2 A 2.0 02 4 6 50 JI;JIE
: RITTBL  2 ) 35 175 6 8 75 T ; : z 5 g : D
R2.0-75-2T-BL 2 A 4.0 2.0 6 8 75 : 7
K;T\\ D2.5R0.5-50-2T-R 2 A 25 0.5 4 8 50 /
z R2.5-75-2T-BL 2 A 5.0 25 6 10 75 o . . e " p : = i
; R2.75-75-21-BL 2 A 55 275 6 12 75 e 2 A 30 03 4 8 50 '
E E R3.0-75-2T-BL 2 B 6.0 3.0 6 12 75 D3.0R0.5-50-2T-R 2 A 3.0 0.5 4 8 50 me
e R3.5-75-2T-BL 2 A 7.0 3.5 8 14 75 D4.0R0.2-50-2T-R 2 B 10 02 1 11 50 i
s R4.0-100-2T-BL 2 B 8.0 4.0 8 16 100 D4.0R0.3-50-2T-R 2 B 40 03 4 11 50 y
g ) R4.5-100-2T-BL 2 A 9.0 4.5 10 18 100 D4.0R0.5-50-2T-R 2 B 40 05 4 11 50 : #
<! R5.0-100-2T-BL 2 B 10.0 5.0 10 20 100 D4.0R1.0-50-2T-R 2 B 4.0 1.0 4 11 50 i
a R6.0-100-2T-BL 2 B 120 6.0 12 24 100 g E ) ad i 2 i =t gi
§ R7.0-100-2T-BL 2 B 14.0 70 14 28 100 D5.0R0.5-50-2T-R 2 A 5.0 ] 6 L 50 &t
- R8.0-150-27-BL 2 B 16.0 8.0 16 32 150 L et 2 L 2 il a i 2 &;
& R10.0-150-2T-BL 2 B 20.0 10.0 20 40 150 il 2 8 6.0 03 o 16 20 Bl
D6.0R0.5-50-2T-R 2 B 6.0 05 6 16 50
D6.0R1.0-50-2T-R 2 B 6.0 1.0 6 16 50
D8.0R0.3-60-2T-R 2 B 80 03 8 20 60
D8.0R0.5-60-2T-R 2 B 8.0 05 8 20 60
D8.0R1.0-60-2T-R 2 B 8.0 1.0 8 20 60
D10.0R0.5-75-2T-R 2 B 10.0 05 10 25 75
D10.0R1.0-75-2T-R 2 B 10.0 1.0 10 25 75
D10.0R1.5-75-2T-R 2 B 10.0 1.5 10 25 75
D10.0R2.0-75-2T-R 2 B 10.0 20 10 25 75
D12.0R0.5-75-2T-R 2 B 12.0 05 12 30 75
D12.0R1.0-75-2T-R 2 B 12.0 1.0 12 30 75
D12.0R1.5-75-2T-R 2 B 12.0 1.5 12 30 75
D12.0R2.0-75-2T-R 2 B 12.0 20 12 30 75
WiENTHENERS o eess o 3a EWork Piece Table o Excellent - Good WiENITHENERS 2ess o 3a  EWork Piece Table o Excellent - Good

2 in T 41 ¥l Work Piece i 1 Work Piece

wEE Aes WS, R Sgﬂh;ﬂ Eﬁc fﬁﬂﬂﬁ b Eﬁ‘ﬁ %ﬁi‘ iiﬁ!ﬁi BE Aew WS, e Sﬁﬁl;ﬂ Eﬁc fﬁﬂﬂﬁ A5 i Nﬁﬁ‘ﬁ T%%i‘ i!’ﬁ!ﬁi
e aloysil _ Prturdoned sed. Hardonedses_ Sgflss  Cgetyon - Coppr Al Tigum  Hedl o Al Prturdoned sed Hardonesee_ Sgfls " Cgetyon Coppr Al Tigium Ml

steel ~40HRC ~50HRC ~55HRC -68HRC

cast iron alloy cast iron allay

b4 DEREK b4 DEREK




DP DG

DP-4R /Corner Radius / Standard / 4 Flutes DG-2-E / Square / Standard / 2 Flutes
DP-4-RM 71 & #% E 5L 5t 70 DG-2-E 7] B4R 3k 31§k 7] o
\ "
.3 2
W=l 71 - 18 DI E=] 71 - | <.,
\ S — M T EEMI  FWNI #MENI @ RENT a T FEMI FWNI SMENI DK MWD d
" R o3
3 eSSyl ~| R ! s 23
3 e LH . 0Py H W °
I & L . L .
:"x - i =9 fman TEsvE P =] R ©| =
P ROk B @ ' —— 4
ig Specification d H % :
N R : L e ; L0 ‘ : gg *-
g | DP- D3.0R0.2-50-4T-R 4 A 3.0 0.2 6 8 50 12.08.60.07. 5 A 20 . 6 0 gt
T: D4.0R0.3-50-4T-R 4 B 4.0 0.3 6 10 50 . . wk
i D4.0R0.5-50-4T-R 4 B 4.0 05 6 10 50 ey . n - n - - -
7z : : : D3.05-50-2T-E 2 A 3.0 4 8 50 %
x;\ :ﬁ::i::’: = A 5.0 0.5 6 13 50 D4.08-50-2T-E 2 B 4.0 a 1 50 /
g,, st : : z-g [1}-‘: : i: 2 D1.0-50-2T-E 2 A 1.0 6 3 50 Eé
- : : D1.5-50-2T-E 2 A 1.5 6 4 50 it
4 D.0R1.0-50-4T-R : i i i 8 0 = D2.0-50-2T-E 2 A 2.0 6 6 50 2*
& et x & R s 2 =l 2l D2.5-50-2T- 2 A 25 : 5 50 g
D8.0R1.0-60-4T-R 4 B 8.0 1.0 8 20 60 D3.0-50-2T-E ) A 3.0 6 g 50 y
D10.0R0.5-75-4T-R 4 B 10.0 05 10 25 75 P Sy > - Bl : " = 5
. D10.0R1.0-75-4T-R 4 B 10.0 1.0 10 25 75 ppep—r ; A 40 6 1 . ii
: D10.0R2.0-75-4T-R 4 B 10.0 2.0 10 25 75 SRR 5 g i B i = L
: D10.0R3.0-75-4T-R 4 B 10.0 3.0 10 25 75 g - A = 6 " &5 ;g
g D12.0R0.5-75-4T-R 4 B 120 05 12 30 75 0 5.50.2T.E B B = B B == %
D12.0R1.0-75-4T-R 4 B 12.0 1.0 12 30 75 e ; 8 P 6 16 .
D12.0R2.0-75-4T-R 4 B 120 2.0 12 30 75 A E g = g o =
D12.0R3.0-75-4T-R 4 B 12.0 3.0 12 30 75 08.0-60-7T-E ) 8 5 ) - P
D9.0-75-2T-E 2 A 9.0 10 22 75
D10.0-75-2T-E 2 B 100 10 25 75
D11.0-75-2T-E 2 A 110 12 26 75
D12.0-75-2T-E 2 B 120 12 30 75
D14.0-75-2T-E 2 B 140 14 32 75
D16.0-100-2T-E 2 B 160 16 45 100
D18.0-100-2T-E 2 B 180 18 45 100
D20.0-100-2T-E 2 B 200 20 45 100
BENTHEMERS  exme  ma  EWork Piece Table o Excellent < Good BENITHEMERS e2me  ma  EWork Piece Table o Excellent < Good
aﬁ Nﬁyisgel PreharderE{iE siﬂeélxﬁlﬁr?ened steel S:E"“ ﬂ;S %Sﬁ%ﬂi‘a D?l;?ff ﬁﬁ“%lﬁ“ ]sﬁll?“ “ﬁﬁi aﬁ .ﬂ.ﬁ}risgel Prehardmﬁéﬁiﬂeélxﬁlﬁrﬁned steel S:E"“ ﬂ;S %Sﬁ%ﬂi‘a D?lﬂff Nﬁﬁlﬁ“ ﬁgﬂﬂﬁfﬂ “ﬁﬁi
Steel ~40HRC -50HRC -55HRC -6gHRe  See  MNoduar—aloy aloy aloy - resistant Steel ~40HRC ~50HRC -55HRC ~6gHRc  Steel  Moddar —aloy —alloy — alloy  resstant

y< DEREK »<4 DEREK




DG-2-EL / Square / Long / 2 Flutes

. DG2ELAIEMRKT ¥

e
Tochrical data

9 EMT  REMT  REMT SHNT S WENT

i | P =1 al
: = o
=

T H
N - .

VA

WEHESE

/d
=,
d

&
m

-
— Ly
i ~ | B D12 0-0.020 i "
B {TAIN TR i o] o
= o) * i
H

2
1 —
g
1 BE T BT
&: Specification Teeth Figure d
L DG- D3.0-75-2T-EL 2 A 3.0 & 12 75
§ D4.0-75-2T-EL 2 A 40 6 15 75
m : D5.0-75-2T-EL 2 A 5.0 6 20 75
& § D6.0-75-2T-EL 2 B 6.0 6 20 75
]

\ D8.0-100-2T-EL 2 B 8.0 8 25 100
E D10.0-100-2T-EL 2 B 10.0 10 30 100
5 D12.0-100-2T-EL 2 B 12.0 12 35 100
nE D14.0-100-2T-EL 2 g 140 14 40 100
i E D16.0-150-2T-EL 2 B 16.0 16 50 150

g 71 B D20.0-150-2T-EL 2 B 200 20 55 150

= Fleh e Ol R R g
CARBIDE END MILLS p

BEMIHEERE exmes s  WWork Piece Table © Excallent © Good

N THE Work Piece

m ”ﬁyﬁ;ﬂd F‘ﬂe«harclerﬂllga:;iE sﬂéhmlﬁr?md steel Sﬁ ?;5 ﬂ%afﬁ’%“:'ﬁ g’?‘ﬁg ﬁﬁrﬁ'ﬁ“ ﬁmﬁﬁn “ﬁ.‘;ﬁﬁ
_40HRC ~50HRC ~55HRC ~68HRC  Steel foceriold alloy alloy alloy "‘*;'.5.,?"*

%] *] & 8]

»< DEREK

DG-2-ES / Square / Micro / 2 Flutes
DG-2-£S# 71 EARf/INE F 3K 8k 7)

= 040Ears

MMI FWHI FENT AMNHT A5 EEnI 2RI

D<lmm 1mmsD u: H_______{___-I_:ﬁﬂ:

5 ’ﬁ;j 'ﬂ'ﬁ:ﬂaﬂ[ﬁﬂ o EB Eﬁ - o - H:

Bs

Specification d

DG- D0.3-50-2T-ES 2 0.3 4 0.6 50
D0.4-50-2T-ES 2 0.4 4 0.8 50
D0.5-50-2T-ES 2 0.5 4 1.0 50
D0.6-50-2T-ES 2 0.6 4 1.2 50
D0.7-50-2T-ES 2 0.7 4 14 50
00.8-50-2T-ES 2 0.8 4 1.6 50
D0.9-50-2T-ES 2 0.9 4 1.8 50
01.0-50-2T-ES 2 1.0 4 2.0 50
01.1-50-2T-ES 2 1.1 4 2.0 50
01.2-50-2T-ES 2 1.2 4 25 50
01.3-50-2T-ES 2 1.3 4 25 50
01.4-50-2T-ES 2 1.4 4 3.0 50
01.5-50-2T-ES 2 1.5 4 3.0 50
01.6-50-2T-ES 2 la 4 35 50
01.7-50-2T-ES 2 1.7 4 35 50
01.8-50-2T-ES 2 1.8 4 4.0 50
01.9-50-2T-ES 2 19 4 4.0 50
02.0-50-2T-ES 2 20 4 4.0 50
D2.1-50-2T-ES 2 2.1 4 4.0 50
02.2-50-2T-ES 2 2.2 4 45 50
D2.3-50-2T-ES 2 2.3 4 45 50
02.4-50-2T-ES 2 24 4 5.0 50
D2.5-50-2T-ES 2 25 4 5.0 50
02.6-50-2T-ES 2 26 4 5.0 50
D2.7-50-2T-ES 2 2.7 4 55 50
02.8-50-2T-ES 2 2.8 4 55 50
D2.9-50-2T-ES 2 29 4 6.0 50
03.0-50-2T-ES 2 3.0 4 6.0 50

REMITHEERE exme =&  W@Work Piece Table © Excallent © Good

0 THH Work Piece

m‘ Nﬁrﬁ;ﬂel F‘ﬂeharclerﬂllga:;iE sﬂélimlﬁr?md steel S:t'; EEE ﬂ%aﬁﬁf%ﬁi'a E'ED? ﬁﬁfﬁlﬁ“ ]gﬂtﬁl‘lﬁﬁn “ﬁéﬁﬁ
steel

~40HRC -50HRC -55HRC -ggHRC ¢l Nodwlar sy aloy mosust

[ *] o & @]

y< DEREK

A

0

",

-4

T chnl on | .-

AN

HIREHE
[

CHor herdanad mekarid

WEHHE BE0a S, o W5 H E e AsH
4G o garral pup

\

HE SR =
I kv high periomerce

ity L iR S HE




DG DG

DG-2-EP / Square / Long Neck / Short Flute / 2 Flutes DG-2-EP / Square / Long Neck / Short Flute / 2 Flutes
. DG2EPH 7] B A< #1487 3L 37 55 7) DG-2-EP7 71 ELfG K 3145 7) F 3k 27 )
\\ .///
; 2 = 7 7 I
P v E
8 HdEAPA wdHIEapa
““‘% HHI  FEMI FWMI ANENI SEE  WENT RENT B NI FERNI FENI &MENI AOE WENT  EENT -""&i
i o B e s - B e =
%‘\-%; D<lmm 1mmsD 10 L ow D<lmm 1mmeD 1o L _:El M &;x
E %, 'ﬁ;—:] WMM Euuq_mﬁ @ @ “%] 'ﬂ'ﬂﬁhﬂN Euwu.ms a} @ = o L EE
i i
Iz s 7 B= 7 15
‘i:;] g Specification Teeth d M L Specification Teeth d E
DG- DO.5-M04-50-2T-EP 2 0.5 4 0.7 4 0.45 50 DG- D2.5-M08-50-2T-EP 2 25 4 3.7 8 24 50 y
?E : D0.5-M06-50-2T-EP 2 0.5 4 0.7 6 0.45 50 D2.5-M10-50-2T-EP 2 25 a4 3.7 10 24 50 RE
2 D0.5-M08-50-2T-EP 2 0.5 4 0.7 8 0.45 30 D2.5-M12-50-2T-EP 2 2.5 4 3.7 12 24 50 Eg
g2 D0.8-M04-50-2T-EP 2 0.8 4 1.2 4 0.75 50 D2.5-M14-50-2T-EP 2 25 4 37 14 24 50 xE
“‘{; D0.8-M06-50-2T-EP 2 0.8 4 1.2 6 0.75 50 D2.5-M16-60-2T-EP 2 25 a 37 16 24 60 }f
8 D0.8-M08-50-2T-EP 2 0.8 2. 1.2 8 0.75 20 D2.5-M18-60-2T-EP B 2.5 4 3.7 18 24 60 Vo
& D0.8-W10-50-2T-EP 2 038 5 1.2 - it 20 D2.5-M20-60-2T-EP 2 25 4 3.7 20 24 60 EE
A D1.0-104-50-2T-EP 2 L0 4 1.5 4 0.95 20 D3.0-M06-50-2T-EP 2 3.0 6 45 6 2.85 50 -
i SLIHAE B ST ER 2 1.0 o . 6 . = D3.0-M08-50-2T-EP 2 3.0 6 a5 8 2.85 50 2®
B2 Ll = e d - e Lk 24 D3.0-M10-50-2T-EP 2 3.0 6 45 10 2.85 50 'y
5 N :ﬁﬁg:::: ; i'g : i: ig gg: $ D3.0-M12-50-2T-EP 2 3.0 6 45 12 2.85 50 y
# > 1.[} 3 1'5 1 [}.95 o D3.0-M14-60-2T-EP 2 3.0 6 45 14 2.85 60 §
5 D1.0-W14-50-2T-EP : : : D3.0-M16-60-2T-EP 2 30 7 45 16 2.85 60 2
5 e N e [ < = = o . i e D3.0-MH8-60-2T-EP 2 30 6 45 18 285 60 ¢
& D1.2-M05-50-2T-£P 2 s . = - e ol D3.0-M20-60-2T-EP 2 3.0 6 45 20 2.85 60 g 4
& D1.2-M10-50-2T-EP 2 1 4 18 10 1.15 50 T ) iy c 60 1o 385 " 1
4 D1.2-M12-50-2T-EP 2 1.2 4 18 12 1.15 50 R pribton e - e : E.ﬂ 7 e o 7
[1.5-M06-50-2T-EP 2 15 4 2.3 6 1.45 50 : :
e ) 5 A 23 g T 50 D4.0-M20-60-2T-EP 2 4.0 6 6.0 20 3.85 60
e g . i . - 5 G = D4.0-M25-60-2T-EP 2 40 6 6.0 25 3.85 60
e p——— 2 15 4 23 12 1.45 50 D5.0-M16-60-2T-EP 2 5.0 6 75 16 4.85 60
T T ST 5 15 4 53 14 145 50 D5.0-M25-70-2T-EP 2 5.0 6 75 25 4.85 70
D2.0-M06-50-2T-EP 2 20 4 30 6 1.95 50
D2.0-M08-50-2T-EP 2 20 4 30 8 1.95 50
D2.0-M10-50-2T-EP 2 20 4 30 10 1.95 50
D2.0-M12-50-2T-EP 2 20 4 30 12 1.95 50
D2.0-M1 4-50-2T-EP 2 20 4 30 14 1.95 50
D2.0-M16-50-2T-EP 2 20 4 30 16 195 50
Tl
E‘ﬁe next |:lag«\f:¢
BENIHEMERER exms  @ms  EWork Piece Table © Excellent < Good REMIHEERSE exms  me  BWWork Piece Table © Excellent © Good
a ﬁ ”ﬁyﬁ;ﬂd PI’E-hal'dEI'E[;E sﬁélimlggmed steel Sﬁﬁgﬁ ﬂ%asmiﬁﬁ %ﬁpﬁf ﬂﬁ“ﬁ;ﬁm %ﬁﬁﬂ “ﬁéaﬁ m Nﬁyﬁﬂd Preharder;i;dﬂsﬂéliml-ﬁrﬁmd steel Sﬁ EEE ﬂ%ESﬁl%i'a %fo -"iﬁfﬁlﬁm %ﬁﬁﬂ “ﬁéﬁﬁ
_40HRC —50HRC ~55HRC —68HRC steel Modular y alloy alloy  resistant sateel § _40HRC —50HRC ~55HRC —68HRC steel Modular a alloy alloy  resistant
cast iron alloy cast iron allay
5] 5} © O O 5] 5 @ O :

b < DEREK b < DEREK




DG DG

DG-4-E / Square / Standard / 4 Flutes DG-4-EL / Square / Long / 4 Flutes
\ DGAE M7 B rgeT] DGA-EL M7 BRI FLLstT) /
# § #i
2 y 1
o w|ies] 7] - | Z WIS 71 - | ZI.
”“x__ a’ EMT  RWHNI FENI AMENT AN WENT w MHT  FEMT  ENMT 4KENT SO NI P
L'a o i
= gl S — SIS 2 - e . DR 3
| lﬂ"‘h':' L H o 107 ke !
#: L LM #
\“2: - - 2 L : A A
'u‘ H— ——————— _ ﬂj B o= -u* _________ ﬂl
2 =) finan s R ‘ Y| == ) fnan Thmem R s SS38 e
E : _ 5 LT xl
E ~ ]
TE E'E BT mE
73 Specification Figure d H 8 5 E
R Specification eth d @
= DG- D1.08-50-4T-E 4 A 1.0 4 3 50 7
DG- D3.0-75-4T-EL 4 A 30 6 12 75
B D1.55-50-4T-E 4 A 15 4 4 50 2
s D4.0-75-4T-EL 4 A 40 6 15 75 g
mE D2.05-50-4T-E 4 A 2.0 4 & 50 ]
I% D5.0-75-4T-EL 4 A 5.0 6 20 75 m g
E i [2.55-50-4T-E 4 A 25 4 8 50 I:
=2 D6.0-75-4T-EL 4 B 6.0 6 20 75 o
sl : A 39 : ° > D8.0-100-4T-EL 4 B 80 8 25 100 ;ﬁ’f
Lt L 2 il - o e 4 B 100 10 30 100 38
§ [1.0-50-4T-E 4 A 1.0 6 3 50 ol i X i 12'[} " s 100 EE
B D1.5-50-4T-E 4 A 1.5 6 4 50 ALl el ; - T = > - i
mE = gy B
%; D2.0-50-4T-E 4 A 2.0 6 6 50 RN TSHEEE X i 15.[} 6 50 o I
& D2.5-50-4T-E 4 A 2.5 6 8 50 D16.0-150-4T-EL - ; 160 L = = 3y
N D3.0-50-4T-E 4 A 3.0 6 8 50 o : ﬁ
& D3.5-50-4T-E 4 A 35 6 10 50 3
o " D4.0-50-4T-E 4 A 4.0 6 11 50 §§
EE D4.5-50-4T-E 4 A 45 6 11 50 4
i D5.0-50-4T-E 4 A 5.0 g 13 50 i
713 D5.5-50-4T-E 4 A 5.5 6 16 50 7
D6.0-50-4T-E 4 B 6.0 6 16 50
D7.0-60-4T-E 4 A 7.0 8 20 60
D8.0-60-4T-E 4 B 8.0 8 20 60
D9.0-754TE 4 A 9.0 10 22 75
010.0-75-4T-E 4 B 10.0 10 25 75
D11.0-75-4T-E 4 A 11.0 12 26 75
D12.0-75-4T-E 4 B 12.0 12 30 75
[14.0-75-4T-E 4 B 14.0 14 32 75
D16.0-100-4T-E 4 B 16.0 16 45 100
D18.0-100-4T-E 4 B 18.0 18 45 100
020.0-100-4T-E 4 B 200 20 45 100
BENITHEMERS e2es o =ma  EWork Piece Table © Bxcellent < Good BENITHEHERAS e2ee  =ma  EWork Piece Table © Excellent < Good
# i T4 Work Piece # im T ¥ Work Fiece
TR E% SBkek # & & TRl . BREEEk & & &
# pmamﬁéﬁﬁaﬁ-ﬁﬁm steal  Stainless sﬁmn, uﬁer Nlll'lﬁ'l;im ﬁttﬁnum ﬂﬁﬁ 9 pmmmﬁ.ﬁﬁ;ﬁﬁ,ﬁm stee]  Stainless ﬂ%asﬁ’un, uﬁ r Num%i;im lsﬂ‘::ﬁnum ﬂﬁﬁ
A : A :
:t eeln oy A0HRC —50HRC —55HRC —68HRC steel Modu alloy alloy alloy  resistant arban Alloy steel MNodular alloy alloy alloy  resistant
- - - - byl alloy steel ~40HRC ~50HRC ~55HRC ~68HRC sk alloy
5 @ 5] O = - & @ [+ O O 0

< DEREK b < DEREK




DG

DG-4-G-E / Square / Standard / 4 Flutes
DG-A-GE M7 E#E Ik 7]

DG-4-GEL / Square / Long / 4 Flutes
DG-4-GEL M7 BRI I FLr st

-/

3
# E r
e -

! MAIEBP
AN SMT  FEMI FOMI ANENI #EK  MEWT
W
g a 'u: =T »
I E W H
-4 L

NG - -
. : .
- - . i E
& - - - _ = E
' o fAmamn Twssm e
4 E :
=
®E
7 I
g Specification d H
E g DG- D1.05-50-4T-G-E a4 A 1.0 4 3 50
I D1.55-50-4T-G-E 4 A 15 4 4 50
B D2.05-50-4T-G-E 4 A 20 4 6 50
na
h D2.55-50-4T-G-E 4 A 25 4 ) 50
5 D3.05-50-4T-G-E 4 A 3.0 4 8 50
rj‘t ) D4.05-50-4T-G-E 4 B 40 4 11 50
:%'.'i g D1.0-50-4T-G-E 4 A 1.0 6 3 50
is D1.5-50-4T-G-E 4 A 15 6 4 50

7 ® D2.0-50-4T-G-E 4 A 2.0 6 6 50
5N D2.5-50-4T-G-E 4 A 25 6 8 50
E D3.0-50-4T-G-E a4 A 30 6 8 50
E D3.5-50-4T-G-E 4 A 35 6 10 50
H D4.0-50-4T-G-E 4 A 4.0 6 11 50
& D4.5-50-4T-G-E 4 A 45 6 11 50
% D5.0-50-4T-G-E 4 A 5.0 6 13 50

D5.5-50-4T-G-E 4 A 55 6 16 50
D6.0-50-4T-G-E 4 B 6.0 6 16 50
D7.0-60-4T-G-E 4 A 7.0 8 20 60
D8.0-60-4T-G-E 4 B 8.0 8 20 60
09.0-75-4T-G-E 4 A 90 10 22 75
D10.0-75-4T-G-E 4 B 10.0 10 25 75
D11.0-75-4T-G-E 4 A 11.0 12 26 75
D12.0-75-4T-G-E 4 B 12.0 12 30 75
D14.0-75-4T-G-E 4 B 14.0 14 32 75
D16.0-100-4T-G-E 4 B 16.0 16 45 100
D18.0-100-4T-G-E 4 B 18.0 18 45 100
D20.0-100-4T-G-E 4 B 20.0 20 45 100

BEMIHEHERSE exme  m&  WWork Piece Table © Excellent ) Good

# hn T4t #l Work Piece

m %yﬁﬂd F‘ﬂe«hal'den;ié;a:;iE sﬂélimlgr??amd steel Sﬁ EEE m%Elsﬁl%ﬂ'. %fo -"iﬁfﬁlﬁm %ﬁﬁﬂ “ﬁéﬁﬁ
i AOHRC ~50HRC ~55HRC ~68HRC ~ ° Nodular — a alloy alloy  resistant
= = = = cast iron alloy

o ) o o

b < DEREK

gl 7] - | %

BNT FWMI FENI SMWNT AN WEhT

E i S
b i m==i"’tﬂi A
— —

=, — B
B8 D12 O-40020
Eiawy 'ﬂ'm,nm Plases B

s

Specification e d

DG- D3.0-75-4T-G-EL 4 A 3.0 6 12 75
04.0-75-4T-G-EL 4 A 4.0 51 15 75
D5.0-75-4T-G-EL 4 A 5.0 6 20 75
D6.0-75-4T-G-EL 4 B 6.0 51 20 75
D8.0-100-4T-G-EL 4 B 8.0 a8 25 100
010.0-100-4T-G-EL 4 B 10.0 10 30 100
012.0-100-4T-G-EL 4 B 120 12 35 100
D14.0-100-4T-G-EL 4 B 140 14 40 100
D16.0-150-4T-G-EL 4 B 160 16 50 150
020.0-150-4T-G-EL 4 B 20,0 20 55 150

BEMIHEMERE ~exme s  WWork Piece Table © Excellent © Good

#hn T4 Work Piece
m ”ﬁyﬁ;ﬂd Preharderﬁdﬂsﬂél‘mHE?ﬁmd steel Sﬁ ‘;?5 ﬂ%ESﬁf%ﬁ:'a agp?f ﬁﬁfﬁlﬁm ﬁfﬁﬁ“ “ﬁéﬁﬁ
5 a

~40HRC ~50HRC ~55HRC ~68HRC gﬂ‘.’ﬂ oy i mg'lsu?“t
¢ [*] ¥ 8]

< DEREK

AN

% R
T chnd o | chak
Y

%,
15 B0
‘a1 i L

EEF NSO s SWEHHE B Y, o e H E vi:el-:% HEE
Mgh perme L b grareanl [upea CHIo herckarad ki %i.\ [ryre—

o

o e
o

B DR B N




DG-6-E / Square / Standard / 6 Flutes DG-6-EL / Square / Long / 6 Flutes
DG6E ANEHELIET] DG6EL AT BT FL st

N\

/

Wl

Toachd cal st
ol e
Tachnicaldaim

[ [l [
W] 7] - 1 2 W] 7] - 1 2
T e ——— ———— S

o L
o) . T * : * o) fnan s R : :

A

W HESE
ok i
dﬁ-
[
I
|
I
|
|
|
i
n-n
d
i
|
|
|
1
i
%
- u-r-
WEHE S
[~

( e
I, fior sl pvind 1
X
i
=+
T
HO HiEEHE
o it

] 2;
ik ms 3
i Specification - L - d I=
SE DG- D6.0-60-6T-E 6 6.0 6 18 60 DG- D6.0-75-6T-EL 6 6.0 6 24 75 L
\E\\ D8.0-60-6T-E 6 80 8 20 60 D8.0-75-6T-EL 6 8.0 8 32 75 f!
" E D10.0-75-6T-E 6 10.0 10 30 75 D10.0-100-6T-EL 6 10.0 10 40 100 1 E
%E D12.0-75-6T-E [ 12.0 12 32 75 D12.0-100-6T-EL (3] 12.0 12 45 100 EE‘
g D16.0-100-6T-E 6 16.0 16 40 100 D16.0-150-6T-EL 6 16.0 16 64 150 o
\ D20.0-100-6T-E & 20.0 20 15 100 520.0-150-6T-EL 6 50.0 20 75 150 /
: H
3 ¥
1 E %% & / Feature igjf
NF | ERSERARSSRTR ]

Tl WA, BEEMESSNI. W High rigidity for side miling. -4
CE WEROEE, K#EMI. W High feed at high speed. . _
=
& z
] v
iy 4
&3 gs
- &l
i g
e 55

REMIHEERSE e58s  #=&  WWork Piece Table © Excellent < Good REMITHEERSE exss  #=&  EWWork Piece Table © Excallent © Good

#hn T Work Piece
e bR Preharden Tl Hened steel  Saiess T Castyon, . Coppar Alamintm Taum  Heal
:tee I steel steel

#InTHE Work Fece
Wk aaE Prehardenad Siasl. Hardened steel 5@%?: A sctmon  Ctoper Aliaim Tamam | Heat-

~40HRC ~50HRC ~55HRC —68HRC ot a alloy alloy "’;'.“.E,"t ~40HRC ~50HRC ~55HRC —~68HRC A a alloy alloy "’i'.“.f"i_}"t
) o) o o) 0 o o o 0

y< DEREK y< DEREK




DG DG

DG-2-B / Ball / Standard / 2 Flutes DG-2-BL / Ball / Long / 2 Flutes
DG-2-B # 71 BBk kgt 7] DG-2-BL A7) B Bk KL 8t 7)

7
B

# i =
§ E 8
mE FE
e = ?
%\% T ﬁﬁﬂI e HMI fhERT &yy
W
o .

"/

=

-

— =% . e — T
B ' 1 * h_—|mi*

W HEEE
A o ) rid L
=
]
)
==
=
q
iy
==

o/
BV

-|d-

=1 s

’ _%' LI

d--

=l= ]

L

numammmm&%;ﬁ:rii

S

D512 040,020 = i <12 00020
lTﬂMN i 1240 0-0030 E ) Re001 % 'WN | 12%¢p 00030 ' } Ll @ )

E.g L - : Ln E
We - - - -
dg b
i i 2S 7y A= 2
e Specification e d H Specification Figure : i N
%\g\ DG- R0.55-50-2T-B 2 A 1.0 0.5 4 2 50 DG- R1.0-75-2T-BL 2 A 2.0 1.0 6 4 75
1 RO.755-50-2T-B 2 A 1.5 0.75 4 3 50 R1.25-75-2T-BL 2 A 25 1.25 6 5 75 [ Eg
1§ R1.0S-50-21-B 2 A 20 1.0 4 4 50 R1.5-75-2T-BL 2 A 3.0 15 6 6 75 H
82 R1.255-50-2T-B 2 A 2.5 1.25 4 5 50 R1.75-75-2T-BL 2 A 35 1.75 6 8 75
\ R1.55-50-2T-B 2 A 3.0 1.5 4 6 50 R2.0-75-2T-BL 2 A 4.0 2.0 6 8 75
2 R2.0S-50-2T-B 2 B 4.0 2.0 4 8 50 R2.5-75-2T-BL 2 A 5.0 - 6 10 75 ;E
& i RO.5-50-2T-B 2 A 1.0 05 6 2 50 R2.75-75-2T-BL 2 A 5.5 2.75 6 12 75 '
‘H R0.75-50-2T-B 2 A 15 0.75 6 3 50 R3.0-75-2T-BL 2 B 6.0 3.0 6 12 75 mE
iz R1.0-50-2T-B 2 A 2.0 1.0 6 4 50 R3.5-75-2T-BL 2 A 7.0 35 8 14 75 z
R R1.25-50-2T-B 2 A o e 6 5 50 R4.0-100-2T-BL 2 B 8.0 4.0 8 16 100
E R1.5-50-2T-B 2 A 30 15 6 6 50 R4.5-100-2T-BL 2 A 9.0 45 10 18 100 i
- R1.75-50-2T-B 2 A 35 1.75 6 8 50 R5.0-100-2T-BL 2 B 100 5.0 10 20 100 8
§§ R2.0-50-2T-B 2 A 4.0 2.0 6 8 50 R6.0-100-2T-BL 2 B 120 6.0 12 24 100 2
2 R2.5-50-2T-B 2 A 5.0 2.5 6 10 50 R7.0-100-2T-BL 2 B 140 7.0 14 28 100 ﬁg
B R2.75-50-2T-B 2 A 5.5 2.75 6 12 50 R8.0-150-2T-BL 2 B 160 8.0 16 32 150 %g
e R3.0-50-2T-B 2 B 6.0 3.0 6 12 50 R10.0-150-2T-BL 2 B 200 100 20 40 150 J
R3.5-60-2T-B 2 A 7.0 35 8 14 60
R4.0-60-2T-B 2 B 8.0 4.0 8 16 60
R4.5-75-2T-B 2 A 9.0 45 10 18 75
R5.0-75-2T-B 2 B 10.0 5.0 10 20 75
R6.0-75-2T-B 2 B 12.0 6.0 12 24 75
R7.0-75-2T-B 2 B 14.0 7.0 14 28 75
R8.0-100-2T-B 2 B 16.0 8.0 16 32 100
R10.0-100-2T-B 2 B 20.0 100 20 40 100
4% & / Feature
WS4 FHifstH, F{EEEMT, W For profiing at high speed.
RiEMIHEHERAR *+xEs  ms  WWork Piece Table © Excellent - Good BEMIHEERE cesEs @&  WWork Piece Table = Excellent  Good

i in T # ¥4 Work Piece #:n T#F % Work Plece

- o T, R S . REBESY H5e Ses Hes WHASE P o FREg . A FHEE B, RESY B Res Hes WHASE
agm nﬁy el Pre-hardeneﬁteeh Ha&med steel  Stainless Cagﬁ:lrgtrl 1Irr M;riluwyum Tﬂ;ﬂﬁm mglgggm agm nﬁy ol Prehardenef steel. Hardened steel  Stainless Cag{t;‘rgtrl D;!f ”‘;’i;}““‘ Tiganhn;m mglggm

~A0HRC ~50HRC ~55HRC ~68HRC Soraar alloy steel ~A0HRC ~50HRC ~55HRC ~68HRC
o o o o : : o o ) 0

cast iron allay

b < DEREK y< DEREK




DG DG

DG-2BP / Ball / Long Neck / Short Flute / 2 Flutes DG-2-BP / Ball / Long Neck / Short Flute / 2 Flutes
DG-2-BP # 71 E M3 7Bk kg 7l DG-2-BP A 7] Bl 35E DBk LI 5t 7)
R .

j Sera @EEO i
& 0 rTess!f!]trs 494 - - $)
'Q"%%% MMT  BENI  mOE  eENT MNT  BENI WO RENT ﬁf

. ) ; /

13 =5 X m 3
By —— R=0.005 R<05 n

%:}.%%‘ ‘ﬁ};\* 'TEMM :E]u..u.ms @ R:0.01 Re05 @ : L 3 "Qii‘;_:] 'TEMM :E]uuu.ms @ :j:giﬁ :ﬂiﬁ @ ) : i fi&

i

-3 I "

gé SDE%?EHU" T:lgé% M d Spe?ﬁ;ﬁun %‘IE% D d ﬂ g

LE DG- R0.25-M04-50-21-BP 2 - 0.25 e i 4 B 20 DG- R1.25-M16-60-2T-BP 2 25 1.25 3.7 2.4 16 4 60 3
‘*\gx e B L Lo Lo Lo 5 = L R1.25-M20-60-2T-BP 2 25 1.25 < 2.4 20 4 60 ;

o AR1 A S R S - L . 3 Ll R1.5-M08-50-2T-BP 2 30 15 45 285 8 6 50 3l

%?: R S08 0, =R 2 06 0.3 09 059 6 4 20 R1.5-M10-50-2T-BP 2 3.0 1.5 4.5 2.85 10 6 50 . g

-4 R0.3-M03-50-2T-BP 2 0.6 0.3 0.9 0.55 a8 4 50 x5

b ] ey 2 08 04 1.2 075 4 4 50 R1.5-M12-50-2T-BP 2 3.0 1.5 4.5 2.85 12 6 50 ;fﬁ

peyep———sy— 2 08 0.4 12 0.75 6 i 50 R1.5-M16-60-2T-BP 2 3.0 15 45 285 16 6 60 4

E RO.4-M08-50-2T-BP 2 08 04 12 075 8 a 50 R1.5-M20-60-2T-BP 2 3.0 1.5 4.5 2.85 20 [ 60 E%

A E R0.4-M10-50-2T-BP 2 0&a 04 1.2 0.75 10 4 50 R2.0-M10-60-2T-BP 2 4.0 2.0 6.0 3.85 10 (5] &0 *IJ':E

g; R0.5-M04-50-2T-BP 2 1.0 05 15 0.95 4 4 50 R2.0-M16-60-2T-BP 2 4.0 2.0 6.0 3.85 16 [ 60 :':r =

Lt R0.5-M06-50-2T-BP 2 1.0 05 15 0.95 6 4 50 R2.0-M20-60-2T-BP 2 4.0 2.0 6.0 3.85 20 6 60 g

s R0.5-M08-50-2T-BP 2 1.0 05 15 0.05 8 a 50 R2.0-M25-60-2T-BP 2 4.0 2.0 6.0 385 25 6 60 y

R0.5-M10-50-2T-BP 2 1.0 05 15 0.95 10 4 50 R2.5-M16-60-2T-BP 2 5.0 2.5 15 4.85 16 [ 10 . 5
. R.5-M12-50-2T-BP 2 1.0 05 15 0.95 12 4 50 R2.5-M25-70-2T-BP 2 5.0 2.5 15 4.85 25 6 70 o
: RO.6-M0G-50-21-BP 2 12 0.6 18 115 6 4 50 §
- RO.6-M08-50-2T-BP 2 12 0.6 18 115 8 a 50 4% 5 /Feature 2
: e £ 1.2 us L= = 12 3 28 WERFHEEMT LR EmEEmMT. B For ribprocessing and profiling in slots. %

R0.6-M16-50-2T-BP 2 1.2 0.6 1.8 1.15 16 4 50

R0.75-M08-50-2T-BP 2 15 0.75 23 145 8 4 50

R0.75-M12-50-2T-BP 2 15 0.75 2.3 1.45 12 4 50

R0.75-M16-50-2T-BP 2 15 0.75 2.3 1.45 16 4 50

R1.0-M06-50-2T-BP 2 20 1.0 3.0 1.95 6 4 50

R1.0-M08-50-2T-BP 2 2.0 1.0 3.0 1.95 8 4 50

R1.0-M10-50-2T-BP 2 2.0 1.0 3.0 1.95 10 4 50

R1.0-M12-50-2T-BP 2 2.0 1.0 3.0 1.95 12 4 50

R1.0-M16-50-2T-BP 2 20 1.0 3.0 1.95 16 4 50

R1.0-M20-50-2T-BP 2 2.0 1.0 3.0 1.95 20 4 50

R1.25-M08-50-2T-BP 2 25 1.25 3.7 2.4 8 4 50

R1.25-M12-50-2T-BP 2 25 1.25 3.7 24 12 4 50

WM IAEMERASE  ewEs @& W@Work Piece Table © Bxcellent — Good gﬂﬁe g ee- WiEMIHEMERASE  wEs @& W@Work Piece Table © Bxcellent — Good
#im THE Work Piece #im THEL Work: Piece
SAR ool BB e SR, MRS BSS EE, A2, VRS B B85, ool s S A B A i "
~40HRC ~50HRC ~55HRC ~68HRC eyl alloy steel ~40HRC ~50HRC ~55HRC ~68HRC bl alloy

a2 o o 2 ) [ o [*] Q

b4 DEREK b< DEREK




DG-4-B / Ball / Standard / 4 Flutes DG-4-BL / Ball / Long / 4 Flutes
\ DG-4-B 7] EhEkk It 7] DG-4-BL M 71 B #Ricimek kgt 70 P
A
i 1
Rl 4
“\%K T T —— EMT  HENT IMHF /
; ——a) A — : ’, i
ok [] i | f-—-—5— —— =1 & W £
;i S S :;
7 & 10+ _H_ 10° s T4
x%\% i L ; . L . 7
i) ; - %
—— ol - R TR (b ELP L -‘
-, B fnan TREEs D @ <, %ﬁ. - g
H #
m - -
| — 4
4 oS T B BE ) T :
§ Specification Teeth Figure d H L Specification 15 Figure d H A
ne DG- R1.5-50-4T-B 4 A 3.0 1.5 6 6 50 DG- R1.5-75-4T-BL 4 A 3.0 1.5 6 6 75 # e
It R2.0-50-4T-B 4 A 4.0 2.0 6 8 50 R2.0-75-4T-BL 1 A 4.0 20 3 8 75 ! E
§ - R2.5-50-4T-B 4 A 50 25 6 10 50 R2.5-75-4T-BL 4 A 5.0 25 6 10 75 EE
\ R3.0-50-4T-B 4 B 6.0 a0 6 12 50 R3.0-75-4T-BL 4 B 6.0 30 6 12 75 /
2 R4.0-60-4T-B 4 B 8.0 a0 8 16 60 R4.0-100-4T-BL 4 B 8.0 4.0 8 16 100 it
E R5.0-100-4T-BL 4 B 100 50 10 20 100 %
v R5.0-75-4T-B 4 B 10.0 5.0 10 20 75 B
; - i
% g RG.0-75-4T-B 4 B 12.0 6.0 12 o4 75 R6.0-100-4T-BL 4 B 12.0 6.0 12 24 100 E 5
) mewns o om0 @ w2 e ———————— | i
A R9.0-100-4T-B 4 B 18.0 9.0 18 36 100 ' : ¥
3 R10.0-150-4T-BL 4 B 20.0 10.0 20 40 150 44
# R10.0-100-4T-B 4 B 20.0 10.0 20 40 100 -
| g
a: i
gﬁ 4% & / Feature gt
1 EETEASTTRRSBNRGEE, RREBNTNNTRE, 5
W High feed speed, High efficiency.
Wi THEEREE  exEs o ms  WWork Piece Table © Excellent - Good WM THEERAE  exmEs  ms  EWork Piece Table © Excellent - Good

#hn T#5 % Work Piece # I TH# Work Piece

AEE ek, RES% Hﬁ‘ﬁ Eﬁi geas WASE A ek, RESZ Hﬁ‘ﬁ Eﬁi ﬁtﬁ‘i WReE

bt Prehardengd stesl. Hardened steel Stapless  Castiron, ~ Copper Alminium Tdanim _Heat 2em pew, Prehardened stesl. Hardened steel Staless  Gastion,  Copper Alimiium Tgnium _Heat

_40HRC ~50HRC ~55HRC ~68HRC .:";‘:i":.'.::, ey oy mosaet steel _40HRC ~50HRC ~55HRC ~68HRC ,,.“;“5'11‘.':3{, ey oy momaat

o o a Q ) o o a Q

b < DEREK 4 DEREK




DG DG

DG-2-R / Corner Radius / Standard / 2 Flutes DG-4-R / Corner Radius / Standard / 4 Flutes
\ DG-2-R # 71 E & [E 5 8t 7] DG-4-R 1 7] B 4% [ 5 57§k 7] s
g
3 r [ & 4
*3 . # 3
i WL AEAPr wdIEaP i
\ HT  EEMT EWHNT #MENT EE BT ENT  FWNT FENT &MEHT AR WEnT /
) R
- ———— ey ¥ »  —— = T
? i '“' |H=r.=:‘“ E A ' | T ’R i ! E
73 10° LH, Rl e ::
L L L i 10° H &
L ~ - /
. I i = i |-
g > finan e P - - ==
'5!- L - - B ;'E
= - . . = =
Bl ) finan T e B g
I T=
E E d H L 3
-~ DG- D1.0R0.2-50-2T-R 2 A 1.0 0.2 4 3 50
§ D1.5R0.2-50-2T-R 2 A 1.5 0.2 4 4 50 : &F
gg D2.0R0.2-50-2T-R 2 A 2.0 0.2 4 6 50 DG- D3.0R0.2-50-4T-R 4 A 3.0 0.2 4 8 50 ;';E
It D2.0R0.5-50-2T-R 2 A 2.0 05 4 6 50 D4.0R0.3-50-4T-R 4 B 40 0.3 4 10 50 I3
@i D2.5R0.2-50-2T-R g : gg g-; : g g D4.0R0.5-50-4T-R 4 B 4.0 0.5 4 10 50
D2.5R0.5-50-2T-R i ]
; D3.0R0.2-50-2T-R 2 A 3.0 0.2 4 8 50 e 4 A 5.0 0.5 6 13 50 47
E D3.0R0.3-50-2T-R 2 A 3.0 0.3 4 8 50 D5.0R1.0-50-4T-R 4 A 5.0 1.0 6 13 50 iE
2 E D3.0R0.5-50-2T-R 2 A 3.0 0.5 4 8 50 D6.0R0.5-50-4T-R 4 B 6.0 0.5 6 16 50 Fﬁlf 2
N 1 D4.0R0.2-50-2T-R 2 B 4.0 0.2 4 11 30 D6.0R1.0-50-4T-R 4 B 6.0 1.0 6 16 50 e
L3 zﬁziig‘: g g :-g g-g : E g D8.0R0.5-60-4T-R 4 B 8.0 0.5 8 20 60 B
T 5 B 40 10 i 1 50 D8.0R1.0-60-4T-R 4 B 8.0 1.0 8 20 60 y
D5.0R0.3-50-2T-R 2 I\ 5.0 0.3 B 13 50 D10.0R0.5-75-4T-R 4 B 100 0.5 10 25 75 §
D5.0R0.5-50-2T-R 2 A 5.0 0.5 6 13 50 D10.0R1.0-75-4T-R 4 B 10.0 1.0 10 25 75 ni
D5.0R1.0-50-2T-R g g g-g ;-g g ;g g D10.0R2.0-75-4T-R 4 B 10.0 2.0 10 25 75 Eg
D6.0R0.3-50-2T-R : : -
D10.0R3.0-75-4T-R 4 B 10.0 3.0 10 25 75 -
D6.0R0.5-50-2T-R 2 B 6.0 0.5 6 16 50 %5
T 5 B 6.0 10 6 16 50 D12.0R0.5-75-4T-R 4 B 12.0 0.5 12 30 75 %
D8.0RD.3-60-2T-R 2 B an 0.3 a 20 60 D12.0R1.0-75-4T-R 4 B 120 1.0 12 30 75
D8.0R0.5-60-2T-R 2 B 8.0 0.5 8 20 60 D12.0R2.0-75-4T-R 4 B 12.0 2.0 12 30 75
D3.0R1.0-60-2T-R 2 B 8.0 1.0 8 20 60 D12.0R3.0-75-4T-R 4 B 12.0 3.0 12 30 75
D10.0R0.5-75-2T-R 2 B 10.0 0.5 10 25 75
D10.0R1.0-75-2T-R 2 B 10.0 1.0 10 25 75
D10.0R1.5-75-2T-R 2 B 10.0 1.5 10 25 75
D10.0R2.0-75-2T-R 2 B 10.0 2.0 10 25 75
D12.0R0.5-75-2T-R 2 B 12.0 0.5 12 30 75
D12.0R1.0-75-2T-R 2 B 12.0 1.0 12 30 75
D12.0R1.5-75-2T-R 2 B 12.0 1.5 12 30 75
D12.0R2.0-75-2T-R 2 B 12.0 2.0 12 30 75
Wi HEEMASR  exss @&  WWork Piece Table © Excallent - Good BEMIHEMERR  #xEe @2  BWork Piece Table © Excallent - Good
# T HE Work Fiece #in TH ¥ Work Fiece
3 FEE . BB Hﬁ‘ﬁ Eﬁi gheads Whes FEE . REBEEE ﬂﬁ‘i ﬁ%ﬂ: geads Whes
# Prehame;gf sﬂélﬁﬁrﬁmd steel  Stainless Cast iron, uminium Titanium  Heat # PreharderE? sﬁélﬁﬁrﬁmd steel  Stainless Cast iron, r mum Titanium  Heat
Alioy steel stea Nodular alm' alloy alloy  resistant Alioy steel stee Nodular ai)pe loy alloy  resistant
steel ~40HRC ~50HRC ~55HRC ~68HRC ek alloy steel ~40HRC ~50HRC ~55HRC ~68HRC

cast iron alloy

o o a 2 ) o i o a Q

b < DEREK b < DEREK




DG-4-RL / Corner Radius / Long / 4 Flutes DG-4-W / Square / Standard ;" 4 Flutes / Waving
\ DG4-RL M 7 E#mtciA B 88 7] DGA-W M 7 B4R SkiB R TI 8 7) /
wi # 4
*E * 3
wdAEaP HL9Ear i
KK M FNMT FENI #MTNT  EdE  EEnT T EEMTI FENI #MENT  EdE  eEhNT /
%: * ———& S, o] ni
3 = ~ ¥
\\ : vd
% x - ¥E
0 3 " - : EE
: 2 finan men S ) lman T, s R &
z LE
nE BE BE 7
§ Specification d Specification d £ 4
DG- D6.0RD.5-75-4T-RL 4 6.0 05 6 16 75 DG- D6.0-50-4T-W 4 6.0 6 16 50 4 'H
2 A
ks D6.0R1.0-75-4T-RL 4 6.0 1.0 5 16 75 07.0-60-4T-W 4 7.0 a8 20 10 4 12‘
Eé D8.0R0.5-100-4T-RL 4 8.0 0.5 8 20 100 D8.0-60-4T-W 4 a.0 8 20 60 4 EH
\ D8.0R1.0-100-4T-RL 4 8.0 1.0 8 20 100 D9.0-75-4T-W 4 920 10 22 75 4 /
% D10.0R0.5-100-4T-RL 4 10.0 0.5 10 25 100 D10.0-75-4T-W 4 10.0 10 25 75 4 E E
E 010.0R1.0-100-4T-RL 4 10.0 1.0 10 25 100 011.0-75-4T-W 4 11.0 12 26 75 4 Bs
% E D10.0R2.0-100-4T-RL 4 10.0 20 10 25 100 D12.0-75-4T-W 4 120 12 30 75 4 % &

__ %g D12.0R0.5-100-4T-RL 4 12.0 05 12 30 100 D16.0-100-4T-W 4 16.0 16 45 100 4 : |
D12.0R1.0-100-4T-RL 4 12.0 1.0 12 30 100 D20.0-100-4T-W 4 200 20 45 100 4 "
E D12.0R2.0-100-4T-RL 4 12.0 2.0 12 30 100 i

]

o B

EE D16.0R1.0-150-4T-RL 4 16.0 1.0 16 45 150 % sx / Feature ;3
&z D16.0R2.0-150-4T-RL 4 16.0 2.0 16 45 150 [ E
§ E e R R o e = .!E!Hﬂﬁmlq % E
=1 B For roughing with high efficiency. “E
nE LE

BEMIHEERSE exes o &&  WWork Piece Table © Excellent - Good BiEMIHEERE #s8s =&  WWork Piece Table  Excallent ~ Good

#hn THH# Work Piece

# AT H# Work Piece

; THE e, KESS WAE BAE HAS WAAE ; TER #% REGR @aE @A UAE MASE
m A ﬁ;ﬂd I-"ﬂeharcharﬂ:ugo:;iE sﬂélﬁ-ﬁﬁamd steel  Stainless o ’Casﬁmn Cozpfr Mnﬁlum Tm;%:un Heﬁ m N%ﬁ;ﬁel Pm—l’lﬂl’d&f%{;ﬂ sﬂélﬁ-ﬁr?md steel  Stainless Casﬁmn Co? gllll.l'ﬂ dmﬁum Hleﬁ
steel ~40HRC ~50HRC ~55HRC ~68HRC Nodular 3 ey, Ak mesew steel _40FRC ~50HRC -55MRC —6aiRe St Nodular Sy Ay Mot

o = =] Q o = 5] g & )

b4 DEREK b4 DEREK




DH-2-E / Square / Standard / 2 Flutes DH-2-ES / Square / Micro / 2 Flutes
s DH-2-E A7 B L1t T] DH-2-ES A7 BRI EF LT85T
-
™ o
#i r S  §
! HdZEae = 711 2 BRE
| ™2 B
N\ i FENI FWHNI &MEWNI HOE  WEhT i 0TI FENI FENI AMTHNI AR WATNI SENT /
& m - s . i
%t 10°%. H ‘ I:
B L e e e =7 87
L M2 .. o b H_ r r 7
- - o | - — D=1lmm  1lmm=D lun' — H
\ ey lmm 3 ikt [ e S X Lh g
- _— L L =) famn e P P : - 23
H]
L n:
Is 2 i H L "2 _;,_ai
- DH- D1.05-50-2T-E 2 A 1.0 4 3 50 Specification d L L
5 D1.55-50-2T-E 2 A 1.5 4 4 50 DH- D0.3-50-2T-ES 2 03 4 06 50 /
i D2.05-50-21-E 2 A 20 4 6 50 D0.4-50-2T-ES 2 04 4 038 50 Be
2 D2.55-50-2T-E 2 A 25 4 8 50 g::::‘gﬁ g gg 3 ;g g b
T H W a =B
8z D3.05-50-2T-E 2 A 3.0 4 8 50 ey > 07 A e =0 ﬁs )
\ D et - _ o = L - D0.8-50-2T-ES 2 08 4 1.6 50 ﬁfﬁ
3 H1D-ET-E 2 B 1.0 6 3 50 D0.9-50-2T-ES 2 0.9 4 18 50 p
g 01.5-50-2T-E 2 A 15 6 4 50 D1.0-50-2T-ES 2 1.0 4 2.0 50 & E
H: D02.0-50-2T-E 2 A 20 6 6 50 D1.1-50-2T-ES 2 1.1 4 2.0 50 42
Ii D2.5-50-21-E 2 A 25 6 8 50 D1.2-50-2T-ES : L d = = >
i i
1:] = na.u_m_z"r_E 2 A 3_[} E 8 5ﬂ IJ1.3-5I]-2T-ES 2 1-3 4 2.5 5'ﬂ Ty
<% D1.4-50-2T-ES 2 14 4 3.0 50 % 4
. D3.5-50-2T-E 2 A 35 3 10 50
5 N Ay : : &5 = T = D1.5-50-2T-ES 2 15 4 3.0 50 Ve
o3 D1.6-50-2T-ES 2 1.6 4 35 50 -
L D4.5-50-2T-E 2 A 4.5 6 1 50 D1.7-50-2T-ES 2 17 4 35 50 By
FF D5.0-50-2T-E 2 A 5.0 6 13 50 D1.8-50-2T-ES 2 18 a 40 50 we
i g D5.5-50-2T-E 2 A 55 3 16 50 D1.9-50-2T-ES 2 19 4 40 50 & E
!i D6.0-50-2T-E 2 B 6.0 6 16 50 D2.0-50-2T-ES 2 2.0 4 40 50 % :
7 D7.0-50-2T-E 2 A 7.0 8 20 60 D2.1-50-2T-ES g 2.1 4 4.0 50 7
D2.2-50-2T-ES 2 22 4 45 50
D8.0-60-2T-E 2 B 8.0 8 20 60
D2.3-50-2T-ES 2 23 4 45 50
D9.0-75-2T-E 2 A 90 10 22 75 FRTREE ) = - e =
D10.0-75-2T-E 2 B 10.0 10 25 75 D 9 25 i 50 50
011.0-T5-2T-E 2 A 11.0 12 26 75 D2.6-50-2T-ES 2 26 4 5.0 50
D12.0-75-2T-E 2 B 12.0 12 30 75 D2.7-50-2T-ES 2 27 4 55 50
D14.0-100-2T-E 2 B 14.0 14 32 100 D2.8-50-2T-ES 2 28 4 55 50
D16.0-100-2T-E 2 B 16.0 16 45 100 D2.9-50-2T-ES 2 2.9 4 6.0 50
D18.0-100-2T-E 2 B 18.0 18 45 100 D3.0-50-2T-ES 2 3.0 4 6.0 50
D20.0-100-2T-E 2 B 20.0 20 45 100 4 & / Feature
%% & /Feature BRvhMERNITRAZERTIROEE. BEEEE, SATETFEHSEETHNMI.
B Highprecision performance at high speed due to micro neck diameter,
WiE R TFHaseti . W For milling in groove.
BEETFE#EDN. F2106. W High speed; Dry-cutting.
BEMIHEHERS +28s =&  EWork Piece Table o Excellent © Good RiEMITHE ER® e8as =&  WMWork Piece Table © Excellent — Good

i in T # ¥4 Work Piece #:n T#F % Work Piece

AW Rk, REHS #SE meE Hew WASE AW Rk, KBRS #o® BeE Hew WASE
H* pmh,de,{i;[ﬁﬁaﬁﬁﬂmd ctes|  Stainless Cast iron, r Aluminium Titanium  Heat L3 pmmde,ﬁf ﬂéhﬁ%ﬂe“ed ctea]  Stainless Cast iron, per Aluminium Titanium  Heat
Carbon A 519"-' Nuddar v alloy alloy  resistant Carbon A 519"-' steel Nucuar v alloy alloy  resistant
steel ~80HRC ~50HRC ~55HRC ~68HRC alioy steel ~80HRC ~50HRC ~55HRC ~68HRC alioy

cast iron cast iron

b4 DEREK b4 DEREK




DH-2-EP / Square / Long Neck / Short Flute / 2 Flutes DH-2-EP / Square / Long Neck / Short Flute / 2 Flutes
. DH2EP B EMKIIE T F kL5t DH-2-EP 7 7) LA K S48 7] F 3k 32 55 7)
o ’
L # 1
} HZPEAPD PP EaPD
%%%K ﬂ—“ MHT FENI FWNI AMENI #EE  WENT SEnT j_ MWL FEMI FENI A#MENI #OE  EENI SENT f;;&j
£ (] ] ’J,“ E
E‘E - D€ 1mm 1mmsD 'ulr ﬁE% r:ll iﬁ
:1 E _gts-a_h___ 'zﬂsﬂ'ﬂlﬁﬂ :E] e @ @ I | - De<lmm 1mmsh E )
E\\ ﬂi‘ . “ﬂgi;f.} l BRI :E] 00015 @ @ /
ﬁ Specification d M e S
EE DH- D0.5-M04-50-2T-EP 2 0.5 4 0.7 4 0.45 50 E%
z % D0.5-M06-50-2T-EP 2 05 4 0.7 6 0.45 50 s me
EE D0.5-M08-50-2T-EP 2 05 4 0.7 8 0.45 50 Specification e d i
\ D0.8-M04-50-2T-EP 2 08 4 1 4 0.75 50 DH- D2.5-M16-60-2T-EP 2 2.5 4 37 16 24 60 /
B D0.8-M06-50-2T-EP 2 0.8 4 1.2 6 0.75 50 D2.5-M18-60-2T-EP 2 25 4 37 18 2.4 60 g1
cH NN PR A Yy & aE 3 L2 E L) = D2.5-M20-60-2T-EP 2 25 4 37 20 24 60 ui
;.E DO.8-M10-50-2T-EP 2 0.8 4 1.2 10 0.75 50 P 2 30 6 45 6 285 50 Ie
'8 D1.0-M04-50-2T-EP 2 1.0 4 1.5 4 095 50 o ——— 5 o 6 iT i S B o 3
N D1.0-M06-50-2T-EP 2 1.0 4 1.5 6 0.95 50 . ' v
-] D1 .0-MO8-50-2T-EP 2 1.0 4 15 8 0.95 50 03.0-M10-50-2T-EP 2 3.0 6 4.5 10 2.85 50 ‘iE
E 01.0-M10-50-2T-EP 2 1.0 a 15 10 0.95 50 D3.0-M12-50-2T-EP 2 3.0 6 4.5 12 2.85 50 ;%
» E 01.0-M12-50-2T-EP 2 1.0 4 1.5 12 095 50 D3.0-M14-60-2T-EP 2 30 6 45 14 2.85 60 E,E
E 5 D1.0-M1 4-50-2T-EP 2 1.0 4 1.5 14 0.95 50 D3.0-M16-60-2T-EP 2 3.0 6 45 16 2.85 60 f
7 & D1.2-M06-50-2T-EP 2 1.2 4 1.8 6 115 50 D3.0-M18-60-2T-EP 2 3.0 6 45 18 2.85 60 " 4
5 N S e 2 . 8 = 8 A = D3.0-M20-60-2T-EP 2 3.0 6 45 20 2.85 60 P
-] 2210202 2 e t e u L 2 D4.0-M12-50-2T-EP 2 4.0 6 6.0 12 3.85 50 &
§ 9 L h e £ 2 4 18 12 LIS %0 D4.0-M16-60-2T-EP 2 4.0 6 6.0 16 3.85 60 3
. 5 [1.5-M06-50-2T-EP 2 1.5 4 23 6 1.45 50 : : ; g
3 D1 5-MOS-50-2T-EP 2 1.5 4 23 8 1.45 50 D4.0-M20-60-2T-EP 2 4.0 ] 6.0 20 3.85 60 %E
%g 01.5-M10-50-2T-EP 2 1.5 4 23 10 1.45 50 D4.0-M25-60-2T-EP 2 4.0 6 6.0 25 3.85 &0 H:!
D1.5-M12-50-2T-EP 2 1.5 4 23 12 1.45 50 D5.0-M16-60-2T-EP 2 5.0 6 75 16 4.85 60 g
01.5-M14-50-2T-EP 2 1.5 4 2.3 14 1.45 50 D5.0-M25-70-2T-EP 2 5.0 6 75 25 485 70
D2.0-M06-50-2T-EP 2 2.0 4 3.0 6 1.95 50
D2.0-M08-50-2T-EP 2 2.0 1 3.0 8 1.95 50 ¥ & / Feature
S 5 20 s w12 s % RERTAMNIL TS OEREAINT,
B For rib-processing and very fine operations without interference.
D2.0-M14-50-2T-EP 2 2.0 4 3.0 14 1.95 50
D2.0-M16-50-2T-EP 2 2.0 4 3.0 16 1.95 50
D2.5-M08-50-2T-EP 2 25 4 37 8 24 50
D2.5-M10-50-2T-EP 2 2.5 4 2 10 2.4 50
D2.5-M12-50-2T-EP 2 25 4 37 12 2.4 50
D2.5-M14-50-2T-EP 2 25 4 i 14 2.4 50
®TH
See next pageﬁ
WiEMIHARERAS  e+eas @& EWork Piece Table © Excellent © Good WEMIHEERAS emeas  ms  WWork Piece Table © Excellent - Good

% in T4+ ¥ Work Piece #: hn T 41 % Work Piece

TR 6% KBNS @As Bee HAs WRAS P—— THEM B5. RESS% BAE BAE HAS WSS
WEW G FUES, BN Stainle Cast Tita Heat WEW S i Stainle Cast Alu Tita Heat
i Al e _Profardoned sl Hordened st Sifless  Cusan Copper Mumgnum Tigpum | et b Ay oo Profardoned s Hrene stoo _ St Cuipan Capoar A Tighum |t

cast iron allay

cast iron alloy steel ~40HRC ~50HRC ~55HRC -68HRC

b4 DEREK b4 DEREK




DH-4-E / Square / Standard / 4 Flutes DH-4-EL / Square / Long / 4 Flutes
N DH4-E U 7) B 4fFE L1 8270 DH-A-EL M7 B 71 FL g 7]
g, /
i g = = i
vl 4EAr [7EE] 7] - | ZI.
\ HMT FENI FEMI ANETENI 0K WTRT HnT FENI FENMI SRENI #i0E  WENT f j
I | — —HESSE . T - at & 1
e ws L ' m?'»;' H T 8
\ “q@ l MN o | Dste 0-nge % - £ . ] - : E
120 Be0.030 - . i
: o E Sﬁjﬁgﬂ - g flamn Bmen </ ESSN L G
Bl ‘ ' : L : gl
z} IS8 71 & BT we ®s
3 Specification Teeth Figure d H L Specificati d Z
e pecincaton
DH- D1.05-50-4T-E 4 A 1.0 4 3 50 7
;w e e - . - g . = DH- D3.0-75-4T-EL 4 A 30 6 12 75 4
mE D2.05-50-4T-E a A 2.0 4 6 50 D4.0-75-4T-EL - i L B 15 5 As
1 | D2.55-50-4T-E 4 A 25 4 8 50 D5.0-75-4T-EL 4 A 5.0 6 20 75 4
58 D3.05-50-4T-E 4 A 3.0 4 8 50 D6.0-75-4T-EL 4 B 6.0 6 20 75 "
\ D4.05-50-4T-E : E ‘:-g ; 131 $ D8.0-100-4T-EL 4 B 8.0 8 25 100 /
3 D1.0-50-4T-E . 28
: e a 3 s - 7 5 D10.0-100-4T-EL 4 B 10.0 10 30 100 EE
E : S o s e A A 20 6 6 50 D12.0-100-4T-EL 4 B 12.0 12 35 100 az
x % D2 5-50-4T-E 4 Iy 25 6 8 50 D14.0-100-4T-EL 4 B 14.0 14 40 100 g =
& D3.0-50-4T-E 4 A 3.0 6 8 50 D16.0-150-4T-EL 4 B 16.0 16 50 150 Y
o D3.5-50-4T-E 4 A 35 6 10 50 D20.0-150-4T-EL 4 B 20.0 20 55 150 y
# D4.0-50-4T-E 4 A 4.0 6 11 50 " B
# D4.5-50-4T-E 4 A 45 6 11 50 -1
- D5.0-50-4T-E 4 A 5.0 6 13 50 2
i D5.5-50-4T-E 4 A BB 6 16 50 #d
i D6.0-50-4T-E 4 B 6.0 6 16 50 ig
78 D7.0-60-4T-E 4 A 7.0 8 20 60 .
D8.0-60-4T-E 4 B 8.0 8 20 60
D9.0-75-4T-E 4 A 9.0 10 22 75
D10.0-75-4T-E 4 B 100 10 25 75
D11.0-75-4T-E 4 A 110 12 26 75
D12.0-75-4T-E 4 B 120 12 30 75
D14.0-75-4T-E 4 B 140 14 32 75
D16.0-100-4T-E 4 B 16.0 16 45 100
D18.0-100-4T-E 4 B 180 18 45 100
D20.0-100-4T-E 4 B 200 20 45 100
4% & / Feature
Wi T Eeksl, Ri#nT. M Forsidemiling and grooving.
BEETHEDA. T4, B High speed; Drycutting.
WENIHAEHERR  enas 8 WmWork Piece Table © Excallent  Good BENIHEERE ©reEs O g EWWork Piece Table © Excellent © Good

## fm T &3 Work Piece ## hn T+ Work Piece
TER S5, RESS @At DA% JAs WRAS TEN H5. RESS @A S4% HAS WRAS
(;‘ar!bﬁ .ﬂnﬁyﬂsgel thamﬁﬁﬁélﬁﬁrﬁm stee]  Stainless Casﬁmn u%er um%lnun Tmﬁnum Heﬁ Eaﬁ hﬁyisﬁel Premmaﬂ ﬁﬁlﬁlﬁ&nm ctes]  Stainless Casﬁmn %&r unﬁim Tﬂ:aﬁum Heﬁ
steel _40HRC -50HRC -55HRC —eshRe  Stel  Nodular’ oo S e Ml L steel _40HRC —50HRC -55HRC —6ghRe  Stesl  Nodular 2 A Al

y< DEREK y< DEREK




DH6&E / Square / Standard / 6 Flutes DH6-EL / Square / Long / 6 Flutes

\ DH6E 7T EHFELIetT] DH-6-EL <7 EfMHK T FKrgtT) /
wi p = r st - i
3 - g
Bl 4EAP o=l 7l - | %

\ m HMT  RENI FEMT EMENT A0S WEMT M — ENI  FEWMI FEMI 4NTNI SEE  WEMI /
= o E
£ |
| i i [ L] % 2
N — ENNG | S i

} o famn Pisvee R e Lt g
+ i
I Bs T Is
i ccificat '

\{x - Specification Tem 5 1 S %
g i ' DH- D6.0-75-6T-EL 8 6.0 8 24 75 4
me E::;“:’::E : =1 . = = D8.0-75-6T-EL 6 8.0 8 32 75 A=

— = | ]
i1 D12 0o e e g ;g'z ig :g :g D10.0-100-6T-EL 6 10.0 10 40 100 z

\Q; ' p 16.[} is ps Sop D12.0-100-6T-EL 6 12.0 12 45 100 y
g D16.0-100-6T-F . It ”e . 100 D16.0-150-6T-EL 6 16.0 16 64 150 4
g el oLl : 020.0-150-6T-EL & 200 20 75 150 EE
il B EE
HE me
%E H ﬁ fFGature EEI

DS MR, SESKMRAAOR D MEIMM AL TR LY
‘ W High working precision due to high rigidity.
§ :

8 un

HE 23

55 as

i ::

.T.IE %ﬁ
BENTHEMERS ewms =& EWork Piece Table © Excellent © Good BENTHEMERS exme  =s  EWork Piece Table © Excallent © Good

# I THE Work Piece

#m T Work Piece

FEN H%. KBEH% @ # $EE WARE FEN H%. RES% e B4E HAE WRAS
pem pew, Prehardened stesh. Hardened steel Stainless ﬁ%ﬁf ron, Cu?pa Ahﬂ%ﬁn ma?im Heat BER 028 po, . mEw shige ﬁﬁcﬁﬁr‘m &?W ”‘{,‘,‘E‘i"“ § n%m e
steel ~40HRC ~50HRC ~55HRC ~68HRC Gintimn A et - steel ~40HRC ~50HRC ~55HRC ~68HRC e iR P R

b < DEREK y< DEREK




DH-2-B / Ball / Standard / 2 Flutes DH-2-BL / Ball / Long / 2 Flutes
DH-2-B 71 EffEk k1 8t 7] DH-2-BL A 71 BBk kg 7l

P4

# i #i
1 @ w@= i
\\X HMT  HEET — M RMMT  HEMT A M
N —) | R &1
- T EE— . ; ¥
i e =~ [
=2 L - v LH #
\ - = L g 7
D D e e o Qan Brem D Gt
! R ' ' +
Ia TE
-3 BE BE T I
nE Specification d H 2 Specification Teeth d H .
Eﬁ DH- R0.55-50-2T-B 2 A 1.0 05 4 2 50 DH- R1.0-T5-2T-BL 2 A 2.0 1.0 6 4 75 /
mi R0.755-50-2T-B 2 A 1.5 0.75 4 3 50 R1.25-75-2T-BL 2 A 25 1.25 6 5 75 as
i R1.05-50-2T-B 2 A 20 1.0 4 4 50 R1.5-75-2T-BL 2 A 3.0 15 o 6 75 3%
g R1.255-50-2T-B 2 A 2.5 1.25 4 S 50 R1.75-75-2T-BL 2 A 35 175 6 8 75 ;f
K198 EE2] £ 2 il i 15 4 L] = R2.0-75-2T-BL 2 A 4.0 2.0 6 8 75 -
i IREme 2 E 5 sl - = = R2.5-75-2T-BL 2 A 5.0 25 ; 10 75 £
. mliaoldic 2 = = 6 2 N R2.75-75-2T-BL 2 A 55 275 6 12 75 i
3 Ty z i ;2 ﬂ1j::15 z i 2 R3.0-75-21-BL 2 B 6.0 30 4 12 75 ?
E.ﬁ - a u {:'I
. -_ R1.25-50-2T-B 2 A 2.5 1.25 3 5 50 :::::::;L 2 : ;'g 3'2 2 i; 1::]5[}
£ 1500218 2 A 30 o ° o > R4.5-100-2T-BL 2 A 9.':1 4.5 10 18 100 5
i, iyl : n 2 Lo 2 2 2 R5.0-100-2T-BL 2 B 100 50 10 20 100 H
53 R2.0-50-2T-B 2 A 40 2.0 6 8 50 : : : §
&2 R2.5-50-2T-B 3 A 50 25 B 10 50 R6.0-100-2T-BL 2 B 120 6.0 12 24 100 g
% i R2.75-50-2T-B 3 A 55 275 6 12 50 R7.0-100-2T-BL 2 B 14.0 7.0 14 28 100 %
R3.0-50-2T-B 2 B 6.0 3.0 [ 12 B0 R8.0-150-2T-BL 2 B 16.0 a.0 16 32 150
R3.5-60-2T-B 2 A 7.0 35 8 14 60 R10.0-150-2T-BL 2 B 20.0 10.0 20 40 150
R4.0-60-2T-B 2 B 8.0 4.0 8 16 60
R4.5-75-2T-B 2 A 9.0 45 10 18 75
R5.0-75-2T-B 2 B 10.0 5.0 10 20 75
R6.0-75-2T-B 2 B 12.0 6.0 12 24 75
R7.0-75-2T-B 2 B 14.0 7.0 14 28 75
R8.0-100-2T-B 2 B 16.0 8.0 16 32 100
'R10.0-100-2T-B 2 B 200 10.0 20 40 100
%% & / Feature
WiE R F iRl W For profiling.
WEEFEETN. T4, W High speed; Dry-cutting.
B#EMIHEERSE +esa  @s  EWork Piece Table © Bxellent  Good B#EMIHEERSR eess  @s  EWork Piece Table © Buelent © Good
i in T4 ¥4 Work Piece #:hn T#1 ¥l Work Plece
Eaﬁﬁ A lﬁ‘-ﬁe' Pre-harderﬁf ﬂéhﬁ%&ened steel ST:EE?S ﬂ%ﬁﬁm ﬂ'%;»!I%zi‘r Niuinz;%m T?Ea&ﬁm ?\;Eﬁ%: Eﬁﬁ Al lﬁ‘-ﬁe' Pre-harderﬁf ﬂéhﬁ%&med steel ST:EE?E ﬂ%ﬁﬁm ﬂ'%;»!I%zi‘r Niuinz;%m T?Eaiyﬁn ?\;Eﬁ%:

steel ~A0HRC ~50HRC ~55HRC ~68HRC ek Slioy steel ~A0HRC ~50HRC ~55HRC ~68HRC ek Slioy

< DEREK b4 DEREK




s
"
s

e

=

Tesbwkcad it //

bl s

/

HEEHEEW
i o i

HREHH EEE R
CHFor herckanad ki

)

BEE

WEH
A% K gpanral pupIe

-.mc/= .
[

p
o MR H B

[P kx high palanrera

o A O R R S A

DH-2-BP / Ball / Long Neck / Short Flute / 2 Flutes
DH-2-BP ¥ 7] B #l1< 3148 71 Bk 3k 3L 8k 7]

—_——

) BAmN e T2 s

P

BE
Specification

T
Teeth

DH- RO.25-M04-50-2T-BP 2 05 0.25 0.7
R0.25-M06-50-2T-BP 2 0.5 0.25 0.7
RO.3-M04-50-2T-BP 2 06 0.3 0.9
RO.3-M06-50-2T-BP 2 0.6 0.3 0.9
RO.3-M03-50-2T-BP 2 06 0.3 0.9
RO.4-M04-50-2T-BP 2 0.8 04 1.2
RO.4-M06-50-2T-BP 2 0.8 04 1.2
RO.4-M08-50-2T-BP 2 0.8 04 1.2
RO.4-M10-50-2T-BP 2 0.8 04 1.2
RO.5-M04-50-2T-BP 2 1.0 0.5 1.5
RO.5-M06-50-2T-BP 2 10 05 1.5
R0.5-M08-50-2T-BP 2 1.0 0.5 1.5
RO.5-M10-50-2T-BP 2 10 05 1.5
R0.5-M12-50-2T-BP 2 1.0 0.5 1.5
RO.6-M06-50-2T-BP 2 1.2 0.6 1.8
RO.6-M08-50-2T-BP 2 1.2 0.6 1.8
RO.6-M12-50-2T-BP 2 1.2 0.6 1.8
RO.6-M16-50-2T-BP 2 1.2 0.6 1.8
RO.75-M08-50-2T-BP 2 15 0.75 2.3
RO.75-M12-50-2T-BP 2 15 0.75 2.3
RO.75-M16-50-2T-BP 2 15 0.75 2.3
R1.0-M06-50-2T-BP 2 20 1.0 3.0
R1.0-M03-50-2T-BP 2 20 1.0 3.0
R1.0-M10-50-2T-BP 2 2.0 1.0 3.0
R1.0-M12-50-2T-BP 2 20 1.0 3.0
R1.0-M16-50-2T-BP 2 20 1.0 3.0
R1.0-M20-50-2T-BP 2 20 1.0 3.0
R1.25-M08-50-2T-BP 2 25 1.25 3.7
R1.25-M12-50-2T-BP 2 25 1.25 3.7
R1.25-M16-60-2T-BP 2 25 1.25 3.7
R1.25-M20-60-2T-BP 2 25 1.25 3.7

045
045
055
055
055
0.75
0.75
0.75
0.75
0.95
0.95
0.95
0.95
0.95
1.15
1.15
1.15
1.15
145
145
145
1.95
1.95
1.95
1.95
1.95
1.95

2.4

2.4

2.4

2.4

(g Wil R S R S

S B E-E B

X

T

73

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
a0

S SN S SO AR SO ST SR ST SN S SR ST SOV S S S SO S S S S S S S S S S

BiENTHENEARE esss ms  W@Work Piece Table © Excellent - Good

# In T 4431 Work Piece

é‘aﬁ Aﬁﬁg&l Prefardest st aened stesl

Stainless
steel

steel ~40HRC ~50HRC ~55HRC -68HRC

Cast iron,
Nodular
cast ron

afloy

r

AW o, REBEH% #cE Bos Has WRas

Aluminiurm  Titanium

allay

60
BT

See next page ﬁ

Heat
resistant
allay

alloy

b < DEREK

DH-2-BP / Ball / Long Neck / Short Flute / 2 Flutes
DH-2BP /5 7] E 4l 348 715k Sk 31§t 7]

—_——

-~ — Re0.005 Re03
1 quu.ms 2}
qﬂ%%‘k_* ':ﬁhﬂ'ﬂ'ﬁlﬂl L R ) RedDl Rens

BE
Specification

DH- R1.5-M08-50-2T-BP 2 3.0 15 45
R1.5-M10-50-2T-BP 2 3.0 15 45
R1.5-M12-50-2T-BP 2 3.0 15 45
R1.5-M16-60-2T-BP 2 3.0 15 45
R1.5-M20-60-2T-BP 2 3.0 15 45
R2.0-M10-60-2T-BP 2 4.0 2.0 6.0
R2.0-M16-60-2T-BP 2 4.0 2.0 6.0
R2.0-Mm20-60-2T-BP 2 4.0 2.0 6.0
R2.0-mM25-60-2T-BP 2 4.0 2.0 6.0
R2.5-M16-60-2T-BP 2 5.0 25 15
R2.5-M25-70-2T-BP 2 5.0 25 715

2.85
2.85
2.85
2.85
2.85
3.85
3.85
3.85
3.85
4.85
4.85

HE@EO

MawT

RN

N EENT

233888388 a
A"

&0
&l
70

g O O Oy Oy O O Oy O Oy Oy | el

%% & / Feature
WiEFAFEEMIEAHsEMT,. M For ribprocessing and profiling.

BiENTHENEAR esss o ms  @Work Piece Table o Excellent - Good

3 hn T4 3 Work Piece

thardaﬁﬁ%éhﬁlﬁgéned steel
~80HRC ~50HRC ~55HRC ~68HRC

3 o) i
Catré}érl .ﬂ.E}r steel Stainless
5

Cast iron,
steel Modular

cast iron

afloy

r

AW o, REH% HcE Bos Has RS

Aluminiurm  Titanium

allay

Heat
resistant
alloy

alloy

b4 DEREK

R

\

\

[ br e sen| mipsa

e
o chi b | el

e HESE
A fior al urvin e

HEHH S RO
OH br ksdard rabrisl

HEEHE B

M

ST
[P k¥ High peribmere

iR HE 2 SF5 Bdd

L T




DH-2-BS / Ball / Micro / 2 Flutes DH-4-B / Ball ;"Standg:rdfil Flutes
\ DH-2-BS & 7] E#ER/INMEIR LT 85 T] DH-4-B M7 E 5k 3k 37 $5E 7] L
>4
i § = e — - () i
o] H@E
S S —ae e /
§ R B +
E E ¥ { ¥ 'u' ——————— — - ﬂ* % L
g3 - r __'Bﬂfﬂ. . a vo_A i
Qj\h lu“r'-- - lﬂ" ] I » ] ?;
L e |
. - . . R
AR E 0005 R ::ggllﬁ ;Egs @ i | _
g AN ' ) N l AT °)%3%4 RY) rom % ~ —ﬁ o . §§
gl : L LB E
Il e % e
iE Specification eth d L Be Z
‘i DH- R0.15-50-2T-BS 2 0.30 0.15 4 0.5 50 Specification d ks
g, R0.20-50-2T-BS 2 0.40 0.20 4 06 50 fHeRLA=R= A0 ed 8 2L = = : = 28
o R0.25-50-2T-BS 2 0.50 0.25 4 0.8 50 bl Ll - 2 — . e - - ai
ik R0.30-50-2T-BS . . - . . x5
“E 5 060 0.30 1 09 50 R2.5-50-4T-B 4 A 5.0 25 6 10 50 i
N R0.35-50-2T-BS 2 0.70 0.35 4 1.0 50 L -~ . o . . = . /
g R0.40-50-2T-BS 2 0.0 0.40 4 1) 50 SLE AT 8 ad B £ &4 8 16 e %5
E P 2 0,90 0.45 A 13 50 R5.0-75-4T-B 4 B 10.0 5.0 10 20 75 EE
E E Huju_m_z-r_gs 2 11}“ ﬂ_ﬁﬂ 4 1.5 5ﬂ HE.“‘E“T‘B “- B ]. 2.ﬂ E.ﬂ 12 2“- ?5 E g
i3 R0.60-50-2T-BS 2 1.20 0.60 4 1.8 50 R7.0-75-4T-B 2 B 14.0 7.0 14 28 & T
K - ="
RO.70-50-2T-BS 2 140 0.70 4 2.0 50 RE.0-100-4T-6 : E ig'g z'g i: :E igg
R9.0-100-4T-B . .
E it = = = 4 e o R10.0-100-4T-B 4 B 20.0 10.0 20 40 100 g
E R0.80-50-2T-BS 2 160 0.80 4 25 50 - : - -3
" F]
It R0.90-50-2T-BS 2 1.80 0.80 4 2.7 50 ; =
&z & /Feature g
H R1.00-50-2T-BS 2 200 1.00 4 3.0 50 e . . R ¥
2 5 WO eI I R R RS, RN I HE, EEEAAE NI hRmkiERE
ne R1.25-50-27-85 2 250 1.25 4 3.7 = B High feed speed; High efficiency: Long tool life. ° %g
R1.50-50-2T-BS 2 3.00 1.50 4 4.5 50
4% & / Feature
R ESEITESREN T O5E, SEELE, SETEFE4ESERE4NNT.
B High-precision performance at high speed due to micro diameter of flutes.
RiEMIHEHERR +xEs @& WWork Piece Table © Excellent © Good BEMIHEUERE ce2Es @&  WWork Piece Table o Excellent  Good

3 I T # % Work Piece N THEL Work Plece

B o e, S B, RESY #Ece Ses Hew WHASE P P FiRE . AR TP B, RESY B Bes Hes WHASRE
Caﬁm Alloy steel Pre-hardeneﬁteeh Ha&ened steel Sh;tléﬁss Cﬁg&:‘rgrrl 1Irr Nu;ri:l];um T'E}ﬁm rels-llig:nt Caﬁm Aoy steel thafdene$ steel. Hardened steel St:r;l;ss Cﬁg&lr:l p;zr M;rir]:rum Tnamm rels-lnig:nt

steel ~A0HRC ~50HRC ~55HRC ~68HRC gy Slioy steel ~A0HRC ~50HRC ~55HRC ~68HRC ek iron Slioy

b < DEREK b < DEREK




DH4R / Corner Radius / Standard / 4 Flutes DH-4-RF / Corner Radius / Short Flute / 4 Flutes
\ DH-4-R M7 &4\ RIS 7 $5E 7] DH-4-RF M 71 E 45 E 71 Bz §t 7] L
e
H&4EaAP DIPIE] 7] - | ZI
& ] -l m
\ T FEMI FENI #KREEI SOK 2 EEDT T REMI FENI #KREEI  SOE  EEDT /

——— es=s=3 ‘

R HEEO

D Fow i e
HEEHE
i Fow s e e

b= |

7

2 AN T @ !

2s

B H B E A0
i R O
OH iy haderednaksial

gs-l
=53

[H Far ksdard mirl

2= BT Specification d H
\ Specification N : . DH- D6.0R0.5-50-4T-RF a 6.0 0.5 6 6 50 /
s DH- D3.0R0.2-50-4T-R 4 A 3.0 0.2 L] 8 50 D6.0R1.0-50-4T-RF a 6.0 10 6 6 50 25
E : D4.0R0.3-50-4T-R 4 B 4.0 0.3 4 10 a0 D8.0R0.5-60-4T-RF 4 8.0 0.5 8 8 60 f.“,f;
i D4.0R0.5-50-4T-R 4 B 4.0 0.5 4 10 50 D8.0R1.0-60-4T-RF a 8.0 10 8 8 60 i
AS il g = - s - = _ D10.0R0.5-75-4T-RF 4 100 05 10 10 75 )
g SEORL 80-AT-H o A s 1.0 ) a8 i D10.0R1.0-75-4T-RF 4 10.0 1.0 10 10 75 f%
£ Lol Ll -~ _ - o . L - D10.0R2.0-75-4T-RF a 10.0 2.0 10 10 75 t E
At D6.0R1 0-50-4T-R 4 B 6.0 10 6 16 50 D12.0R0.5-75-4T-RF 4 120 05 12 12 75 H
i 2 D3.0R0.5-60-4T-R g B 8.0 05 8 20 60 D12.0R1.0-75-4T-RF 4 12.0 1.0 12 12 75 =
% D8.0R1.0-60-4T-R 4 B 8.0 1.0 8 20 60 D12.0R2.0-75-4T-RF 4 12.0 2.0 12 12 75 7
Y D10.0R0.5-75-4T-R 4 B 10.0 05 10 25 75 V.
ﬁ D10.0R1.0-75-4T-R 4 B 10.0 1.0 10 25 75 4% & / Feature 3
Ej Lilate b 2 B L = L 28 i WEAIEE7I ARG, AHTEE. k#LYHl, W High rigidity and short flute for highfeed at high speed. ﬁj
g D10.0R3.0-75-4T-R 4 B 10.0 3.0 10 25 75 at
55 D12.0R0.5-75-4T-R 4 B 12.0 05 12 30 75 ge
o D12.0R1.0-75-4T-R 4 B 12.0 1.0 12 30 75 7
D12.0R2.0-75-4T-R 4 B 12.0 2.0 12 30 75
D12.0R3.0-75-4T-R 4 B 12.0 3.0 12 30 75
WM THEHERAR  exms @& BWork Piece Table © Excellent © Good WM IHEMERASE  ewEs @& W@Work Piece Table o Bxcellent - Good

#hn T#5# Work Piece #n THEL Work Piece

R, B FEA %%, HBHS% PAE 2468 HAS WARSE W, BB FEA %%, HBBS% PAE 2% HA: WARSE
Carmﬁﬁ Nﬁyisgel Prehardened steel. Hardened steel Stﬂgelﬂ Cﬁgid o, Cuipel .ﬂlxmdloun TIIHI'II.I'H H};‘?t t mﬂﬁg Nﬁyisgel Prehardened steel. Hardened steel Stﬂ't:‘elﬂ mﬂﬂ. CDFPET -"ihﬂ}ll:}lm Tltai‘luun H'g?t .
Steel ~40HRC ~50HRC -55HRC ~68HRC ~ °°° o EACE S ork Steel ~40HRC ~50HRC -55HRC ~68HRC ~ °°° bl SO

cast iron

p< DEREK b4 DEREK




DH DL

DH-4-RP / Corner Radius / Long Neck / Short Flute / 4 Flutes DL-2-E / Square / Standard / 2 Flutes
e DH-4-RP M 7] E#f 1< 3158 71 [Els 2§t 70 DL-2-E A7 EfMFELIHtT] /
L
%4 r = P = wi
%3 v # £ 3
i HWdIEaP Pl 71 - | 2 i
\ E g MM FWENI FENI #MAWHI AOE  #ENT M FEMI FENI #HEMI ES0OE #EDT /
ﬁ ~ T T T ! o _ = E.' E;
H b i = ' 1A m3
E E _ul- P (] 1[_]""' i
i A — e T i
g H_ L L =1 i
\ ‘3&] MM p | D12 0-40.020 L™ M - . o u- ________ . ¥ B
2 = %0 B . . = T D D il
- S L L H o -]
i ~ + i
H s - B
i 3 . . 5 IE
%g Specification e d H e 4 H i |
\ DH- D6.0R0.5-75-4T-RP 4 6.0 05 6 5.8 6 18 75 DL. D1.050-21- ) . Lo " 3 50 %/
8 D6.0R1.0-75-4T-RP 4 6.0 1.0 6 5.8 6 18 75 oo 5 A 15 1 N 50 f"% g
ME & 5 : . ]
3 e : :'g {1]": : ;ﬁ : gj E D2.0-50-2T-E 2 A 20 4 6 50 nf
| B D8.0R1.0-100-4T-RP . . D2.5-50-2T-E 2 A 2.5 4 7 50 g
N= D10.0R0.5-100-4T-RP 4 10.0 05 10 96 10 30 100 rpy - : 0 g 5 &5 :}ﬁ‘
g N [10.0R1.0-100-4T-RP 4 10.0 1.0 10 96 10 30 100 : e
. D10.0R2.0-100-4T-RP 4 100 20 10 96 10 30 100 DA NEEE : a i E 12 2 i
4 D12.0R0.5-100-4T-RP a 12.0 05 12 115 12 36 100 e e 2 A 2y ) 15 50 LH
EH D12.0R1.0-100-4T-RP 4 12.0 1.0 12 115 12 36 100 it 2 - 6.0 6 18 60 Be
H D12.0R2.0-100-4T-RP 4 12.0 2.0 12 115 12 36 100 08.0-60-2T-E 2 B 8.0 8 20 60 i
D16.0R1.0-150-4T-RP 4 16.0 1.0 16 15.5 16 40 150 010.0-75-2T-E 2 B 10.0 10 30 7 "
- 016.0R2.0-150-4T-RP 4 16.0 2.0 16 15.5 16 40 150 D12.0-75-2T-E 2 B 12.0 12 32 75 ™
g D16.0-100-2T-E 2 B 16.0 16 45 100 ﬁ
Eg %% & / Feature D20.0-100-2T-E 2 B 20.0 20 45 100 s
&2 WimEnigit, SRTREEAsEMT. M Long shank and short flute for deep pocketmilling. EE
%E 4% & / Feature g
7 e
WEEB e mIF, WEITEHEMT . M Excellent chip evacuation and high efficiency. h
Wi IHEHERASR enims s W@Work Piece Table © Excallent © Good MiEMIHEHERASR ewEs s @Work Piece Table - Excalent — Good

# 0 THH# Work Piece

A THH# Work Piece

i TS ek, HRESES @ad E & Hae WASE i TS ek, HESES @Ead E & Had WASS
m N%iﬁel pmhamergf sﬂaﬁ-ﬁﬁmd stea]  Stainless Casﬁmn Co? glluumn dmﬁm Hleﬁ m Nﬁyiﬁ | Preharderﬁf sﬁaﬁ-ﬁﬁmd stea]  Stainless Casﬁmn Fi:l)er glllll.l'ﬂ Tdmﬁm Heﬁ
a 5 steel Nudular alloy alloy  resistant salae ~ stee _40HRC —50HRC ~55HRC —6BHRC steel gus'tjl::g:i alloy alloy alloy m:ﬁ?nt

steel ~40HRC ~50HRC ~55HRC ~68HRC cast iron alloy

b4 DEREK p< DEREK




DL DL

DL-2-EL / Square / Long / 2 Flutes DL-3-E / Square / Standard / 3 Flutes
N DL-2-EL AT Effc T F3Lr gt 7] DL-3E =T E#FELIHT]
N /
3 r = - = # i
1 =] 7] - | = HLEAP i
\ MO $WMI FENI #MTNI @K #AEDT NI FEMI FHENI #MENIT 0K WMENT /
: o | | e 1
1 T S - :
\Qj\ ID":T' L H %
i | —— . .
i N e RS = o eieE @ i1
1 ; Lo Lt i
i we e : @ i
“;i; Spec:'rﬁ:;:;atiun d L Speciﬁgaﬁun %ﬁ% Figﬁe d H 7/
é* DL- D3.0-60-2T-EL 2 A 3.0 6 12 50 DL- D1.0-50-3T-E 3 A 1.0 4 3 50 EE
a;i D4.0-60-2T-EL 2 A 4.0 6 16 60 D1.5-50-3T-E 3 A 1.5 4 | 50 EE
gg D5.0-60-2T-EL 2 A 5.0 6 20 60 D2.0-50-3T-E 3 A 20 4 6 50 ig
\ D6.0-75-2T-EL 2 B 6.0 6 25 75 D2.5-50-3T-E 3 A 25 a 7 50 ;f
3 D8.0-75-2T-EL 2 B 8.0 8 32 75 D3.0-50-3T-E 3 A 3.0 6 9 50 3¢
E D10.0-100-2T-EL 2 B 100 10 45 100 D4.0-50-3T-E 3 A 40 6 12 50 g
nE D12.0-100-2T-EL 2 B 12.0 12 45 100 D5.0-50-3T-E 3 A 5.0 6 15 50 Es
ig D16.0-150-2T-EL 2 B 16.0 16 65 150 D6.0-60-3T-E 3 B 6.0 6 18 60 E
h 7 D20.0-150-2T-EL 2 B 20.0 20 75 150 D8.0-60-3T-E 3 B 8.0 8 20 60
% N D10.0-75-3T-E 3 B 10.0 10 30 75 Vu
E D12.0-75-3T-E 3 B 12.0 12 32 75 ﬁm
Eg D16.0-100-3T-E 3 B 16.0 16 45 100 HE
8 D20.0-100-3T-E 3 B 20.0 20 45 100 ae
5 i
%% & / Feature
WiE e S, TR, FESIERAFRnTI., M Excellent cutting performance; Zero-shaking; High precision.
BiEmIHEMERASR  *+wEs  ss  WWork Piece Table © Excellent - Good BiENITHENERE 2ess @ EMWork Piece Table  Excellent - Good
3 0 T4+ Work Piece 3 i T4 Work Piece
MR QSW oy  TEH ERH 0 s T Cation  Copper Aumniim T - Heat- BRE BSW ool ey R | ool S ot %ﬁrﬁ BT LB
steel | -AOHRC -50HRC -55HRC -6atRc el Noduar - aloy aloy alloy resistant s Y= "_aomRC -50HRC ~55HRC ~6ebRe el Noduar aloy alloy alloy resistant

=
E=0

b4 DEREK b4 DEREK




DL DL

DL-3-EL / Square / Long / 3 Flutes DL-2-B / Ball / Standard / 2 Flutes
\ DL-3EL =N EMK T FE L g 7] DL-2-B A7 E#hEkLr st 7] /
$§ 3 e %i
i gl 7] - | % pm@E i
\ EMT  FERT FUMT AMNNT mumT MW GEMT A
1 R S s e T - pi = [FE=Be) & 2
3 ' e LoHo i .

d
1T: i
|

|

|

|
I
‘m

g : g

x — = i B i R R=001 @ £

g e Tommsan gh = B ToJoam 17 [ . L £

mE = - EE

% E Is

LY blf= ¥

N3 =S i
\ Specification d g d H L /

8\ DS DR AT e 3 A 30 6 12 60 DL- R1.0-60-2T-B 2 A 20 1.0 6 4 60 21

me D4.0-60-3T-EL 3 A 40 6 16 60 R1.5-60-2T-B 2 A 30 15 6 6 60 0

i3 D5.0-60-3T-EL 3 " 50 6 20 60 R2.0-60-2T-B 2 A 40 20 6 8 60 2

- - [

Ty D6.0-75-3T-EL 3 B 60 6 25 -~ R2.5-60-2T-B 2 A 50 25 6 10 60 /

% D8.0-75-3T-EL 3 B a.0 8 32 75 R3.0-60-2T-B 2 B 60 3.0 & 12 60

& D10.0-100-3T-EL 3 B 10.0 10 45 100 Lo L 2 B 80 4.0 8 16 75

gE D12.0-100-3T-EL 3 B 12.0 12 45 100 LS S A 2 B 10.0 50 10 20 75

i3 D16.0-150-3T-EL 3 B 16.0 16 65 150 o 2 Ll 120 6.0 12 24 75 :
D20.0-150-3T-EL 3 B 20.0 20 75 150 P

Y ¥ & / Feature A

g WEFFEA SMOTEH, W For profiing. i

¥ i+

e 1

%8 a

1 il

7 g A

WiEMTHEMERRE  ewEs &4  W@Work Piece Table © Excallent - Good B NTHEEES  ewEe @2 EWork Piece Table © Excellent  Good
# I T# ¥ Work Piece T4} Work Piece
P TR . R TS k. BESES ﬂﬁ‘ﬁ Fee 5% WRAESE = R . R THEE k. BEES ﬂﬁ‘ﬁ ﬁﬁ‘ﬁ gHeas mWReE
BER (B0, Pronaaso e e seel  Sttecs G, Copper Al Tigin W Ebon Al stae _Prohardened stdl. Hardened steel _ Staiess " Gastiton, " Copper Alrinum Trarwm  Heat
steel ~40HRC ~50HRC ~55HRC ~68HRC Rty iy steel ~40HRC ~50HRC ~55HRC ~68HRC il S

=

b< DEREK b4 DEREK




DL DATA

DL-3W / Square / Standard / 3 Flutes / Waving Technical Data
N DL3W = 71 B A% T 3k B S 70 HAR
# 4 i
* 1 Ll [
# i r §
k] 7] - | 2 ;
P ey ——
g b DP-2-£ & DP-2-EL 2.
——— I
25 whiy FERERR/EEN T oo 0 i1 s 40 L8 8 1 40 T ms
g'ié i i . Carst fronyCarbon Steel/Blay Sted . Preterdered SteslHardened Steel Pre-tardened SteslHardered Sl Hardaned Steel T :
- " % °, Work Piece ~ 30HRC Stafless Sted ~ 40HRC ~50HRC ~55HRC -
_ o
o\ L H Do Wb ERRE LR EREF R BT JENR EREF JINR EREE
= e L . mirr* mm,/min min* mim,/min mirr? mim,/min min* mm,/min mim* mm,/min FE
] D) D56 0-0.048  6<Ds10 0~0.058 E
§ % 10<D<18 0-0.07 18<D 0-0.084 @ 1 20000 200 20000 60 20000 165 20000 120 20000 90 gg
"W E
% E 2 15000 320 11150 85 15000 285 13000 180 11140 130 E g
I
l;, i L f = 3 14000 545 7500 120 10600 420 8500 330 7430 240 %
TE S -
\ Specification efl 4 10800 L] 5500 135 8000 425 500 335 5570 245 y
%g DL- D6.0-50-3T-W 3 6.0 & 16 50 L] 8200 BEh 4500 135 6400 445 5000 355 4460 260 E g
Fﬂ
%% D8.0-60-3T-W 3 8.0 a8 20 &0 (] 7000 a0 3700 140 5300 465 4200 200 3710 260 ﬁ E
s D10.0-75-3T-W 3 10.0 10 25 75 8 5200 595 2800 140 4000 455 3200 365 2785 270 i
ic o
\ D12.0-75-3T-W 3 12.0 12 30 75 10 4200 585 2200 140 3200 445 2800 350 2230 280 %
E D16.0-100-3T-W 3 16.0 16 45 100 12 3500 1] 1850 140 2660 445 2100 350 1855 250 =
®E
ﬁ D20.0-100-3T-W 3 20.0 20 45 100 14 3000 545 1600 135 2300 420 1800 330 1580 240 E =
Eg 16 2600 545 1400 120 2000 420 1600 330 1390 240 | H
E% 18 2300 535 1250 120 1800 415 1400 325 1240 235 E
Bz 4% & / Feature z
20 2080 535 1100 120 1600 415 1250 325 1115 235 7
E . WiE A FE & &REMI . MFor roughing. P o
i
g -
£ o
4 wuiy ESERGS &M R o B8 0 i1 s 40 it =l EET T B3
E . (Cast InonyCarbon Steel Moy Sieal i Prehardered SteelHardaned Steel Pre-hardened StedHardened Sieel Hardanad Steel g E
§s Work Piaca ~ 30HRC Stairless Steal ~ 40HRC ~50HRC ~55HRC 1
7 g D (5] & i i [E 4 S o (5] S i S5 HELS i EfEs i %
o NolcedRPM  Fead Speed NoloadfPM  Feed :j:uﬂd Nolced BPM  Fead Speed NoloadBPM  FeedSpesd  NoloadRPM  Fead Speed
mirr M min min mim/min mirr mimmin min mimmin min M min
1
2 15000 435 11150 110 15000 380 13000 200 11140 175
3 14000 735 7500 135 10600 ] 8500 370 7430 325
4 10800 755 5500 140 B000 575 G800 380 BR0 335
L] 8200 795 4500 140 6400 605 5000 400 a4460 350
[} 7000 E10 3700 145 5300 4200 405 3710 350
8 5200 800 2800 145 4000 615 3200 415 2785 365
10 4200 795 2200 145 3200 a05 2800 390 2230 340
12 3500 795 1850 145 2660 605 2100 390 1855 340
14 3000 735 1600 140 2300 i) 1800 370 1520 325
16 2600 735 1400 135 2000 ] 1600 370 1380 325
18 2300 720 1250 115 1800 L] 1400 365 1240 35
.ﬁmIHﬂ'{!ﬁﬁ DHEREE O EE W Work Piece Table © Excellent - Good 20 2080 720 1100 115 1600 L] 1250 365 1115 315

# 0 T+ Work Fiece

WBE. B TEW H5. RERS% WAE BAE HAs

0 i
g ﬁ% Prehardened steel. Hardened steel  Stainless  Castiron Co Aluminium  Titanium I-&ﬁ
agan Alloy a steel~ Ha ' E;‘e' A
steel ~40HRC ~50HRC ~55HRC ~68HRC ~ S'°®! e s A A e

<4 DEREK r <4 DEREK




DATA DATA

Technical Data Technical Data

N\ BAZ BARL

b
Tachicaldata

-4
Techrical da

y
X

DP4-GE&DPAGEL ( &M% T) Profiling At High Speed DP-4-E &DP4-EL ( HiEMEEMTI ) Profiling At High Speed

s £ s
A .. SRAETASE  AESARW T 4 BB B wy  ERRERE R s BB B B 1
i E Work F'i;iltlﬂ Carst Iron,/Carbon StealMloy Steel Steal Aoy Stecl Prehardened StelHardanad Steel Prehandanad Steel/Hardened Staal Hardaned Steel ] ¥ Carst Inon,/Carbon Stealfloy Steel : Pre-hardanad Steel/Hardened Stadl Pre-hardenad SteelHardanad Steel Hardened Staal I
- ! ~ 30HRC ~ 40HRC ~ 45HRC ~50HRC ~55HRC Work Piece ~ 30HRC Stainless Stael ~ 40HRC ~50HRC ~55HRC "
17030128 AF -
\ (Cutting Spesd) 300m,/min 250m/min 200m/min 150m,/min 100m,/min - Mo L.;ﬁ gﬂ %f\ceed Mo L:FE%H E&fmd Ho Lﬁfﬁﬂ E?teed Ma uﬁgu %unﬂ Ma uﬁﬁu %ﬁl L
= s - - - Ol min’ mmy/min min* mm/min min* mmy/min mir’ mm/min min® mm,-’rnln % E
* Do Jale ESER WO, ERRT WJEER ESRE JEER AS Eﬁ NoToa i Feed 6 15915 1705 13260 1420 10600 1135 7960 850 5300 570 ]
E E min* mimy| ‘min min? mm,/min i mimy| min min? ITIITI min min* mm,-'mln 8 11935 1700 9950 1400 7960 1130 5470 850 2680 570 ; g
T e poee me
E E 6 15915 1535 L 1280 1020 7960 I 5300 2 10 9550 1660 7960 1380 6370 1110 4775 830 3180 550 =
b : e e L R L T = 765 3580 515 12 7960 1660 6630 1380 5300 1110 3980 830 2650 550 ;;,/
g i S ot phi i ous et Rl 750 3180 495 14 6820 1545 5685 1290 4550 1030 3410 900 2275 515 2 '
5 #
i a it Lo Sl L s aiEd =2 = - ol 16 5970 1545 4975 1290 32080 1030 2085 00 1990 515 4
z E. b = = = i b el = = S 18 5305 1545 4420 1290 3540 1030 2650 900 1770 515 s
na 16 5970 1390 4975 1160 3980 930 2985 810 1950 465 o e e i S e TEn o = T R #
\ 18 5305 1390 4420 1160 3540 930 2650 Bl0 1770 AR5 /
20 4775 1390 3080 1160 3180 930 2390 810 1590 465

OF kot gl [efiimm e

Wy AREERWAEN  FRAEHE S CEE R4 B

: Carst ionyCarban Steel/Mlay Stesl  prehardaned Steel/Handened Steel  Prechardaned SteelHardened Steal  Prehardened Stel/Hardaned Steel Hardenad Steel
Work Fiace ~ 30HRC ~ A40HRC ~45HRC ~B0HRC ~BBHRC

D kg BAEF JINR ERSF RS RRER NS BT O ERED

A HE = ST MO

DPA-E&DP-4EL (| #ifinT )

SRS EH T R o 40 FRER A
s Cast ronyCarbon Steelffloy Steal T Pre-hardened Sed/Hardened Sieel Pre-hardanad Steel/Hardened Steal Hardered Steel

1 HE SR

[P k¥ high peribmece

E Work Piace ~ 30HRC Stainless Steel ~A0HRC ~50HRC ~B5HRC D min’ mmy/min min* mmy/min min* mmy/min miri mmimy/miin min mmy/min E
] D (R T S - S T Bt BSmE BN SR R3.0 15000 4800 11500 2150 9500 2250 7960 1885 6370 1510 -
£ T eI e T e o I O e e i RO 11500 3650 8950 2100 7150 1700 5070 1420 4775 135 §
H g 1 R5.0 9500 3000 7150 1700 5700 1350 4775 1130 3820 905 %;
& % 2 15000 480 11150 120 15000 420 13000 270 11140 195 R6.0 7950 2500 5950 1400 4750 1100 3980 920 3180 735 ul
3 3 14000 815 7500 145 10600 630 8500 495 7430 360 R3.0 5950 1900 4450 1050 3550 850 2985 760 2390 610 A
4 10800 840 5500 150 8000 645 6500 505 5570 370 R10.0 4750 1500 3550 850 2850 650 2390 570 1910 455
5 8200 875 4500 150 6400 675 5000 530 4460 390
6 7000 900 3700 165 5300 690 4200 540 3710 390
8 5200 890 2800 165 4000 680 3200 555 2785 405
10 4200 875 2200 165 3200 675 2500 525 2230 375 HHIH S ER/ERE Bk A BESS TSRS TouniE /18 1
Cast ronyBall Cast ron Stanless Stedl Carbon SiealAlloy Steel Pre-hardened SteelHardaned Steel  Pre-hardaned Steel/Hardered Steal
12 3500 875 1850 165 2650 675 2100 525 1855 375 ~30HRC 40HRC _SO0HRC
“ om0 s 10 150 200 630 180 4% 150 30 (NE, BSEE mmm pems  sne  opems  mRE pess  BRE sqas
16 00 815 1400 145 000 630 1600 495 1390 360 min’ mm,/min min* mim,/min min* mmymin min mm,/min min mm,/min
8 T T P T i o o T P eo R15 15500 2055 7400 625 10600 975 8500 600 7430 525
B e e 360 158 1650 ca P e TS . R2.0 11500 2055 5550 795 8000 1190 6500 800 5570 635
R2.5 9500 2270 4450 795 6400 1190 5000 810 4455 720
R3.0 8000 2270 3700 840 5300 1245 4200 840 2715 745
R4.0 6000 2810 2750 985 4000 1515 3200 950 2785 825
R5.0 4800 2595 2200 925 2200 1405 2500 950 2230 825
R6.0 4000 2375 1850 925 2650 1320 2100 905 1855 800
R8.0 3000 2270 1350 815 2000 1295 1600 810 1395 705
R10.0 2400 2055 1100 795 1600 1200 1250 715 1115 740

< DEREK <4 DEREK




DATA DATA

Technical Data Technical Data

BARZH HA L )y
gé E

: 3
oE ?
2 DG-2-€ &DG-2-EL 2
£ : 3 7 ) . ik
L whis  UEAESEE ik TR/ W i PR WHIH BYRBES WENSEN MENSEN BB AR TN 4 ms
N 4 Carban Steel/Rlay Steel Stainless Steal Preardened Stesl/Hardened Steel  Prechandenad SteelHardened Stesl Hardened Steel Cactlron/Bal Castion  CorbonStes/Mloy Steel  Carbon Steel/Mloy Stedl  Prechardened SteelHardened Stesl Stainkess Steel Pre-hardened Stes|/Hardenad Steel I
7 Work Piace ~ 30HRC ~ 45HRC ~ 50HRC ~55HRC 750N/mm’ ~30HRC A0HRC ~50HRC e
=1 e D e

i\ D JENR ESER  WJIOE EREE IR ERER RN ESET  GER 58S o ML P Pttt o Thag U it i oad i et No Lo U Pt et 10 oadiM ot et N LodfM P /

& L min* mim,/min i i,/ min min* mim,/min min’ mm,-’rnln min’ mm,/min min°  mmy/min ~ min mm/min ~ mint  mm/min~ min mirm/min miin mm,/min min i,/ min ; E

Eg 1 20000 165 20000 165 20000 135 20000 135 20000 50 20000 100 - ]
E

ns 2 L L L = L S Lo L Ll 2 15000 265 15000 265 15000 240 15000 235 11150 70 13000 150 Q £

g: 3 14000 s 7500 145 e 505 8500 395 7430 245 3 14000 455 14000 455 13000 420 10600 350 7500 100 8500 275 -

\%\ 4 10800 675 5500 155 8000 515 6300 405 5570 245 4 10800 465 10800 465 10000 430 8000 355 5500 110 6500 280 /
8 5 8200 695 4500 155 6400 540 5000 425 4460 260 5 8200 485 8200 485 7600 450 6400 370 4500 110 5000 295 8 :
me 6 — — s L — 555 4200 435 3no 260 6 7000 500 7000 500 6400 460 5300 385 3700 115 4200 300 wk
HE I
%,g 8 5200 L 2800 i MK 955 3200 ey 2785 = 8 5200 495 5200 495 4800 455 4000 380 2800 115 3200 305 g

\ 10 4200 695 2200 10 3200 535 2500 420 2230 255 10 4200 485 4200 485 3800 450 3200 370 2200 115 2500 290 /
3 12 3500 695 1850 170 2650 535 2100 420 1855 255 12 3500 485 3500 485 3200 450 2650 370 1850 115 2100 290 32
& 14 3000 455 3000 455 2700 420 2300 350 1600 110 1800 275 g3
il g i =
ME 16 2600 455 2600 455 2400 420 2000 350 1400 100 1600 275 ﬁ g
“H B
=3 18 2300 445 2300 445 2100 410 1800 345 1250 100 1400 270 z
BE #

. T1E . 7 T
: . —— gy F————— pr————— po—— 20 2050 445 2050 445 1900 410 1600 345 1100 100 1250 270 5
o N g Carbon StealAloy Steel Stainlass Steal Preterdened StealHardened Steel  Pre-hardaned Steel/Herdened Stesl Hardened Steel F
E Wk Piace ~30HRC ~45HRC ~ BOHRC ~55HRC 5
] D BSE  ESEE  ERN BSEE SRS RS Bl ESEE ESN  geEE =
i | N:- Load F‘FH Feed .:u,:.m.:l Mo Load Ii:F‘ Fead Speed Mo Lun_n:l!-'lnﬂﬂ Fead .:u,:.m.:l Mo Load ed Speed No Load FFH Feed Spaad E %I
ﬁE min* mim,/mrin mirm mm,/’ 'min min Mimy,/min ITIII'I mm,-’mln min* I'I'lI'I'l,.l"I'I'III'I DG-A-GE &DGAGEL - g
22 3 14000 985 7500 175 10600 755 8500 590 7430 435 £ g
1] 4 10800 1010 5500 175 8000 770 6500 00 5570 245 HHH SBRBESS UREWSEE RENSEN TR0, ol AR TREEE AR SIE we
7 E Cactlnon/Bal Castlron~ Carbon SteelMloy Stel  Carbon Steel/loy Stedd  Prehardanad SteelHardened Stesl Stainless Steal Pre-hardened Steal/Hardanad Steel 7

5 8200 1055 4500 175 6400 805 5000 640 4460 470 750N/mm? ~30HRC _A0HRC ~50HRC
) -}
6 7000 1080 300 195 510 &30 400 e0 0 4 Wit M g L s M N T L G M L G L
8 5200 1070 2800 195 4000 815 3200 660 2785 285 min®  mm/min ~ min mm/min ~ min mm/min-~ mir mim,/min min mmy,/min min mm,/min
1
- T ST S i5E oo EiE 5 B g B 20000 225 20000 225 20000 180 20000 180 20000 80 20000 135
. T T . T e 805 e =T 1855 150 2 15000 360 15000 360 15000 325 15000 315 11150 90 13000 200
3
- SR B Bk e S rE HET B e E 14000 610 14000 610 13000 570 10600 470 7500 110 8500 370
4 10800 630 10800 630 10000 575 8000 480 5500 115 6500 380
5 8200 660 8200 660 7600 600 6400 505 4500 115 5000 400
6 7000 675 7000 675 6400 620 5300 515 700 120 4200 405
8 5200 665 5200 665 4800 610 4000 510 2800 120 3200 415
10 4200 660 4200 660 3800 600 3200 505 2200 120 2500 390
12 3500 660 3500 660 3200 600 2650 505 1850 120 2100 390
4 3000 610 3000 610 2700 570 2300 470 1600 115 1800 370
16 2600 610 2600 610 2400 570 2000 470 1400 110 1600 370
18 2300 600 2300 600 2100 560 1800 460 1250 95 1400 365
20 2050 600 2050 600 1900 560 1600 460 1100 95 1250 365

b < DEREK y< DEREK




DATA DATA

Technical Data Technical Data
N HAR T BRI y
i 3
3
E E & Bl BENSEW BESSES TREE A TR HE W # RS & BENSE® FRER ! 'E E
‘;‘ i Work Fiace Carbon Stesl Aloy ;Eteel Carbon Steallloy Steel Frehardened Steal/Hardanad Steel Stainless Steel Work Fiace Carban Stes)/ Ay 1'z‘teel Carbon StealAloy Steel Prehardened Steel/Hardened Steal Stailess Stoel ; d
M g T50N/mm* ~30HRC ~40HRC 750M/mm ~30HRC ~40HRC 7 y
B 0, EET e pumx oo mwm peuw o ENE ggER @ EWK geEE D WELE BN Syss » M SeNx »  ENR Suak »  mak gene o
x min'  mm/min - mm mim  mmy/min - mm min'  mm/min - mm mint  mm/min- mm mimr mrn min min'  mm/min mm min'  mm/min  mm min*  mm/min - mm 3 E
- E 05 4 28000 500 0.023 28000 400 0.021 28000 250  0.018 25000 200 0014 3.0 6 11000 1300 Q.42 10000 1100 0.39 10000 1000 0.32 8000 o0 0.27 ;;_ §
.*Ej E 05 & 22000 400 0.007 22000 350 Q.06 22000 150 0.005 20000 150 0.004 3.0 8 11000 1200 029 10000 1100 0.36 10000 1000 0.30 2000 700 0.24 E g
5 5 0.5 8 18000 300 0.005 18000 300 0.005 18000 150 0.004 20000 150 0.003 3.0 10 11000 1300 031 10000 1100 0.29 10000 1000 0.24 8000 700 019 E
- 08 2 32000 900 0057 32000 600 0053 32000 GO0 0.044 25000 400 0035 3.0 12 11000 1100 029 10000 1000  0.27 10000 900 0.2 BODD 650  0.16 /
@ : 0.8 6 26000 700 0036 26000 450 0.034 26000 400 0.028 21000 300 0022 3.0 14 11000 1100 0.27 10000 1000 0.25 10000 900 0.20 8000 650  0.15 By
i £ 0.8 2 22000 500 0026 22000 250 0.024 22000 300 op2 12000 200 0016 3.0 16 10000 850 022 10000 750 0.20 Qo000 650 0.17 G000 450 0.13 ;T:J: %
E g 0.4 10 22000 500  0.01 22000 350 0.01 22000 300 0.008 18000 200 0.008 an 18 10000 850 016 10000 750 0.14 000 RE0 012 ROOD A50 0.10 E §
\ 10 4 29000 1300 Q08 27000 1000 0.08 26000 900 007 20000 600 005 3.0 20 10000 850 012 10000 750 0.10 a0 &850 0.08 /OO0 450 0.07 /
= 1.0 29000 1300 0.07 27000 1000 0.07 26000 900 0.06 20000 &00 0.04 4.0 12 000 1300 042 7000 1100 0.38 7000 1000 0,32 AO00 700 0.26 =
' 1.0 8 24000 800 005 23000 800 0.04 22000 700 0.04 18000 400 0.03 4.0 16 8000 1100 039 F000 1000 0.35 7000 400 0.30 6000 650 0.24 E E
10 10 20000 J00 003 19000 600 0.02 18000 500  0.03 15000 300 0.02 4.0 20 7000 ao0 0.34 7000 800 0.30 G000 700 0.27 5000 OO 0.20 -,"I‘ ?
1.0 12 20000 700 Q02 19000 &00 00z 18000 500 00z 15000 300 0.01 a0 25 7000 oon 0,20 7000 800 0.27 AOOD 700 0.24 5000 500 0.15 g N
10 14 18000 500 0015 15000 400 0.01 15000 360 001 12000 200 0.008 5.0 16 6000 1200 0.49 6000 1000 0.45 5000 1000 0.38 5000 600 0.30 ‘;‘ ;
5 12 6 25000 1100 Q09 23000 1000 0.08 22000 900 007 17000 600 0085 5.0 25 5000 800 045 5000 720 0.42 5000 700 0.35 5000 &00 0.25 i
E 12 & 21000 900  0.07 20000 700 0.07 19000 700 0.05 14000 400 0.04 E
. 12 10 21000 900 008 20000 700 0.05 19000 700 004 14000 400 003 .
£ L
& 12 12 18000 700 0.04 17000 600 0.04 16000 500  0.03 11000 300 002 al
; 15 B 20000 1200 Q.15 18000 1000 0.14 18000 900 011 14000 600 009 i SamBRs BESLSEE BEEFSET B RS FiEE i & Ef
7] 15 8 19000 900 011 16000 800 01 15000 700 0.08 12000 400  0.07 Work Fiece  Cast FonBal Cast un “"’;‘%ﬁ;’;‘nﬁnﬁﬁ B It e E i L)
15 10 18000 900 009 16000 200 0.08 15000 700 006 12000 400 008 Elien FreEEE IEI!!H eeEr BN e lﬂﬂ eeEE G SRR 0 G gt
NoloadfFM FeedSpesd MaloadfPM Fesd Speed MoloadRPM FeedSpeed MNoloadRPM  FeedSpeed  Noload fPM FesdSpeed  MalLoad Feed Speed
15 12 19000 900 Q.07 16000 800 0.06 15000 700 0.05 12000 400 0.04 min mm/min ~ min i/ min min T/ Tin min T/ Tin min M/ min min MmN
15 14 19000 700 006 1a000 &0 0.05 15000 630 0.04 12000 360 0.03 1 20000 250 20000 250 20000 200 20000 200 20000 ap 20000 150
20 6 16000 1300 0.34 15000 1100 0.31 14000 1000 Q.26 11000 700 0.21 2 15000 400 15000 400 15000 360 15000 350 11150 100 13000 225
20 8 16000 1300 029 15000 1100 0.26 14000 1000 022 11000 700 0.8 3 14000 630 14000 680 13000 630 10600 525 7500 120 8500 410
20 10 14000 900 026 13000 800 0.24 12000 700 0.20 9000 500 0.16 4 10800 700 10800 700 10000 640 2000 535 5R00 125 B500 420
20 12 14000 900 014 13000 200 013 12000 700 011 9000 E00 009 5 8200 730 8200 730 7800 670 6400 560 4500 125 5000 440
20 14 14000 900 0.1 13000 800 011 12000 700 0.09 9000 500 0.07 6 7000 750 7000 750 6400 Ha0 5300 575 3700 135 4200 450
20 16 14000 900  0.08 13000 200 0.08 12000 00 007 9000 E00 0.6 8 5200 740 5200 740 4800 680 4000 565 2800 135 3200 450
25 a 13000 1300 0.42 12000 1100 0.39 11000 1000 0.33 Q000 700 0.76 10 4200 T30 4200 T30 3800 &70 3200 BA0 2200 135 2500 435
25 10 13000 1300 0.36 12000 1100 0.23 11000 1000 0.28 a0 700 0.22 12 3500 730 3500 730 3200 670 2650 560 1850 135 2100 435
25 12 13000 1300 0.24 12000 1100 0.23 11000 1000 0.19 9000 700 0.15 14 3000 680 3000 6ED 2700 530 2300 525 1600 125 1800 410
25 14 12000 900 0.18 10000 800 0.17 9000 700 0.14 7000 500 011 16 2600 680 2600 680 2400 630 2000 525 1400 120 1600 410
25 16 12000 900 0.13 10000 800 012 8000 700 0.09 7000 500 0.08 18 2300 670 2300 670 2100 620 1800 515 1250 105 1400 405
25 18 12000 800 011 10000 720 0.10 9000 §30 0.07 7000 450 0.07 20 2050 670 2050 670 1800 620 1600 515 1100 105 1250 405
25 20 12000 8OO 0.09 10000 720 0.08 9000 630 0.05 7000 450 0.05

b4 DEREK b4 DEREK




i e
Technical ik

= FEH B
L ke shaminken

VA

R HE BEDD S S HE RSN

|7 perd papos:

/%

DF1or bigh

bl ek o e s g T e H B e dO

DATA

Technical Data

PR

DATA

Technical Data

AR STHF

o4 i B
Feed Spead
M, min

I SR kR AR MRS & RS ToIRE /8 & £ AR
Work Peca Cast IroryBal Cast fron Carbon Steel/Hloy Staal Carbon Steel/Hloy Staal Pre-hardenad SteelHardened Stadl Stanless Steal
750MN,/mm* ~30HRC ~AOHRC
D [ % &1 B i [ 4% 8 by o Bl & by o it [0 4 4
s NoloadRPM  FesdSpeed  MoloadRPM  FeedSpeed  MoloadRPM  FesdSpesd  NoLoadAPM  FeedSpeed  NoLoad BPM
i mm,/min min mmy,/mmin min’ mimy,/Tmin min mimy ‘min min’

03 32000 115 32000 115 32000 115 32000 20 32000

04 32000 125 32000 125 32000 125 32000 a0 27500

05 32000 125 32000 125 29500 125 25000 a0 22000

0.6 22000 125 32000 125 24500 125 21000 a0 18500

07 32000 125 32000 125 24500 125 21000 a0 18500

08 24500 125 24500 125 18500 125 15500 a0 13500

09 24500 125 24500 125 18500 125 15500 a0 13500

10 21000 140 26000 a5 16800 130 14500 a0 10000

15 13000 140 15000 165 11800 130 10000 a0 7000

20 13000 1a0 15000 185 11800 145 10000 100 000

25 700 200 10000 240 8200 185 6600 100 4700

30 E700 235 10000 270 B200 220 BE00 100 4700

G2 28&88&383E&8¢E8 8

DG-2B & DG-2BL

il
]

HWHIH  REEBERE  WENSEW e S g ot S A T 550/ 8 ol 40
Work Piace Castlon/Bal Castlron ~ Carbon Steal, Aoy Steel Carban Steel/Mloy Steal  Prehardened SieslHardened Steel  Sfainless Steel  Prehardened SteslHardened Siea
750N/mm? ~30HRC ~40HRC ~50HRC
D Elfs  dtiEfE EWE SO ERN  HREE EH‘EH HEkEME DR HEEE BN @
mm Mo Load AP Feed 3 MWoload BFM  Feed Spead  Moload BFM  Feed .:Fﬂed MoloedRPM  Feed Speed Mo LoadBPM  Feed EP“H:I Noload BFM Feed 5
min* mimy min min* mm,/min min’ MmN mirr My min min* MmN min* mim,/min

RO.5 40000 800 40000 200 38000 700 32000 320 22300 200 25000 275
R1.0 24000 Q00 24000 900 18000 760 16000 400 11150 230 13000 275
R1.5 15500 950 15500 950 12750 760 10600 450 7400 290 8500 280
R2.0 11500 950 11500 950 9550 760 8000 550 5550 370 B500 370
R2.5 9500 1050 9500 1050 7650 800 6400 550 4450 370 5000 375
R3.0 2000 1050 8000 1050 B400 800 5300 580 3700 390 4200 380
R4.0 6000 1300 6000 1300 4800 950 4000 700 2750 455 3200 440
R5.0 4800 1200 4800 1200 3800 Q00 3200 650 2200 430 2500 440
R6.0 4000 1100 4000 1100 3200 840 2650 610 1850 430 2100 420
R8.0 3000 1050 3000 1050 2400 800 2000 600 1350 380 1800 375
R10.0 2400 950 2400 950 1900 680 1600 560 1100 370 1250 330

Wl SESREREES

(Cast irony/Ball Cast ron

Work Piaca

TR i B

D Moload FPM  Fes NoloadRPM  Feed Spesd NoloadBPM  Feed Speed  Noload BPM  FeedSpeed MoloadRPM Feed Speed Mo Load RPM Spead
mm min’ mrn,-’rnm min* mm/min ~ min’ mm/min ~ min® mm/min ~ min®  mm/min min* rnm, min
R1.5 15500 1710 15500 1710 12750 1340 10600 alo 7400 520 8500 500
R2.0 11800 1710 11500 1710 9550 1340 B000 Qa0 5560 BEd 2500 65
R2.5 9500 1890 4500 1880 7650 1440 6400 9490 4450 a6l 5000 675
R3.0 000 1880 B000 1880 2400 1440 5300 1040 3700 700 4200 700
R4.0 6000 2340 a000 2340 4800 1710 4000 1260 2750 820 3200 790
R5.0 4800 21a0 4800 21a0 3800 1620 3200 1170 2200 770 2500 740
RG.0 4000 1980 4000 1980 3200 1510 26560 1100 1850 770 2100 755
R8.0 3000 1880 3000 1880 2400 1440 2000 1080 1350 680 1600 675
R10.0 2400 1710 2400 1710 1900 1220 1600 1000 1100 a6l 1250 595

150m,/min

i ==
Carbon Steel, Moy Steal
750M/mm?

150m,/min

HES/SEW
Carbon Stealfloy Steel
~ 30HRC
150m/min

o 00
Prefirreried Steel/Hardaned Steel

~ A40HRC

1 50m/min
B4 iﬁ%ﬂﬁ lilt‘!:rﬂ HHECHEE EL FESEE DR ESEE OWEY FREE O ﬁ!‘“:!.ﬁ

TR
Stainkess Steal

150m,/min

it e

~A40HRC

1 50m/min

DG-2-BS

I3 DEREK

GRS Rk R BES & W MRS/ & W THIRE /8 & £ BN
Work Fiace Cast iron/Ball Cast ron Carban Steel/Alay Steal Carban Stesl/Aloy Stes| Fre-hardenad Steel/Handened Sted Stainiass Steel
750N,/ mm* ~ 30HRC ~ A0HRC
0 (B, EAAE BN, peAs  map geme  maw gear Bag gy
m min* mm,/min min? mim,/min min* mm,/mirn min? mim,/min min'  mmy/min
RO.15 32000 300 32000 300 32000 270 32000 250 32000 150
RO.2 32000 380 32000 380 32000 320 32000 300 32000 175
RO.25 32000 460 32000 480 32000 410 32000 330 32000 205
RO.3 32000 535 32000 535 32000 500 32000 420 32000 265
RO.35 32000 550 32000 550 32000 520 32000 440 32000 270
RO.4 32000 Bl0 32000 6810 32000 50 32000 450 27500 285
RO.45 32000 700 32000 700 32000 600 25000 400 27500 285
RO.50 32000 765 32000 765 32000 640 25000 400 22000 285
R1.0 24000 900 24000 900 18000 760 16000 400 11150 230
R15 15500 G50 15500 Q50 12750 760 10600 450 7400 2490
’4 DEREK

A

e
Tehnicd tila

N

S HEED
[Sarepr—r.

S H B R HO
CH I heskred el

o

W HEE S0
LG [or gerral pupoes:

e S a0
b, P lod bigh palonace

CARBIDE END MILLS

S IR R




N
Technial til

| HEH B
Bl o whirsinkue

%

T |

[H Fir insdaad naiam|

E

HE R
[ b pasl pupam

EF M 4T

| T
Flariigh gromss

A S e O A T R

DATA

Technical Data

AR

DG-2-BF

HE 4
Work Fiece

"M
D +E Elﬂ‘ﬂ HEEE

Length rn|rT
R0.25 4 27000
R0.25 6 21000
R0.3 4 27000
R0.3 6 25000
R0.3 8 25000
R0.4 4 27000
R0.4 6 24000
R0.4 8 22000
R0.4 10 22000
R0.5 4 28000
R0.5 21000
R0.5 8 21000
R0.5 10 18000
R0.5 12 18000
R0.6 6 20000
RO.6 8 20000
R0.6 12 16000
R0.6 16 16000
RO.75 8 17000
RO.75 12 17000
RO.75 16 13000
R1.0 6 16800
R1.0 8 16500
R1.0 10 14000
R1.0 12 14000
R1.0 16 14000
R1.0 20 14000
R125 8 14000
R125 12 13000
R125 16 13000
R125 20 10000
R15 10 12000
R15 12 12000
R15 16 10000
R15 20 10000
R2.0 10 9000
R2.0 16 9000
< DEREK

RS
Carban Steel/Alay Sted

750N/mm?

ITIITI in rnm ﬂ"IITl

0.025 0.02
0.015 0.01

EBBBEB8I8ERBIEEEBZB8888888

2

g 8

012
0.1z
012
0.1&
012
0.1z
0.09
0.20
0.20
0.15
0.10
0.10
0.24
0.24
0.18
012
0.30
0.24
0.16
0.40
0.32
0.30
0.30
0.24
0.16

0.10
0.08
0.06
0.06
0.15
0.15
0.15
0.10
0.20
0.20

0.03
0.03
0.03
0.04
0.04
0.04
0.03
0.05
0.05
0.05
0.03
0.03
0.06
0.06
0.06
0.03
0.08
0.06
0.04
010
010
0.08
0.06
0.06
0.06

0.32
0.20
0.24
0.16
0.40
0.40
0.40
0.3z
0.80
0.60

BENGEW

Carbon Steal/Alloy Steel
~ 30HRC

min*
27000
21000
27000
25000
25000
27000
24000
28000
21000
21000
18000
18000
20000
20000
16000
16000
17000
17000
13000
16500
16500
14000
14000
14000
14000

14000
13000
13000
10000
12000
12000
10000
10000
9000
9000

EfhL i e
NoLoad HFM Feed 5

ae

ap

mm;/min - mm  mm
0.025 0.02

0.015 0.01

225
550
360
270
250
550
360
320
270
250

500
270
230

500
275
750
750
600
600
530
330

750
600
520
330
720
650
540
540
720
720

012
0.1z
012
0.1&
012
0.1z
0.09
0.20
0.20
0.15
0.10
0.10
0.24
0.24
018
012
0.30
0.24
0.16
0.40
0.32
0.30
0.30
0.24
0.16

0.10
0.08
0.06
0.08
0.15
0.15
0.15
0.10
0.20
0.20

0.03
0.03
0.03
0.04
0.04
0.04
0.03
0.05
0.05
0.05
0.03
0.03
0.06
0.06
0.06
0.03
0.08
0.06
0.04
010
0.10
0.08
0.06
0.06
0.06

0.32
0.30
0.24
0.16
0.40
0.40
0.40
0.32
0.80
0.60

Fmﬁﬁfmﬁiﬁ H;Eﬁ
_AOHRC Sl

Nt ey 2 3D oty ESUE s ap
mim mimymin  mm  mm min* mmymin mm mm
27000 300 0025 002 27000 200 0.025 0.02
21000 160 0015 001 21000 150 0015 001
25000 250 012 003 24000 200 012 003
20000 150 012 003 20000 140 012 003
20000 120 012 003 20000 110 012 003
23000 450 016 004 21000 300 016 004
21000 250 012 004 19000 200 012 004
19000 150 012 004 19000 140 012 004
19000 135 009 003 19000 120 009 0.03
25000 500 020 005 21000 300 020 005
19000 300 020 005 16000 200 0.20 005
19000 270 015 005 16000 180 015 005
17000 200 010 003 14000 150 010 003
17000 180 010 003 14000 135 010 003
17000 300 024 006 14000 200 0.24 006
17000 270 024 006 14000 170 0.24 006
14000 200 018 006 11000 150 018 006
14000 175 012 003 11000 135 012 003
15000 300 030 008 12000 250 0.30 0.08
15000 275 024 006 12000 225 0.24 006
12000 200 016 004 9500 150 016 004
16500 560 040 010 13500 450 040 010
16500 560 032 010 13500 450 032 0.10
13000 450 030 008 10000 270 0.30 008
13000 450 030 006 10000 270 0.30 006
13000 400 024 006 10000 270 024 006
10000 225 016 006 8000 175 016 006
14000 560 010 032 12500 450 0.10 0.32
12000 450 0.06 030 10000 270 0.06 0.30
12000 400 0.06 0.24 10000 270 006 0.24
8000 225 006 006 7000 175 0.6 0.16
9500 600 015 040 7500 400 0.15 0.40
9500 540 015 040 7500 360 0.15 0.40
8500 300 0.15 040 6500 250 015 0.40
8500 300 0.10 032 6500 250 0.0 0.32
7500 600 020 0.80 6000 400 020 0.80
7500 600 0.20 0.60 6000 400 0.20 0.60

DATA

Technical Data

A STHF

DG-2-BP

HEIH R & S el ! TR/ A9 T
i Carban Steel/Hicy Stes! Carban Stesl/Hicy Stes! Prefardened Stes|Hardened Stel Stairlass Steal

750M/mm* ~30HRC ~40HRC

H
D km I!!ﬁ HEEEiHE ae ap I!!ﬁ HEELE aes ap I!!ﬁ e ae ap I!!ﬁ ﬁ%ﬁ!m ae ap

MM | angth mmwll Fﬁ!fdm,.rrnln MMM mm gpu mm:mln M mm gpu rnm:mln MMM mm gpu rnm,.rmm mm mm
R2O0 20 7000 600 0.200.40 7000 540 0.200.40 6000 400 020 040 5000 2580 0.20 0.40
R2O 25 7000 200 015040 F000 540 0.150.40 a000 400 015 040 5000 260 015 0.40
R25 16 7000 600 0.251.00 7000 540 0.250.10 6500 500 025 1.00 5000 400 0.25 1.00
R25 25 a000 500 0.251.00 a000 450 0.251.00 5000 500 025 1.00 4000 260 025 1.00

WHIE  SREREREREE
Work Piace Carst ronyBall Cast ron

o Tl
Carban Steel Aoy Steel

BEFESEH
Carbon Steal/Alloy Steel

~ 30HRC

o 5/ 6l #0 ER: ]
Prehardened Steel/Herdened Steel gy oy

~A0HRC

o v 539 )
Prehardanad Steel/Harderied Steal

~ 50HRC

750N/mm*

D MR BWAX BuE SMSE GNm BAAN BN SNEN BNp pamy Ben gur
miry MM/ min min’ mrn,-’rnln rnin' T/ Tin rnin' mm/min ~ min’ rnm,.r ‘min min* mim,/mmin
1 20000 200 20000 200 20000 160 20000 160 20000 60 20000 120
2 15000 320 15000 320 15000 290 15000 280 11150 84 13000 180
3 14000 545 14000 545 13000 510 10600 420 7500 120 8500 330
4 10800 560 10800 Ba0 10000 BO00 430 BRO0 130 6500 335
5 8200 580 8200 580 7600 540 6400 450 4500 130 5000 355
6 F000 GO0 F000 B00 6400 5B0 5300 460 3700 140 4200 380
& 5200 600 5200 600 4800 550 4000 480 2800 140 3200 365
10 4200 580 4200 BE0 3800 540 3200 445 2200 140 2500 350
12 3500 580 3500 580 3200 540 2650 445 1850 140 2100 350

DG-4-R&DG-4-RL

HHIE ek ERESE T & BEASEW TLRE 50/ 8 ol €0 ER- T 1 £ ] R
Work Fiace  Cart onyBall Cast kon Carban Steel/Aly Stsal Carbon SteslBlloy Steel  Prehardened Steel/Hordered Steel oo . oy Prehardened Steel/Herdered Stes|
750N/mm* ~ 30HRC ~ 40HRC ~BOHRC

D IEIH‘H o &5 I!Hi i&%i!ﬁ IEI!!H ﬁ%:.! -4 IEI!!H L B I!Hi ﬁt&i!.l!‘ EHH 5 i

M FeedSpaad  NolLoad BPM e Spead Fead Speed Mo Load FPM Mo Load Faed Spead

rn|r1' T/ Tin min’ mrn,-’rnln rnin' rnrn,.rmm rnin' mm/min ~ min’ rnm,.r ‘min min il Mmm,/mmin
3 14000 820 14000 820 13000 755 10600 630 7500 145 8500 480
4 10800 840 10800 240 10000 770 2000 640 BRO0 145 BE00 500
L] 8200 880 B200 880 7600 810 6400 670 4500 145 5000 530
6 000 Q0o 000 00 B400 230 B300 Ba0 3700 1a0 4200 540
8 5200 890 5200 8a0 4800 815 4000 680 2800 160 3200 560
10 4200 Ba0 4200 880 3800 Bl0 3200 670 2200 1a0 2800 R20
12 3500 880 3600 880 3200 810 2650 670 1850 160 2100 520
16 2600 B0 2600 BE0 2400 a30 2000 525 1400 120 1600 440

b4 DEREK

b ]

HEEHEE
i o i
Sy,

*,

SR R0

B S

o e

i Fo o
OFlarhigh prlomamcs

Rl

HEEH

Sk R RS Y

Tchicadah

1o Eaednaeil

[ 10 pemra | papes

CARBIDE ENDHMILLS




DATA DATA

Technical Data Technical Data

AL BARXH 4

4 1
E
A

\ DH-4-£ & DH-4-EL DH-4-R & DH-4-RF & DH4-RP &;iy’
a2 THRE &0/ 18 & 0 AR ERE ' ; ;i
8 Frehardened Steel/Hardened Steal Hardened Steel Hardaned Steel Eﬁllﬁ ﬁﬁmﬁﬁiﬁm Steel Hﬁﬁﬁm Hﬁfﬂﬁd ﬁ §
Ti ~40-50HRC ~50~60HRC ~60~68HRC P ~40-50HRC ~50~60HRC ~50~68HRC 3
¥i EISt S B8 i 42 i B8 Bl 300m,/min 150m/min z 3
& e mmimn T mmmn i B B st e e 7

i NoLaad RPM Feed Speed Na Load M Feed Spasd

2 mm min’ mm/min min’ mmy/min #
.

5 2 40000 800 24000 480 16000 320 x f

[

o 1 3 32000 1020 16000 510 11000 350 4 : :

% E 4 24000 1250 12000 20 S000) 420 5 19000 1630 9500 815 6400 580 g &

BRE :

73 5 19000 1360 9500 680 6400 460 6 = it i e = L %

\%\\ 6 16000 1540 8000 770 5300 510 8 12000 1850 6000 925 4000 610 4
i @
e 8 12000 1540 6000 770 4000 510 10 Lo Lt i i B il a8
il 10 9600 1540 4200 770 3200 510 12 o 18R s i =it G 4
Gl 12 8000 1600 4000 800 2700 540 16 il i bl a = B L3
= 14 6800 1340 2400 680 2300 460 ,{f
.. 16 6000 1200 3000 600 2000 400 ﬁg
5 18 5300 1060 2700 530 1800 0 4+
i) E WE
m =
4 20 4800 960 2400 480 1600 320 R A 2 i 10% :

L B2 Titarium Aloy ¥
#* mmy/mi =
i §
. ! :
Ej e B 3 9 -
g i Prehardenad Steel/Hardened Stesl Hardenead Steel Hardened Stesl 5 z
- ~A050HRC ~B0~60HRC ~60~68HRC 3 E 5
{ NoimEM e 8 WM e 3 W MWW e 8 1 20000 1600 16000 1250 %5

miry mm,/min min mimy,/Tmin mm min’ I'I'II'I'I,.I"FI'IIFI mm 5 16000 1500 13000 1100
R0.5 40000 1900 005 001 36000 1500 005 001 32000 1400 005 0.01 5 p— — pr— e
R1.0 33000 3100 0075 002 26000 2100 Q075 002 24000 2000 0075 002 8 pr 40 8000 P
R15 29000 4100 01 003 23000 2900 01 003 21000 2600 01 003 - EE B T =5
R2.0 22000 3900 015 004 17000 2500 015 004 15500 2100 015 004 - P e Enn 0
e L g ] i o =
i 11000 2500 025 008 8600 1600 025 008 8000 1400 025 008 i - -
R4.0 1400 3500
5000 000 03 0l 7000 1400 03 0l 6000 1200 03 o0l ks i i
R5.0 g : : 20 4000 1700 3200 1350
R6.0 7500 1800 035 01 5700 1300 035 0l 5300 1200 035 01
R8.0 E500 1800 04 01 4300 1300 04 0l 4000 1200 04 01
R10.0 4500 1800 05 01 3500 1300 05 0l 3200 1200 05 01

53 DEREK 53 DEREK




DATA DATA

Technical Data Technical Data

N ERES HARLH
B

Techamldah

f e

U R4 £Si<10%

HE B EHEs5ESi<10%
Work Piaca Alurminium Aoy Titaniurm Aloy

Work Piaca Titanium Aloy

=
in
Ly
x D B gy 4 EE S D ; : 4o
& E mm ; Faed Speed ; Feed Speed mm N%ﬁ%ﬂ %«?lﬁi{j , i E’&I‘%ﬁ
\Q; mim,/min mimymin mim* Mm,/min Mmm,/mmin
1 40000 800 40000 600
_i 2 40000 1200 32000 a0 RL5 26500 1950 21000 1550
E E 3 26500 1800 21000 1300 R20 20000 1950 16000 1550
m % 4 20000 2000 16000 1500 R25 16000 1950 13000 1550
51 £ 5 16000 1750 13000 1300 R0 13000 2000 10600 1600
\éx\ 6 13000 1500 10600 1200 R40 10000 2450 000 2000
% : 8 10000 1650 8000 1300 RE.0 8000 2200 6500 1750
m s 10 8000 1500 6500 1500 RG.0 6600 2050 5300 1650
% 5 12 6600 1950 5300 1550
ng
\ 14 5700 2000 4600 1600
i’;- 16 5000 2000 4000 1600
;T;j 18 2400 2000 3500 1600
E E 20 4000 2000 3200 1600
i3
b

= 5 e bl R T R

CARBIDE ENC MILLS

»4 DEREK < DEREK




Insert Grades - Boring

LIRS —R

B BnEIn 0 B (B 2t =

AN T

=

Coated

WhaE

Carbide

&= ReE

Cermet

EERRE

Coated Cermet

[ QP5125 |
[ YP5120 |
| DP1230 |

01

10

20

30

40

01

10

| QP7105 |

>4 DEREK

Eors \ v;zu;\ T \n:ﬁan\:_::m m\rp :mfu\
It iretachon Borig el Ml rearks Lmirg el g et Thrasdeg et

CARBIDE INSERTS

TR




iR

=
‘I;‘_'

Insert Grades - Turning

FEHITI A hR

W

Insert Grades - Milli

BRI F S —

et LT e LT TR Apn ELTET iy Ay DR SLERSNI 30192
Wi R FREFRA R R ==l (o=l RACHE R

L g il

Parting-off 'Grooving

PV DCoated

i=mPVD

Turning

i ES

Z ) 4 B OERE o T i e gr

=R

AR AN

Coated

Carbide| Cermet| Cermet

0 T¥N

I}
4
[}
48
e
=]

0225dD 022GdA T
02 TSdA =z
0ET5dA
i I :

0ECSdd

0ECSdd

0EEGdS s

520120

Z I 40 4 M nERNE HEod TER el

\_E-aﬂan_.\_ﬂnlanﬂ spIs MmN \uﬂ.a!\:u“.l.ﬂ\ HLETEL D] SLYIENI J01BHVD
W EHE R A ERgRdc e R ERiC ®R4c FACE & Ric

b< DEREK




TURNING

TURNING

Table of chip breaker for turning insert - Positive

ENREBEERR-ERT A

Table of chip breaker for turning insert - Negative

ENREBEEBR-ABT A

o

ey Apeny|
¥R

A\

EREER:

\

A A

Tieey Aoy

/ un_ww.! /f,, - E
_.-_m..l_..._n//uq_..._n //W._..._n \

LAY ey
s /

ELEBSNI 301N 2

Ric

£ dd W/ dH o ZNd 1 VINAI/YL W W -
dH/ 41 28 r4 WG54T id Fny
Ty =i
14 SHA/SS/MN  XWI/LW  SZO/WH BB HHWH %:uﬁ
AW SHd/SSd XWILN SZO/dAH W H Hi[-ﬂq
S8 I 7id 5144 d3H 0 H T
A/DWOH  vE/EE/Nd £} 14 BT i A 74 SHd/55d XN SZI/dNH Hd/N N HH ._H._i!ﬂ.__._
WdU/dD  S4/4/10 brd IVAVIT WSNS/MVdd  AS/M 14/144 vid 944 diH d/4n iHd H_.n_":ﬁ

YHID0AN

W

OWOLINS

5 =

IHSEMNSLIN

¥3LIM
HyH

23 ndae]

H=ESH

AQTHOM
s

SN 9 TN s umih

¥s doN ns | ™ TN £2Z/dON %ﬁ

054 i T4H TN 45 H_J_I.h_.

i HY/I4  HO/MHAD Hy Hﬂﬂ

AT £ ) N N SHNAYH DI/ HH W W/ ﬁ
2 (4] A N4 m W 94 M Hﬂ.ﬁ
dH i IHHD  SHOSIHWNSH  THN HH/LW WH/59 HW Hﬁh

1STHAE  SMWSAS 30 58/ di/d dn/a S3/5H TN AT SH (Y /AN %ﬁ
1] 55 35 44 s 54 TN 45/94 WH £ 84 H.JI:.
1H/19 HL Y 55N Ny (Y XN/ HE LHW flN 5H/LW Hd 5y ﬁ._.ﬁ
s %z WAV/AY  aned NWSIH  ¥N/ONAD  HAAWAN  SWERGEIN  SANAAN  dWTWOR  WHAOHAH  WS/W0  IWWL/SR/AS .H.uﬁ._q
DOMH  swsL/cz/sN 30/38  LVAVIVENAD N4/ XSNVNS  HSASH Z4N 95N 54 4H AW/4d 54 Hﬂ.ﬂ

W430AM
i

ATTYONNL
Elis

WG | OWOLINNS

s

¥ £=

IHSIANS1IN

ENRE]]

a3 ndae)

[LHELLLTY

P

\.\.\—H- o

\ _

:nﬁn__..\.\ mﬂiu__..\

A e

e R

c \ B \ BRE \ Ris®

ADTHON
R

SLHENI 301BHVD
Ric

HININYS

FHWHMT

Buuyoey
oK

>4 DEREK




TURNING

TURNING

=

e
(a0

-CVD

Xt e

=
‘1?

Insert Grades - Turrﬂﬁn:g (CVD Coating)

ENRE

rE

Insert Grades - Turning (CVD Coating)

F 7 /&8 3ttk&R-CVD

Ay I e g
/_“ B R ic / ”F B / — // bepim / Wﬁ_m /ﬂ“ﬂﬁg
DE05M 1 v
L
020N ASTEZ0r OZEGIH d0Zaov 00ZdL Qe 14
w
ST 0621 NETTW2 0Ensl SE085H ADTTOr OZHIH a00L0v STT520 O00ENL DEHTM 005711 HSTEM STEEDD "DH
BEFaI STOSML
B1F31 OTT&EDH
b
orowal STTvWD STEGIH HOZyIV STOEDD 01
STO62I 01O STOEND CEMIN D00L0Y o11a3n OOCENL OTEEDD s1ZE0h
05162 ST5WD 01051 0T0852H AOTTOr STMIN HOTP W S1152N0 000THL 0T¥Mm QOETLL WI0EN SOEEDD S11E2d
S051%2 HOTFOW ST0520 OTEEDD
10
05 1621 0102 01051 SO0END ASOTar SOMIN DO0EIV 501520 OO0THL SOZEDD
SEML
0SEGDI SFZEIA
Ot
SE921 ADSTar OFEaad OFdl
95921 DEXD ASZEDT SEWNOH WOE SOV SELSN 00FdL 00151 SZ0Z09D
SI0ENL OrdL
520621 SZNS ASZEDT 05080 00FdLl SEZID Qe
0EGD QEQSL SZ080H ASTEor el | WNOES0Y SELSN Q0EdL 0E m 00%ELL QEEON SETE0D
TS0621
G2 0621 ST0a%2 SE061 ASTEOT STOENL NOESDY (1
05z SZ9WD 02091 020N AOTTOr SZZEIM WOTS0V 0Z0L5N 00ZdL 0Z MM 005211 0Z06IN SZ0Z09D
STO%D OTOENL
o1
052621 ST59%2 STO6L OTHS AOTTOT STHOA NOT3OV DZ0LEN 00ZdL OT WY M ST0Z09
_n_mm_ﬁun_.“ﬂ__ ADTVONML  IHONLH TEIWNEY  OWOLIANS | IHSENSLIN
-3 Bk IH -1} T3 %=
SEML
SEDINL
SFEaX
OFZE0H SELSN Ordl SEZID
SE921 OEXD ADSTaT OFOEIH 00FaHN 00fdl SEOTID
0SEE2I SESSVD SE06L SEORND ASZEDT OF T80 WOESOY SE0%3N 000EdL 05k LL SEZFID SETIDN
SETE0D
ST0LNL SEOFID
45921 G064 03020 dOEEDY SELSN SE0FID
0SEGDI SESSWD SEOGL ASZEDT OFdIN WOESDY 00FaHN 00EdL 001511 SEZTID SZOTON
aEadl SE5WD G061 SZND ASTEor 0EdIH 000e W SE093N 000edL OEdvm 00581l EOEIN SZZFID SETIDN
52
CSEEDI G064 STOENL oTCaan STEFID
50621 SZ05%2 SZZEIA d0EBDY 02083 000zEdl SE0TID
G062 SE55WD G061 OZERED ASTZor SETEIH 000e W 010%3n 000EMHL SZZFI0 SZZIOh
052621 ST55%D ST06L SZ080H AOTTOr G240 0o0Ew 011%3n 000EdlL 0Zdm 00STLL OZ0EIN ST10F2D SZII00
OTCAaan
OTDENL d0ZEaV 02083n DO0ENL
057821 0TS SO0LML 000zEav 01093n 000Edl
STO62 S155%D ST06L STORWD ASTEZOr OTT60H D00LW 011%3n 000THL STOEIN ST10¥29D
0 TaE2 5055%2 S006L 0T028H ADTTOT OTd7H d0TE80Y 03093n 000TdL OTdvm OOETLL OTEON STEF0D STTI2D
051821
0STE2I 0T085H SOTEIH a00L0v 50793 000THL G005
BZTl 505590 S0061 00050H ADOTOr S0dIH d0Faoy S00%3n 00014l TOdvm SOEFID m
m
Y6l VHI20AM  ADTYONML  IHOWLH 1310 NN OWOLWNS | IHSENS 1IN 0235 43103M | 2aindae] - ADTHOM | MIAONYS HIH3a ]
31 S By IIH S 5 B2 E£= gm i FEYE SHEE (BHFEAE4D =2 [
\_nm.hﬂun._. _—H..'h—nﬂ_ \mtﬁlr-_ﬂ rEn Amm \ HLH | .'E
T (=3 T e R #RAC ®Fi




rE

7]

Xt tk F#-PVD

=

=

Insert Grades - Turning (PVD Coating)

ENRE

TURNING

=

P
s

-CVD

tb &

23t

Insert Grades - Turning (CVD Coating)

Bt F

s B _..n_..g_..spc //// =pr) A / BT Ty g Eu.!t! SLESNI 01BNV
iR Nﬂ.,.l_l / s R R #FAC Rdc

22012l v,
L
80012l ANOZ A 0Z081L S¥1209 m
(n]
22621 0994 OZTHY OFOLIN AL T4 00542 00611 ovZad 0Z0T29 HH
OvLHY
220221 DEEHY
20121 02 THY SEZLIN 521940
S00T2I 09944 DELHD DEOLIYH ANCE A D208 1L SZTT09 0EZ Tdd
82621 OEIHd OEEHD ST053r0 STOLIN 415148 00542 CEWSM 0Z06LL 520129 0ZT5dA
522 THd
SZ0%2 SZOTHd 022540
8Z0121 09944 S21109 021540
200121 OE6Hd 52019 0ZT1dD
82691 51644 OEEHY 152y EIEE) 005251 TEWSM 020129 021 5dA
20621 0E98d OTLHY ST0S3r SZ05Y 415140 05242 OZWSM 0Z06LL 0EZ0d 525109 §Z154D
STTTHd
L5l SZ0THd LoTny
£0521 OE6Hd 015504 000251 SZ0T9
05231 ST64d OTLHY E00SI7 0TS ANOTdA 00242 OTHSM 525109 S0TLdD
S00THd
51644 E00SI7 507./dD
HYIS] WEIOA  ADTVENML IHONLH QWO LNNS _Tmmacﬁ 0235 H3AL73M | sapndael | ADTHOM
2+ FE Bl iy = Hia EHEH &HEE
WOzl WSEEIN
Ot
05072 01907 WOEEDH WOOZL OP0EID
MOEH
051621 a0z
QE
00152l 0Z55N1 02054 WODZL 0Z0£29 b
WOZ5l WOZTYD 51071 01990 WST 6N 002NV 00501 WosTL SEHTM OZEWIN 0ZZE09
ST59N1 112w 01054 511823
01
DO T2 WOZFYD ST0TL oA ar G065 L DOZH IV 0E 050N G THYM OTEWIN STTE0D)
080621 WOZYYD 00930 10
DEXD
Ot
0E4D
SESLNL WSZL
QE
050¥2I SES9YD DEDEL WOEBDH 0EDLA WOSZL SEJLM SEEWIN OP0ZI0 0ETZO0
W3zl
02
WOZ531 SESHD NOELIr SZGINL DEDLA WOSEL
WSZN L 01
10
OPOFIS
Ot
OEZW OVZFID
WSzl 0ETZ00
WOSEL OEZTID oeetal QF
05072 OE0EL WOEEDH OEZN OE0Ld WOSZL SEM O0%LLL SEEWIN OE0FID 0E0TO0
0EDLA WoszZL 0ZZ¥I9 521120 d
02
WOZ531 MOEL 0 SZGLNL 0014 0Z0LHA WOOZL STHIM 0Z0FID SZOTO0
00T¥2I WSZNL
o1
080621 NOELIr 0TS2ZML 00Td2Y
m
Y6l VHI0M  AOIYONNL  IHOWLH ._.m_.E .Em_mzz?mx OWOLWNS | HSIENS 1IN 2 “,._,m:._m_________ JalnFael | AQTHOM | MIAONYS ] 0S| &3 ¥
31 -3 By IrH e & Ty E= i FEYE HEE (EHFE4D 2 m
44

y :

’
_u“-._n_z._. _E-.I.Sa EI.I..-. \.\.\ qrEn A HLH | .IE “Eu_a SLHENI ﬂ_mz.-u
W R __.. L __.. e R \\ BRiC ®Ric




KB

b
i

Xtk R -PVD

=

=

Insert Grades - Turning (PVD Coating)

ENRE

TURNING

=

[ 5

-PVD

tb 3R

Insert Grades - Turning (PVD Coating)
234

FNRE

TURNING

s B B Bpoan =pr) A N BT Ty g Eu:..:.i.. ur_mmz_wa_miu
/_!.w._,.l_l / GFRE&EFL / e R / R //m.._l _ﬂuh,ﬂm
ki, k™

0Z0eLL STT1EID 52714540 W
w
SE2TTHd NoEsv 115TdA CENSM 080611 SETT29 D2TSdA m
(m]
a2 HH
808321 S2550M NOZ5v 115TdA 00543 TZHSM 080611 02T 5dA
e 51684 S2050H noTsw 140TdA (52dD GZNSM 0805 L1 SETFID 521540
SETT29
SZ2TTHd OTOSIH 140TdA (524D SE0T29
0621 ST16Hd 0ETHY S1052r OTrSIH noTsw 1450dA 00242 OTHSM 080511 00129 50140
L0531 ST6Hd OTTHY E00GI1 1450dA 0E0a 1L SOTT2D S0TLd0
2gal
806D
00T 5214540
82631 SEELIM 115TdA 00543 02T 5dA
2gal
80631 1402 dA 0225da
00T 20LIM 115TdA (524D 02 15d0
a2 QETHY 10521 STOLIH I0EH3 140TdA 024D N5TE0d 020129 0ZT5dA
OTTHY ST06210 OTS50H 000ESL
EED OTTHD BO05D0 OTO50H I0TH3 002dD N5020d 50TLd0
OTTHY E00621 I0TH3 S0TLdY
| _n_mm_n._n_.“rx AOTHENNL  IHOYLH _Im_m__:m._u_E WHEL 43L1am | osndse]
+iKd BE Bl TH W HEEH
BZED 0Zogll S¥TE0D
o
| (994 NOESHW 020611 SEOEID
0T
80012 neoa Ll 521540
0E
BZ6II (994d S2550M NOESIY ANCEdA 080611 SEOEDD SETEdN
80621 (€94 0ETHY ST05Ir S2050M NoZsHN 415TdA 00542 CEWSM 020611 0EDGDId 020129 0ET5dA
S1052r
0225dd
BZOED 02 15d0
oe
FSED (€ 6Hd S2550M 005251 0806 L1 AN ) 0ET5dA
G2 ST16Hd OELHD OELIM ANCEdA 00542 TERSM 020611 20129 522540
BZE2I NESHd QEEHD ST05310 SZ205IM NOZ53v 115TdA 00Edd DZHSM nanslL 0E06Dd 020129 §215d0
BZOED ST0631
L0621 SZET4d
L0521 S21T4d 21129 01
VSEDI NEGH 01550 000EsL 520129 50T Ldl
EE ST16Hd E0052r OTOSIH NOTSW ANOTdA MEdd OTHSM 080511 00129 510540
S207T4d
10
ST6Hd E00531 nansil 50T Ldl m
L
=] _n__mm_n..ﬁ___rx MHENIL  IHNUH ( | IHS m_:_m LY . H3LAM | 28ndze] | ADTHOM [w]
+E @ #E  SEE 1O HLW FEH 4H5E 7
F Y

VYT TET ) - 4




=

i
(a0

-PVD

Xt

=
1?

Insert Grades - Milling (PVD Coating)

vy

MILLING

rE

7]

Insert Grades - Milling (PVD Coating)

7 K e 3tttk &®-PVD

MILLING

N 3
oy By // LR ] // s A e Rugn iy Aoy /// L N iy SLESHI 30NN
!51- /”m..l_- s A =14 (==l N\ Ric & Ric
i .

0901w

o
w
gZE0 HOPHLA O0E4IV 0 m
(n]
8Z631 09944 OFTHY 09091 510531 05E70Y 1HOEdA HH
522 THd 0ZZ5dA
09944 0ZT5dA
200121 OESHd TrEIH Ov0sar O5EIV 1H0EAA EZSd0  QF
8ZEDI 0ELHd 05240 BE0SIT WSE LN T0ZH3 1H0ZdA Word 0E0Z0D  OEPSAEESHS
82631 DE9Hd 02 THY Sr09dL ST08I7 W32 L0 DEEIDV 415 TdA WoES SE KM DEQELL DESED4 o019 522540
022542
0ZZ5dA
0Z15dA
82631 09944 s225dd/dd (g
2062 0ESHd ST0TOr Gr0SIr WSZ50H 0DEAIY oPoTID 022540
£062 OELHd 05TAD OECSIr WZZ50% I0EH3 1H0ZdA DO0EAN DEOGLL OE0ZID  (REPS/0EESS
OB DE9Hd DEEHD 0z09d1 §T0G31 0ELIN OTEIDV 415 TdA Waz4 0Z08 1L 520109 5225940
0ESHd
OELHd OZOTHr £00530 001D 01
06D 0E9Hd 0Z06AD E00SIT WST L0 00242V ST KM 520129 01£5d5
We0sad E00G3T 10
HYIS] _n_mm_n,_“_.“f ATVONML  IHONLH OWOLNNS __.m_m:m_.________ HEL H3173m | daLndael | A LEE 0S| %3
+f8 @ FE 2 BlgE TH My HEE S8 i
g0
D0ED HOTHLA
Ot
82621 0EZTHd 09091 00E4IV WoaL DE0BLL
D06 I0EH14
J0EHL4
800121 0EZTHd STOTN 0Z25dA
g0 OESHd OFLHY TraIH 0ZT5dA B
00ED OELHd 02 THY SZAD O0ZIOV D00EN OE06LL OE0ZI0 OEZ5d0
82621 09944 DEEHY 05ZAD Ov0sar 05ETV 140EdA WOE 4 OL0LLL 0ET2d 0E0TI9  OEFSADEESS
D062 0E 94 OEEHD Sr0sEl ST0Sa0 WSZLON ODETIY AL T4 W3z 4 SE WM, OEQLLL 0E5E04 07079 521540
022542
0ZZ5dA
0215dA
S2ZTHd 522540/ d3
SZO0THd sZ1sdivdd 02
01621 0994 022540
20621 0E8Hd STOTXM Ov0sar 00Z4IV 0E0ZID 021540
D062 0E L8 05TAD OE0SIr W3Z50H DEETIV D00EN 010729 0EF5ADEE5dS
05631 0E9Hd 0z09dL ST0807 Wz 250 OTEIDV A15TdA Waz4 0EZId 520109 52 154D
WoZ24
SZZ14d 0Z01N
05621 SZ0THd 500981 00gday sittda QT
£062 OESHd WZTv2d OE0SIr 0014V STIM 520129 OTE5dS
05221 0E L8 DZ06AD £0053r1 METLON OTETY STHIM 07079 521540
SOOTXM
500981
Ws0sad 10
Wanyad
Wa0HLd E00SI7 00142V ﬂ
o
g .n__mm_n..ﬁ___r.,._ MNINML  IHWLH 110 NOEWNNIM OWOLINNG | IHSENS LIW 0235 HALTAM | 2arndae] | AQTHOM | WIACONYS M3IH3ad 0S| (%3 (n]
N FE Blor iy £y e g3 £= B 8l FEEH | S3E (EEHT| =58 Y
r Y

7 7
S v ) T EE




MILLING

MILLING

=

(a0

~PVD;

SXTLE

Insert Grades - Milli% (PVD Coating)

BT R b

Insert Grades - Milling (PVD Coating)

ST K eItk R-PVDEE

= -
/ ILHELETT / e Amoan HEEE TITY / qeEn A // HLHE T / IR EER SLIESMI 30 aH D
L L o // EEEFAC W R R // Lo =w T // RicoE (= '
h 3 N, N,
B0621 OOOEAN DZTSdA v
QE w
B00T2 WOESIH WOES 0ENT2D  OEPSAEESdS m
0ZT5dA a
44
SZ15dD /43
0¢
B0EDI OEVSAEESAS
00T NSESDH A15TdA WNST4 Sidim OTOT2S S2T759d0
SO0T X
W20vod WaT4 080129 01Esds 01
00621 W20HLd ST08OT WSESOH AL5TdA O0OTHW STHXM 010129 SZ15d0
E0E3 EO0EIT 10
DZZSdA
OET5dA
QE
BZ621 0E06LL 10ES EZ5da
BZEDI 0a9Hd WSZLOM ODEXN WOF4 QEM@LL 080229  OETPSAEESds
0ZZ5dA
DETSdA
225dd/dd (7
HOTAD WEZ50M I0ZH3 0EFsAETads
80621 59984 HOOTAD WEZ50A I0E5H3 AL5TdA ST MM OZ0ELll S20T29 SZ15d0
80621 0a9Hd QZTHY W2050d ST0Eor WOTS0M I0Z5H3 AL5TdA QELL G010 SZT5d0 01
EQOSIT OTESdS 10
y¥as] WEOM  ADTVENAL  THOWLH OWOLWNS | HSENSIW 0035 Y3ALIM | cepndael | ADTHOM | MIAONYS 0S| %3
+f8 @ FE 2 BlgE TH %= = HLw  HEHE  SBE (FEHFHM
2621 HOFHLd DETSdA
05621 0SZA2 NSELOA DOENIY 1H0ZdA DEZSdAd Qe
0621 SF09al ST0EaT NSEZL0H DEEZOV 415 TdA 020129 OEPS/DEESdS
0EZ5d2
0ZT5dA
SZ2540/43
SZT15d0/43 0e
SETHLA 021540
L G064 05TAD WEZ50M 00ZAN 1H0ZdA 020128 EFS/0EEsds
01621 01584 CETHY 0Z0sal ST080T WOZ50H OTEZOV AL5TdA OO0EHN 0E0aLL Hs0Z0d 010129 SZ15d0
HOOTAD
01621 S06Hd OTTHD 500581 00ZAN STIEM o1
00631 01584 OTTHY QZ06AD T00E0T WOTS0M OTEIOV STHXM Ha0Zod 010129 O1E5ds
Wa0sad
5064d WEovId 10
0T54d OTTHY WE0HLd E00SIT m
o
g _n_mm_m“___rx ADTWONML  IHONLH L0 THEANNNEY OWOLINNS | IHSENSLIN 0235 H43003M | 2aLndael | AQDTHOM | MIAONYS M3Hv3a oSl €% o
N 3 By i iz S e 3 &= = MW EEHS &HEE (EHEHED EH5S [y
A

Iy \\
_Un-lunu.h. nEn W
WEHEFR 4 \

EER A

s

v
N Tam sjesn Wi sjes) Taim SIHFENI TSIV
R R FACEE Ric




TBGT/TPGH/TPGX

Insert Grades - Boring

EHILABS—R

/

vt Grag
K HE 2 nsert Grade
e Specification i

Shape

o
Thren o g I st

s /

TCMT/TCGX/GGCMT/CCGX

Insert Grades - Boring

IR ES—5R

Temmghmils

Tri

THERS

Ak e fa< Insert Grada
@ Specification . .

NREs
TE #e R Insert Grade
g2 Specification ize
Shape

DPSO15
iﬁ\#‘;i-ﬂﬁ-ﬂ\
g et Thrasdineg et

TCMTHO204-HE 11 635 23
Ammmrlasmsmu

B
E E
L 2
[
>
[ ]
1 34

-

i
¢

L]

TCEX110204-AL 11 635 238 28 04 A g%
ﬁm1m11&3523&2303 O g
_wmn  TOGXIET04-AL 165 055 397 44 04 e /
L

"§

@ H A

T
Baig marts

A\

EReIrA
et e

ko i B

52 Specification
Shape

w
=
[: )

DPS0L 5

Shape g
L @ &
TPGHOSO20L 8 47 23 23 02 s ] ry
E ’hf TPGHOSE. 8 47 238 23 M A [ ] s
E ‘gﬁ: TPGHOAOM0A. 96 &RRE 28 2 02 Y [ ] s
ns wur TPGHONI204L 05 556 21 3 04 r . A
[ R rpgMMO202L 11 63 218 32 02 A ] A
TPGH 102040 11 &3k 218 33 04 FY ] s
TPEX0S0202 8 4% 23 23 (2 ™
\ﬂ TPGX0S0204 8 47 238 23 M L ]
TPEX090202 96 &RE 28 2 02 L ]
W TPGNOO0Z04 06 BE6 2a3 2 4 .
TPEX110304 11 &3k 3218 32 0 L ]
& O EENTHE D ESEMTI&E t&ﬁ!hlﬁﬁ & E!iﬁm:tiﬁ s HEMIEE i MEEmT&iE
Motice: Continuous Continuous Medium Interrupted Interrupted
A FIERS ® [EEE O RiTesg™
Excellent {Instock) Good (Instock) OnRequest

b4 DEREK

s
CCMTDR0Z04-HM 64 635 238 28 04 & s A
CCMTDGR0208-HM 64 635 238 22 0B 8 ]
° CCMTDOTI04-HM 07 95R% 347 44 04 | Y Fy s
tmesgmr CCMTDOT308-HM 07 055 307 44 02 | @ & Y A
HIRT OCMTIZ0408HM 129 127 476 55 04 A A A
COMTI20408-HM 129 127 47 GR: 0B s s A
@ CCMT120408-HR 129 127 A7 556 0B 0
o
CCOEXDB0AM-AL 64 635 238 28 04 A
o CCGXOOTIM-AL 07 055 307 44 04 A
e COGX0OTI0A-AL 97 952 397 44 0B s
Forsumim  cocyip(M08-AL 120 127 476 BE6 08 ™
B ®ESEmTHE O ESEhT &% I':E!fﬂhlliﬁ GEH!MIE:‘E HHEmTE®E e WiEE N T &k
Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A TERS ®FiEfEe O i Em
Excellent iinstock) Good (Instock) On Request

b4 DEREK




WCMX/WCGT/SPMT WN*U/XNMX/HNGX/SNMX

Insert Grades - Boring Insert Grades - Milling

EILNRES—5E FI RS —5R

P [ ] [ 4 L S = Pifl
¢ - MEER
ki : K%

NEEER NEEREER
St e s SHngs
Hi i

7

-4 7K 1 /
I"JE Ak BE : K mE Insert Grada o
[ Shs  Specification Size . shfe  Specification = B E
\ = Shape o ] 73
a i i B

i) 8 = [=1 = /
Eg WCMX030208-DT 38 55 23| 28 08 A ai
B ‘ WCMXD40208-DT 43 635 23 31 08 a ]
\ WCMX0S0308-DT 54 794 318 32 08 A ne
- "R WOMXOSTAOE-DT 65 055 397 37 08 A /
EE WCMX0B0412DT 87 127 476 43 12 A e
ie WCMNO30208 38 G 2% 28 0B ™ a2
\ WCMXO40208 43 635 23 31 08 ° Ak

WOMXOSOME R4 704 3B 32 08 . /
.3 Fur  WOMXOGTMB 65 05 307 37 08 ™
AL [ e
K WOMXOB0412 BT 127 476 43 12 ° ﬂE

WCGTO30208-TM 38 55 238 28 08 [e) |

W WCGTOM0208-TM 42 635 23 31 08 o
WCGTOS0308-TM 54 794 218 32 08 0
Fouh WCGTOBTHOR-TM 65 055 307 37 08 O Pif

MAER
KE5
NEEER
Shinad
HEEEHE

LY 4

TR S
#E Insert Grade

Specification

Ird
CARBIDE INSERTS

CARBIDE INSERTS

i

DP5 220
DP5 230

NRRS
Nk e Insert Grada

SPMTOR0Z4-EM & FoxR® 2 22 L ] L ] SNMKIZGATN A A
SPMTOR0ZM-EM & 6 238 26 26 Y s
Q SPMTOTTI08-EM 754 794 257 28 28 Fy A& a
ommr SPMTODM408-EM 0E 08 43 42 42 A | A
Roth  SPMTHOMOBEM 115 115 476 44 44 A &
SPMTHO512-EM 142 142 52 &7 A7S L ] L ]
B ®ESEMITEE DOESEmT &k t!ﬁ!‘fﬂmliﬁ GE!‘?EHIE:‘E w I g WY EEIN T & B ®ESEmTEE OESEmT&EE t!ﬁ!‘fﬂmliﬁ GE!‘?!WIE:‘& * ST g6 BRI T &k
Motice: Continuous Continuous Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A THES I a2 g O TR L™ A THERS ® FiEfEe O TR E"
Excellent iInstock) Good (Instock) Cn Request Excellent (Instock) Good (Instock) Cn Request

>4 DEREK >4 DEREK




WPKW/WDMW/EPMT RC*T/RP*W/RPKW/RPMT

Insert Grades - Milli Insert Grades - Milli
il G0l S —i

PR
MR
Kk

NE&E &R
SEihEs
HE i B

ARIKE 7] ﬁ?g
kR fs Insert Grade e e Insa [:::n:la
Shf  Specification - s - s Specification 4 K
Shape ' 5 = | o ¥ Shape

DP5230
YPE220)
DP5230)
YPE220)

GCYE ERXAEENN

/Es&:mu/ :Fu.:i/ T /nuhﬁn/:munm/:muﬂﬁl/
Hig hmik Exig hmik " TH | 1H Tamighmils Gorag el Thedmg hmil

TRES

B . HE Insert GLr‘-.;:da - - E
g nE HE 2 Specification - B R I £
¥ B Specification _ _ E'u E_j :__j E_i l-uu TJE
ns Shape ol < | & €62 L
o RPMW1003M0 A A
RPN 20400 L BN
RPMTOET2MOE-J5 | BN
RPMTI0T3MOE-J5 ® @
RPMTI24MOE-J5 F
& O EENTHE D EENT&iE I':E!f!lmliﬁ GEH!MIIE HEENTEE S EERNTERE
Motice: Continuous Continuous Medium Interrupted Interrupted b= ) ®EEMTHE OFEmMTI&EE € Eﬁ!hliﬁ G Eﬁ!mliﬁ EHEMTE®E S WMERNTEE
Motice: Continuous Continuous Medium Interrupted Interrupted
A TERS ﬁ O SiTeEr™
Excellent (Instock) Gaﬂd Instock) On Request A& FEES % O EiTEEm™
Excellent iinstock) Gnﬂd Instock) On Request

>4 DEREK b4 DEREK




C*MT/R390
Insert Grades - Milling

ey

RDM*/APKT/APMT

Insert Grades - Milli

S

=

I ES—5

P

Iﬁluﬁnn
ki

#H

Pif
Iﬁ|HT!ﬂ
kit

#H

NEEER
e
HE R

NE &R
Smmas
HETE

Wi =

§

B Fr1 Ao
A EE A

N
SEINN
BEIN
OTWN
11e03/b
(2Z5d3
(EE5dA
(ET5dA

di

5225d3/dl

NHIES
Insert Grade

k)

Specification

i
S

an P
B g
I =

]

§

5225d3/dl

da

=

dl

§

Nk
Insert Gr

L)

Specification

Nk

511140
[T
OEESdS
018545
DETZ2A
S21124a
0EETI0
CEOT20

520120

€N
SEINN
0EON
OTWN

11e03/b

Z15d3/dl
02540
021540
S11140
(€ 15dSs
(EESS
OTESS
0ETE2D
21120
0EETID
0E0TID

520120

Zha
b1

4 4 4

4 4 48

BhR
hapa

fxfxxxucnsyh!F

=y T
s &R #HFAC

P

I# |
i

PiR

BT Bem
R

MFARR

Ktk

NE &R

MFEER
K
NEEER

I%

LAY

23
&
]
1§
I

Fac g

EMWN
22NN
QEIN

OTvN
§TTEI3O0
(EZ5dd
(2Z5dA
02T5dA
QEESd]
5225d3/d

g
[ -

Bti SZ15d3/db

ics
g
ST1140
OEFSdS
OEESdS

OTESS

SZ2112a
E100

0E0Tah

520120

8

Specification

Ak
hapa

.""'r‘ H:';:.

OEIN

OTYN

0g25d
0Z25dA
0ET5dA
(EE5dD
5225d3/db

T5d3/dl

]

[T+]

(22540

NHES

Insart Grade

021540

ST11d0

0ETE2
SE11M

OEETID

OEDTID

SZOTD

fs
Specification

Nk
A

iR

IEAEL T [LETEL YO E
ic S8 Fic

HELELTTT
R EE

\ wri

/

=N Ay
nﬁmm\

SLHISMI IOIEEYD

Ric

RI0-11

Q APKT160408PDFR-G2

SLHISMI ITIEHY
Ric

q»ﬁﬂmmm

g BREEIN T &
Interrupted

Interrupted

CRENENTEE WFHENIHEX
Continuous Medium Medium

OFEEmI&E CRHEBEMIER

®EEMTEE
Continuous

Motice:

i

S EENTERE
Interrupted

Interrupted

CREEMT&EE WOHENIER
Medium

Medium

Continuous

OFEMIFE CHENERMIEE

Continuous

®EEn TR

Motice:

b 3

p< DEREK

O BT L™
on Request

@ FiEfEs
Good (Instock)

Excellent (Instock)

A TERS

O EiTeEr™
On Request

] i‘ﬁ%l
Good (Instock)

Excellent (Instock)

A TENES

b4 DEREK




HEn T pE /
WHEHE Fdc

Fos Wamin)
e R

HILLRLLITE
wRER

siesn Tama EILLRLL:]
h/ﬂ ERic N, ®R

A\

SAHISHI 3TV
Ric

h¥ 4
eI w
£ 14
SZINN SZIWN Hm m
=
0EIN DEIN EZ
&5, K
OTVN OTVN &= Hm
* a3
ST1E33/20 5TTE23AD Wm
L]
022542 02z 5 md o
-
0225dA 0z25dA .ﬂ S
o
w 02T SdA OZT5dA EE
E
M 0EZ5d0 oOe 0EZ5d0
52253/ 5225d3/dh ﬁ
P R_._.m GZ15d3/dD _u._.._.m &7 1543/48 H
mnw S215d 3/ Bt G2 15d3/d0 mm
= =
ev R3 0225 wm Hm -
= B = =
02 1540 o} m
11140 e
g dl 3l ]
m |#o
= 4 =S
L
c #5
e
01£5dS s
01E ¢
DETZO0 0§ 1220
E =]
521120 521100 H m
M OEETOD £ 10D mm
[=]
P 0E0T20 00120 Mc x
3
s 520190 520120 m
=
E_._+_ﬂ * =
= s we
| = s [x]
oy E G I E e 5 HE K3
m% mwﬂﬁ_m.ﬂ = m maam! ®'S 5
o i a 2
P&n_h m w zl|m T & m Wmﬁﬂﬂ. &
a2 : .. %
2 &m 75 - EA IR =
0EDN
#
SZ0MN Hm
83
0EDN DEON =
e
OTYN OTYN =|#5
ag =3
§1TE23/90 mm
STTEDD N 11823400 Em
0225d0 225 ] ﬂm =
H
022 5dA DEZ5dh g5
o o
02 15dA 0215k BE
=
0E25d0 AT |
szzsdadd  ILJ 5ZZ5d3/dD ﬁ
8 - 2 H
Mm CACTEC O @ ® GZ16dT/d) B
ict ; Hm
ng W2 3
021540 o m
e
511140 511140 ﬁ Mm
0EFSdS 0E 75dS H |F3
uE|®
DEESAS oeesds LK e
k)
* 0Te5ds 0TESdS mﬂ
A 0ETEDA 0ETZ20
I _HS
* 521120 521120 H g
DEET2D Mm
.Eﬂ
DEDT "....a._ o o
E ] R O m
P 520100 (@] 52012B m
o ol I
n 2R £sles
=4 - S #=
= .. DR SR : : b
o oir s o wnll =5 i - || ¥
o = DHY Bl gk 5 y - * | B
5 i ¥ | Z [NNE " B 5 v a s o
= u u
P o e . w T =
5R rEss R%§ e r®s Q e -
o 2 £ 25 & ® &5 44

kil el B Ep AR e B e Ay Ty A
Wi R i R EER BRi BRi RiCHE




SEHT/SEGX/SE*N/SP*N/SENR

Insert Grades - Millin
by

'/

e

Specification

Trd #HEE
e g

/

IR RS
Crov g beed

TRES

Insert Grade
[T

QC/EC3ILE

m
o
Lo
1= 3
=

P
MAERIR
K%
NE&EER
SEMmeas
HE i i

]

Specification

EVEY &

101025
1030

QC
QC

CARBIDE INSERTS

3

Insart Grade
Ly

QG/ECALLE

DP5220

=) @ g mTEik O #Eiin T &% t!ﬁl‘iﬂtﬂliﬁ G‘E!f!lmliﬁ o B LI TRk 36 iR T i
Motice: Continuous Continuous Medium Interrupted Interrupted
A THEERS a2 g O BT L™
Excellent iinstock) Good (Instock) On Request

F3 DEREK

1D

Insert Grades - Milling
BwNRBS—RR

Kk

N fa R
SwEE
| R

Nk BE
S Specification
Shape

Inﬂﬁgﬁu
E

QP/EP5225

QC/EC3L1E

i @ EEmT R O ZE8Ein T #& % t!ﬁl‘iﬂtﬂliﬁ Gﬂﬁ!mliﬁ AN Tk
Continuous

Motice: Continuous

Medium

Medium

¥ WS TEE
Interrupted Interrupted

= g
Exﬁﬁem (Instock)

aiE g
Good (Instock)

O TR L™
on Request

53 DEREK

e #HEE
Trecting ewrt

HHE\
Groovig et

€

%\%

Turring et

o 6

T

N\

ireed Ieinudion

BRI

>

N2\

Horig Iresgts

N

CARBIDE INSERTS




SNFH/SPMT CNMG

Insert Grades - Millin é Insert Grades - Turning
BN BE—K FHITNRES—5%

/

5 N K Es

s R e Insart Grads TREs
:"‘g sh  Specification S Ak B8 5 Lo
B ‘?-.h:1|:'|-;a r > > S Specification

Shape

5P53L0
QP/EPE225
QC/EC3LLE

CP5220

/

o
G e
]

D amn\ e\

°
i

§
g
g
&
2
B
O
i

Halfinizh /
o CNMGI20404-56 120 127 476 516 04 ° "5
i <@ £
\ SEEMET /
\ Halffinish /
e CNMGI20404-MG 120 127 476 K16 04 A .3
EE’ ’ CNMGI20408-MG 120 127 476 516 08 " ke
Mosmur CNMGI2MHZ-MG 120 127 476 516 12 L
\ Hafffmish  CNMGIGDE0SMG 161 1585 635 63 08 (®) /
CNMGI20408-MB 120 127 4% 516 08 s nE
ne 73
RE pr o CNMGIZ0412-MB 120 127 476 516 12 L B
EEE e Insert Grada . MEsmiaT wE
'\ Specification - . & ﬁ _ ':ﬁ Haftfnish /
2 § & |& 8@ CHMGI20408-MI 129 127 476 516 08 A
(%) =4 [y [y =4 (5]
= (= (= (= (= (&) (= o E
E | -
] ]
E SPMTDS0204-BM L N mﬁggf u
?lé . = S CNMGIAM08-RG 129 127 4% 516 08 Eg
Ke Q SPMTOTT308-EM A A ® ®
C SPMTOADA0R-EM R "H" CNMGI2MM2-RG 129 127 4% 516 12 [ ] [
SPWTI0408-BM A A il CNMGISE12-RG 192 1906 636 784 12 _
SPMTI40512-BM e ® Rough CNMGISE16-RG 192 1906 635 704 16 O O
CHNMGIO0E24-RG 192 190 636 784 24 O
B @ EEmTEE OEgmT&E CEFEEMTE® GEH!MIEE W B E R 3 Wi T &k B ®EENTHR O EE8Ein T #& % Cﬁﬁﬁmli:‘& Gﬁﬁﬂmlﬁi& HEEn T B WEnT &
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
& FHEES ® FEEs O RiTR £ A THES ® iz O TR £
Excellent (Instock) Good (Instock) Cn Request Excellent iInstock) Good (Instock) On Request

53 DEREK I3 DEREK




CNMG/CNMA DNMG

Insert Grades - Turning Insert Grades - Turning

FHIZIRES—R FHITIRES—R

NREgs
TR R+ Insart Grade
S -ato
Shape

B Rx Ins gﬁﬁ:dn

Shie  Specification
Shapa

/:runm/:mmu/
G g sail Thexdng hmil

CNMG120404 1120 127 4% Gl6 04 ' DNMGIS0M04-FG 165 127 476 476 04 [ ]
‘ CHMGI20408 120 127 4% Gl6 08 ry #
CNME120412 120 127 4% 516 12 ] FEmmT
T Hatm  CHMGIEDB0S 161 15875 635 6% 08 o)
*E CHNMEBIG0BI2 161 15875 636 6% 12 ] DNMGIS0404-MG 165 127 476 476 04 'y
ﬂ-’ CNMATZ0404 120 127 4% Gl6 04 ] DMMGIS0408-MG 155 127 476 476 08 Y
CNMAL20408 120 127 4% Gl6 08 Y 0 DNMGIS042-ME 165 127 476 476 12 [ ]
\ ‘ CHMA120412 120 127 4% 516 12 A MEEMIET DNMGIS0B04-MG 155 127 635 636 04 L]
%ﬁ wamp: CNMAIZMIE 120 127 4% 516 15 O DNMG15060E-MG 155 127 636 6% 08 ]
Ri Rogh  CMMAIBD612 161 15875 636 &3 12 O DNMGIS0612-MG 165 127 &3 6% 12 Cl
CNMAIDD61Z 193 1905 635 74 12 O DNMGIS0404-MI 155 127 476 476 04 Y
\ P DNMGIS0N0B-MI 155 127 A6 476 08 A
e M DNMGIS0604-MI 155 127 &3 6% 04 e
E; DNMGIS0G0E-MI 165 127 &35 6% 08 L ]
= DNMGIS0404 165 127 476 476 04 ry
\ - DNMGIS040E 166 127 476 476 08 ry
DNMEIS0412 166 127 476 476 12 O
n§ LSS Dwmetsoen 155 127 6% 6% 04 @
- H DNMEIS060E 155 127 636 6% 08 ]
B
HE
i3
& @ EENTHR OZEEnTHE CENERTEHESR GEHEMIEE *HEMIERE H SN &EE bz 30 @ EENTHR OEEnTHEFRE CENERTHESR GEHEMIEE *HEMIERE HEEmI&EE
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A FIERS ® AR ORiTEE™ A FIERS » AEES O RiTesEr™
Excellent {Instock) Good (Instock) OnRequest Excellent (Instock) Good (Instock) On Request

: DEREK 4 DEREK

A EED T EENEEN

CARBIDE INSERTS




SNMG/SNMA TNMG

Insert Grades - Turning Insert Grades - Turning

FHITIRME—R ZHITIR S —R

Pifl

S e | ¢ | ¢ | & | € | | | | |
*,

. i e ! ! hy
;{IE“_'{. \ '::d‘ HE Kk | | | | | | | | | AL VEHER | | |
BREEIRRE] i veeen SO\

L]
: wwmwan) ||| | | | |

N

A
L ¥ &5
gz NRRS TNRES g5
-ng il #He o Insert Grade B ®E Insert Grada ll g
B Specification & Specification B
\ Shape K . . Shape /

q -

e a a5
L | 4
2 SNMGIZ2M04FE 127 127 47 616 04 0 THMGIG04-FE 165 055 476 28 04 [ %g

L F 0 A TNMGIGM08-FG 165 055 476 281 08 e | | | A
h = = I N B | {
a: SNMGI2404-MG 127 127 47 616 04 ™ THMEIGDSM-36 165 056 476 281 04 ] ;E
i SNMGI2408-MG 127 127 4% 616 08 [ Ammlas msmamus| [ ] | [ | | | | i

\ SNMGI20412-MG 127 127 47 Gl6 12 0 ssemmr TNMGZZMO0B-S6 22 127 476 516 08 @ 7

woemmr SHMGIS0G08-MGLESTS 15875 635 635 08 O | | | | | | =
L SNMGID0GI2-MG 1005 1006 635 704 12 0 THMEE0404-ME 165 OF5 476 281 04 | A | A ' ' L
4 SNMGI00616-MG 1005 1006 635 744 16 0 THMGIB0408-MG 165 055 476 38l us| A | A | | Fg

AN SNMGI2404-MB 127 127 47 616 04 [ A TNMGIG4I2-ME 165 055 476 28 12 ] '

N @mmnlmmmmm [ ] uoemur  TNWGZZDSOHMG 22 1234.?5515M| | [ ] | | | | /
e = I‘" SNMGIZ0412-MB 127 127 47 G516 12 0 " TNMG22M08-MG 22 127 476 516 08 ™ e
72 Hakfnch TNMGZ0412-M6 2 127 476 516 12 | | | o | | | kg

,\\5 SNMGI2408-RG 127 127 4% G156 08 . THMGIG0404-MB 165 055 476 2381 04 | | A o

\\ 0 SNMGI20412-RG 127 127 47 G516 12 . A THMGIG0408-MB 165 055 4.?533103| | | | | = | /

Sy nommr SNMGIS0612-RG 15875 15875 635 635 12 O O VELmST nE
iE Rogh  SNMGIBO616-RG 1905 1005 635 744 16 9] " | | | | | | o8
nE SNMGI2404 127 127 4% 616 04 ™ TNMGIG0404-MI 165 086 476 38 04 . | A M

\\ omm 127 127 4% 516 08 ™ Ammu&smsusamuﬂ | | | | A /

sme SNMGI2412 127 127 4% Gl6 12 O Wi [ [ [ [ [ [ :

§ SNMA2MOE 127 127 4% Gl6 08 ® TNMGIEDH2-RE 165 055 476 28 12| e ; - - g

H SHMATZ0412 127 127 4% Gl6 12 . ‘ THMEZ2MIB-RE 22 127 476 &l6 l.ﬁ| | | | o | | Hg
7E | | | | EE

g
g . I I I |

B @ EENT % O ZEsEmT &%i% tﬁl‘fﬂmliﬁ GEH!MIE:‘& HEEmTEE 98 Wy EE N T & B @ EENT % O SEHEIn T %% tﬁﬁﬂmliﬁ GEH!MIE:‘& H*EHENTER S WENT &iE
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A TENRS ®FiEEe O BT Em A TIENRS ®FiEEe O BT E™
Excellent iinstock) Good (Instock) On Request Excellent (Instock) Good (Instock) On Request

F3 DEREK F3 DEREK




/

=l ot
Tuariing iewrt

T

/

=
Groaig et

T

y 4

T

il reeds

YEYA4

CARBIDE INSERTS

i

TNMG/TNMA

Insert Grades - Turning

EHITIH e — i

Ak ne

Shie Specification
Shape

WNMG

Insert Grades - Turning

EHITIR S —

A& BE
g2 Specification
Shape

ARES

Insert Grade

L
6k 9525 4% 381 04 'y
IBh 952 4% 381 08 s
6k 9525 4% 381 12 O
6k 9525 4% 381 04 L]
lBh 9525 4% 381 08 L]
6k 9525 4% 381 12 L]
2 127 4% LRl 12 O
2 127 A% L1616 O
B @ EEmTEE O i n T &% tﬂﬁﬂmliﬁ Gﬁﬁﬂmliﬁ W BEmLE R 3 W& T &k
Motice: Continuous Continuous
FHEES RS O RiTREP™
Excellent (Instock) Good (Instock) Cn Request

53 DEREK

WHNMGIS404-56 27 127 476 16 04 L ]
‘ WHNMGIE0408-56 &7 127 47 hl6 0B L]
SGEMET
Hattfnish
WHNMGIEM04-MGE B7 127 47 G16 04 s
‘ WHNMGIS0E-MGE 27 127 476 hRl6 0B [ ] s
" WHMGISDH2-ME B7 127 47 hl6 12 & L ]
Hattfmish
WHMGISM-TM 27 127 476 hL16 04 L]
‘ WHMGSM03-TM BF 127 47 Rl6 0B L ]
e
WHNMGIE404-MB B7 127 47 G16 04 s
a WHNMGIS0E-MB 27 127 476 GRl6 0B s
WHMGISDH2-MB B7 127 47 hl6 12
e <
WHMGDAMM-MI 27 127 476 hL16 04 '
‘ WHMGDAM0E-MI 27 127 476 L16 0B s
Mt T
HaFfnish
WHMGDSM0E-RG B7 127 47 hl6 OB [ ]
‘ WHMGIeDH2-RG 27 127 476 hl6 12 L ]
%gh
& @ EEMTER OFEEmTHE CRENERNTHE GEE!MIE& S EEEnT S EERNTERE
Motice: Continuous Continuous Medium Interrupted Interrupted
A TERS ® FiEfEe O SiTeEr™
Excellent {Instock) Good (Instock) On Request

’Y DEREK

D amn\ e\

TF 6
Tarig hsals

CAENE

Tre
CARBIDE INSERTS




WNMG/WNMA VNMG

Insert Grades - Turning Insert Grades - Turning

FHITIF RS —5REE EHITI R MS—RR

WE 4
s NHEBE =
%! R bl me R Insert Grada % E
B hie  Specification Si = S Specification i K=
\ e e /
0% L S .C )
gg WHNMGIS404 87 127 4% hl6 04 L] VHMGIGMM-FG 165 9525 47 38] 04 L ] E‘g
K ‘ WNMGOS0408 57 127 476 Gl 08 ] L e R
\ WHMG0EO412 BT 127 47 516 12 Q " /
Hatfinish
]

!E- WHMADS0404 87 127 4% hl16 04 L] VHMGIGMMM-ME 165 9525 47 38] 04 s !E
e ‘mm 87 127 47 Gl6 08 (] oifle VNMGIGMMOE-MG 166 0536 476 38 08 A g
\ MI.*I WHMADBD412 87 127 4% A&l 12 ] w VHMGIGM12-MG 165 9525 47 38] 12 ] L ] /
®e VNMGIG0404 166 05X 476 3Bl (04 ® ® L
Fi e UNMGIG408 165 055 476 381 08 [ ] [ ] hE

2War  YNMEIGDI12 166 95% 47 38 12 ]
\ Halfdinish /
= g
2 s
hE
\= Z
-+
. "
.. E
i :
# nd
3 K5
B @ EEmTEiE OFEmTR%E CEHEMTEX GE!‘?!MIEE % O T & % ¥ ST &EE iz 1 @ EEnT % O =T &ik t!ﬁ!f!ﬁhlli‘ﬁ @E!‘f!hlﬁi& % LRI Lk EmmEnT &
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
& THES ® FiEfEe O TR L™ A THES ﬁ O BiTRE"
Excellent (Instock) Good (Instock) 0On Request Excellent (Instock) Gund Instock) On Request

>4 DEREK >4 DEREK




CCMT/CCGX DCMT/DGGX

Insert Grades - Turning Insert Grades - Turning

FHITIRMES—R FHITIRME—R

AIE AEE’ IT# e o
f% e
y e I Work

L= Piaca
L St irs

7~
N

i3 : NERE i
- E Nk g8 R Insert Grade TR e L
EF Shie Specification Size hje  Specification o B
\ Shape ) /
mE L s S EE
EE CCMTOBO202-HF 64 635 23 28 02 o DCMTOTOR202-HF 78 635 238 25 Q2 ] :‘]g
R COMTOGO204-HF 64 635 238 28 (4 [ * ® #mmm?saasaaazam [ ] ° L L h
\ mr COMTOOTIIZ-HF 07 9525 307 44 02 0 mmr  DCMTHTIMAHF 116 9525 307 44 04 A ™ . /
: el COMTOOTI04-HF 07 0525 307 44 04 ° -
!E COMTOB0Z204-HM 64 635 23 28 04 F Y s s DCMTOTO204-HM 78 635 238 25 04 ] L] !i'
2 COMTOGO208-HM 64 635 238 23 08 'S 0 Q DCMTOTOR08-HM 78 635 228 28 08 o 2=
° CCMTOOTI04-HM 97 9525 247 44 04 & s s A m; DEMTHT3AM-HM 1156 9525 2457 44 04 A 'y A
T CCOMTOOTI08-HM 97 GR35 2357 44 08 ] & Fy 'y DCMTHTA0E-HM 115 9525 257 44 08 ] L] ]
%5 Hafinish  COMTI20404-HM 120 127 476 5B 04 A A A DCEXOTORO2-AL 78 635 238 28 02 0 "ﬁ
h§ COMTI20408-HM 120 127 476 55 0B A ' 'y x DCGXOTO2O4-AL 78 635 238 28 04 ° of |
: _mmm 128 127 47 hHB5 0B o L DOGXMTI02-AL 116 9525 257 44 02 L] /
“@_ ) Fordumium  DCGXTITIM-AL 116 9525 297 44 04 s
DOGXITI08-AL 116 9526 2397 44 08 ] ?1!_J§
Reugh _.H;
a8
COEXDE0202-AL 64 635 23 28 02 [}
COGXDE0204-AL 64 635 23 282 04 ry /
COGX0OT302-AL 97 ORX% 2357 44 02 o nE
CCONOOTAM-AL 07 056 3207 44 04 A Bs
M COGNOOTIOR-AL 07 055 397 44 08 A ME
CCGX120404-AL 120 127 47 KBS 04 A /
CCGX120408-AL 128 127 47 GH55 0B [ ]
- M
<1 B
28 RE
& @ EEMTHR% OFEEmMT&HE CENEMTIHE C E!iﬁm::iﬁ S EENT FEENTERE &£ @ EEMTHR OEEnTHE CENEMTEHEE C E!iﬁm:tiﬁ EHERNTER #EEmI&EiE
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A FiERS ® g O iTHEr™ A FIERS ® kS ORiTesgr™
Excellent {Instock) Good (Instock) On Request Excellent (instock) Good (Instock) On Request

>4 DEREK >4 DEREK




SCMT/SCGX TCMT/TCGX

Insert Grades - Turning Insert Grades - Turning

FHIZIA S — 1 EHITIR IS —

Pifl

G o

g KL
Work NE®SR

Piece

AN

o

TE e R isert Gra Nk ne
4he  Specification shme  Specification
Shapa o i L i Shapa

Theaing Wz al

QP5225
QP5225

e\

g\g
-
i

i

\15%\\
gg 5 SCMTOOT304-HF 9526 9525 347 44 04 o TCMTHO2M-HF 11 &% 238 25 04 A
K" = i‘!.h TCMTIGTI0SHE 165 0525 397 44 04 A

D e ,

'
!g. SCMTOOT304-HM 0526 0525 397 44 04 O O TCMTH0204-HM 11 6% 23 28 04 A ] A A !E
= Qmmmmmum il 0 0 Ammmua&;zaszans () () () i
- SCMTI2404-HM 127 127 47 586 04 Y ] ] HESmET TCMTI6T34-HM 165 9525 347 44 04 A s A /
WiFfs  SOMTI20408-HM 127 127 476 556 08 A ° ° HAHMER  TOMTI6TA0B-HM 165 0525 307 44 08 A ° A A
';I;JE SCEX0OTI0Z-AL 9526 OR2% 347 44 02 O TCEXIMM-AL 11 &% 238 25 0 A %E
H SCGKOOTIM-AL 056 0525 397 44 04 [ ] dé!i TCGXHO208-AL 11 6% 23 28 08 o ol |
SCOX0OTIDA-AL 9525 OR2% 347 44 0B e} ’ TCEXI6TIM-AL 165 9525 357 44 04 L]

\ LR coRMAMOSAL 127 127 476 55 04 A Fer smaum /
e SCEX120408-AL 127 127 47 556 0B ] %é
7l B
K i

= /

\“ /i
+ i
We ““/

B §
] z
£ ]
<] ]
A =
B3 i
£ @ EENTHE O EdEmI &k t&ﬁﬁm:tﬁﬁ & Eﬁﬁmliﬁ *WER TR H$ WM &EE iz 1 @ EEnT % O EE8En T % i% I‘E!‘fﬂhliﬁ GE!‘?!MIE:‘& * EEEIn Tk EmmEnT &
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A FTHES l? O RiTREm™ A TS ﬁ O BiTRE"
Excellent {Instock) Guud Instock) On Request Excellent (Instock) Gund Instock) On Request

>4 DEREK 54 DEREK




VBMT

Insert Grades - Turning

FHITIRES—5R

MGMN/ZT*D

Insert Grades - Grooving

W E RS —k

“le 36T B

&+
i

I =
L

Nk 88 2 Insert Grade
S Specification i

Shape

L #I.C S @d r

VBMTIG4D4 165 O5% 476 44 04 A A A
w=  ypMTIGMO08 165 055 4 44 08 - [ ] -
i

VEMTI60404-MI 155 9525 476 44 04 A
b
Wi T
Half-fnish

EVEYVEY L&V

NHES
Nk e R Insgﬁ-ﬁada
She  Specification " " " " I
Shape

CARBIDE INSERTS

3

B @ EEEmTEiE O i n T &% t!ﬁ!‘fﬂmliﬁ GE!‘?EHIEE ¥ B4 T8 % B ST HEE
Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A THES ® FiEfEe O BT L™
Excellent iinstock) Good (Instock) Cn Request
< DEREK

Ay

AR iR 2 sttt Nk ne
g Specification Siz [ e Specification
Shape o ] P Shape

= FER
Tusriing ewrt

T

NC1025

L 11
Grmovig et

MGMMIS0-G 15 015 16 12 35 (@ @ L ] 2 02 b 12 35 L]
_mm-uzuzlamasll L ] MGMN2-M 2 04 21 235 48 L] K
4 MGWNXOG 25 02 185 2 1% @ | @ [ ] ‘Knﬂmnmmum ] /
' . MGMNSOOM 5 05 2 41 58 B e
MGMNGDO-M & 08 2% 5 &8 E'E.
E/F
3
H;
9%
HE
yi mHe : Insgﬁ!:?fagda /
':Hw Specification : ] 1 E E
Shapa B E’E
ey = ;

S5 0 Hsow Lamax /
B
g
g
B

& @ EEMTHR OFEEmMTHE CENERNTHSR GEHEMIE:‘E S EENT dFEENTERE

Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A FiERSE ﬁ. OEiTEE
Excellent {Instock) Gnad Instock) On Request

53 DEREK




60°ERENT A 00 ERRNIIA

Insert Grades - 60° Threading Insert Insert Grades - 55° Threading Insert
60°E HBRL TN/ 55 HERY T

E =]
EE kR fs il e : : Soid Carhide
E S Specification % Specification Si "
Shape Sl Shape =]
N\ £ R 5|ElE E AL MR = |8
;,—_E\ Right Hand Left Hand == Right Hand Left Hand ==
i |
.f'—.E ERABD H1ELAGD v 0515 4816 11 08 0.9 132 seee 11ERAGS 11ELAB5 L 0515 4816 1 08 09 az Q0|00
1GERAGD 1GELABD ¥8 DELE 4316 16 08 0.9 365 o|o|o|o 16ERAGS 16ELABG e 0515 4816 16 08 09 365 [sllelle]le]
N | | o
Ny 1BERAGED BELAGGD ¥ 0530 488 16 12 17 255 s e ee s 1GERAGES 16ELAGSS VY 0530 488 16 12 L7 365 oololo
g : 16ERGED 1BELGE0 ¥8 L7520 148 16 12 L7 365 o|lo|o|o 16ERGSE 16EL G55 e 17520 148 16 12 L7 365 [o]la]la]le] i
Eg ¥
‘,‘I‘E 22ERNGD 2IELNGO iTrg 3550 75 2 17 25 476 oo e e ZIHERNSS ZIELNGS 12 3550 75 22 17 25 476 olololo s
| B 2TERQG0 2TELOGD 73 E5E0 454 27 21 al 6.35 lo|o|o|o 2TEROSS 2TELOSS 58" 5560 454 27 2 20 £.35 lolo|o|o i
\ ¥ Notice: EF TR HRITHREF™,  Inserts for left hand only produced according to order. i Notice: EFTIFHRITHRE™.  Inserts for left hand only produced according to order. /
e "E
as 2%
% y
N\ /
B =
§ s )
AN y
X e i
g [T
8
Mg

" Nk ms il e : : Soid Carhide B
E B Specification % Specification Si g
E Shape = g2 Shapa H 5 = ]
g LR i LR L z |8 =y poyod o ZREaRar T s g Eg
ﬂa Right Hand Left Hand L=l Right Hand Left Hand = o=
DGIRABD DEILABD a2t 05125 4820 & 0.6 0.6 L9 QOO0 DGIRAGS DEILASS [ ey 05125 4220 [ 06 06 19 QOO D
D2IRABD BILAGD 16" 0515 4516 B 0.6 07 22 |O | O|D (EIRASS DBILASS 18" 0515 45816 8 0.6 07 22 |0 ollellel
11IRAGD HILAGD s 0515 4216 11 0.8 0.9 3.2 eseee 11IRAB5 11ILASS 1/a” 0515 4316 1 0.8 09 12 alololo
w 16IRAGD 16ILABD V8 0515 1216 16 08 0.9 365 e e e w 16IRASS 16ILAS5 8 0515 1215 16 08 09 265 lolo|o|o
1GIRAGED 16ILAGED 8 0520 488 16 12 17 355 L IL 38 N ) ¥ 1GIRAGES 1GILAGES 8" 0530 4838 16 1.2 L7 365 [llo]Iale]
16IREED 16ILGGD 8 17520 148 16 12 17 365 |- (] -|- 16IRGES 1BILGES 38 17530 1448 16 12 17 3,65 |o alalo
ZHRNED ZALNGD vz 35580 75 22 L7 25 4,76 L IR 38 N ) ZARNSE ZALNSS Lz2* 35R0 75 22 17 25 476 (allelialie]
27IR0GD 27060 58" 5560 454 27 21 3l 6.35 |o|o|o|o 27IR0S5 2MLOS 58" 556 454 27 18 27 6.35 [e][e][e][e]
7 Notice: EF TR HRITHRER™,  Inserts for left hand only produced according to order. i Notice: EF IR HRITHRE™.  Inserts for left hand only produced according to order.
£ O EENTHE OESEmT & tﬂ!iﬁm:tﬁﬁ Gﬁﬁﬁmliﬁ ¥ WS mIEE 3 BN &K In T4k = @ EENTHR OEEnTHE CENERNTHESR Gﬂliﬁm:l:iﬁ ETHERNTER & WEm T &%
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A FHEEE l? O BT g A FIEMRS & kR O RiTHE™
Excellent {Instock) Gund Instock) 0On Request Excellent (Instock) Good (Instock) OnRequest

>4 DEREK >4 DEREK




ISORERELT] R ISORERELT] A

Insert Grades - ISO Threading Insert Insert Grades - ISO Threading Insert
ISOtRAEBIER S T ISOfFAERIRLL 7]

h V.
%E il BE b j _ 5 Salid Carbide e e _ _ 3 Solid Carhide gg
B b Specification ; i SR Specification : i B
\\ Shapa . = E =] Shape = E § /

N AR ERaRa sElR G R E[5 7
05 Right Hand Left Hand e Right Hand Left Hand L = - 9§
:g HERD.5M50 11ELO5080 14 05 : 11 06 06 32 NN OBIR0.50I50 DGILO50ISO 532 05 B 0.9 05 19 olo|o|o Ig

J 11ERO.T5IS0 H1ELD.T5150 14 075 : 11 06 06 a2 o000 OBIRO.TSIS0 DGILO.75IS0 532" 0% B 08 05 19 |ojo|o]o *
s H1ER1.0MS0 11EL1.00150 14 1 - 11 0.7 07 32 o0 e 06IR1.00IS0 06IL1.00150 532 1 B 07 06 19 aloloo ) //
- 11ER1 25150 116125180 L4 125 - 11 08 0.9 a2 o000 06IR1251S0 0GIL1.25150 532 125 3 06 06 19 [a] (=] [o] [» N
a5 HER150I50 118.1.50130 1 15 - 11 0.8 1 32 LN O8IRD.50150 OSILO500 16" 0.5 8 0.6 05 22 alololo ‘,?E.
i H1ER1.T5IS0 11EL1.75150 T 175 : 11 08 L1 a2 o000 ORIR0.TSISO 8IL0.751S0 Y16 0.7% B 06 05 22 lolo|o|o 2=

AN 16ERO5050 16ELO.5NS0 e 05 - 16 06 06 365 e e e e O08IR1.001S0 O8IL1.00IS0 Y16 1 B 06 06 22 o000 /
N 16ERO.THS0 1BELO.7550 e 075 : 16 06 06 265 o000 08IR1.251S0 O8IL1.25150 Y16 125 B 06 07 22 lojo|o|o 7
g 16ER1.0MS0 16EL1.00I50 ¥ 1 - 16 0.7 07 365 e e e 0815050 081150150 Y16 15 B 06 07 22 o000 L3
i 16ER 25150 16EL1.25150 8 125 - 16 08 0.9 265 I 08IR1.75IS0 OBIL1.T5IS0 Y16 175 B 06 08 22 lojo|o|o Ay

Ry g 16ER1. 5050 16EL150150 e 15 - 16 08 1 365 e e e e HIR0E0IS0 HILO.50650 14 05 11 06 06 32 oo e A

N 16ER1.T5IS0 16EL1.T5I50 e 175 - 16 0.0 12 265 o000 1IR0.T5IS0 HILO.T5IS0 14 0% 11 06 06 32 ee e e /
o 3 16ER2 DMSO 16EL2.0050 e 2 - 16 1 13 365 NN 11IR1 00IS0 11IL1.0050 14 1 11 06 07 32 oo e g
7H 1GERZ 50150 6EL250150 38 25 . 16 11 15 365 o000  HIr25i50 11IL1.25150 v 125 1 08 09 a2 LI Za'E-

& 16ER3.0MS0 16EL3.0050 e 3 - 16 12 L6 365 LI N "iw 11IR1 5080 11115050 /4 15 11 08 1 32 oo e o)

\\\\ 22ERAE0IS0 22EL350I50 e a5 : 2 16 23 476 oo 00 S HIM.THS0 11IL1.75150 14 175 11 0.0 L1 32 LI a0 //

:\ 22ER4.00150 22EL4.00150 e 4 - 2 16 23 476 e 0 e HIRZ00I50 HILZ.00S0 174 2 11 1 13 2z eeee
iy 22ER4.50150 22EL4.50150 vz 45 - 2 17 24 476 o000 16IR0.501S0 16IL0.50150 3 05 16 06 06 265 LI HE
L 2265 00150 22E15.00150 Vg 5 - 2 17 25 476 oo 16IR0.75IS0 6ILD.75S0 B 0.7 16 06 06 365 seew ]

2TERG50I50 27ELS 5050 5B 55 . 275 19 27 5.35 |lolo|o|o 16IR1.00E50 16IL1.00150 38 1 16 06 07 355 o0 e e
2TERB00IS0 27ELG.0MS0 5 B - 275 2 29 6.35 aloloo 16IR1.25150 16IL1.25150 el 125 16 08 09 165 eoeee

- i Notice: ZEFTNEHEBITHESEF,  Inserts for left hand only produced according to order. 16IR1.50150 16IL150150 e 15 16 08 1 365 eseee B

i 16IR1. 75150 16IL1.75150 e 175 16 09 12 165 oeee -

E 1GIR2.00150 1GILZ.00150 8 2 16 1 13 165 |. e .|.. J]E
s 16IR2.50150 161250150 el 25 16 11 15 165 o elee #E

16IR3.00I50 BILL00S0 38 3 16 11 15 355 D000
22R3E050 220350180 e a5 2 L6 23 476 oo e
22IR4.00150 2400150 Vg a 2 L& 21 476 e e e
22IRAENS0 2214 50180 Ty 45 2 17 24 476 o elee
22IR5.00150 221500150 Iz 5 2 22 17 25 476 |. e .|.
2TIRG.50I50 275 5050 5B EE - 75 19 27 £.35 olololo
27IRG.00ISD 2TILGO0IS0 5B 3 . 275 2 249 5.35 lolo|o]o
¥ Notice: EFNFHEH2ITHREP™,  Inserts for left hand only produced according to order.
= 1 @ EENT E® O ST &i% tﬁﬁﬂmliﬁ Gﬂﬁﬁhlﬁ:& S HEmTE®E s WS T &R B ® EiEn T Hik O ESEnT & tﬁl’rﬂ?ﬂlltﬁ & E!‘fﬂmliﬁ w ST ik 4 BRI T &k
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
4 ﬁﬁaﬁ?’ctlnstuck: Eu.:mtﬁnstockl & gni ;ﬁa’g’c ﬁceﬁaﬁtlnstnck! Gumﬁlnstncm . gnrl-[i;:ﬁa};c

»<« DEREK ;< DEREK




UNERBY IR UNERRBYII R

Insert Grades - UN-60° America UN Threading Insert Insert Grades - UN-60” America UN Threading Insert
UN-6Q°Eh Gt —hrERLL T UN-60° £ $l 4t —ir ¥R 5L 7]

A

o 4
gg Nk e ] HE j ; : Solid Carbide Ei
E L% Spacification S Specification 5 [

E Shape E = § = Shape § =

\ G i N EE B ERAL =8 /
”'E\ Right Hand Left Hand S| &S Right Hand Left Hand L &> g3
'1.§ 16ER28UN 16EL28UN V8 = 16 06 07 165 ee e 06IRI2UN OBILT2UN 5 22 6 08 05 19 olo|o|o ,-,g

\1 16ER24UN 16EL24UN yE 24 16 07 08 265 U e OGIRZEUN OBILZEUN (v 2 3 08 06 L0 |o|0|0|0 K

\ 16ER20UN GEL20UN Ve 20 16 08 0.9 155 N s OGIR24UN OBIL24UN 5z 24 3 07 06 19 O|o|o|o |
- 1GER18UN 1GEL18UN ve 18 . 16 08 1 355 oo e OGIRZOUN OBILZ0UN 532 20 6 06 06 19 |o|o|o|o /ﬁ
E‘I‘E 1GERTGUN 16ELIGUN e 16 - 16 09 11 365 LI L ) DGIR1BUN OGIL1BUN 53 18 6 0.6 07 19 C|0|0|0 e.:i
il 1GERTAUN 1BEL14UN v 1 - 16 1 L2 265 ee e DAIRZZUN OAILZ2UN 316" ] g 06 05 22 lo|o|o|o 7=

\ 1GER13UN 16EL13UN Ve 12 i 16 11 13 365 olololo 08IR2BUN OAILZBUN 316" 28 8 06 06 22 olo|o|o /
\ g 1GERTZUN 1EL12UN 8 12 . 16 11 14 165 U e O8IRZAUN OBIL24UN 316" 2 8 06 06 22 lojojojlo
Ly 16ERTUN 1GELHUN Ve 1 . 16 11 L5 355 LI s DBIR20UN D8IL20UN 316" 20 g 0 07 22 Ololo|lo L3
¥ 1GER1O0UN 1GEL1OUN Ve 10 : 16 11 15 355 oo e OBIR12UN QBIL1SUN 316" 18 8 06 07 22 |o|o|o|o ]

Ry 1GERSUN 1GELOUN vE 9 16 12 L7 355 oo eC OBIR16UN DEIL1GUN 316" 16 8 0. 07 22 ololo|lo -
\\ 1GERBUN 1GELBUN V3 8 16 12 2 265 e e OBIR14UN OIL14UN 316" 14 8 06 08 22 |o|o|o|O //
. 29ERTUN 29ELTUN 12 7 2 16 23 476 olololo HIRIZN HILRUN 1/ 2 1 06 06 a2 O|o|o|o 3
e 2EREUN 2FELGUN 12 5 - ol L6 23 476 o|o|o|o HIR28UN HILZBUN 14" 2 1 06 07 a2 |O|O|o|0 E-g

£ 29ERSUN 29EL5UN 12 5 2 17 25 476 o|ololo R4 HIL2AUN 14" 2 1 07 08 22 o|olo|o )

\\ i Notice: EFNEHEHIBITHEEF, Inserts fnrlefthand only produced according to order. 19;/ HIR20UN HILZ0UN L 20 1 08 09 a2 |O|0|0|O /

iy LT HIL1BUN 1/ 18 1l 08 1 a2 e][e][s][e] e
iy HIR1GUM HILIEUM 1/° 16 i 0.9 11 22 |-|. [ 1] L,g
R 16IRI2UN 16IL320N 3 £ 16 06 06 265 ee o0 WE

. 161R280N 16IL28UN 8 28 16 06 07 265 Ceeo0 /

b | 16IR24UN 1GIL24UN B 2 16 07 08 165 ee e

- 16IR20UN 16IL20UN e 20 16 08 09 365 e e e B
i HGIR1EUN GIL1BUN e 18 16 08 1 65 L Mel g
5 GIRTEUN 1BIL1GUN 38 6 16 09 11 265 o000 ,]%
ﬁ!g 16IR14UN 1GIL1AUN 8" 14 16 1 12 2.65 LI IK e L
GIR13UN GIL13UN 8 12 16 11 12 2165 |o|o|e|O
HGIR120N GIL12UN VY 12 16 1l 14 165 oo e
1BIRTTUN 1IL11UN e 1 16 11 L5 365 e e e
HGIR10UN GILIOUN B 10 16 1l 15 365 o8 e
16IROUN BILOUN e 9 16 L2 L7 365 o e 00
16IRAUN GILAUN vz 8 16 L2 2 365 eeeC
ZHRTUN Z2L7UN 1z 7 2 L6 23 476 Celeo0
2HREUN 260N vz 6 . 2 L6 23 476 Oeleo
ZHRSUN 2AL5UN 12 5 - 2 17 25 476 [elle]L ]{e]
¥ Notice: EFTNFHEH2ITHREP™,  Inserts for left hand only produced according to order.
=4 @ EENT ik O ESEmT & t!i!fﬁ?ﬂll'ﬂ‘ﬁ Gﬁﬁﬂhliﬁ w HEMITEE 48 BTSN T &R bz 30 ®EENTHR D EENT &% tﬂﬁihlﬁﬁ (i EHEMIG& HHENTEE i Wi L&
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
ﬁceﬁaﬁ!lnstnck! Gumﬁlnstockl & ﬁ%&ﬁa};‘. 4 ﬁﬁmﬁttlnsmckl amtﬁlnstuck! & 511 54%3?[

>4 DEREK >4 DEREK




W-55°BRE5U] R W-55°ERESIR

Insert Grades W-55° Whitworth Theading Insert Insert Grades -W-55° Whitworth Theading Insert
W-HSh K E BB T H W-HS5 K E E KL 7] K
i
m iy I
pes, L

Ei R e : - Soid Carbide T ne %5
K" S Specification 3 5i L% Spacification H—E
Shape § = Shapa . E .

HrrE & 304 Lol N Fyod - o ThrEmar =
O Right Hand Laft Hand T = Right Hand Left Hand L = N
as s
.3 128N 11EL28W 174" 28 111 06 07 az oololo DEIR26W DEIL26W 532" % B 07 06 19 o|o|olo 3
K 1HER2EW 1HEL26W 1 2% 1l 07 08 32 [e][e][e]le] 06iL22W 532" 2 6 06 0§ 19 o|o|o|o .
1HER2W 1EL20W 14" 20 1 08 09 az olo|o|lo DEIR20W DEIL2W 532" 20 B 06 07 19 olololo 7
7
e HERTOW HEL1OW 1" 19 1l 08 1 32 |o|o|o|o O6IR1BW 06IL1BW 532" 18 6 06 07 19 ololo|o s
L H H1ER1EW HEL18W 14 18 : i 08 1 a2 o/0/o|o 0828w 081L28W ¥16* 2 8 06 06 22 o|o|o/o ¥
A= {ERIGW HELIGW 1 16 1l 04 1l 32 |o|o|o|o 0BIRZAW 0BIL24W 16" 24 8 06 06 22 O|0|0|O -
\ 11ER1AW HELIW 1A4° 1] 1 1 12 3z slisllalle] DBIR20W DRIL2W s 20 8 06 07 22 elle}e]le] /
\\ 16ER2AW 16EL2AW aE = 16 06 07 355 e Oee DBIR1OW DBILIOW 16" 19 8 06 07 22 olo|o|o //
L3 16ERZEW 16EL26W g 2% 16 07 0B 365 slisllalle] OBIR18W DHLIEW 16" 18 8 06 07 22 0o ¥
nE o 73
K 16ER20W 1GEL20W g 20 16 08 09 265 o|o|0|0 DBIR1GW DRILIGW 16" 16 8 06 07 22 o|o|o o |
i o 1
Ry 1GER10W 1GEL1OW g 19 - 16 08 1 365 o000 HIRZEW HILZEW L 28 11 06 0 a2 olooo e
\ g 1GER18W 1GEL1SW B 18 : 16 08 09 355 |o|o|o|o HIR2EW HIL26W L4 % 11 06 07 32 c|c|o|o /
.| 16ER16W 1GEL16W g 16 : 16 0.9 11 355 olololo HIR20W HIL20W L 20 11 07 0.9 a2 olololo [ LH
na 1BER14W 1GEL1AW e 14 - 16 1 12 265 o000 1IRIGH HIL1OW I 19 11 08 1 a2 ceoee RE
3 8 1GERT2W 16EL12W g 12 ; 16 11 14 365 oeee HIR19W 1HIL18W L 18 11 0B 1 e o000 )
N 16ERTIW 16EL1TW yE 11 - 16 11 15 265 s e ee ony W HILIGW v 16 11 09 11 a2 O|0|0|O e
N 1GERTOW 1GEL1OW g 10 } 16 11 15 365 O 0|00 e;,/ HIR14W HIL1W L 1] 11 1 L2 a2 eeee -
_ﬁEE 1GERTW 1GELGW e g 16 12 15 3,65 |D|O oo 16IRZEW 16IL2ZBW e 28 16 06 07 3,65 [ ] o|l~| [ ] gg
HH 1GEREW 1GELAW YN 8 - 16 12 17 355 slisllalle] 16IR2GW 1GIL26W £V 2% 16 07 08 265 s]ls]le]le] ME
\ 20T 2ATW e 7 : 22 L& 23 476 lo|o|o|o 1G6IR20W 1GIL20W N 20 16 08 0.9 265 ololo|o -
22ER6W 206W w2 ; 22 L6 23 476 olololo 16R10W 16IL10W v 19 16 08 1 265 eeee -
22ER5W 285W 12 5 - 22 17 24 476 |o|o|o|0 16IR12W 16IL18W Ly 18 - 16 08 1 265 o|ololo E
E 2TER4.5W 2TELASW BB 45 - 7 18 26 6.35 olololo 16R16W 16IL16W v 16 - 16 09 11 265 ololoo £
% 2TERAW 2TEAW B8 4 . 7 2 29 £.35 lojo|o|o 16IR14W 16IL14W Ve ¥ : 16 1 12 265 e .|.| e 315
E% i Notice: ZFTIFH2ITHRE™.  Inserts for left hand only produced according to order. 16IR12W 16IL1ZW e 12 - 16 11 14 265 s ee 1
16R11W 16ILHW e 11 16 Ll L5 365 eeee
16R10W 16IL1OW e 10 16 11 L5 265 olololo
16IROW 16ILOW ¥E 9 16 12 15 265 o|ololo
16R8W 16ILeW £V 8 16 12 L7 265 olololo
2ARTW ZALTW L2 7 z 16 23 476 olo|o|o
ZHARGW 2AL6W 2 B 2 16 23 476 ololoo
22R5W 25w i 5 2 17 24 476 ololojo
2TRA5W 2TLAEW 3 45 el 18 26 625 olololo
2TIRAW 27ILAW 58 4 - ) 2 20 635 olololo
i Notice: ZFTIRFHRITHRE™.  Inserts for left hand only produced according to order.
E 4 O EENTHE D EEmIT&iE t&ﬁﬁhliiﬁ GEH&MIG& FHEMIEE % Wi m &k g ®ESEMTHE O ESEmT & tﬁﬁﬂmliﬁ @&ﬁihlﬁﬁ ¥ HEmIEE SEWMEMT &R
Motice: Continuous Continuous Medium Medium Interrupted Interrupted Motice: Continuous Continuous Medium Medium Interrupted Interrupted
A FIEES ORijeg™ A FTEES O i
szce]h%nttlnstochl amtﬁlnstuck! ﬁn equest ﬁceﬁnt!lnstnck! El.:mtﬁnstockl gﬂ equest

>+« DEREK »< DEREK




TR-30°BRBLU] R

Insert Grades -TR-30° Trapezoid Threading Insert
TR-30° kR A MRS T] |

>4 DEREK

}
%E‘ e B Solid Carbide
j.',-g L Specification
Shapa § =1
Py g ERramr ol ]
- Right Hand Left Hand ' &\
:g 6B 50TR 16EL1.50TR 8" 15 - 16 1 11 265 LI M
K 1GER2.00TR 16ELZ00TR 38 2 16 11 12 365 o e 00
N 16ER3.00TR 16EL3.00TR 38 3 16 13 L5 365 e e eC
N T ELANOTR 12 4 2 17 19 476 e ee0
L 22ER5 00TR 2IELE.00TR 12 5 2 21 25 476 YOI M)
3" 27TERG.00TR 2TELG.0OTR 58" ; 77 22 26 £.35 lojo|o|o
\\ 2TERTOOTR 2TEL7.00TR 5/8" 7 . 27 23 27 £.35 olo|o|o
N 16IR1.50TR 16IL150TR 8" 15 . 15 1 11 365 ]-[l e
L) 16IR200TR 16IL2.00TR e 2 16 11 132 .65 L 2L 2 e
Ri 16IR2.00TR 16IL2.00TR 8" 3 : 15 L3 15 365 e e e
. lew  2ma00R 220L4.00TR 12 1 - 2 L7 19 476 ee® e
N 22IR5.00TR 221L5.007R 12" 5 2 21 25 476 o e 00
s 2716 DOTR 2TILG.00TR 5/8" 3 . 7 2.2 26 £.35 O|o|o|O
7H 2TRT.00TR MLTO0TR 58" 7 . 27 23 27 .35 lolololo
\5 7 Notice: EF TR HRITHREF™,  Inserts for left hand only produced according to order.
k-]
[Ty
e
E
-
EE
g
_____ ; 1"\ 1 f.-'; A
r J_:___, 1 i _._.:,._:-
{ g i
bz 3 O EENTHE DEEMIGE CLHEFNERNIEHE CENSENIEE SWENIHE S Wi T &k ! T'\ i ] \\ i
Motice: Continuous Continuous Medium Medium Interrupted Interrupted s ] ——
A TERS @ AEEs ORiTg ™ ! ! | 5
ﬁceﬁant!lnsmchl amtﬁnstuchl & equest i i I



Insert Screw

iag: <3
e 53
Specification L rench
M020D040 27 2 4 55 Q06
M020D055 3 2 55 60 Q06
MO20W040 27 2 4 55 Q06
w M022D050 3 22 5 60 Q08
’ v w M022W050 3 22 5 60 Q08
) M022W060 3 22 6 60 Q08
- - M025D060 35 25 6 55 Q08
SNl R M025F060 35 25 6 55 Q08
a - E:H M025L080 35 25 8 60 Q08
! - M025W050 35 25 5 45 Q08
M025W060 35 25 6 55 Q08
MO30W070 4 3 7 55 Q08
MO30Y060 4 3 6 50 Q08
M030Y070-1 4 3 7 50 Q08
M030Y070-2 45 3 7 50 Q08
~ M030D075 45 3 75 60 Q08
M035D095 45 3 95 60 Q15
O M035R080-1 52 35 8 60 Q15
- / 1 MO35T085 52 35 85 55 Q15
o @ = “1 MO35W090 5 35 9 55 Q15
v M040C130 57 4 13 60 Q15
M040C150 57 4 15 60 Q15
M040D080-3 57 4 8 55 Q15
M040D110 55 4 11 55 Q15
MO40M100 57 4 10 60 Q15 A
MO40R080-2 5 4 8 45 QI5 my
MO40R090 5 4 9 38 Q15
M040R100-2 6 4 10 55 QI5
M0405080-1 57 4 & 60 Q15
M0405100-1 57 4 10 60 Q15 £
M0405120 57 4 12 60 Q15 KL
MO40W090 55 4 9 55 QI5 .
MO045.120 7 45 12 50 Q15
MO045Y110 7 45 11 50 Q15
M050D110 7 5 11 45 Q20
MO050.120 7 5 12 45 Q20
MOS0M110 7 5 11 45 Q20
MO50Y110-1 7 5 11 45 Q20
MOS50Y110-2 65 5 11 40 Q20
MO50Y110-4 72 5 11 55 Q20

T
See next nla.gF:E




Insert Screw Locking Screw

hoy $3) Shav=L: £3)

B Be i
’ v Specification d Specification D d rench
v MO50Y120-1 7.2 5 12 60 Q20 E040U100 7 4 10 L03
Lo M050Y120-2 7.2 5 12 55 Q20 Eg:gmg ; 1 %g tgg
i L M050Y120-3 7.2 5 12 60 Q20 Rebbadas 7 M 80 L03
a @ | mu* MO50W090-6R 68 5 9 60 Q20 E050U1000 8.5 5 100 Lo4
' o ' MO50W130-8R 7.4 5 13 60 Q20 E050U1150 8.5 5 115 LO4
' MO50W170-10R 8 5 17 60 Q20 E050U120 8.5 3 12 Loa
Q E050U1300 8.5 5 130 LO4
MO30W070-4R 4.2 3 7 60 Qo8 TiH) E050U160 8.5 5 16 L04
MO040W090-5R 57 4 9 60 QI5 ' 1 ] — E050U200 8.5 5 20 LO4
MO80W250-15R 12 8 25 60 T30M : I E0sou250 - 2 . s
~ M030D035-90 5 3 35 90 Q07 e a5 5 10 Loa
M030D043-90 6.2 3 43 90 Qo07 E050U450 8.5 5 45 LO4
L M040D050-90 6.2 4 5 90 Q15 Eﬂgﬂﬂﬁ:ﬁ g-g g gg tgj
) LA ’ M040D082-90 6.2 4 82 90 QI5 ENEHIED 3’5 5 80 Loa
a @ al @En M040D110-90 6.2 4 11 90 Q15 E050U950 8.5 5 85 LO4
: - i E060U1200 10 6 120 L05
E060U160 10 6 16 LO5
E060U200 10 6 20 LOS
E060U250 10 6 25 LOS
E060U400 10 6 40 LOS
E060UG00 10 6 60 LOS
E060U800 10 6 80 LOS
E060U900 10 6 90 LOS
E080U1200 12.5 8 120 LO6
E080U1400 12.5 8 140 LO6
E080U200 12.5 8 20 LO6
E080U250 12.5 8 25 LO6 A
~. Insert Screw for CBH Insert Holder E080U300 e 8 30 L06
-] CBHT] |/ EEshi b8 5T E080U800 125 8 80 LO& g4
f E080U850 12.5 8 85 LO& :
| e E100U1200 15 10 120 LO8 )
R T E100U1400 15 10 140 L08 A
Specification d E100U1600 15 10 160 L08 /s
%2 gty M MO030D045-Vi-D CBH2036vV A M3 45 - 5 T02 E100U300 15 10 30 LO8 ( e
3 : M030D060-V2-D . - 37
41 CBH2547¥ A M3 6 5  To2 Al [E) = 20 = Lo .
N i M040D0B0-V3-D CBH3260V A M4 8 - 7.4 T025 St 18 5 10 & y
N p—e M050D100-V4-D CBH4174V A M5 10 - 86  T03 BTN 21 16 35 (14 7
@ Ll il
Hg i F M050D100-V5-D CBH5395V A M5 10 - 8.6 TO4 E160U500 24 16 50 L14 “ig
w2 ° E“‘ e MO80D160-V6-D CBH68150V A M8 16 - 13 T05 E040U160-D 7 4 16 L03 ;E
L E M030U065-C1-D  CBH2036 B M3 65 60 4.8  T02 E050U100-D 8.5 5 10 LO4 £ |
" oy e M030U075-C2-D CBH2547 B M3 75 60 4.8  T02 E050U120-D 8.5 5 12 LO4 -
\ : T M040U110-C3-D CBH3260 B M4 11 60 6.5 T025 R e - R
B @ o m M050U140-C4-D CBH4174 B M5 14 60 8  TO3 RN — . - o
' . ! M050U140-C5-D CBH5395 B M5 14 60 8 T04 SRR 10 e 16 Lo5
v MO080U205-C6-D CBH&1850 B MB 205 60 13 TO5 E060U200-D 10 [ 20 LO%
E060U250-D 10 6 25 LOS
E080U160-D 12.5 8 16 LO6
E080U250-D 12.5 8 25 LO6
E080U300-D 12.5 8 30 LO6
E100U160-D 15 10 16 LO8
E100U200-D 15 10 20 LO8
E100U250-D 15 10 25 LO8
E100U300-D 15 10 30 LO8
E120U300-D 18 12 30 L10
E120U350-D 18 12 35 L10
E120U450-D 18 2 45 L10
E120U500-D 18 12 50 L10

}< DEREK

»<« DEREK



Locking Screw Locking Screw

R EMRE] EHANREE]

Specification d L rench Specification For Figure d
MO050U050 5 5 LO25 M040Z0480-D CBH A 4 48 - - L2
:3:33323 E g tgg M040Z0600-D CBH A 4 & - - LD2
MOGOUDE0 B 8 LO3 MOS0Z0800-D CEH A 5 8 - - LO25
MOGOU1 00 [ 10 Loz MOG0Z1000-D CBH A 5 10 - - LO3
“ M080U060 8 6 Lo4 A M080Z1450-D CBH A 8 145 - - Lo4
HIOS0no0 & = Lo M100Z1600-D CBH A 10 16 - - LOS
L M1 00U0T0 10 7 L0 MO40U080-90-D FBH B 4 8 - - TOZ2
[ - : M100U1 20 10 12 LD5 MO050U100-90-D FBH B 5 10 - - T025
' - M100U140 10 14 LOS MO50U160-90-D FBH B 5 16 - - T025
, 1200140 T le o M100U160-90-D  FBH B 10 16 - - TO5
M1200U200 12 20 LO& M100U200-90-D FEH B 10 20 - - ToS
M140U160 14 16 LO6 M100U250-90-D FEH B 10 25 - - TOS
S - - e ; MO040Z093P-LH-D  ABH B 4 93 - - T02
MO40U050-D 4 5 LoZ MOGOZ128P-LH-D AEH B e l12.&8 - - TO3
MO40U060-D 4 5 Lo2 MO60Z160P-LH-D ABH B 6 16 - - TO3
M040U080-D 4 8 LO2 MOB0Z195P-LH-D ABH B & 195 - - To4
R - = Lo MOS0Z250P-LH-D  ABH B 8 25 - - To4
MO40U200-D 4 20 Lo? MO80Z350P-LH-D ABH B 8 35 - - T04
:g:gﬂg:g-g g 28[} tggg M180Z200P SLN B 18 20 - - Ll0
st : %0 o5t M200Z200P SLN B 20 20 - - Llo
MOGOUDGD-D 6 6 LO3 M200Z250P SLN B 20 25 - - L1G
MOGOUDE0-D [ 8 Lo3 " M240Z250P SLN B 24 25 - - L1z
MOG0U100-D b 10 LO3 s MOB80Z205P-LH-D ABH B 8 205 - - T4
\ R - T - MOBOF200 GSK/DSK/ER B 6 20 - -  LO3 )
\\\\ MOGOU400-D 6 ) LO3 M1 00F200 GSK/DSK/ER B 10 20 - - LOS ///
i MOGOUS00-D 6 50 LO3 M100F350 GSK/DSK/ER B 10 35 - - LOG (%
: M080UDS0-D 8 9 Lo4 M120F200 GSK/DSK/ER B 12 20 - - LO6 i
N e g : - Lo M120F400 GSK/DSK/ER B 12 40 - - 08
MO80U140-D 8 14 LO4 M160F200 GSK/DSK/ER B 16 20 - - LO8 S
% MO80U160-D 8 16 LO4 M160F250 GSK/DSK/ER B 16 25 - -  LOB ( nga
41 Lkl = = L M160F400 GSK/DSK/ER B 16 40 - -  LO8 kG
k*\\\\:' M100U160-D 10 16 LO5 M200F200-P2 GSK/DSK/ER B 20 20 - - L10 yr
E‘.E\\\\ :} 333; gg-g ig %[s} tgg M200F400-P2 GSK/DSK/ER B 20 40 - - Ll0 ‘é%
] g acuize0.0 o 20 Los M050Z050-30P-D  DCKIJI# C 5 5 30 - L025 Al
e TTETTET ) 12 30 LOE MO0S0Z060-30P-D  DCKIIi® C 5 6 30 - L025 #r
. £ MOG0Z090-30P-D  DCK 714 C 6 9 30 - LO3 f,
M080Z120-30P-D  DCKIJI#R cC 8 12 30 - LO4 ’
M100Z160-30P-D  DCKTI# C 10 16 30 - LOS
M120Z200-30P-D  DCKIJI#R C 12 20 30 - LO6
M200Z200-30P-D  DCKTI# C 20 29 30 - L10
MO50R050-30P SLBK c 4 5 30 - LO25
MOGOR075-30P SLBK C 6 7.5 30 - LO3
MOBOR075-30P SLBK C 8 75 30 - L04
M100R100-30P SLBK C 10 10 30 - LOS
M120R100-30P SLBK cC 12 10 30 - LO6
M080Z100-30P TPGTI4E cC 8 10 30 - LO4
M100Z120-30P TPGTIHE C 10 12 30 - LOS

HTm
See next page




Locking Screw For DC Slim Collet Chuck

THRNNAREET 1FEheg £
BE HENR BT 15 ML E le D, Be @5 WENA
Specification For Figure d L i i Specification FHgue  For d
E100Z300 DSF D 10 30 - 14 LO8 o M"m - ID4-1 A DC 205 4 19 M8xIllH
E100Z300-MTB MTE D 10 30 - 135 LO5 ' L]y :g:; E gg %g 552 %g u"ilzniléLEH
L E160Z400-MTB MTE D 16 40 - 20 LOB |l oM 7D6-4 A oe 16 5 0.5 ngxi-I:H
W ",—I . E160Z350-40 FMA/B D 16 35 - 40 LI17 ZD6-5 A DC 18 5 11.5 MI18xI-lH
= a b E200Z350-50 FMA/B D 20 35 - 50 L17 ZD8-1 B pc 12 6.3 12 MI2x11H
5 comoss A 0 2 % & L &) T T W T
E0402160-D DBH b4 16 - &4 103 - ID10-2 B DC 16 85 13 MI16x1.5LH
MOGOZ085P-W ABS25 E 6 85 - - LO3 . . ZD12-1 B DC 17 10.3 13 MI16x1.5LH
MOBOZ110P-W ABS32 E &8 11 - - L0o4 .
. ) M100Z140P-W ABS40 E 10 14 - - 105 For Face Mill Arbor
7 M120Z165P-W ABS50 E 12 165 - - LO6 B £H
u‘ﬂ‘;;:] . M160Z205P-W ABS63 E 16 205 - - L08
Iy ‘=j —£- M200Z260P-W ABS80 E 20 26 - - LlO RS
— N1 MOG0Z050P-N ABS25 F 6 5 . 8 L02 Specification :
MO080Z065P-N ABS32 F 8 65 - 10 L0D25 :i:ﬂ :ggg%ﬂﬁ FH&E:#BG g-g g-g lgiﬁ
i i ABS40 F 10 & -125 LO3 A317-1-12.712.7*12.5 FMA 127 127 125
. M120Z085P-N ABS50  F 12 85 - 15 L04 AB7-2-12.7112.7°21 FMA 127 127 2
M160Z120P-N ABS63 F 16 12 - 20 LO5 A317-3-12.7*12.7*24.7 FMA 12.7 12.7 24.7
L M200Z138P-N ABSED F 90 138 - 24.5 LO& L A3T-4-12.7T12.7*H FMA 12.7 12.7 31
- - MKT G 5 16 90 9.8 LO3 A A381-1-15.87"15.87%18.5 FMA 15.87 15.87 18.5
4 M050D160-90 - ! A381-2-15.87*15.87*15.5 FMA 15.87 1587 15.5
B A M050D200-90 MAC G 5 20 909.8 LO3 = --—@ --—l—-- A508-1-19.05*16.5*19.5 FMA 19.05 19.05 19.5
' M050Z150-D DHP H 5 15 - - LD25 ' ; ggg:} '}:ﬂﬁu:ﬁ'?”j E:g 19{-35 1%-[*}15 1?3
& _ _ L. c o =1= w .
SORIEIRD 1 DHP g a8 Lhs B220-2-10*10°20.3 FMB/FMB-BG 10 10 203
i ! M080Z150P-D DHP/SF Ho 8 15 - - L04 B270-1-12*12*14.5 FMB 12 12 14.5 i
- - . M160Z150P-D DHP,/SF H 16 15 - - LO5 B270-2-12*12*20.8 FMB 12 12 20.8
HE = o a d MLOG21 FM45,FM30 | 6 71 _ _ LO3 B270-3-12"12*17.9 FMB 12 12 17.9 T
g * ﬂ r B270-4-12*12*23.8 FMB I 12 23.8 "
b B320-1-14"14*21.5 FMB 14 14 21.5 =
‘\\\\ B400-2-16"16*19.5 FMEB 16 16 19.5 .
2 B600-1-25.4*25.4*25.6 FMA,FMB 254 254 256 e
4 Washer For Face Mill Arbor 2t
.. W5 . L - E@ ///
W i //_/
. _H g
| i RS R T1R K
Specification For a D E

FM-1 FMB 14.5 33

' FM-2 FMA FMEB 18.5 40
a FM-3 FMA FMB 18.5 50

\

EEEE / sRmE
ACCESSORIES Universal ST erdies //
A

-

L Adjusting Screw ﬁg

VR T e

@ g E151 @ — L
N ms
% T Specification
§ 1Y ] MO40H120 4 12 L015

h 3 DEREK 3 DEREK ﬂ




For FBH Tools
it e
el s o Be R IR
i - | Specification For
% @ a : BM6 FBH 6 11 M5
| BM7 FBH 8 13 M5
v = BMS FBH 16 19 M0

Washer For ABH/DBH Boring Tool
4927

s

i Specification

o 5.8%0.2°0.8 DBH 58 4.2 0.8
- 7.2*4.3*0.8 ABH 7 i 4.3 0.8

: 8.5*5.3*0.8 ABH/DEH a.5 5.3 0.8

10.3*6.5*1.2 ABH/DBH  10.3 6.5 i
13.2*8.5"1.2 ABH/DEH 13.2 a.5 1.2
16.5*10.5*1.5 DEH 16.5 10.5 1.5
19.5*12.5*1.5 DEH 19.5 12.5 1.5

R

\\

s D)

IIE&

R .

L Shim

\| #A

Ok

-

g BE BF MEINAE
Specification  Hgure For

A

17 15 - 4.5

. MT2204-B A TPS0O
DP-3 B CBH-L

50 15 2.5 35

FESE

ACCESSORIES

Insert Seat / Clamp

T1 R EE/[ER
__ S WS
DP = ‘:1 Specification
| T @ ) FC3050-TP2204-90 30 19 12 TPG2204 4
x TH FC2550-SE1203-45 25 18 12 SEGl1203 4
FG2550-5E1504-45 25 18 12 SEG1504 4
FC2550-5P1203-75 25 18 12 SPG1203 4
FC2550-5P1504-75 25 18 12  SPG1504 4
- b -
i i
o M Specification
N SV-128170-15-45 17 128 175 15° 6
! SV-128170-15-75 17 12.8 19.5 15 8
L1

=]

BE
Specification
MO5S0HOS0-TP
MOGOHOZ0-TP
MOGOH120-TP
MOB0OH120-TP
MOB0OH160-TP

00 00 Oy Oy LN =0

12 8
13.5 8
13.5 12

18 12

18 16

12 LO3D
12 L04D
16.5 LOD4D
16.5 LO5D
21 LOsD

BE
o Specification b
o YD-13 13 6 35
YD-14 14 [ 4
YD-16 16 6 5
¥S-34 10 3.4 3.8 3
¥S-30 10.4 3.9 4.7 1
¥S-43 T R | 6 4
¥S-52 13.5 5.2 5.7 5
Wrench For MKT Boring Tool
MKTZ HinF
BE
g Specification B W L T
l ) WMKT06 10 2.4 93 2
[ ' =y WMKT09 12 3.4 121 2
\@j ' WMKT11 15 59 139 2
WMKT16 24 99 223 2
b< DEREK »< DEREK

™,
ALY

k::-?mi \

N\

g
fiviE

.45
ﬁﬂ
A

A\

T RS
Univirsal o

ACCESSORIES

FRER




Wrench - Flag 0O Ring

ERERIRF OF
e Be
L Specification T Specification
I Q06 25 84 6 $8.5*H1.5 DBJf %
_"= ) o7 25 84 7 610*D1.5 DBJM%
] o Ul Qo8 3 86 8 B14* 1.5 DBJfE %
010 3 90 10
15 5 94 15
020 5 94 20
Wrench-T Block Nut
TR F PR {3F 42 £

(=
—]

T 8BS el
. Specification Specification
MAC-D12 MAC

' T02 2 58 2
| 1025 2.5 66 2.5
b o 103 3 72 3
T04 4 76 4
T05 5 92 5
T06 6 102 6
T03-L 3 110 3
T04-L 4 120 4
T05-L 5 150 5
T06-L 6 170 6 .
T08-L 8 190 8 %?5 g;i'"
T30M 6 120 30
& - . <
s Wrench - Star Spegﬁﬁgﬁun ﬁﬁ%ﬂ?ﬂ ﬁé
= 2
EWERIRF DCK1-XD4 CBH/DBH
\ DCK2-XD5 FBH/ABH/DEH /
% 5 ) BE DCK3-XD7 FEBH/ABH/DBH %5
o : - Specification T DCK4-XD8.5 FBH/ABH,/DEH R
fgs L . 6 DCK5-XD11 FBH/ABH/DBH =
\ . rea— 3 a4 3 DCK6-XD14
!g = LA T10-2 3 o8 10 DCK7-XD18 CBH/DEH
i T15-Z 5 102 15
- T20-Z 5 102 20 ,
= | Allen Key Block Pin
A\ L EHF P
= = Elg
al Specibcation B X7 R zt
ne 115 15 16 n Specification For "o
LO2 2 52 12 D4-18 DEH
LO25 25 60 15 D5-18 FEH/CBH-L/CBH/DEH
LO3 - 65 20
LO4 4 70 25
LO5 5 78 28
LOG 6 85 32
L08 8 97 30
L10 10 118 35
L10T 10 118 30

p< DEREK b< DEREK




Shim For Turning Tool Holder Clamping Screw For Turning Tool Holder

FETI TR &7 R8T
BS BR s
Specification Figure d h Specification
‘ E E Ll MD1103 A 6 3 11 kL o MLOS16  M5°0.8 8 5 16 25
d MD1504 A 6 4 15 b 2] e ML0520 M5*0.8 7 6 20 2.5
Lh MD 1506 A ] 6 15 @ E —E o @ MLOG20 M&e*1.0 7 7 20 3
MCG1204 A & 4 12 ] MLOG25 Me*1.0 8.3 8.3 25 3
MG1604 A & 4 16 MLOS2S M8*1.0 12 10 24.7 4
MCG1904 A & 4 19
B MV1603 A & 3 16 =
- -
2 Specification D
Specification h - " WL0625 11 6.8 M&*1.0 25 3
MS1504 B 10 4 15 3 ,@
C M51904 B 11 4 19 =

-
Specification D

Speﬁﬁmm B0620 10 20 M6'1.0 24 4
MT1803 c 3 3 16 Center S::rew For Turning Tool Holder
MT2204 c 8 4 22 Z 715 R ET
_D =]
SpeciﬁT::j_atiun s
Specification {3 F
::3:3: g g i g MX0510 4 3.65 M5°0.8 5.6 10.1 2
P Lt _F. MX0513  5.46 3.65 M5'0.8 6.2 12.88 2
w2 ’ Ty ! MX0611 515 5 M6'1.0 6.86 11.2 2.5
Specification ! i @ MX0613 7.07 5 M6'1.0 7.83 155 2.5
HPE MX0617 7.17 5 M6*'1.0 7.76 17.2 2.5
I:;';}:, E ;3 3-;? ;f';g MX0619 7.1 5 M6'1.0 7.8 18.4 2.5
YI22(0) E 52 307 2165 MX0822 9.45 6.17 M8*1.0 10.2 21.8 3
} YE27(R) E 61 88 a7 Mxi022 11 7.95 M10*1 11.95 22.1 4 4
5 YI27(L) E 6.1 5.5 27 3
- ~ F BE ¥
Clamp For Turning Tool Holder ! o - Specification s .
— & ,,., o
\ FETER ' ol _ﬁu@ WXOS15 6.2 3.6 M5'0.8 55 155 2.5 %
% g L WX0618 7.8 5 M6'l.0 7.2 18 3 se
- w8 ¥ " Wx0822 10.2 6.2 M8'1.0 95 22 4 4=
8 et . B
Q Specification D o L H C Ring For W-type Turning Tool Holders /
ﬂ\s MY0515-A 7.8 5 147 9.6 CHZER 4
s MY0619 8.6 6 18.15 11.4 " i
5 MY0621 9.5 6 21.5  13.2 D 1 NE #
] MY0819 11 8 19.1 14.2 — oS H
\ MY0823 11 8 225 158 fﬁ? 0/ Specification D /
MY0826 11 8 255 16.8 & C6 8 6.5 8 0.5
L c8 10 8.5 10 0.5

[=]

FREED
BCCESSORES
FEEDE

ACCESSORIES

Spring For GTBR Grooving Tools

Bs
Specification Eiﬁ
i
) _BmE
i | Specification B]
m‘i L

WYWo8 17 8 1066 7.2

BE SP-0612 7.7

Specification

GYR/L 14.5 6.5 18 7.2

b4 DEREK




Clamping Screw For Turning Tool Holder Z-Axial Zero-Setter

ZE 711847 Z-ERAZMIE E 2R
Be e fiEaM BEE R G586 9§
Specification L1 ey | Specification Type Chief height  Flex distance
M2*4 2.7 3.7 1.2 m2*0.4 60° ED5-50 BT 50 3
M2*5 2.7 4.7 1.7 m2*0.4 60°
M2.2*5 3.2 5 1.7 M2.2*0.45 &0°
M2.2*6 3.4 [ 1.7 M2.2*0.45% &0"
M2.2*7 3.4 7 1.7 M2.2*0.45 &0°
M2.5*5 3.7 5 2 M2.5%0.45 44*
M2.5*6 3.7 & 2 M2.5%0.45 44°
L M2.5*7 3.7 7 2 M2.5%0.45 44*
N = M259 3.7 9 2 M2.5'0.45 44° # = / Feature
i ! M3*6 4.1 [ 2 M3*0.5 60°
o @ - m s} M3*7 41 7 2 M3'05  60° WEETARFRAE, RHASR, BKHAT, BETABH,
L M3.5*7 5.5 7 3 M3.570.6 60° B EREFIE L, DEEMRER, BiE#DEWEHEE0, UNESTHMERESIm,
‘!/G'u'“ M3.5*8 5.5 a8 3 M3.5*0.6 60° M Have the central measuring porfion of the zero setter presetter against a plain surface and aligned if with the outer
M3.5*9 5.5 9 3 M3.5*0.6 &0 reference surface. Tumn the dial gauge for zero setting.
M3.5%12 5.5 12 3 M3.5*0.6 60" W Have the cutter touched against the Z zero setter.Once the indicator position at zero the distance between the tool tip
M4*q 5.6 9 2.5 M4*0.7 60° to workpiece is 50mm.

M4*14 57 14.2 3 Ma*0.7 60"
M5*10 6.3 10 2.8 M5*0.8 44°

M5*12 63 12 2.8 M5°0.8 44°
M5*16 63 16 2.8 M5%0.8 44° : ,
M520 6.3 20 2.8 M5°0.8  60° [-Axial Zero Setter (Magentic)
Z-E R 2% E 25 M RETE
Side Screw For Threading Holders <D
{82 5T . B8s BEE i G50
Specification Chief height  Flex distance
L, ZDI-100 BEs 100 3
9 . B
\\ i i 1 Specification /
" A @ y EE al SA3007 55 71 26 M3'05 it
A 7
A\ Clamping Screw For Grooving Holders .
B E ®
2| AETIRET 2
e 3D Master L/
Specification =% (3D ) ®ESR Eg
L | 5030100 5.5 10 3 M3*0.5 "
LLLL y GS050120 8.5 12 5 M5*0.8 .
:, E“ 65050160 8.5 16 5 M5*0.8 B82S W ERE ftEE
; i GS060160 10 16 B ME*1.0 Specification  Shank diameter Needle diameter
GS060200 10 20 6 M6*1.0 30-D 20 ]
65060250 10 25 6 M6*1.0

BOCESSORIES
HFREE
ACCESSORIES

b4 DEREK b4 DEREK




Titanium Coated Edge Finder Tool Lock (Fixed)

EEkF i A BN D B
s
W= d® Bs BE Bs

{/ 4/, EESSAETE Specification Specification Specification
: ME=11E0-F $- TL-HSK50 TL-SK30 TL-BT30
# ) 1 J ME- 420-Y :
. = /"& _ TL-HSK63 TL-5K40 TL-BT40

et TL-HSK100 TL-SK50 TL-BTS0

Ceramic Edge Finder
& Fihzs

- Tool Lock (Multi-direction)
- 7 e = T R

Specification

L7 57 o
__ 3)
\ : B

B

Specification
e g TLW-BT30
TLW-BT40
TLW-BTS0
Electronic Edge Sensor
F¥BXFih
BE mPpES BiCE Trolley For Tool Holder
Specification  Shank diameter  Total length T %
PM20 20 147 10 /
PM32 32 147 10 e
E?,_; BE e E- e
i Specification Amount
\ # = / Feature TTH-30 36 /
]
L8] W L2V MBattery voltage: 1.2V TTH-40 35 &iz
3 WAATHET WWith red LED light TTH-50 25 R
r
M . Hg
% | Spindle Cleaner L
g B o 8
: | HER Holder Sheath :
\ TIAREE /
S %ﬁ%ﬁ
2 pecification B
ﬁg e s
# : SHes Specification g E
- STC40 15-30
STGS50 T5-40
STCG40-HSK P
STC50-HSK -
STCE3-HSK
STCG100-HSK

P DEREK £3 DEREK




SRR S

HETHMIE ke

W E e
L Fodi )
I R B e TR T 70 L R

NI REWiR E LR

il bz ooy

Cornet&iRnie

W

W IR T R )

B e SEN

L Fodi o)

I R D7D e T S R T4 50— 277)

W RS 7 o 2 i B B
W iR e

W ERAF RS EEE R
L el el

ST B A e i R

Lk el el
W FRETREE

TO#EF
TIHI 7 TR

RGOS

W (= 7] (D5 AT
W FRETREE
W A0SRl o 7 e TR R i

W R

I 5 A T L S SR T

W (= 7] (DS AT

W ( solid endmillt§R T | MET el R ARk

W ( brazed endmil R T | SRR TEE SRSH T
W RESEETREEE

&4 A e iR 8

REEAR

mIENERETR R TI0

i T e SR

W R i AR
W PR

L el el
LB Bz

W PRl
I 5 A 08 & A S SR T 250 47

W R TR

W F ARSI

W = 7] A AR e BT AR I
L el el

W = 7] A AR e BT AR I
W AR TR
L el el

& EiRE

W i

W EEEL#EE

L Fodi )

W ER R B R R R TS 6 T

W ER R R AT S mEE T, s S W N

F3I DEREK

HO1

T SEHIB RS T

REER TEHBEHRENZE TERROEE PEEEMEE BXEmTHE
B T e 8 (R
SRR TE—1 RS, IS e M BHTE R, '
SURAL S BRSO MNTOEEROEER o R RREEE W
iy EEE R A b MgamAOE R RIS il
= SRR TE—1 RS, B 8
Y R E R A MERAR Yy Te— R
AR RRRES N
SRR TE—1 RS, METHERE SO R A SCORMA
e BRSO PRREIMINE  semEmniEn S2FEREENN
BT B, 0
iR [EREE, s BEEEE etk hp =yl BERTSHEPEE — gt
S5 PO Bl
ERNOSNEERT
B B, i
i S REEb mremmasass g R
WNT RS EEE, T RS
R ERRESE B N6, 80 EUES, HBULEREERD HERROLL
R e
o E— ALTOBUAMNT  ARERGUMSS g
) A, E b M)
0 AR ROMBEANER  pemusacToe  —meEERS
e El)
R E AT
NEE g T
sy BRI mrdid bt Ly DA RARERI "
RRIOBHAERT  EDEEE S b
e BRI OEGEARERLY  RASDERZRT — bt
TR et
RRNOBHRERT  MEDEEE &b
my. BRI OEEEMeERse BACDARERE  —BHEEREE
R =) T
BN RS c
: RS B SR gf.ﬁmm’:“m* BERRRHER gxmufnmﬁm
WEAEEMNES S WHEEEE S DR
BT Eﬁmﬁzﬁ Hf BOEUEEE BEREEOUNE, | —RHEERHE
SIOEERVEER  MEEHERER
: W T RS, R ]
ST SRR ERmERE RO HEHRE i —st
e of bl ey
WETHEMRE  GRAEHE R WV i .
T4y 3] YRR W, & R el BT
HO2 £ DEREK




Turning Tools Processing Methods
ENMLIAR

&1 /Parting-off Tool

LYNREETHD, RREEDEERE3%, AHTFRENRFGM
RERE.

2EAVNEAT, R ASMMMITIM, LRIERFHEER.
1.When the insert was close to the workpiece, should reduce 30% of cutting speed to
improve the insert lifetime and surface quality.

2.In Prem,if allowed,in order to keep stability,please choose the holder as short as we

can.

SPEIIEFZEA T E

External grooving turning,and profiling

FENNEEE: PHEE=0.5mmEt, @EE#ET ( |EXPET0.I5*NEN
®S ) ~ZmEN0.lmmESE—#EEN~HERN-HEEN-ER
MIFIREEE.

EIESHES (BT ) o, RRNEMRTRERSE, TAMNRES

PIBRIEEE TS| a)/MESh.

The sequence of feed: during depth of cut =0.5mm, radial direction feedingideepest depth
of cut can reach 0.75%insert blade width S).radial direction retract around 0.1mm_.axial
direction feeding—slant direction retract axial direction feeding—radial direction processing
till to reach the required depth.

During cutting or chamfering (finish machining), operate as the sequence shown in this figure
will reduce the small vibration generated from the cutting tools and the friction during cutting.

mEFZEHE

ace Grooving and Turning

BHEMI ( £#E04E] ) Rough machining(multiple-grooved cutting)

MEAXEEEAATHE, B7M, NEFEALRES. 98T (1)

Dwring retract after cutting from the biggest diameter to inner, shift the insert to the inner
edge a lithe. As shown in figure(1)

WM EH] Recessing

e FHIREREIL0.75'S (N/FE)
AT RR, RN EAMEES, BT (2)
EREATEE, BN EATASEDH.

Axial direction tuming depth not exceeding 0.75* 5 (insert blade width);

when groove width is bigger than groove depth, it is sugpested to use recessing tool, as
shown in figure(2);

when groove depth is bigger than groove width, it is suggested to use muliplegrooving
tuming.

W ##hnI Finishing

SR IESMELE, BRAERMISMAERT, AR (3)
First to finish machine the bottorn and outer diameter edge, and then finish machine the inner
diameter to the required dimensions.As shown in figure3)

P 7.3 #8 % &l /Internal Grooving and Turning

B EABETA IS \nternal grooving tools
ETFHIRY, BRMEHILMmAAEFGEEIM LS.

Using the processing sequence as shown in this figure
For better cutting outflow, always feed outward from the direction that far from the hole end
face.

4 DEREK HO3

Technical Guide Of Turning Tools
ZFH| IR AR B R

ZH NFHEAEE/Technical Guide of Turning tools

Loy s
mema?ﬁ‘ig---.. j/ 7@ i
Frmtmkniaggﬁ'x\_.";j'“'-: o 'Eﬁaﬁﬁm
TR¥EETp radiE_s J/E;iﬁibntﬁ-’gﬂm”mw angla
B #,/Side-rake angle 4.4 /Total length

T8/ Height of teeth -

= O Gt

BEm
End relief angle

% AHlHEI 22 /Common Formulas of Cutting

W 7] 1) 3% & /Cutting Speed Wite5/Feed
" F ,
T D+N | N f= N {my/min)
V="1000 D — v .
+ Eise i3 P (/i) T mEitE (mfov )
{m/min) v D: TAEEE(mm) F: dg4-4i4s | m/min )
N: %@ (rpm ) N: $688 [ rpm )
™ EEE(214)
W 3 @A %S /Surface Roughness
it = m#E %S/ Theory surface roughness LA A = Rmax
Rmax= 1000 4 U Rmac mkmem (A
8r fr maEE | mmyfev )
ro ez

W 7] R e T R EE Y R

Effects on Roughness from Cutting Feed and Nose Radius

7142 442 /Insert Radius
i#44 B /Cutting Feed

0.4

0.15

0.26

0.46

HO4 4 DEREK




Inserts Codes System - Milling
7 R S fA

RYP
TR i nE YIHI R 044 MK
Shape = Clearance Angle Tolerance (mm) Holding Type Cutting Edge Length

P T P T

:h'
1'-\.

" N | RS
-_
A s F 1t B | B =70-90° T
B .H 0 . T A +0.025 +0.005 +0.025 _ /\’
g C +0.025  +0.013 +0.025 ﬁ .

B q E £0.025  +0.025 +0.025 B M

c @& P ' 5° r F £0.013  0.005 £0.025 | W
'-..l r

) G £0.025  £0.025 £0.130 B =70-90° -
D <& R . H £0.013  0.013 +0.025 . L

- c %?“ N q{r Lu—j )1 £0.05.0.15° £0.005 +0.025 & N I I

- . 3
E ., s K £0.05-0.15° +0.013 +£0.025 =70.90° '

- . > L' +0.05.0.15° +0.025 +0.025 b

H H
H@ T D %m qu- V7] M £0.05:0.157 £0.08-0.20° +0.130 F il Q | ——
A I/ M N +0.05.0.15° +0.05-0.20° +0.025

. = U £0.08-0.25° +0.13-0.28° 0.130 c M

K 45 V E qw o
Y 1 wa poies |
L W ‘ H X pmmpmas
- .. " wait

6 N B 7 LB PIHITI R
Thickness Radius Shape Of Cutting Edge
0§ g ol :
r=L. '
11 A [ t
12r=1.2 H

- -1 16r=1.6 '
! 24r-2.4 F '
il :

l_ "
0ls=1.59 T .
T15=1.98 :
025=2.38 :
T25=2.78
03s-3.18 S
T3s5=3.97 !
045-4.76 !
055=5.56
065=6.35

075=7.94
095=5.52

§ HE
* *3
# #z
#H ﬂg

]
g
H
a
@

b< DEREK HOS HO6 >4 DEREK




Inserts Codes System - Boring & Turning
HI R, HEEITIRRSiRA

08
7 B B nE YIHIB 04 B MK
Clearance Angle Tolerance (mm) Holding Type Cutting Edge Length

: |
x
mh

’
A B
r A o
B .k. 0 . A \ A +0.025  +0.005 £0.025 e - /\’
C +0.025  +0.013 £0.025 ﬁ e B 0-80 .
~ B a E +0.025  +0.025 +0.025 B M
c .-,_ P . %ﬁ“ VLW F £0.013  £0.005 £0.025 ly et
- G +0.025  +0.025 £0.130 f =70.90° U -
D <& R . H +0.013 +0.013 +0.025 i e L
- C %}" N q{r L‘_j JU £0.05-0.15 £0.005 +0.025 C E N - I I
E ’ 5 . 3l K +0.05-0.15 +0.013 +0.025 005 '
o= . L' +0.05-0.15 +0.025 £0.025 B
1
H @ T D -L_lﬁu qL”- [/ M +0.05.0.15 +0.080.20' +0.130 F i Q | Ry
A b k N £0.05-0.15 £0.05-0.20° +0.025
/ = U +0.08-0.25° £0.13-0.38° +0.130 c N
X SRR S |
' ’ v |
Ll V& H

™
.IL
g
<

ﬂ NKEE NeER “ BB 1
Thickness Radius Chip Breakere

. ' % g;::g:; FG FB
E 04r=0.4 SG MG
. .% 08r=0.8 MB M

12r=1.2
i N 161=1.6 RG TM
; 24r=2.4 HF  HM

- n
01s=1.59
Tls=1.98
025=2.38
T2s=2.78
03s5=3.18
T35=3.97
04s5=4.76
055=5.56
065=6.35
075=7.94
095=9.52

EE ﬁﬁ
ﬁ% T
L M

}< DEREK HO7 HO8 b< DEREK




Inserts Codes System - Threading

SRAUETIH SRR
NER N E R 71 B #A RLTE
Size Shape Type Direction
L (mm) D E 5MBYL R it aRi
External Right Hand Insert
| agr L ZCni i i
Internal Left Hand Insert
E |
U iR
U Style V Style
16 E R 1.5 ISO
16 X E R 1.5 ISO
22 N R 1.5 ISO 3 M
27 v N R 3.0 ISO
27 U E 8.0 TR
4 W 5 N 6 8
R “ WA o 3 ( HEEEM )
Pitch Thread Profile Multitooth
weR e T 23568
Ul Fr .
s F i UN — GO Bt RS LN
mm TPl UNJ —— 60°% B 22 A FEamisr UNJ wig T KR
0.56 184 W 5572 [F B ECER &5 Whitworth Shape
NFTF — c0-s b s NPTF
J& S I T BSPT — S5°% MR/ & aar BSPT
Partial Profile

ACME —— #4294 R 8l 5r ACME

STACME — smi29~5 e el sr Stub ACME

TR — 30%F SRR Ll Trapez DIN 103

ABUT —— S48 57 & & American Buttress
BBUT —— Z 4R 57240 British Buttress

mm TRl
A 0.51.5 4816
AG 0.5-3.0 488

G 17530 148 RD — — k5 fr @ ELiHME ST Round DIN 405
M 3.55.0 75 RO20400 - & phf Suli E e s Round DIN 20400
APIRD AP & &0 APl Round
Q 9.56.0 4.54 BUT APl #7048 &1 BUT Casing M
VvV  6.010 425 Pg— PG
HO9

Internal Turning Tools-Code System
MFLETIE SRR

=

SRR
Special

z
X

c B 5 §5._
D fae

PiypeS &

Miype®l 8
SHype®l 2

R

Holding Type

L EIE S
Cutting Length

Direction

A

71 F iR f
Relief Angle

__ mibm

T mmas

R
Insart Shape

180
200
250

350
Vo o400

60 Q
mn R
B0 S5
G % T 30
wo U
125

N
1 ,3let
- ms“ﬁzg
et BT
= 53 'E'%E%
0 I | QO

H10

B
&
-

\'F =

L mm Ewm
{]OIE!H&:EW

o HEmE

450

150 W
160 Y 500

M
N

E R SERRE
Cartick Stel Wi Cockrt ol




Threading Tools - Codes System

R TR SRR

External Turning Tools - Codes System

SMNEIZE DB SHRAATSE

I¥OTWHNHDAL
iR

b4
o
s w
B 't N E
B gt -
|.'r &
ﬁm m% ._u_m ® | B |5
o (S} = [ (L] =
1
O e L
—i uﬂ_... D
= =] Ly o ] =] =] o o =] o =]
H S S 2|8 |2 5|28/ R & 8|88
K — &m
MW L I = = = (o (= e (75 ] = o | =
(3]
] o T
ol N
2|T Emﬁrm.ﬁmm
O I &7 FEEIER
o Bl:CsECs
Rk =
Ec
rel W | H
L =
m =0 ._nw -
2 .. =
&l ws (¢
Lol fud 55 B3RS
ﬂnla._
e =
i R
052 S o1t
0z Y _|,_,m
01 d d
w1t W £
LTARED'| @ I
- e s N | 2
Ve _H_MM N sy B M amax () 0
L % 3 B e AT I
] B A 1 | .09 SMH o
@ @n\umwu E MM nm__ __._| E e =T L ammusd =0 Y
s 9 ' . . : syT g ﬁkHO H
= B W
& G ov 8 ol g ﬁ 4 | A_,_ w @ 1 “a® g
b ' . apzzl ) d ._W“M @ 9
yjdua Sumng I INENTy AUy 1anay adeys s)esy|
HEG 1 MRS
T
adf] BuppH
LW
: & iEadi3 & eds
By c I » I o I - I T P i
rmicm: gy g :
md » B | & - - ¥ v a
=ikadi-) &ikadig Effadiyd 44

1¥0 TWIINHOIL
HEn



Carbide End Mill - Codes System
ERERS SIS EATE

i e SRBLIAED,
P AtEEAMT
FrHg Pekaren B = B B,
DH For Hnﬁﬁhe]u:%menul R mﬁ =] L
(3 v mmen 8%
Serles Redius Ful LEngﬂ'I Tl”_! Structurs

A A A &

o orof s e [

Y J
] L R
EE

G SOEFREAMTIF kT L wna
30° Taper 4-flube Squar Head Long Cutting Edge

M i r a7
Meck Length Short Cutting Edge
e AT : @ 4mm ] IR ERT

5lim Shank: & dmm Diefault Standard

1]
R

»4 DEREK H13

Cutting Speed / Power

YIHIE EFf0zhh
bl Ve 3.14xDxN{mmin}
1000 VoI im/min) Dot 4 mm)
F =Fz x Z x N (mm/min) N:4i#(rp.m) FI{E& e (mm/min)
Hgﬂ- F Fz:48 Mt @ immAooth) Z.7%
Fz = —————— (mm/tooch)
I N
60 x 102 x n WEEHS HPEEDH
W i
e Ho= — " (Km) QiEtHE LAkl
Bh 0.75 F.T4E&#tesimm/min) o4& Eimm)
LxFxd dxfxVxlLxz Ks:dEfDMIIEE n HUmsE
1000 3.14 xD

Surface Roughness Formula
F AR E Rt ERmaxaitE LA

!
B
o
m —_—
fl'l! g0 | nﬁ‘@
Rmax=g X 1000,um
Rmax: BEEASE, um 40
Vertical deviations of the roughness from the mean line ag 4 ﬁﬁw
o
r: J1:k%EBInsert Radius (mm) 20 + Lk
fn: B i##Fead Rate (mmirav) it . : i | | | 3

005 040 045 020 025 030 035 040 ET—

Table of Surface Roughness, Insert Radius & Feed Rate
FHAKESTIRFE, HEEMXAR

NeFERFER ( mmirev)

1501302 Insert Radius (r) / Feed Rate (mm/rev)
r=0.8 r=1.2
VRt100 12.5-25 =4 . 0.51 0.69 0.88
VRt63 6.3-25 Ry 0.27 0.43 0.56 0.68
VRta0 4.9-6.3 s/ 0.25 0.37 0.49 0.57
VRt31.5 4.0-4.9 0.22 0.32 0.41 0.47
VRt25 2.5-4.0 " 0.20 0.28 0.36 0.39
VRtl6 1.62.5 v 0.15 0.22 0.29 0.31
VRt10 1.0-1.6 54 0.10 0.13 0.18 0.20

H14 »4 DEREK




Cutting Table For Taps (Straight Shank) Cutting Table For Taps (Straight Shank)
FRRSLHEREVHSY (FHEMLHE ) HERSZEREVHSE (GTHEMLHE )

mI#E Work Piece T4
R [ AR [ ] T ; I | O BEH | ApEH i [0.25 - i (O L] TR I | FO) BEH | e
it TAA { HRC25 ~ 45) [ L8] [ WA | . ( { HRCZ2S - 45) 5L ! WRRIRE | R
[ SKDIR ( Cu b | CRooCACDm | REZE) ! ] [ C2ooeCAC 2 ) REZE)
i R | ADC) S EEF [ ADC)
trfEtIGlEE  Cutting Speed AR
3~~5my/min 4~ Fmymin &1 1mymin 10-~15mfmin 10~20mymin 7-~12my/min 6~9m,/min 3~5mymin 4~Tmymin 6~1 Lmy/min 10~15m,/min 10~ 20mymin
M2 1270~ 2070 1110-~1910 Q60 ~1430 480--800 &40 ~1110 950~1750 1590~ 2390 1590 ~2180 M3z 77130 68-~120 ER-—-87 29~48 39~68 5B~110 96~150 96~-190
Ma.z2 1160 ~1880 1010~1740 B70~1200 430~720 580 ~1010 870~1590 1450~2170 1450 ~2850 M35 F3~120 4110 5h-~—82 2745 6~64 55100 9l ~140 9l ~180
MZ2.232 1110~1800 970 ~1660 830~1250 420~670 550970 830~1520 1280~ 2080 1380 ~2770 M 36 71-~120 6l~110 5380 2744 35~62 53-~98 BE~130 88-~180
M2.5 1020~ 1660 880 ~1520 TEO~1150 380 ~40 510820 Ta0~1400 1270~1910 1270~ 2550 M35 67 ~110 59100 50-~75 2542 3458 5092 B4-—130 84170
M2.6 9RO ~1590 860~1470 740 ~1100 370~610 490 ~8&0 740~1350 1220~1840 1220 ~32560 M 39 65~110 5798 4973 2441 33~57 4990 B2~120 82~160
M3 850 ~1280 F40~1270 40960 320~530 420740 40 ~1170 1060 ~1590 1060 ~2120 M40 B4 100 b6 ~95 4872 2440 32~56 4588 Bl~120 B0~ 160
M35 730~1180 640 ~1090 550~820 270~460 260-~640 550~1000 910~1260 910~1820 M42 6l ~99 53-~-91 45~68 23~38 0~53 4583 76~110 76-~150
M4 40~ 1040 560 ~9&0 480720 240 ~400) 220~5&0 480 ~880 B00~1190 800 ~1590 M 45 h7-~92 h0~85 4264 21-35 2B~50 4278 71110 F1—140
M4.5 570~920 500 ~850 420~640 210~350 280500 420~780 F10~1060 710~1420 M43 h3~856 45 ~80 40~60 20~33 27~46 40-~73 66~99 66~130
M5 510~820 450 ~7&0 280570 190~320 260450 380 ~TF00 40 ~960 640~1270 M50 hl-—82 4576 3B~-57 1932 2545 2870 6495 54130
M55 450 ~750 410~620 350~520 170~290 230410 350~540 B80~870 hB80~1160 M52 50~80 43-~73 37~55 18~31 24~43 37 ~67 6l~92 6l ~120
M& 420 ~35) 270 ~p40 220480 160~270 210370 320~580 530 ~800 h30~1060 M55 46-~-75 41 ~69 3552 17~29 2341 3H-64 hE~B7 58-~-120
M7 260~550 320~550 270410 140~230 180320 270~500 450680 460 ~910 M 5& 4574 4068 M-~5] 17~28 23~40 M-~63 h7~B5 E7~110
Ma 220~520 280480 240360 120~200 160280 240 ~440 400 & 400~ 300 M58 4471 3866 3350 16~27 22~38 2360 h5~B2 55~110
Ma 280~480 250 ~420 210--320 110~180 140~ 250 210~350 350-~-520 350~T710 M &0 42 ~69 3764 3248 16~27 21~37 32~58 5380 53~110
M10 260~410 230380 190~ 290 95~160 130220 190 ~350 320480 320 ~e40 Miaz 41 ~67 362 3l -4 15~26 2136 3l ~-56 5177 51 ~100
M1l 230~380 200~350 170~ 260 87~150 120200 170320 290420 290 ~580 M&d 40~65 3560 30-~45 15~25 20~35 2055 50~75 50 -~-99
M1z 210-~350 190--320 160~ 240 A0~130 110-~120 160 ~25) 27040 270 ~530 Mas 3964 3459 2044 15~24 20~34 20-~54 hO~732 50--98
M14 180~ 300 160270 140210 68~110 91~160 140~-250 230~ 340 220 ~480 M&s 37~61 3356 2B-—-42 14~23 19~332 28~51 47~70 47 ~94
M15 170~280 150260 130-~190 64-~110 Bh~150 130220 210-~320 210420 M 70 3659 3255 2741 1422 18~32 2750 4568 45491
M16 160~ 260 140~240 120~180 60~99 BO~140 120~220 200~ 300 200 ~400 M72 3557 3l-~532 27 ~40) 13-~22 18~31 27~49 44~66 4488
M18& 140~220 120210 110-~160 53-~-98 71120 110~200 180~ 270 180~ 350 M 75 3455 3051 2528 13-21 1720 2h~—-47 42~64 4285
M 20 130~210 110~190 95-~140 48~B0 64110 95~180 160~ 240 160~320 M 76 3454 2950 25~38 13~21 17~29 25~45 42~63 4284
M2z 120~150 110~170 B7~130 4372 h&8~-100 87 ~160 150~220 150230 M78 33-~-532 2949 2437 12--20 16~29 2445 41 ~61 4] -~-82
M 24 110~170 93~160 BO~120 40~66 53~93 80~150 130~ 200 120~270 M 80 32-~52 28~48 2435 1220 16~28 2444 40~60 40-~80
M 25 100~170 89-~150 TE~120 B4 hl~89 T6~140 130~150 120260 M a2 3150 2747 23~35 12~19 16~27 2342 3958 39-78
M 26 98~160 85~150 73~110 37~61 459~86 73~140 120~180 120~250 M 85 30-~-49 26~45 22~ 11~19 15~26 22~41 37~56 3775
M 27 94150 83140 Fl-110 3559 47932 F1~130 120~180 120240 M a0 2845 2542 2132 11-18 1425 21-39 35532 3571
M 28 91 ~150 80-~140 68~100 34~57 45~80 68~130 110~170 110~230 M a5 27 ~44 2340 2020 1017 13~23 2037 34~50 34~67
M 20 B5~140 74130 6495 32-~53 4274 64-~120 110~180 110-~210 M 100 2541 2238 19~-29 10-~16 13~22 1935 3248 3264
M3z BO~130 mn-~120 60--90 G0~50 4070 60~110 99-~150 99 ~200

< DEREK H15 H16 r<4 DEREK




Cutting Conditions - Boring

Cutting Parameters - U-drills

HiEsh LI HIE RS2
o [ & 1
B ER R g 3DYIHiE R ADYIH I
Diameter Material RPM 3XD Feeding 4XD Feeding
Lathe  10.06-0.08 Lathe  0.05.0.07
1517 27002400
Machine F160-220 Machine F130-160
Lathe  f0.080.11 Lathe  0.07-0.0
1820 23002100
Machine F200-230 Machine F160-190
Lathe 0.10.12 Lathe  0.09-0.11
2123 SRS Machine F200-220 Machine F180-200
Lathe #0.10.13 Lathe  #0.1-0.12
e Ltz Machine F180-220 Machine F180:210
Lathe 0.10.13 Lathe 0.1-0.12
b b Machine F160-200 Machine F160-180
Lathe #0.10.13 Lathe 0.1-0.12
Sl (Rl Machine F150-180 Machine F140-170
Lathe 0.10.13 Lathe 0.1-0.12
3335 R Machine F140170 Machine F130-160
Lathe #0.10.13 Lathe #0.1-0.12
i Ll Machine F130-150 Machine F120-150
— iR Lathe 10.10.13 Lathe 0.1-0.12
b ag Carbon Steel e Machine F110140 Machine F110-130
Lathe #0.10.13 Lathe 0.1-0.12
R 2Ald Machine F105135 Machine F95-120
Lathe 0.10.13 Lathe 0.1-0.12
S Sl Machine F100120 Machine F30110
Lathe #0.10.13 Lathe  #0.1-0.12
e e Machine F30-110 Machine FE5-105
Lathe 0.10.13 Lathe 0.1-0.12
e G Machine FE0-100 Machine FEO-100
Lathe 0.10.13 Lathe 0.1-0.12
2050 e Machine F7595 Machina F75.95
Lathe 0.10.13 Lathe 0.1-0.12
REsd Rk Machine F7090 Machine F70-90
Lathe #0.10.13 Lathe #0.1-0.12
She e Machine FE5-55 Machine FE5.85
Lathe 0.10.13 Lathe 0.1-0.12
6466 600550 Machine FE0-80 Machine FE0-80
Lathe #0.10.13 Lathe #0.1-0.12
6770 550500

Machine F55-75

Machine F55-75

& UEI =4
#5n T Finishing #8:n T {E Roughing
55T briz HRIEE HisE s TRlEE
Mimymin} {mmyrev) {rmm} Vimymin) {mmy/rev) {mm}
2533 110:140 0.050.15 0.050.20 100120 0.150.25 42
42 115150 0.050.15 005020 105140 0.150.30 57
a#Carbon Steal 4055 115150 005,15 0060.35 105150 0.150.30 57
(S45C,550C) 5270 115150 0.150.2 0060.35 105150 0.250.35 6.2
120164 115150 0.150.2 070,50 105150 0.300.40 6.3
160204 115150 0.150.2 0L0740.50 105150 0,300.40 6.3
2533 100120 0.050.15 0.050.20 90120 0.150.25 42
42 110-140 0.050.15 0.050,20 100130 0.150.30 5.7
S mAlloy Steal 4055 110150 0.050.15 0060.35 100120 0.200.30 57
(SCM,SNCM) 5270 110150 0.150.2 0.060.35 100130 0.250.35 6.3
120164 1101150 0.150.2 0.07.0.50 100120 0.300.40 6.3
160204 110150 0.150.2 0.07.0,50 100130 0,300.40 6.3
2533 70100 070,15 012035 6000 0.120.20 42
42 BOL110 070,15 020,35 F0100 015025 57
4% Stainless Steel 4055 BO-110 0.070.15 020050 F000 0.150.25 57
(SUS) 5270 110 0.140.20 0L200,50 F0100 0.2040,30 !
120164 BO-110 0.140.20 0.250.75 70100 0.250.35 6.3
160204 8110 0.10.20 025075 F0100 0.250,35 6.3
2533 70100 070,15 012035 60110 0.200.30 42
242 BL110 0.070.15 020,35 B0110 0.250.35 57
HHCast ron 4055 80110 0.070.15 020050 60110 0.250.35 57
(FC) 5270 BOL110 0.120.2 0L200.50 0110 0.300.40 6.2
120164 BL110 0.120.2 0.250.75 60110 0.30.0.45 6.3
160204 110 0.120.2 0.250.75 0110 0.30.0.45 !
2533 150-300 0.050.15 012035 120200 0.200.30 432
42 150:360 0.1040.20 0.120.35 150370 0.250.35 5.7
e Auminium Alloy 4055 150360 0.100.20 0.200.50 150:2370 0.250.35 57
IAC) 5270 1501360 0.100.20 0L200,50 150370 0.300.40 6.2
120164 150:360 0.100.25 025075 150370 0.300.45 6.3
160204 150:360 0.10:0.25 025075 150370 0,300.45 6.3
2533 3040 0.070.15 012035 2535 0.120.20 42
42 4045 070,15 020,35 3040 0.150.25 57
#E# Spedal Steel 4055 4045 007015 0.2040,50 3040 0.150.25 57
(SKDEL) 5270 4045 0.1040.2 0L200.50 3040 0.2040,30 6.2
120164 4045 0.100.2 025075 3040 0.250.35 6.3
160204 4045 0.1040.2 025075 3040 0.250,35 6.3
}< DEREK H17

T E®EIM / Operating Instructions

Wi AR LR BB EER Ok, RUBMTI R FaREER.
B ACNCEFr TR PO A R E SO R B TFIT,
WMCNCERE AWMy 7L, 7R amn NEsshmmEiT.
MEEEED R ERRR, NERFLNELEE,

BMUse the High speed Drill the best to drain water from the high pressure
center to extending inserts life, and good for removing the metal chips .

BWUsing CNC Lathe the cutting center point with spindle center of Machine
best to be parallel.

WIf you need to expend hole when using CNC Lathe |, the outer insert must
parallel with the remove angle of cutter tower .

B The inserts have to be checked regularly for wear , and stop immediately
once noise occurred.

H18

53 DEREK




HSK Tool Holder Specification - DIN69893 SK Tool Holder Specification - DIN69871

HSK#miF4HE SKimiE4HE
i pr =P
° ) Y
=

Be a8
Specification Specification
HSK40A 40 30,007 20 20 16 4 11.42 6 3.5 11 9 2.05 17 SK30 31.75 50 47.8 15.9 3.2 1&6.1 16.4 19 M12
HSKS0A 50 32000 25 26 18 5 1413 7.5 4.5 14 12 1054 21 SK40 44,45 £3.55 £8.4 15.9 3.2 1&6.1 22.8 25 Ml&e
HSKG3A 63 48010 32 26 18 6.3 1813 10 (= 18 16 125 265 SK50 £0.85 97.50 101.75 15.9 3.2 25.7 35.5 37.7 Mmz24
HSK100A 100 75.013 &0 29 20 10 2856 156 10 22 20 20 44
BT Tool Holder Specification - JIS MAS403 CAT Tool Holder Specification - ANSI/AMSE B5.50
BTHRiFHE CATHRi¥4mE
e i, he
\_T 7:24
[
=] ] o -+

Dz
.
WL
; o

28 a8
Specification 0]} 5 Specification g

BT30 31.75 45 38 12.5 454 20 136 2 & 1&6.1 16.3 M12 CAT30 31.75 45,02 47.63 15.588 318 16.28 16.26 18.67 1/2-13UNC

BT40 44 .45 &3 53 17 65.4 25 16.6 2 10 1&6.1 22.6 Ml& CAT40 44,45 £3.5 £8.25 15.588 3.18 16.28 2261 25.02 5/811UNC

BT50 69,85 100 25 25 101.8 35 23.2 3 15 25.7 35.4 M24 CATSD £0.85 G8.42 101.6 15.588 318 25.91 35.31 3772 1-8UNC
e
3
a3

< DEREK H19 H20 >4 DEREK




B8 42 22 4% 7] F it BA FEEH/CAUTIONS

LENRRER, BARBRLHEFRRERRENREE

WRAMRELL RRNR, FHNANIEEE
DEHEEL TS, HUFEFEERUBRENRNTS Assembling / Disassembling Of Tooling
mERARE.
| O FREEENERENNRR E, RERRTIRMALESRIDRE.
BIARAERREBLBEREMTE L, XHSEER A locking device for tool holders is required.
FHEHR RO BT R,
O ERRNRMRIKTEESINEM, FIEHTHE,
AfEFRELr, BURARNMIEFSAERFES No Hand touch on the cutting edge.
LR WIPFHMRREKER. © HTRENRMREDH, WHLERRADRONRDET.
~ 5. bR S HEATHARPOELERNANIRL, e s TR
f O E=HNRRY EE BN, RESWATIR LFENERESHEE.
) = Fasten the tool holder properly before being used on machine.
\ - Installation Instructions Of Screw And Insert
| l_.lBefure assembling inserts, please oil the screw hole of tool holder with lubrication
N — ol.
“’KQ B = 2.Make sure the insert and shim connects well before fastening. l mIWEﬁ‘II
b2 . ! Processing
= 3.Dont fit insert with screw only, or the insert will be misplaced, which will result in a
bad fastening.
4. Suitable wrench is suggested. o WS TRR IR

Mo touch tools under working.
5.The aforementioned as sembling method is suitable for all the cutting tools with
insert and screw. . o O nmIFWFEHFRESEE, B TEOSRTIROEE.

Wear protective clothing and safety glasses.

© mIetATEILES RS E, ERERERITFVRNRSE.
The protection door of machines shall be closed when it is under working.

/T\ NEKBEHTEER
u Maintenance

O NREEFERN, BENRLIEHEDTE, USSR LS NEN FHREEEENRE.

Please remove the cutting tools from tool holder when it is not used for a long time, otherwise the clamping force
and precision of the tool holder will be declined and the connecting surface will be rusted.

O EENHKTIR, DEEOVRTMENETS, FHTELOMELE, REHERE.
Please clean cutting tools and tool holders before storing, and also perform rustproof treatment properly.

r< DEREK »<« DEREK




	0
	0目录-01
	0目录-02
	0目录-03
	A02-B60-01
	A02-B60-02
	B60-D02-01
	B60-D02-02
	D03-D89-01
	D90-F20-01
	D90-F20-02
	F21-G14-01
	树状图-01
	树状图-02
	树状图-03

	a
	A01-A07-01
	A01-A07-02
	A01-A07-03
	A01-A07-04
	A08-A19-01
	A08-A19-02
	A08-A19-03
	A08-A19-04
	A08-A19-05
	A08-A19-06
	A20-A32-01
	A20-A32-02
	A20-A32-03
	A20-A32-04
	A20-A32-05
	A20-A32-06
	A20-A32-07
	A33-A40-01
	A33-A40-02
	A33-A40-03
	A33-A40-04
	A41-A58-01
	A41-A58-02
	A41-A58-03
	A41-A58-04
	A41-A58-05
	A41-A58-06
	A41-A58-07
	A41-A58-08
	A41-A58-09
	A59-A71-01
	A59-A71-02
	A59-A71-03
	A59-A71-04
	A59-A71-05
	A59-A71-06
	A59-A71-07
	A72-A77-01
	A72-A77-02
	A72-A77-03

	b
	B01-B17-01
	B01-B17-02
	B01-B17-03
	B01-B17-04
	B01-B17-05
	B01-B17-06
	B01-B17-07
	B01-B17-08
	B01-B17-09
	B18-B37-01
	B18-B37-02
	B18-B37-03
	B18-B37-04
	B18-B37-05
	B18-B37-06
	B18-B37-07
	B18-B37-08
	B18-B37-09
	B18-B37-10
	B38-B47-01
	B38-B47-02
	B38-B47-03
	B38-B47-04
	B38-B47-05
	B48-B59-01
	B48-B59-02
	B48-B59-03
	B48-B59-04
	B48-B59-05
	B48-B59-06
	B60-B71-01
	B60-B71-02
	B60-B71-03
	B60-B71-04
	B60-B71-05
	B60-B71-06
	B72-B95-01
	B72-B95-02
	B72-B95-03
	B72-B95-04
	B72-B95-05
	B72-B95-06
	B72-B95-07
	B72-B95-08
	B72-B95-09
	B72-B95-10
	B72-B95-11
	B72-B95-12

	c
	C01-C05-01
	C01-C05-02
	C01-C05-03
	C01-C05-04
	C01-C05-05
	C06-C18-01
	C06-C18-02
	C06-C18-03
	C06-C18-04
	C06-C18-05
	C06-C18-06
	C06-C18-07
	C19-C26-01
	C19-C26-02
	C19-C26-03
	C19-C26-04
	C27-C32-01
	C27-C32-02
	C27-C32-03
	C33-C38-01
	C33-C38-02
	C33-C38-03
	C39-C47-01
	C39-C47-02
	C39-C47-03
	C39-C47-04
	C39-C47-05
	C48-C55-01
	C48-C55-02
	C48-C55-03
	C48-C55-04

	d
	D01-D07-01
	D01-D07-02
	D01-D07-03
	D01-D07-04
	D08-D19-01
	D08-D19-02
	D08-D19-03
	D08-D19-04
	D08-D19-05
	D08-D19-06
	D20-D31-01
	D20-D31-02
	D20-D31-03
	D20-D31-04
	D20-D31-05
	D20-D31-06
	D32-D43-01
	D32-D43-02
	D32-D43-03
	D32-D43-04
	D32-D43-05
	D32-D43-06
	D44-D55-01
	D44-D55-02
	D44-D55-03
	D44-D55-04
	D44-D55-05
	D44-D55-06
	D56-D63-01
	D56-D63-02
	D56-D63-03
	D56-D63-04
	D64-D75-01
	D64-D75-02
	D64-D75-03
	D64-D75-04
	D64-D75-05
	D64-D75-06
	D76-D81-01
	D76-D81-02
	D76-D81-03

	e
	E01-E19-01
	E01-E19-02
	E01-E19-03
	E01-E19-04
	E01-E19-05
	E01-E19-06
	E01-E19-07
	E01-E19-08
	E01-E19-09
	E01-E19-10
	E20-E35-01
	E20-E35-02
	E20-E35-03
	E20-E35-04
	E20-E35-05
	E20-E35-06
	E20-E35-07
	E20-E35-08
	E36-E53-01
	E36-E53-02
	E36-E53-03
	E36-E53-04
	E36-E53-05
	E36-E53-06
	E36-E53-07
	E36-E53-08
	E36-E53-09
	E54-E69-01
	E54-E69-02
	E54-E69-03
	E54-E69-04
	E54-E69-05
	E54-E69-06
	E54-E69-07
	E54-E69-08

	f
	F01-F15-01
	F01-F15-02
	F01-F15-03
	F01-F15-04
	F01-F15-05
	F01-F15-06
	F01-F15-07
	F01-F15-08
	F16-F52-01
	F16-F52-02
	F16-F52-03
	F16-F52-04
	F16-F52-05
	F16-F52-06
	F16-F52-07
	F16-F52-08
	F16-F52-09
	F16-F52-10
	F16-F52-11
	F16-F52-12
	F16-F52-13
	F16-F52-14
	F16-F52-15
	F16-F52-16
	F16-F52-17
	F16-F52-18
	F16-F52-19

	g
	G01-G17-01
	G01-G17-02
	G01-G17-03
	G01-G17-04
	G01-G17-05
	G01-G17-06
	G01-G17-07
	G01-G17-08
	G01-G17-09

	h
	H01-H20-01
	H01-H20-02
	H01-H20-03
	H01-H20-04
	H01-H20-05
	H01-H20-06
	H01-H20-07
	H01-H20-08
	H01-H20-09
	H01-H20-10
	H01-H20-11




